CAT.No.2222

KONAN

a=F

PDFA2AJF—42ND&y>A—Kg ——M « t“_ ?1_;4m
URL=https:// A O

koﬁan-emw“.’c“;m/ I 7 :J U y 9
Pneumatic Cylinder. ® 40 ~ 500
Heavy Duty

CP611
CP691
CP611H
CP691H
CP61152
CP61152H
CP61SU
CP611DR
CP611AD
CP611AR
CP611M
CP611MR

F41 LA

CP611LU
CP665
MP665
SP665
MS665

PEEHMRNEHR



EUVERECKRRBICSTZA BN,

Pneumatic Cylinder

S 24y FAEE
CP611  CP691  CPB11H CPBO1H  *BUEFlAE
$40 ~ 500 | P40 ~ 250 | p40 ~ 500 | p40~ 250 | mysp —4mek
19 37 19 37 (rzaw
\\\ 1 U
B CPE11LU  *BUETEE ¢ BUETTRE
\_
I~ F2-TWE | 940~ 100 | e —4ms Bl SR
| POt Y| 115 | SEEV CEEW
'il:l * BUEFTAE MP665  SP665
| F1—TWE | $125~ 500 | pyse ~gsk ®125 ~ 250 | 125 ~ 200
3(—’ Bu~-v| 115 | <KW 131 141

$280,320,360

MP665 SP665
¢40 ~ 100 ¢40 ~ 100 | 40 ~ 100

TR

CP68H MP68 SP68 SP68H
¢40 ~ 100 ¢40 ~ 100 | $40 ~ 100 | ¢40 ~ 100

FAURR
¢ 40 ~ 100




WS | EAD>TOXRER

ALy FFE

CP611S2 CP611S2H CP61SU

3125 ~ 200 | gise — 42K

SIERMmiBLTS | MOy K7 BT

&4 7

CP611AD CP611M
CP611AR CP611MR

®40 ~ 500

* BERRE

CP611DR

*BUEFTRE  * BUETIRE

Al CAERK
{rEgw

A& CHEER
(FEEw

* Cat.No.4223 [CP611/CP500 XAV UV Y| Z#TBRIEE

[cP500]

* Cat.No.2223 [EEF -

[cP66)

[cP68]

HEHROHAEECEDHEN HITT B, CPE1 J'J X@?ﬁ:—nt LT
#ifzIC ¢ 280, ¢ 320, ¢ 360 ZWMOHIA K Uiz,

CP665DR

BEIAVN\IMEI7YVUYY | Z#TBREEN

FPIWEFAARA RIS VI DEER .

U— RZA v FORIEABYABE,. YV VIBREIDES TV 3V %ZFA
FBTEICKD h—=FILI AT LELTOMREZREBELE T,

CP68 Y U—XF. YUVIFa—TJCHRAEEYILIHUE UMZERL
40y RUZEBEDH YA TIT7 YU YFITY,

— R EEIE 3
] 11
falfc vy

BESERRIECRAZENEDEAIMEE. REFOMm
ARZEBINE—T1—TA—F1TDIT7IVVY
TY,

TESFGHBLEELY A X 7TV 3 VEERZ
fe. BRAEYY—XTY,

CPB11 19
CP611H

CP611S2

CP611S2H

CP691 37
CPB91H

CP61SU 57
CP611DR 67
CP611AD/CP611AR 75
CP611M/CP611MR 89

FLLARvuvy

ERARBEZREBEVRIGHY A TOI7YUYIT
ER

U—RRA v FPERIEABHAGE, YUV IEREER
DEAFTVaVEFRATBITEICKD h—FILVRT

LEUTOHREERIBULE T,
CPB11LU/CP665 115
MP665 131
SP665 141
MS665 151

PDPEL ]

SR e s 158
oy ER 172
BDPE: =

YUV HEEREEICOVTE. CatNo.2224
[T7YUVFHRE BifER] ZTBRIEEL,




ZEIEVV VI RUEAHB D AT L

SANUEHOIFRO—ixE =R

LITICE#H T 2 —HERIBFRDOERE ZTADE, THRESLE W,

RAZBS 5 Th i

o™ ® S5 9702
2 EmOZ2M—U I 7 2 AV ~ORE|
55) @ JiISB 8370 Z=EEYRTLEE

=4
=9

FENBDEROBBOHLET,

OV > DOBEIBEBREICDONT
1.1 B BN RS

Y Y. BROE RN L CHREREE (LT &) %R
3277 Far—% (fEBER) CF. Y Y FIERELRAMNE
Hte L. o Rl TR - HENTIEEI T2 2% 4/ ) 9,
DD, V) U EMBIAATEY AT AR EAEIER SR 20
Wik, B b2 A Bl T AV F—ICEAET AL )T v
S OWRE, A A, ZEHEERE L, B L 0k E TEE
TLUEND ) T,

FRIZEMOEB T AV F =R EWGE (HENRE L MEiH
JEASE A &) 12IE, BREZEE L OF OB GEEE - [l #E )
TR ) FHA L, BIORHRE - BT HETL2 L 0
ZIR D ET,

BIZIE, By (No2224) DOHAMTEH: 75 (250H L /2R A B
WE (EE) AL CHASINZEAIE. ) v PR MR
PR EHEHR L. AR E IR IR EL 5256 2 80
HHET,

1.2 AFERLETRRSE

Yy oMgEE, MEEE E A N VR (V) v SR
OETROENF T, ToedfE (@) 255720100F, #
b ISR A AmElE (ARER) BT0%LIT IR 5 L9112, A
HEIE D) v S NEERBEEL TZE 0,

LB, N CTEELREREL I EOBER. HEOXA YT~
AN ST CHHT 2HA10. V) Y Y ORMREEKT
DEMEFTE L E o BEHO D) XI5 E L CERE S5 2 LT,
SRICHREMR T L 25 L) RILRREEER L0 v ¥k
HORET R 7280,

T2l ziE, =77y v a v OWNZRVF—E, —D kDA X
DY) VT EERETLHE, TIT 2T B O Tl E BRI
LEMORELT LI ENTEET,
13X Oy KOEE

D) YOI ULAEBROAROIIE, EA b ruy FOBFEREE
MRELDTIZLCTL 28w, BIEMEIZ S ¥ 027 (No2224) OFiE
BHAIZEDHERL T3,

1.4 BBEINY I T v T

ERIEICED L TRTOREDS L LA TL, V) v ek
SNEBI S BIE, ATV ) =) R ERRE LT
AT U L) BER RS 2 R R 728 v,

1.5 TNTOREDERE

T T OFEEE (IR K E )G EBRE Y AT A ORI EHE -
FRETIRR LS  TEFER ZR MEREEERIE 0 V) T2 L BB PR ATRED. B
BB EOTRTORRICBIT LR EE L7 L TiToTL
728\,

@) ADFRBEICELT

) U T RS TEAN, MT HAIE SRS R S
B TR TY . S0z, HEHICEEET 2y 227 (&
BOER) OFTXTUOWTHETELRWIEDRHY, ZDLHI%
WAIIE M ORE L7 BRAT S £ 0 B ok RE R b
DESH XTI ENDHY F3,

CDXH BRI S nizd ) Y IR D L) 12 E L TL
728\

ROFRIF BHESEZ U VS UTVUVY) RREICHTDIVRITEAXY FOBREZE(ICEBRLTVET,
CDERFAEICHT DLLHER, RUBBDOEWVWIRT LAICKDLZEEGRZTOCHICERFEIECIDT. F#

21 ANR—2X
BRHHERTIIEERA VT F V ANTELGITICERE L TLE

SV,

2.2 {EENFESSFIE
) U FRRER, T v AR T ORI R AV

RLTLES 0, KICAMEDRAIZE Y ERA oy FICHE

RARMEANND > TV Vh, RTEZ b oy FERREE T

PO BRI R Ve EOREOFEZER L LT, kfRICE

HEKOVEBFERE 1T > T L2 8,

23U CHDORUHEL
ER, I A YT F Y ARICEREFEAT LRI, Y vy

WL O HI AL & 2 DAL 2D 5B, Z ORIFEIALE 207 -

T U FDPERIZE ZEDNHDFT, ZOL) BEECLDY

A7 BTSN ELEIIE, YT AIZAT—A Y — b ff

HL7ZEwn,

2.4 FiR
) VT OB Z e 7 DIHTICEE L2 E 2, TGO

FART VI IRBER 2 ITo TL 728,

25 %E
D U FIIIEMEROE M, 2E > 5 OEEHEHRHRIZDEEIC

IV YFOFIL VBN LI ENH Y FTOT, &iE

BCHhoTLINLDY AZIZOVTERE L TEEXT-> TS

Uy,

2.6 Fl#E
) Y OEBE T ORIED A T v ANIOWTIE, Tk -

RER A FF o 72 DT TL 23 (S TIRZBSUERZR O N (2

BT AHED T T E 3, BHEZEIC THEC 728 0,)

@YV EDALTFL R (RSF) IE2VT
AVTFF AL RO EINATH>TLZE W, BB, POk

FUIHE AL B By A | UG B L TR C 728

3.1 BE =%

DZBEET A NI T o7z FL 2T RS,

2 BEOBM L, BERGFAS V) Y ¥ e, BEEOPFIZLY

BEE L. QLEOW S AL EOIVBIES ., (FEIFORE 2 212D
WTHEBLTL 28,
FURE OREDHARSE A IRREIZ T, EX by FERICHE
MHESTWAH I E IR LTL &, 72, BEOEN 2
BVKIEIREET, R LHOWwL A, EX broy FEHOH, ¥
A b8y F v YREFHERIO R OBUEK T2 6 O 25BN 5
LTS,

3.2 EHi =t
PAE T E UL 1 T L ICROE R EFT > TL 2 S0,

1) B - 225 R %L LREET, SR AL, 308 a R T<
EEWV, T2, REIZIDHIBLTLZE W,

2) 24EH OEM BRI, B0 SR TV, B LT
T BB e OSSR B L E I OV TUEASHR LT 2 & vy, fH L,
24ELHNTH - T ) ¥ FOVEBIHEEEAY 1000km 1 25E L 72BF 12
. ARSI E AT, BRI OWTIISH L TL 28 v,

33FPBIXRILX—

FHEEDED A v T F VAL, EE (XA T TV ARSG) R ZER

P VIR &SI L. S 5 ICHEE N O TR AT R0 AR 22 R & 2EB I




HLThORI 28 v T2, WEFR L, X ¥ 7 F > AR
B SIS 2V L2 MR L. DETHIUTLEMERD 720 | H
BICEE L T 28 v 512, WED TR TH, EEPET
DfEkdyd % #5Re B 72 FGERET 312DV T b B 1k D% 4zl 35
ZRIL T, ERZHED T ZE 0,

3.4 E#&

PESErp, JRICE NBUCHEE & 2 561203, RILENT, FREOHE
ot T RO, EEHEAL FERICOWTE, AR L 72 L TF

@) > A DERBZRICOVT

KDL AL TIE, BRI ZEROBEE DAL 5T, EH
WA R AT E 2 ) 9 AW R D HiE. FHE
BBy C M E SIS THIRR C 72 8

1) 71 & 0 7GRS L TW R W U 4o
N WEE, RO S L CRERY AT ZELL I EDT
W26

B0 JEF-I B 5 0 W, R S A A A TR B R A

TP AT ARG R i 7 &

CHEHICBE S % T

AaxE TG

11 E8

FEEOKZWY) ¥R, AHORZESFEHE - 2o T
WL CLZ3 v, V) YO/ EIE, YHRETO [EREY) ¥
Fhrarl, ROEGEEZ S THEEL TSV, £, 74—
707 M 7 L=V ROERT % ORI BBV, B
RFEF OREBIEIE - TLIZE W,

BB BERIV) VI THoTCHTRIHH L) vy Fa—T
L7 EOFWMOBFIZ L DA RORENE 2D FFTOT, Tw
RV AT - T 728 W,

1.2%F

FEARES LM KRR B EERE 213, BT 20l 00 1 AR L TR
B LTL & v,

1.3 BHEE

) v OEREEREN I THNMEICR) 7T 7% B L >
VU FRIZTI, FUENRALOZGIEL TWE T, #FHUFED
Bl TR E T, & W TL 2 &, K TFF 72 Lz
B, ) DB N—CTHFEILE % fti L T 7280,

Nz PEEEENS

21 R ORE
JEFR 2 SN2 BT R A DB IR E T A A, 7%

EFEERNICEE L TL 2280, L2 ST REET CHRE SN D

Walid, MaEi— METHREL, REPR L2 LE

BEFT L7280,

2.2 REGA
D) YT OEG - MEHALE BT B 0RD L) IEELTLE

By,

1) Wi - 2R L /AN - KO IEHTICHRE LT 28w,

) P L LT, Y ¥ % TEDERET 25613, B
BOEFE, VIFEFORFHEL L TREL TLZE W,

3 1L EEHIRRE L2513, 7%y S VMg iuc X 0
BHLTOLEEDDH Y FTOTHARNMES Lzt 7> TL 72
By

4 BEDPEIICEED & 2%y X VEOKAM G, SHEE RO
HiekZ ) T3 o<, BRNEREROBHICEL X 2 ¥
FOVEBIIRILE SR L. BEDFO SN2 A IR O,
LI - BALRER O AT 5 TL S,

A‘;I%"f 3. ERBIRIEICOVWT

3.1 iRE) - EE
1) R EERIRB 2 2T 25T ) v ¥R 2561203,
RERFEORI FHIIEEAE % &) iR, SBikeEic

THIREL 28w,

NIEH DB A TR, ¥ ¥ OHUFERR AT 2 &1 5 Ak
O % i LAESEICESE - i LT 28 W, FRICEHEE O ST
A DBIE, TR EZEE L. L) BT 247 -
TL72E 0,

3) MR TR, WSR2 BT L. BAREED 2\ & 2
L., ALxBERD LTS, U - d@iEsssing &)
VT L A W FINCERED L, AR I C A A fER a
EELET.

3.2 SREFEHRORIRL
Y Y F RGBS EIEROMBEEZ IR CTE R DL

WY T, 2L 2E V) UFICTESY, BRI RUTEE

L7 LT, YU Fa—TROER N yay FIZBERERZ S

ZAHE, V) F =T ONEODLT I REIECEMEOAREAED

BIY., FLER Oy FOBEEEOEHERLEEHA Sy ¥ ¥ & 105

L. Z5RNOERIZZR D 9,

3.3 FHER
D Y FERET DRHTOFEIFEE L TS, A, E

BREOE. HE, A A (LSRR, ARAR R O R &I

ENDHFHIRET TL 7280 BB, —HOFERLIZ OV TIIBf

HEATHHETT OT, BHEZEI THE 728 v,

A4 FERRE
D) v FNE REEGATO R PR & O 5 Rz R IR PR

SN HIREHPHN TR < 728w,

1) ZBSEARRE DN  CIIEMZERRED DR ) EmnZ £ 1), /3y
FUDBBGALLZY . OB EROENCL DA RIS
ZEDHYET,

2) 0CHELIZR BTG T, MR E T N7 AV THIEL T
7R, B L RWEE, HEOKIETIZESEOKGA V) V5
Tk NEBI AR 2R T2 E0H ) 7,

NEE EEE

4.1 1E¥£7H
)V OREREE R ORT D0, VIR EEZRM 2T L
TLEE W, ZBREEY AT L, ERMICErOMMATNE L
WL, TORENTS TR EN S 25 ) T, TTRETH
PR &,
4.2 HRRE
1) RE %4
VEBNES, B  OFEEE & ARl L € EAARIEG 221
BWEIIZLTLAEESY (JHLOAL, BEAKR, FTE, YW
KB OIKE) o
2) 4Bt
BFHOERTRIL, YA Oy B EOVER)ZEM 12 [ N — 2
ERRE L, AMEDUE O ZENTELRVWEI )L TL 23w, &



Wi, FEROIER E2EENICE AL L TOEBZHERRL T

AR
3) REEKE
HEBEORRE LR #E A N— T EREBETE R VA2, 0L
CHEEDTREITE 20, BT XD BEEER AL T 2 & v,
4.3 1EEBEDIE

D U LA OB EE TR, WE A ERVEEBEIC L AR
FAEZID ) IR L TS EEZ RO TLZ S,
4AEE

RIS B 1. 1IHE SIS0,
45 FZBI XX —

AT A1 3. 3THEBMML &V,
4.6 ZDOfts

D) Y FIIIERZE RO, 2 S ORI D RIELS
£330 FOTFIL W EE), N O EADEROFMBE I
KETLIV) VIFORVHLELZ ENHNET, TNHDOY A
WZOWTHEBLTL S,

Nes LN

5.1 &
FEHRICHETE W) A7 PRET2R—NDH ) T DT, ¥

U FIIAERZEOE L W T ZE W,

52 EX h> Oy FADEFEER IS

YA b ray FICRCEESC I 220 72RET Y ) v & 2 (5l

SRLE, KA bray RV U Fa— 7 HNbH Y .

I, BN VBB 7 ED AT A 7215 TR, Thili

WE L7z v FORBRD 2 WIZRE 2IEIC LD . AR

BB I EREERZ G AL EDH ) T,

1) A b oy FICEEI D 286, BMENICENZ RT3 %
ELTHIE ZBRVW T {7230,

2) EA b vy Rl & Aoy —% 45 L) Ichl L%
fToThb, YV FEREEL. ZOHBYERA N uy FEATZ
i?"ﬁg LT < fjé\/‘o

) EA b roy Nl & B OEREA—3% L2 via, ROEN
PIRET A H AL, U U LI R VIEEEC L 2 s B f
T 285 RE L, EA Moy FIZIFOY a5 & 7
WEIIZLTLZE N,

5.3 BhEAH /N — O EYT
Y2 broy FediEy 2 am,. RO ) ¥ ORI AY, 1

TR L2 AR fEBR % TN D DA, B N — % B

FT ANEDEEERBIERIC NS S AT E VLI LTS

VY,

5.4 S ERERETARIC & B ETERAEM
—RICTY DA M=, TA T v arRIT sy

o3 YA SAUE R AR L F 955, AfOER) T ROV F =5k

EWV EREDKE MEBREEAE A7 &) A1 N7 v & a

PEFTIEEEERINTEIHA, ZDLD BBEICIE, ST

Ly arRyay s T TV =N EE R B L LA

HHFET,

S D& IR EEE R VA, R & AR BT

RNUFBEETREE - HIPEASEAT 5 X D 1THET - EEL T &,

3=

NxE

6.1 REHAE
HEREONE D) VT A= Fay ba—F GREEEIEFR)

By MRIZV) VT ER= ML OPKERD X —F =T NS

B LA L E 9,

) A= Far ba—FOHNDHEMIZLRNTL S,

2) YL OREHESCE V1) — X - A¥—Ray ha—Fik, Favky
ATONY FVvoLE L (RGN T, @ ESEa (rai)
W20, COREPSERLY S E, HEHISETY) ¥ FD
FEEAHIM L F3, 7272 L, SC6-08% 4 XD A —Far hu—3

6. ) ADARIZONT

LT, FavbyRTony Fvokal L (KEEF5) T,
SEASY T (M) 1), ZORENLSAEE LTS L, [
BIIGE LTV v T OEEHI L 97,
NLEDIDAY —Fay ha—5 0L, 228 % ANSHICE

PRIREEIZ L. RV CTZBEAELEMA . Y7 & THESE 42255

A2 R EF A FIE TV E 9,

HFEE, FavkyrToay sdy bax Lo EFFOMNITT

A2
62I77va iR

I7 v arsNT) FIE. 7y v aroRhE BAERET
L7vvar=—FL () PNEENTwET, 7 v arox)
XEAIIAMORE L EB AV E— 2L > T L LFT DT, &
R LRI Y v 3 VIR To T E W,

TEDI=D, 7 v a YRIRDPRKICE B =— FVAeRE (G
[ L) OB 2HG L. ) ¥ ¥ DE R o R
T5EIAHTREEMDS 2HEALERI L) IEDTL 728 28,
Oy 7 &D=—=FILRIE, Lorhay 7 LTSN,

ANitE PR

V) UFIE, 3fE Y B — X REr 2o L Al ch
MM EEIECTE F9H, ZBROEMEIZL Y. MED XD ZEvE
IEACEAGEE R, I & OBFRIEIZS S N A EfEDPORFE
BRI EETY. 2. YU VY AT AND Y — VERG
IZIE, B RIBADHFA SN TV A 2D, ERFEAE 2 F5
%2 LIEHEECY . BRI E RS E R GA 1T, 7L —
X, 0y ROT T 7 R PR A R LT 280,

ANt PR RN

AU LRRA P =2 XV EVWY Y Y FiE, HEIZ
FAEA POy FRF2—TDbADEEI LD TRO LD
WA LT L 7280,

1) 20 ¥ FARERE D O E . Fa— TR AR - s 2Tl

7280,

V) I OEEIE, YA MOy FOREHEZMLETE 2 HR

%JE%LVC < ffé\/‘o
IMMEMOBEMEEA by FEIORZAL 2HEHE L T &,
YT LA, TR T = L L, oo B8

BRI & 2 W T < 728w,

/NixsE

9.1 EEHM U A DEE
WROMBEITIE, Wkl ) o ¥ 2 BELTLEE N,

1) MBS D I WA BEHEEDD R 2o s ) v FI2EH
HLEWIEDHY T,

2 ) YT OERENELEREI VY Y EROEGZ R 248, X
E ) I T Y =5 X IEFICENEILD A1
EEMAREORTTHLEY LY ) U HIZHEL I A, 2B,
Y & 2 v FORMICET eV 7)) r— 5 S HEL T E
FTOT, BHEZFEIZTHAER 23w,

9.2 EIEHM UL HIZDOWT

1) B ) > ¥ R o a2 5EIIE. BRGRERA T A7) —
A% ST TITMERL 728V, BERBICIZIRE SN2 —
AmWAILTLIZE W,

2) 7)) — AEE ORI ) AR A 2 LI TE T B
W 2E7) = AP SN T T OTHRmBIEGEHY ) v 7 e L
TN o TL 728 Ml CHAMEDS T Z L1222 0) T3
FOBROIGIMERS VLI ) £9,

9.3 fAmICDWVT

V7Y r — % TS 2w, JIS K 2213 31y — ¥ i
VG32 # i LT L 7280,

QINT ) r—Z 2L DARMRISHOM TECRER L 9. HEE LT

9. N7V r—2Il L PEFEHICOVT



13192472 ) 003em®, 225 1mP 2472 V) 15~ 25 i 7MEH# T4, 28,

YA bray FRECD HE DT> Tl #igs iow

FTOT, INFHRITH FEAAMT 2 HELRAL TS,
9.4 £h{aih

Y UF IR LTV T =5 1 BEERT5008HEKTT,
B D) v FIRImT 286, (B, REES. YV 50
RESROHESSICIEODEDH L L. —HOT) ¥ FIHEIEMH
DEEL LW ERH Y T, EHD2EDLHVY ) Y FDRE T
V=TT 52 LT EPRIIATREE 2 ) 9

e = 10.> )2 55 27 LD

101 > —7 > Rl

FERERRAEMED D) DY = v AHEIE, TEL72FKD L
AT TLZE WV,

D) WERIIC E D IKRD AT v T - TLEE W,

QBEDAT Y TUHO L) » FORBINIE, 17—y 7 &H#
IFTL7ZE

3 ¥ —r Y ADFEHTIEO A, ZOMED HREICHIGH T X
5 XL TL & ARERBAICIE. W) v ¥ F
BRI L A & — MZIEIZ D EF I Z T T 28w,

Y= Y ADAY — MIEIR, BREF L ZEERAE) A %
Wi E LT 7280,

10.2 FERUERIEDHRE

) EEZIEFEIL LSS, BIEOAT Yy TO2 ) v Fi3EIRT
L, BEMBICHEG X HIZLTL2ZE v, $72, BIRERER
OB ) » FAEB) L. ARt Big ol s+
B2%nEHI2L, SHIRFIHEZBRL T 28w,

HA 7 VERTESENIEE 728548, BOOEEERTTE S
LT, B VBRI R TSN,

3 FFIEILCIEE L & CHEZEIE LA, BRI OHEES)
BEOZ2FEFHMARIC L) 2 ) Y DMERI L. AMERCHEWEE B2
BRRER G2 HVEIITLTLEE WY,

/NEE BIEERE

VY FEREID 5 v ST, BAFORTICE AT -2 (
VESEY)) OB OGP TR ESNLGE, AT ) 7)) F—=r)
ROy I ) RS,

Nes [PEED

D) v FEREIOFABEREE TlE, RIZDOWTEB L TL 80,

DABHTLAN= IR LW TL 72 E W,

2 I E CREAET L 7 EORIOSTIDb 235121k, vy 74
D) U FRMERAT D BISHEMI Z A E R R A R A2
Uy,

JEENIIE I, TA S MEIZ LTS,

4) B BRE TR LA, V) v 23RS 5, REeMEIC
Hte £ HIZLTLZE W, FEREOEE. T v T HFEf %
LC9 IR AR

-2 13, SR EHER
RE - AT F U ABDOELTE Y AT ANORTEOHLIL. KD

LA TH TLEE

) ERIEEZPERT 57900 71, B3 FEIE W T 728 0x,

VBIEEREMRT 7200, 4>V r—%, ENFEOENZAA v F
T E PRI T EAZRIE L TL 72 &,

3 ¥ —7r v AMBMEETIE. 1 EHORETT R TOMMET 25T
OPFRATTESL LT L TL 8V, R SA. s 53k

SHEEROTE - BIBRIED DB L9128 7 B THERLEE W,
HI) O FTEICYVEELTA Y FF Y ARTRICT AL,
FO) ¥ OYEFO AL 3K — R S0k
FEHER I 2 3 T &,

B F v rF Glilkod), M ay b Foy Z7RERI7O—-X Rt
vy R o 72 Al T, BEDSEHA SN E FOREICR
LT ENHY FT, MHNITREHRT 20, BELH L Z LD
HFRREToTLEE N,

6) 2D X9 Y AT ARBRKOFEEHFRTICE, RIEHFRH O Y
TThhHIEHFIRLTLLZE N,

N5z

141 EHET
THEE OFIGR AR WEE D ® 5 225)EHE Tl BEED

JENBETFICE ) EEICLERE NIRRT E LW ElH ) 9,

SIS CHIE 2 BUERERT R 1T ) 2 V) v FOSEIRIEEI ChH UL,

WBhZER s v 7 T B E LT, IR OMRIE I O %17 -

TLEE W,

142 ZRD51E
Y UFIMIRT A ESE, 0 u m AT AMED T 1 V& EL

BIRDHEIWE & Bk LT S0, iR FL o Rilirid, 225

DEHNE TN, 74V F R B L V3B SHE LT 28w,

FEEN, BEOBWEMZERIZ/ Sy ¥ 2 20O n

% B & ) BRFGIBIRICEL A ERH Y T,

14.3 BCE1ESE

1) 8 R O EEEPICT I, FUERALOZM <0, BUETHE
WMETRY TI7 7 ROVEEIIS BT LS, JiEOHA.
PFEE (X F) 2L, QUW0ICL 23 305K
LTL7ZE vy

QEEL, BT 2N TIRE (77 v » ) Lk LNES
DI - K5 - M a BF LT 280w,

NNULAAREED Y — WYy — VT —T 2 b4, A Liir
51.5M~21ELT, AUALHMERGZ2E&E05 355
LTL7EE v,

N EH T — /SR U OMFE R OWAESEIC X AREIEETIE, -
T=THEDY VAL, QUL T0%ET 5 L) IS
DIAATL 28V, OB, fidMT T 5 L o FR R85
X, MFORS ST LBREZKE SO0, MEE SR
LD L RNWTL 728w, 2, BTHATHDZRWT
L&V REY IO 2 LR UEHPHEERT 52 0551
¥, B, 6A~25A (Rel/8~Rcl) OF— 3R DR
LARESOHZE, 41~510TFe /20 WLEE, 2656
OVEEDIE 247> T b, FBEOVEEERATH T L 2R L F T,

AN TP

RO L) v R BER SN LHEICIE, AR ZIRATH
FESIZ T 728 v,
1) JRERIT A RO IT A 7 EDZR LI T O
2) i, - ARIRBRSE N O iR BRI T O
AV HEDD BLI R OKTTOMM
4 =5 ) HTHBOUE & 2T 256

AEE

D)2 ¥ FIE BRI L e W TBEE L TL 728w Kz LA &
WE L0, BHEAADRET LD T,

2 ) v FEGBIBEET DA By 0 s UEIkR RS
NIMEIZE > THHLTL 28w, Y Y HIZid, —HDEE
B & LT T X W BHI S ATV E A

14. AR RVEEICOWVWT



Pneumatic Cylinders and Cylinder Systems

General Handling Instructions and Precautions

Please read the following safety precautions carefully before ordering pneumatic cylinders.

Safety Precautions

JIS B9702: i e |
References: Jlga;gtg%f ery- principles of risk it
Pneumatic fluid power -general rules relating to systems

A Warning Following information is based on a risk assessment for Konan pneumatic cylinders (hereafter referred to as cylinder).
Each section provides information essential for safe operation of cylinder systems and prevention of risk and damage

that may affect operators. Please read carefully.

(D Selection of cylinders

1.1 Shock and mechanical safety

A cylinder is an actuator to drive loads by means of pneumatic
pressure. It is often used for high-speed operation systems and
equipment with heavy loads. In order to enable safe operation of a
system incorporating the cylinder, it is essential to select appropriate
type and size of cylinders for the load and motion energy as well as
take into consideration the load connection method.

In particular, if motion energy of the load is high (large mass and
high-speed operation), sufficient strength and rigidness of mounting
structure is necessary. Installation of separate shock absorber may
also be required.

For example, as described in the Technical Information 7-5 of the
catalogue No. 2224, use of a cylinder with excessive mass of loads
may cause damage to piston and connection components that may
affect operators and surrounding mechanical systems.

1.2 Load factor and redundant safety

Theoretical output of a cylinder is provided by multiplying supply
pressure by piston area (cylinder area). In order to get enough
speed (dynamic output), determine the supply pressure and cylinder
diameter so that load factor to the theoretical output becomes no
more than 70%.

In case that the cylinder plays a significant part of the system
functionality or that it is used under conditions in which maintenance
is difficult, the system should be designed to lower the cylinder load
factor. Also, a system design with multiple cylinders taking into
consideration the redundant safety should be employed to avoid
rapid functional deterioration.

For example, selecting a larger size cylinder will double the energy
absorbing capacity of air cushion, making impact resistance reinforced.

1.3 Buckling of piston rod

Make sure load force during rod out does not exceed the allowable
buckling load of the cylinder piston rod. Buckling load can be
determined referring to the Technical Information 4 of the catalogue
No. 2224.

1.4 Mechanical back-up

For securing safe operation of a cylinder even in case of entire error
of functions involving pneumatic pressure, select a spring offset
cylinder or take other measures to maintain the operation by means
of different energy sources.

1.5 Entire safety consideration

Select the cylinder model and size in a comprehensive planning and
design process of a pneumatic control system, taking into consideration
the direct performance requirement as well as the safety in various
conditions, including installation, adjustment, full-scale operation,
failure, and disposal.

(@ Cylinder installation

Cylinders have precise operational functions and are used for
applications with versatile conditions and environment. It is therefore
sometimes difficult to assume all concerned risks or risk factors
when designing a cylinder. In such cases the cylinder function and
performance may be deteriorated in a period shorter than the
maintenance period set by the manufacturer.

In order to avoid the risks, install the cylinder as instructed below.

2.1 Installation site
Install a cylinder in a place where setting and maintenance is easy.

2.2 Operating procedure

After installation, conduct a cylinder operation test for any abnormality,
including lateral or uneven load on the piston rod and air leakage
from the piston rod or connection components. If no abnormalities
are found, then check the entire system operation.

2.3 Bursting out of a cylinder

If a piston of a cylinder is not in the position under control of a
directional control valve at air supply after installation or during
maintenance, it may rapidly shift to the control position. In order to
avoid this risk, install a slow-start valve at the IN port of the directional
control valve.

2.4 Indication
If a cylinder nameplate cannot be seen due to installation environment,
place an alternative indication near the cylinder.

2.5 Residual pressure

A cylinder should be installed taking into consideration the risks for
sudden blowout of air and unintended operation due to air pressure
remaining in the cylinder even after exhaustion of air.

2.6 Training

A sufficiently trained person should be responsible for installation
and maintenance of a cylinder. (Konan provides training for operation
and maintenance of pneumatic components. Feel free to contact our
sales personnel for details.)

(3 Maintenance of cylinders

Maintenance should be performed in accordance with the following
steps. Feel free to contact our sales personnel for separate
maintenance manual.

3.1 Daily inspection

1) Exhaust drain from the air filter.

2) During operation of the system, observe the cylinder visually and

acoustically from a safe place for loosening of screws and other
external abnormalities as well as abnormal noise.
Confirm residual oil film on the surface of piston rod, taking care of
the inspector's safety. Inspection should also be performed while the
system is not in operation without exhausting inlet pressure for:
loosening of screws; flaws on the piston rod surface; and air
leakage from piston packings, exhaust port of the directional control
valve, and piping joint.

3.2 Periodical inspection

Following periodical inspection should be conducted by-annually or

annually.

1) Precise inspection should be performed after electric/pneumatic
shut-down and the status recorded. Repair should be performed if
necessary.

2) Overhaul should be performed in the 2nd annual inspection and
components exchanged as specified or if necessary. The overhaul
should also be performed when the cylinder operational distance
reaches 1000 km, even before two years from the date of last
inspection.

3.3 Residual energy

Maintenance requiring actual operation of a system should be
performed after pneumatic/electric shut-down and exhaustion of all
residual electrical charge and compressed air from the system.
Make sure the movable components do not move during the



maintenance, and mechanically fix them if necessary for safety. Care
should also be taken for components that may drop out during the
maintenance operation and components with sharp edges to ensure
safety.

3.4 Communication

If multiple persons are involved in the maintenance operation, keep
all the personnel informed about the conditions including power-off,
completion of residual pressure exhaustion, power-on, and resumption
of air supply.

(@ Cylinder installation site

Use of a cylinder at the following sites requires compliances with
special functional specifications and regulations. Consult our sales
personnel in the planning process for anything unclear.

1) Operating conditions not within the specified range

2) Significant risk for users, properties, or environment is anticipated

Eg: Use for nuclear power plants, vehicles, medical components,
components related to the Occupational Health and Safety Law
and/or the High Pressure Gas Safety Law, etc.

Users Instructions

A (o.M 1] 1-Transport of cylinders

1.1 Weight

Heavy-weight cylinders should be transported with the aid of a
conveyer equipment. Cylinder weight can be confirmed by referring
to Konan Pneumatic Cylinder Catalogue and product drawings.
Qualified personnel should be responsible for the operation of forklift
truck, crane, or slinging according to the regulations and company
safety code.

Care should also be taken for transport of light-weight cylinders not
to cause cylinder tube deformation and other component damage.

1.2 Dropping
During lifting or horizontal transportation of a cylinder, handle the
cylinder carefully not to drop or damage.

1.3 Dust prevention

Plastic plug is attached to the cylinder connection ports to prevent
dusts and rusts from entering the cylinder. Do not remove the plug
until immediately before piping. If the plug is lost, take a protection
measure with alternative cover.

/\ Caution

2.1 Storage during transport

If a cylinder is to be installed where it is exposed to wind and rain or
other adverse environment, transport the cylinder to the specified
site just before installation. If the cylinder is to be stored at the
installation site by necessity, keep it packed and protect with a sheet
cover. In such case make sure to shorten the storage period as
much as possible.

2.2 Storage

A cylinder should be stored as follows to prevent contamination and

material deterioration.

1) Avoid high temperature and humidity as well as places with dusts
and moisture.

2) If a cylinder is to be stored for more than 1 year, keep it packed or
provide equivalent protection.

3) Long-term storage may result in sticking of packings or other
components due to shortage of lubrication. In such cases, conduct
pre-conditioning operation of the cylinder before regular use.

4) After a long period of storage, permanent deformation, change of
size, or deterioration of packings and other components would be a
concern. After such storage period, conduct a cylinder operation
test. If any abnormalities are found, perform an overhaul or
exchange deformed/deteriorated components as appropriate.

A [l£ly11: ] 3-Surrounding environment

3.1 Vibration/shock

1) If a cylinder is to be used in a place where it is exposed to excessive
shock or vibration, confirm acceleration rate and other conditions
before consulting our sales personnel.

2) If the cylinder is used in a place where vibration is a concern,

ensure the cylinder is firmly fixed at the setting and connection
portions fastened tightly. Particularly, if the cylinder is to be used
frequently, take into consideration the fatigue resistance.

3) After start of operation, inspect the connection portions in a
periodical manner to check any loose parts or deformation and
re-fasten screws. Loose parts may cause unintended motion of the
cylinder, significantly affecting operators and surrounding systems.

3.2 Handling during installation

Rough handling of a cylinder may diminish regular performance of
the cylinder. For example, riding on, hammering, or dropping the
cylinder may cause damage and deformation of the cylinder tube
and piston rod. Slight deformation of the cylinder tube diameter will
result in malfunction. Also, flaw or deformation of movable components
of piston rod will damage packings, causing air leakage.

3.3 Surrounding environment

Environment surrounding a cylinder should be considered carefully.
Avoid places where the cylinder is exposed to rain and wind, direct
sunlight, salt, corrosive gas, chemical fluids, organic solvents,
steam, etc. Corrosion resistance measure can be taken depending
on the environment. Feel free to contact our sales personnel for
details.

3.4 Working temperature

Use a cylinder with specified range of ambient/working temperature

and supply pressure.

1) Temperature of compressed air around an air compressor may
become high, which may cause deterioration of packings or
malfunction of the cylinder.

2) In a place where temperature is close to 0°C , remove moisture in
the compressed air with an air dryer. If the dehumidification is not
performed, significant amount of moisture may freeze inside the
cylinder to cause malfunction.

A Warning 4.Safety measures

4.1 Operation space

Secure sufficient operation space for safe installation and maintenance
of a cylinder. This should be considered sufficiently, since in many
cases a pneumatic control system is installed after completion of a
main system. Ensuring safety is the first and foremost priority.

4.2 Mechanical safety

1) Intrinsic safety
Make sure to avoid significant damage to operators (squashing,
dragging, blow, cutting, burn, electric shock, etc.) by contact with
movable, heated, or energized components.

2) Safety measures
Put protection cover to the piston rod and other movable components
during the system operation to prevent operators from approaching.
Take utmost care not to insert arms, hands, or fingers into the
system.

3) Safety system
If setting of a protection cover or other safety measures cannot be
taken due to the functional problem of the system, add equipment



that prevents or stops operation of the cylinder when people come
closer.

4.3 Constraint during operation
Before connecting a cylinder and a load, firmly fix the both in order
to avoid unintended movement due to gravity or operational work.

4.4 Weight
See Section 1.1 of the Users Instructions.

4.5 Residual energy
See Section 3.3 of the Safety Precautions.

4.6 Other

Care should be taken for risks related to cylinder system operation
such as: sudden blowout of compressed air; unintended actuation of
the cylinder due to residual pressure after exhaustion of air inside
the system; and bursting out of the cylinder just after restarting air

supply.

A [IETI1 T 5-Use of cylinder

5.1 Modification
Do not modify a cylinder. Unexpected risk may arise.

5.2 Lateral load and bending pressure on a piston rod
If a cylinder is operated with lateral load and bending pressure on
the piston rod, the piston rod and cylinder tube may be damaged,
which may result in deformation, abnormal wearing, and friction
fluctuation as well as irregular or abnormal functioning of the cylinder,
affecting operators or the mechanical system. In order to avoid this,
follow the steps below.

1) Remove the lateral load by establishing a guide for the load.

2) After alignment to match the piston rod shaft center and the load
operating shaft, fix the cylinder and connect the piston rod and the
load.

3) If the piston rod shaft center and the load operating shaft do not
match or the load oscillates, select a method to use fittings such as
pin and ball joint to avoid external bending pressure on the piston
rod.

5.3 Mounting of protection cover

If the load on the piston rod and the driving component of the cylinder
may possibly harm the operator during the cylinder operation, mount
a protection cover so that the operator cannot directly touch the driving
components.

5.4 Shock absorption using external shock absorber
Generally, rubber or air cushions are incorporated in the cylinder
stroke edges to absorb external shock; however, these cushions are
not enough for the load with high motion energy (large mass and
high operation speed). In such cases, it is necessary to mount external
rubber cushions or other shock absorbers.

External shock absorbers should have appropriate absorption
characteristics as well as suitable connection surface and connection
stand with sufficient strength and rigidness.

A o:1111[s];] 6.Cylinder adjustment

6.1 Speed adjustment

If a cylinder needs speed adjustment, install a speed control valve to

restrict the exhausting air from the cylinder port (meter-out control).

1) Do not reverse flow direction of a speed controller.

2) Konan standard SC6 series speed controller has an adjustment
screw. When it is turned clockwise, the speed decreases to become
zero (valve closed). When the screw is then turned counter-clockwise,
the cylinder speed increases corresponding to the number of screw
revolution. However, the SC6-08-size speed controller has a
reverse structure. Therefore, turning the adjustment screw counter-
clockwise fully reduces the speed to zero (with the valve fully closed)
and turning the screw clockwise increases the cylinder speed
corresponding to the number of screw revolution.

3) For safety, fully close the speed controller before air supply, then
pressurize and gradually increase the cylinder speed using a
directional control valve.

4) After adjustment, firmly fasten the locknut of adjustment screw.

6.2 Air cushion adjustment

A cylinder with air cushion incorporates a cushion needle (needle
valve) that adjusts the cushion. As the cushioning effect differs
depending on the load speed and motion energy, speed adjustment
and cushion adjustment should be conducted at the same time.

For safety, start the adjustment with the needle valve fully closed
(screw at right end) to maximize cushioning effect and then stop the
screw where the cylinder stops promptly without any shock (approx.
2 turns counter-clockwise from the fully closed position). A needle
valve with locking function should be firmly locked.

A (o:11111] 7-Intermediate stop of a cylinder

A cylinder can be stopped intermediately by controlling with a 3-position
closed-center type directional control valve. Due to compressible
nature of air, however, precise stop position or retention rigidness of
the stop position like those of hydraulic cylinder cannot be achieved
with a pneumatic cylinder. As sealing portions inside a cylinder
system allow minimal leakage, it is also difficult to maintain the stop
position for a long time. If long-term retention of stop position is
necessary, install mechanical retention equipment such as brake,
lock, or latching system.

A Warning 8.Deflection of a long-stroke cylinder

A cylinder with stroke longer than the specified maximum length is

prone to cause deflection of piston rod or tube due to its own weight.

Follow the below when using such a cylinder.

1) If the cylinder body is firmly fixed, prepare a tube supporting
equipment.

2) Select a cylinder supporting equipment sufficient for the buckling
load of the piston rod.

3) Remove lateral load and match the center of piston rod and working
load.

4) If the load oscillates, mount intermediate trunnion for support and
use the cylinder not to make inertial force at oscillation excessively
large.

A (o:111i[0)1] 9-Spray lubrication using a lubricator

9.1 Selection of oilless enclosed cylinders

Select an oilless enclosed cylinder under following conditions.

1) The cylinder is not frequently used. Lubricated oil may not reach
the cylinder due to little spray volume.

2) Flow capacity of pipings is several times larger than the cylinder
volume, or the cylinder is mounted on a place much higher than the
lubricator. The spray oil will not reach the cylinder. Konan provides a
lubricator that can be installed between the directional control valve
and the cylinder. Feel free to contact our sales personnel for details.

9.2 Oilless enclosed cylinder

1) Use specified grease after overhaul of an oilless enclosed cylinder.
Reconfirm the type of grease with our sales personnel.

2) A greased oilless enclosed cylinder can be lubricated but the
grease will be exhausted. Although durability is enhanced after the
lubrication, continual lubrication will be required.

9.3 Lubrication

1) Use JIS K 2213 (ISO VG32) type turbine oil for lubrication using a
lubricator.

2) Spray volume of a lubricator is determined by the number of oil
drops (typically 0.03 cm® per drop or 1.5 to 2.5 drops per 1 m® of
air). Another method for adjusting lubrication is to determine
dropping volume based on the residual oil (thin layer of oil) on the
surface of the piston rod.

9.4 Centralized lubrication

In principle 1 lubricator should be used for 1 cylinder. Lubricating
multiple cylinders may result in uneven oil supply to each cylinder,
particularly if there are differences in the operation frequency, pipe
length, size, and installation height of the cylinders. By grouping the
cylinders with similar conditions, centralized lubrication can be
achieved.



A R AR 10.Cylinder system control

10.1 Sequence control

Follow the below steps for sequence control of a pneumatic cylinder.

1) Detect the piston position.

2) Interlock the control of other cylinders in the system.

3) If operation is stopped in the middle of sequence, make sure to
restart the operation from the stopped position safely. If impossible,
manually control the cylinder piston to return to the starting position.

4) Set a sequence starting position at which movable components
do not move after air exhaustion.

10.2 Power failure and pneumatic pressure failure

1) In case of power failure or emergency stop of a cylinder operation,
ensure the cylinder at operation stops or shifts to a safe position.
Care should be taken not to damage personnel or equipment after
recovery of the power failure or the system operation. Indicate
procedure to recover power failure.

2) In order to complete a cycle operation even in case of pneumatic
pressure failure, reserve sufficient amount of pneumatic pressure in
an air tank.

3) In case of the system shut-down due to emergency stop or power
failure, avoid damage to personnel or equipment when restarting the
cylinder operation after power recovery or system reset.

A LLEl I 11.Clamp system

If dropout of a workpiece due to pneumatic pressure drop in a
cylinder-driven clamp system is anticipated, use a cylinder with
spring return or lock.

A Warning ARG EE

Following should be considered when using a cylinder for lifting

systems.

1) Do not use a cylinder for elevators transporting people.

2) If external force due to loading/unloading of workpiece, etc. is
added at the stop position, use a cylinder with lock or establish other
mechanical positioning system.

3) Set the start-up position at the lower end of the lifting system.

4) If power failure occurs during a solenoid valve operation, stop the
cylinder or shift it to a safe position. If the valve is manually operated,
use a latch valve.

A L £l 1) 13.Residual pressure exhaustion

Follow the below for exhaustion of residual pressure inside a

pneumatic control system at installation or maintenance.

1) Use a manual control valve for exhaustion of residual pressure.

2) Place manometers, pressure switches, and other residual pressure
indicators at each section with residual pressure.

3) In a sequence control system, make sure to centrally control all
related residual pressure exhaustion. If this is impossible, indicate the
place and switching condition of the air exhaustion equipment
with a tag.

4) If allowing separate maintenance of each cylinder, install a 3-port
manual valve or other residual pressure exhaustion valve at the inlet
or outlet of the directional control valve.

5) In a system circuit using a check valve (non-return valve), a pilot
check valve, and/or a closed center check valve, exhaust residual
pressure separately or indicate warnings for residual pressure, as air
may be contained even the system is not in operation.

6) Indicate the residual pressure exhaustion valve in the system
circuit drawing.

A AR 14.Circuit and piping

14.1 Pressure drop

In a pneumatic control system with long pipes at the end or entrance
of the system, sufficient pressure may not be supplied due to
pressure drop. Piping thus should be designed properly, or
supplementary air tank should be installed to secure supply
pressure if a cylinder is operated intermittently.

14.2 Air filtration
Air supplied to a cylinder should be filtrated by a filter with nominal

filtration rating of no more than 40 um to remove solid contaminants.
Exhaust liquid drain or oil through the filter or drain separator after
sufficient cooling of the air. Exposure to contaminated, high temperature
compressed air may deteriorate packings or other components,
making the cylinder life shorter.

14.3 Piping

1) Do not remove the plastic plug and keep the cylinder packed until
just before piping in order to prevent dusts and rusts from entering
the cylinder during storage or installation. Use galvanized pipe for
steel tube piping and remove dusts after screwing.

2) Before connection, clean the pipes by air flushing or washing to
remove internal dusts, moisture, and oil.

3) If a seal tape is used for screwing, wrap the tape around twice or
three times in a direction opposite to the screwing direction, leaving
1.5 to 2 threads from the screw edge.

4) For piping works using tapered male thread joints or steel tubes,
use sealing materials such as seal tape and fasten to adhere tightly
to the threads. Do not use wrenches and spanners that are excessively
large for the joint or those with long extended handle. Do not step on
the wrench/spanner to fasten the pipe. Excessive fastening may
result in collapse of screws. In case of 6A to 25A (Rc1/8 to 1) size
tapered male screws, 4 to 5 threads should be screwed. For operators
with little experiences, an exercise before actual piping is
recommended.

A Caution RERS CHERGIT I

For cylinders with special specifications like below, consult our sales

personnel and inform the conditions for use.

1) Use with carbon dioxide gas or nitrogen gas

2) Use under conditions with high/low temperature or high radiant
heat

3) Use at a place with ozone or salt and underwater

4) Externally washed as part of a sanitary system

A (\ET 1) 16.Disposal

1) Do not incinerate a cylinder for disposal. It may explode or emit
poisonous gas.

2) Check the material of each component of a cylinder with catalogue
or operation manual for segregation disposal. Konan cylinders do
not include materials indisposable as general industrial waste.

"



12

Yl

DA ERENT BRAISERER THY FRATIENS IV D) DRI SICE > TEERICEML £, >

LTRERDABTE+IEE L THDLEY BN ET F0 ¥

1) 2 ZDIERICKE

o ZIEREGNTEEL SR MO— VIR TR R E LEEHD

RELETOT. REAICDOVWTRHHTEBED I AEAL T 2S00,

1 ETHEE RS —

RESVAOABDHDIIENBTSHRER SN, FELLE

HEDE_BENRHRLTERBOERE S TET,

BREENREZEIST —VEN0.2MPall EDZET % % DINER
ICIRET2RERD OB RIBIFIREBOIEEVVET,

ORBEN 400 EDEZE,
V= %D2x3x10‘3g40
V:BE[L]
D: U 4 F1—TAE[cm]
S: U AZMA—%[cm]
@IV A F1—TOREH 200mmLl LT . H2. ZOEK
&A% 1,000mmA_EDEESR
L: U 4Fa—TEE [cm]

’l ’l

L
_ I:,: I il
i — I
D S
BESERES
) A F 1 —TARES00MNDHNIEREFRESH 0.7MPaTd,
ZOOHNDIE 1.0MPa T4,

BEEENERICEKLETIRE ) S

F 2 — TJARE (mm) X kA—z (mm)
160 1990 I E
180 1572 LU E
200 933 Kl E
220 928 I E
250 815 LI E
300 566 LIk
350 416 I E
400 319 I E
450 252 DIk
500 204 LI E

BE—RBEASRRSBAL Uik BE ]

FEEDEHEEFB A DEREI I AR/ RV ESET D
SMEHE X, FRESICHEDE, HEIFEART SIHEE/E
HEEARA S — B EDREEZ T A TNIE. FEEE
ZIFES LTI A S E V. £/ERAEE. (EAEAL /=% 1 F
PIARZ &2 1 @ FHASRDETBIEIC DLW THOEFIZEEITA UL
ZDOFEREFERL. ChE3FERHRIFEL AT NIELE S LN,

1. A1ADIBIB DO £

2. 3NT=DFFT AR IL N DEEFED A

3. BERUFHDIBEDEE

WE_RBEHEHRESES
BRBORAIILE ) > S ORBIERIHMREL T,

D A |

EIEENRERICELE T HIRES ) AL, (EREEE OCLLE
ERELTHY, AAZOTITRIMHTIE, OCHRmTERT
EEth, IOHFERREIERIZE Y,

3 BEEHZRRE ——

EEA ZWEFEG. T 8 FICEEA AFRREICHAIFSNE
UZo BRI, 1.0MPa LI ETYTH, ZREDV P HRBERE
EEroNEMEREFRT2HEEEY. 5OMPall T T
SERERRI ENET, (BEL N2 AZXRERANDEREED
HREERT 335613, 1.0MPa LI L TEEAL RRELEDHE
REZIET)



Regulatory compliance

A pneumatic cylinder is activated with compressed air as the working fluid. Depending on the
pressure used or the cylinder size, the cylinder system may conflict with the regulations. It is
therefore essential to sufficiently understand the content of applicable regulations before using a
cylinder. As the cylinder operation accompanies considerable shock especially at the stroke end,

utmost care should be taken for safe operation.

1 Pressure vessel construction code of japanese government

Large size pneumatic cylinders are identified as pressure vessels,
and the pressure vessel safety regulation of the Industrial Safety
and Health Law applies. The pressure vessel is defined as a vessel
containing compressed air (0.2 MPa or more) and satisfying the
following conditions:

1) A pressure vessel with 40 L or larger volume.

v=%02><sx10‘3;40

V: Volume [L]
D: Cylinder tube diameter [cm]
S: Cylinder stroke [cm]
2) A pressure vessel with 200 mm or larger tube internal
diameter and 1000 mm or longer tube length.
L: Cylinder tube length [cm]

[T [
LI Iy

—
J

D g

BMaximum working pressure
The maximum working pressure for a cylinder tube is 1.0 MPa
(0.7 MPa for a tube with internal diameter 500 mm).

WStroke of standard cylinders applicable to the pressure
vessel construction code of japanese government

Tube diameter (mm) Stroke (mm)
160 = 1990
180 = 1572
200 = 933
220 = 928
250 = 815
300 = 566
350 = 416
400 = 319
450 = 252
500 = 204

BExcerpt from the pressure vessel construction
code of japanese government(reference)

A manufacturer that produces pneumatic cylinders or air tanks
with specifications beyond the above reguirements cannot
transfer or lease the products to other parties unless otherwise
passing the inspection by the Japan Boiler Association or the
Boiler & Crane Safety Association in accordance with the
Ministry of Health, Labor and Welfare Ordinance. The product
user should conduct periodical voluntary inspection annually,
beginning within one year after the product use, and record and
store the inspection results including the followings for 3 years:

1. Damage of the product body
2. Wearing of the clamp bolt of the product cover

3. Damage of the tube and valve

M Passing certificate of Class-2 pressure vessel
examination

Please store the original passing certificate for a period of use
of the applicable cylinder.

2.Material regulations m———————

The standard cylinders applicable to the second class pressure
vessel should be used with operating temperature of O C For
materials not specified in this catalogue, please consult us.

3.High Pressure Gas Safety Law

The High Pressure Gas Safety Law, which was renamed from the
High Pressure Gas Control Law in 1996, is applicable to 1.0
MPa or more pressure. For a pneumatic cylinder using 5.0 MPa or
less pressure, however, the law is not applicable because the
cylinder uses compressed air provided from air compressor.
(When using N2 gas or air from air tank, the law should be
applicable for 1.0 MPa or more pressure.)

13



H207 TEHFTAE

Main revision to the catalogue

[Bh40% No.2214 I3l
TRARZXEELTHVET,

Followings are changes from the specification

in the old catalogue No. 2214.

M Tube materials

BT 21— TFMERE

14

ZLU A rF B RN B Applicable cylinder Revision
8 CPB1 / CPB9/ CPE6 series ;
@CP61> U —X 9’-%1—%7 T E AR cylinder with tube intermal Tu[tj)izr:gggpal Revision
@CP69> ) —Z YD - diameter ¢ 200 and ¢ 250
) $200 J)UEF1-THE 2100213 »200 Cylinder tube external diameter: ¢ 210 - ¢ 213
@CP66 > 1J—X
F1-THEH2005 LT SULEF1—-THE 260 267 Cylinder tube external diameter: ¢ 260 ¢267
050 DL 4 250 240y FXIHA X T M27X1.5 - M24x15 4250 Tie rod screw size: M27 X 1.5~M24 X 1.5
¢ ad %40y K # E :SGDA00-D - S45C Tie rod material: SGD400D ~ 345C
440y KEFy MAE 1 SS400 — S45C Nut material for tie rod: S5400 — S45C
BEXRESEE Il Model number
FYsy A z B A B Applicable cylinder Revision
. | EERFL-TEMEEICLY. ROBYBKES CP 61 series As aresult of the change in cylinder tube material described
OCPB1YU—X | sxEmLELE, CP 69 series above, the model number for the following cylinders was
@OCP69YYU—X | (&YIXEBEHVET,) (No change for CPE1SU) | changed (for all sizes).
CP61SU l35Vic = . R 7 oo L L . 0Old model | New model | Tube internal
( @EE(:W}&&AO) JU-Z2Z B X | H B X | Fa—TAR Series No. No. e —
CP61 CP611 CPB1 CPB11
CP61H CP611H CPB1H CPB11TH
¢40 ~ 500 ¢ 40 ~ 500
CP61S2 CP611S2 CPB152 CP61152
CP61S2H | CP611S2H CPB1S2H | CPB11S2H
CP61 CP61LU CP611LU CP6.| CPe1LU CPe11LU
Y—=Z | CP61DR CP611DR CPB1DR CPB11DR
¢40 ~ 100 ¢ 40~ 100
CP61AD CP611AD CPB1AD CP611AD
CP61AR CP611AR CPB1AR CPE11AR
CP61M CP611M CP61M CPB11M
¢40 ~ 500 ¢ 40 ~ 500
CP61MR | CP611MR CPB1MR CPBT1MR
CP69 CP69 CP691 CP69 CPB91
{ 4 ¢40 ~ 250 ¢ 40 ~ 250
Y1)=Z | CP69H CP691H CP69 CPB9H CPBITH







Sl I7 )8

BEEODMBEREICOWVT Designation of Port location

OLEIIL 7 v a NN VTOMER, FIVETEMIOIREN TV A b Ok L 2 ) $9,

F72. ENO OGS OMENER R T Z 2 FTIHAHEBIZE LT 90° F 7213 180° &M 2 A i3t & L TRV 3,
O E IO EDIEEIT T HOMNTE I L2 TS v,
® Standard location of piping ports and cushions are shown in the dimension drawing of each models.Configurations rotated by 90° or 180° from

the standard as keeping the samerelative locations of ports are deemed as the same and as the standard.
® Identify the location of piping ports and cushions by the surface numbers shown in the illustrate at right.

16



BAEE 1 /N — DETHEE

| (1) ¢ 40 ~ 100

FHIATET X NFEITV YNNI RTHELE T,
A0y ReI¥y NI CHY MATTREEL, C ¥ M AT
EVXNSOMIZO U 7 EIHALET,

(a0 @) )ar)

/\‘@aﬂwhﬁ_

% |

EXbBy R
Oy KA/N—
i B & B HE
30 TwINT 1
31 CHEKIXT 2
32 oy 1
34 DEZACZASAN 1

|(2) ¢ 125 ~ 250

FHIAZET X NFGEITV YNGR THELE T,
EAMay FEIXNGECHY MATTREEL.C HY M AT
LYUXNTORIIZ OV ZEFALE T,

.

M‘ | Xty R

FHIAL

i & & BE
30 DAAE 1
31 CHEIAT 2
32 ouxy 1
34 DAY 1

|3) » 300 ~ 500

IVXNGIIITAZET X NTIIFRAXTVTHEHELE T,
EAL By FEDX NG CHY MATTREEL.C T MAT
LUXNSOMIIZO U 7 EIHALET,

31)32)34) 32
i EE ) HE
30 A AN R 1
31 AT, 1
32 CHENAT 2
33 FNaRY 8
34 0y 1

BIEHN—MFEEEEDH T

2 W 248

Name Heat resistance

J O0[@8a 7L >

CHLOROPRENE {ERMEWERE 120C

AY7IRF7AX

POLYAMIDE CLOTH {FRMHEEE 200°C

MG, SRR - TREEARTRAE S

=8 =+ + O
2 s SRR 400
ALUMINIZED CLOTH A o
B ERHHBAE 600C

E1) 100CZBAZTRAR[TOEADHZEICIK, F—ROTHEHEL T,

17



18



—fixH - ZEAXH
Bz 7oy s

General standard type

crO 1 1

—hxF-BAH

General standard type CP61 1
i & fi2

Heat-resistant type CP61 1 H
EZ br70OYXEER

Bronze-welded piston type

——cpP611s2

EAIOVREE B cp611s2H

Bronze-welded piston type/heat-resistant type

BELN)I=2a2DfilIAT - 272 25
i LRME FCHAORHE 27 ) £

Heavy duty type pneumatic cylinder with high rigidity and
outstanding durability that ensure secure operation even in

serious environment.

ﬁ: ﬁ Specification

JIS

lﬂ_lllﬂ
an

JIS Symbol

.- E-YiN 7 [RE25i7 Ex by - F0RIEY B2 o e
% E= General standard type Heat-resistant type Bronze-welded piston type Bronze-welded nges Eﬂ mge ?I?e/awesistant type
Model cod
odecoce CP611 CP611H CP611S2 CP611S2H
E £ Pl =X # B W
Operation type Double acting
3 T (JSK2213EME - )
. Pl ISO VG32. 46 HhE JEMAC 2L,
Lubricant Lubricant
F 1 — 7 A £ ~
Bore size ¢ 40 ~ 500
& H JES 5 ~
Working pressure 0.2 1.0MPa
2 kA -7 HRE *50(250mLLT) / *#(250 ~ 1000mm)
Stroke tolerances Under250mm
E X b > &R E ~
Piston speed 50 ~ 500mn /s
1 /N =
Thread tolerance JIS (6H. 6g)
g v Y 3 mEI7 Yy a>
Cushion Both ends (Air cushion)
ifit BE 5
Proof pressure 1.5MPa
& =] ! E —~ B0 _120° ~ BO" _190°
Anbient fome -5~ 60C 5~120C -5~ 60C 5~120C
i) 1.5CUTCIMAOY &1L, fEhoKG2HREL, B0z nL ) TEELEZS

2.100C # 2 2 ZK TOMHA OB AL, 4
3. ERCDA AR T T A 2 B Ad. Bl

i

PRTES v,

[E1 027X % > 54 2 4

ELET.

4. CP61H 8 £ 18 CP61S2. CP61S2H JALHFERARS T30 MHIS L& TR C 728 v,

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.

2.If using this cylinder under atmosphere at over 100°C, it is recommended to replace the packing with a new one annually.
3.Please contact us non-standard applications which are not covered by above specifications.
4.Please contact us about the delivery of CP611H, CP611S2 & CP611S2H.

19



20

ANE—F1—F 4 IFYUVY

fz

CP611

E = gAY = "/ [, = =1 - Y >
S0 B CHTCEL TR TROMRES TIRE 28,
Model code

FhEE *HeE Fa1—TAE ZtkO-—7
HIN— Mounting Style Bore size Stroke
Dust cover
’ (1 RIS Type‘ ’ @OBEEH/IN— Dust cover
£ A W MmEA 5 L N
Standard type No entry Without
i} 2 i/ H soO07L > (1E%) A
Heat resistant type CHLOROPRENE (standard)
ISR |EX b JOCXBER S2 ME AU7IRyOR B
Applied type Bronze welding piston Material POLYAMIDE CLOTH
EX - 702 XIEGE - T S2H FILIFAXRIAR D
Bronze welding piston/heat resistant type ALUMINIZED CLOTH
) BB N —EOMY ARSI 17 X= PRSI 7S v,
Please refer to p.17 for the structure.
’ (3FzeE2! Mounting style ‘ ’ OF1—THE Bore size
X H# &£ BE & U N 40mm 40
Without
» 50mm 50
W A B 7 — [N i LB
Foot 63mm 63
0Oy K@ 7 3 > 9K EFA 80mm 80
Rod end flange 100 100
Ny KAl 7 2 2 U W FB il
Cap end flange 125mm 125
L 140mm 140
B YN Single clevis CA 0
St?;ggrd — Lo LEXRE S CAA 160mm 160
Single clevis /joint pin 180mm 180
- 7 L E X ¥
Double clevis cB 200mn 200
Wy LrvEXBE R oga 20T 220
Double clevis /joint pin 250mm 250
N = F 2 W
Trunnion TC 300mm 300
—WoLEXBET v va| cap 350mm 350
Single clevis /rolled bushing 400mm 400
—W7LEXWHEBRT v ¥ a
Single clevis /lubricant bushing CAB 450mm 450
—WILERWMSP T v ¥ a CAP 500mm 500
Single clevis /SP bushing 1) 7 2 — 7 PIEE 280,320,360mmi2 D> Tk CAT No4223[CP61/CP500] & ZZ: M C 75 5 v,
— Y L E W R EESL CAS For 280mm,320mm,360m, please refer to catalogue No.4223 [CP61/CP500] .
Single clevis CARBON STEEL
I LEXRWET v
Flf\ﬁﬁ_ﬁ? Double clevis /rolled bushing CBD
Mo’ | ZWoLERmF-—TL-bEf | opk
Double clevis /keeper plate /joint pin
ZWIVERRE-R=TV= b€V FURZy TME
Double clevis /keeper plate /joint pin /grease nipple CBKG
W7 LE WK FE CBS
Double clevis /CARBON STEEL
Mo Z 4 > Wk = i & TCS
Trunnion /CARBON STEEL
NS = B (x Z)
Trunnion /female screw /steel TFS

i) —EETERVLODH Y ¥, BEOTRIZOWTIZ 160 =Y 2B 230,
Please refer to p.160 for details.



—hxA - BFRS - f5HA2

Ay MEngls

Piston rod attachment

Ay 77y b

Lock-nut

A0
Ty 2R
Port bushing

EEEDAIE

Port position

0 X

cO—%
(mmtF 1 TR EEL,)

Stroke

(Please order it by a mm unit)

% 278N
RHROHE

Pressure vessel constructiol

Cushion position

n code

OR KX bO—-7 ¢ 40 ~ 63| 600mm
Max.strokes

¢ 80 ~ 160, 800mm

¢ 180 ~ 500| 1,000mm

(@ovr%mes

Piston rod attachment ‘

’ @Oy 7Fvh Lock-nut
Oy 77y h&L \|IIA
Without Without
Oy J+y I‘1ﬂa’ﬁ' L
1 lock-nut
Oy 77w b 2Eft L2
2 lock-nut
i) 2 O¥ETHu Y Mk Y OfEiER Sk, 1AMoL T,
EDPLERRE A2 TR CES
Ty 7 Fy ML Tk, 176 =Y % TSRV 5,
Please refer to p.176 for lock-nut.
’ OFRENT vy 1R Port bushing
TyiakL H#EA
Without No entry
7y aft B
With

W) 7y ald 1E#EL T, Bz, Re3/8 45 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

| @EENLE Port position|
Hy RH/N— Ny RAIN—
Rod flange Cap flange
1 (F#) 5 (1%#%)
R OB 1 (Standard) 5 (Standard)

Code of the position 2 6
3 7
4 8

) BEE7 v Y a OB, FA—-EICERETE FE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

# &t & B & L H#EA
Without No entry
Y 2 v
Rod end clevis
Y % (e > f ) YA
Rod end clevis /joint pin
EXM YW (€~ f) BE>f]  yeo
St?ygeard Rod end clevis /joint pin /split pin
I i I
Rod end eye
I ® ( E > f ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
YHx—IN—TL—k- - ER YK
Rod end clevis /keeper plate /joint pin
YFx-1=TL—-pESTRZy TIVf YKG
Rod end clevis /keeper plate /joint pin /grease nipple
MY @Y kT > T YM
Rod end clevis /detent angle
EANG S AV R Ny i YKM
Rod end clevis /keeper plate /joint pin /detent angle
= 4 ) 5 A
SR awpa-n-7u-t & 358 | ykam
A?ypgfd Rod end clevis /keeper plate foint pin /detent angle /grease nipple
Y % Ok % @ 2] g
Rod clevis /CARBON STEEL
Y % 8 )£ >k ®| v
Rod end clevis fixed by split pin
Rod end eye /rolled bushing
ImmI v v aft| g
Rod end eye /lubricant bushing
Rod end eye /SP bushing

) 1.YM, YKM, YKGM O¥;45,

Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.

oy FeEmERiiay 74y PCTEELE T,
2. —HEVECE RV OPH ) T3, BUEOTEHIZOWTIEITAR— PRSI S v,

1 AP COEEND L9813, & TRRALTLES W,

In case of standard position on for both © and @),
) BEE Y v Y a oM, F-HEICIGRETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

’ Orv>aofiEd Cushion position
Oy KA/N— Ny RAHIN—
Rod flange Cap flange
1 5
Lt IO 2 (mf) 6 (%)
Code of the position 2 (Standard) 6 (Standard)
3 7
4 8
JyalEL
Without 9 9
QOO FEEDETHEHE@:1-5.0:2 - 6) L 2 2HEDH, ARETT

the code is necessary.

| DE2EEARBOFIE  Pressure vessel construction code

IEFE R fRSCA
Not apply No entry
A
%= o0
Applicable V2

) 155 2 ME DAL M IR A & B TR ) £
255 2R IAARA LA LTI 12 =Y & TSI £ 5,

Please refer to p.13 for details.

21



22

NE—Fa1—-F 4 I7

U4

CP611-CP611H-CP611S2- CP611S2H $t&X

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

T

174

W/
il

_ M & _
& N i cPe11 | cPe11s2 | CP611H | CP611S2H i
1 |~ v K # N = el 1
2 |a v K # N — i 1
3[vvurgdFa-—7 s 1
4 [z v o s |[rEE-gas]  #%  [pEE-@es| 1
5 |[EX h>B vy F pEs 1
6 [E 2 F>F vy b fE3] 1
8 |7 v¥a>VU>y i 1
2 4 8 v F (A s (£#) 4
9 (TCEHMANIBE) 4
% 14 O k(B P
P e . Eomotoss) | =
(FA-FB-CA-CBX#5X052)| 4
10 |+ k pES
’ P Goworioss | s
C C e s (FA-FB-CA-CB XiHAD%A)| 4
11 N S | 3 EF
* * Feaan (ZomolxoEa) 8
183 | By AITFIYFRILE e 4
14K %2 ¥ 5 =z 134 4
57 v v 2 HES 1
16 |7 148 — 1) > 5 NBR FKM 1
HEEPENTEY NBR FKM 1
18 | YUYEFa—-THATy b NBR FKM 2
19 EX b2y X2 NBR FKM 2
20 o0y K#HRF v b NBR FKM 1
2 | vyvarity x> NBR [ FKM 2
23 [ yvar=—Fu s 2
24 | = — Ry x> NBR [ FKM 2
25 |8 v 9 F v b XM 2




—hxA - BFRS - f5HA2

Fa1—-TA=F

$125 ~ 250

3 X 5 X22)18) 2 \17)15)12)16

T
- R - - - - NA
N
,
14)(13
o ) " HE
B & ﬁ‘ cpei1 | cpet1s2 | CP611H | CP611S2H [9125~220] 9250
! 1 AN v K A N = e 1
2|o v F A N — P 1
T 3| YU >4 Fa1—-7 il 1
- 4ale 2 v o] s [rre-sse] s [EE-@as 1
T 1 5| x>0y K S 1
6| E X K> F v b xR 1
1
8|V viarl)ry R 1
| % 4 0 v K (A @D % 4 -
2 4 B v K (B) |(Tcxpmnss)  REHE 4
(FA-FBXHHXOBE) KR 4
10 | &+ y > oy
(ZOMORXDBE) KEW 8
e s e (FA - FBEBTAOHS) 4
23E) (231) (23D) (23F) (239) (23R) (230) (3m) (30) || " *F T 7 % o (Z DT EE) 8
2|4 ¥ I 1 % il 1
B|AH I ALK e 4
ARENE ] 4
15| 7 Y ¥ 2 HEE 1
HEENEEPY NBR FKM 1
17]8 v KIx v % > NBR FKM 1
18] YUr8Fa-THR5u b NBR FKM 2
9] EX PNy F > NBR FKM 2
00y A4y b NBR FKM 1
2| vyvariNy k> NBR [ FKM 2
28Al 7w ¥ a > h N — Binee 2
23| = — K N T e 2
28| F v v N T EREE 2
230 /3 X 25 L A4 2
BVE| Fx oy Uty k> NBR [ FKM 2
280 v 7 F v b R 2
2G| vy varHRyy b NBR FKM 2
BH[ = — KXy x> NBR FKM 2
Bl R7Y>Ja-IE> e 2




24

ANE—F1—F 4 IFYUVY

RN EER

CP611 - CP611H - CP611S2 - CP611S2H #iEH

| 2 —puz : 9300 ~ 500

9YI0 TT1X 17 )22) 6 )20) 4 )21 8) 3 )5 19)18( 2 15(12(17
[ [ é-l y — T b
A , Ol
L |
U—l
=) 3+
/ P
14)(13
— - 7 =} B B
B & i cpei1 | cPe11s2 | cPe11H [CcP611S2H| 9300 ¢350] 400 | 9450 | ¢500
1(~N v K H N — =35 1
2|0 AN L3 1
- X e 1 - 1
2 U >4 F =72 oV - y -
. RERM- R
4 |E Z k | sk el $HE% Hae 1
5| 2 b>O vy K 3R 1
6| 2 k> F v b REH 1
25)28)(27 26)(24)(23)29 77 v e > B 1
8|7 va>rl)oy 3R 1
s 2 4 O v K (A)|(&FR) LS 8 12
2 4 O v K (B)|(TCEXHEEADEE) wFil 8 12
(FA-FBX A DIZE) 8 12
07 / i B ohomAona) 16 54
e e e s " (FA-FBEHIRADES) 8 12
mrr TR R ) i 24
12|44 4 T 4 & S 1
13|# ¥ T 14 &2 KL b Exxil 4
14N 2 ¥ 4 x =35 4
157 v ¥ 2 HES 1
177 408 —y > 5 NBR FKM 1
18(0 v K ux v % > NBR FKM 1
19 [V UL 4F1—TFHRTy b NBR FKM 2
20[E 2 Frty x> NBR FKM 2
21my K#H X4 v b NBR FKM 1
27y variny x> NBR FKM 2
23|79y yarnNWTHRry b NBR FKM 2
247 v ¥ a3 > Hh N — o3 2
25(F = v 7 NI T HEE 2
26|= — K /N T 25 L X 2
27[=— KWk xF v b RS 2
28| * 1£ 1038 2
294 2 & y b NBR [ FKM 2




—hxA - BFRS - f5HA2

XFEEH - ARITEH

CP611 - CP611H - CP611S2 - CP611S2H #3&[X]

5@ — M

LB

LB-¢40 ~ 250 Max.10(¢40~100)
_ Max.17(¢125~250)
(#15] E NN LILL+2ra—%) c A
Esi N 4-M JIF2. EE EE |F1 B A1
15 5, _\n
M TIT = — — TIT
! 1
2 _ 14 |8 _ _ _ 4 e o
6 8 S
I
I
| © L& - - 1\
o ; : — 7 3 —
JyariNIVT 37 Q
W1 W1 (2mrh)
4-¢JJ uu z L1(L+2W1)AZE+2 z
BT mm
g’f* AAERE T8 2o
soomp| LL[c[*aJar[B]a]B1 ] MM [ D [pD1] EE E[F[F2] N M NNJuu[ Z JwTr[H [wi|®7
¢ 40 97 | 30 [ 20 [ 17 | 21 | 13 | 7 [M14X15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10| 40 | 15 | 10 4 40 | 30 | 600
50 |105]35|25]22|22]17 |10 |Mi8x15) 20| 55| Rears |65 [ 19| 15| 49| mMex1 [12 |45 15| 10| 6 | 45| 30 |600
63 |105] 3525 | 22|22 17 | 10 [M18x15[ 20 [ 55| Rea/8 |75 | 19| 15| 59| m8x1 [ 1255 [ 15[ 12| 6 [ 55 | 35 |600
¢ 80 112 50 | 35 | 32 | 28 | 24 | 12 [M26Xx1.5| 30 | 75 Rc1/2 |100| 15 | 15 | 76 |[M12X1.5| 16 | 71 15 | 15 6 60 | 35 | 800
100 [112] 50| 35| 32| 28| 24|12 |mM26x1.5) 30| 75| Rci/2 [116] 16 | 16 | 90 [M12x15] 16 [ 85| 15| 15| 6 | 75 | 35 800
o125 [121[60 [ 35] 32 36|30 12 [M26x1.5| 35 | 80 | Rc1/2 [143]| 18 [ 18 [115|mM14x1.5] 19 [100] 20 [ 19| 6 | 85| 45 |800
0140 [135] 80|50 47| 48|32 18 [M36x1.5| 40 | 85 | Rc1/2 [160] 20 [ 20 [125|m16x1.5] 23 [112] 25 [ 24 | 9 [100] 55 | 800
160 |135| 80| 50 | 47 | 48 | 32 | 18 [M36x1.5] 40 | 85 | Rc3/4 [176] 20 | 20 | 142|m16x1.5] 23 [118] 25 | 24 | 9 [105] 55 [ 800
¢ 180 |145| 85| 60 57 | 50| 41 | 20 [M4a5x1.5| 50 [ 110 Re3/4 [198] 20 [ 20 [ 155|mM20x1.5] 27 [132] 30 | 28 | 13 [ 125] 70 [1000
¢ 200 [145] 856057 |50 41 |20 [M4a5x1.5[ 50 [110] Rc3/4 |220] 20 | 20 [180|m20x1.5] 27 [150] 30 [ 28 | 13 [135] 70 [1000
220 [160]| 90 | 70 | 67 | 52 | 50 | 22 [M56x 1.5 60 [120| Rc3/4 |242] 23 | 23 [190|M27x 1.5 36 [170] 40 | 35 | 13 | 150 85 [1000
250 [160] 90 | 70 [ 67 | 52 [ 50 | 22 [M56x1.5] 60 [120] Rc3/4 [270] 23 | 23 [215[mM24x1.5] 30 [180] 40 | 35 | 13 [160] 85 |1000
) Uy 2y MEE SREOB G, KA TESFPE (28) LYECADETOTIEE S0, FHIIE 176 < — V% TBI 725 0,)
#EMmT — M2 LB
LB-¢300 ~ 500
(+15] "=
Max.22 NN L(LL+ZrE—%) C A
JIF. EE EE _F|.B, Bl
]( 1
| - -
F a
8 . . 1 4 &| %[ Q
_bf AN =)
= = = = MM T
- - - - Q
. L — 2 =
P EVIN %) . 7 3 A (@)
S P
W1 W1
4-¢JJ uu z LI(L+2WI)AFE+2 z
BT mm
gﬁ AhEHE XL EHE L=
sz LL[ c [*a [ B[ a]B1 MM D [pp1]  EE E[F[N]K M NNJuu[ Z Jw[Tm][H [wi] 7
#300 [172]120] 80|60 |63 | 25| mes5x2 | 71 [112] Ret  [335]| 25 [354] 8 [ M20x1.5 | 25 [240] 43 | 33 | 25 [220]105] 1000
350 [177]|135/ 90|70 |71 |30 | M72x2 |80 [126] Rct [385| 25 [404| 8 | M24x15 | 30 [280] 43 | 36 | 25 [230]105] 1000
¢ 400 [202][150[100| 75 | 77 | 30 | M82x2 | 90 [144| Rcl1 1/4 [435] 30 [465| 8 | M27x1.5 | 35 [320] 50 | 39 | 32 [295[130] 1000
¢ 450 |212][175/110| 90 | 85 | 30 | Moox2 [100[155| Rel 1/4 [485] 30 [520| 12 [ M27x1.5 | 35 [380] 55 | 42 | 35 [320]145] 1000
6500 |217]/200[130[105] 95 | 30 | M100x2 [112]170] Rel 1/4 [540] 30 [570] 12 [ M30x1.5 | 38 [420] 55 | 46 | 38 [360[175] 1000

W) B st Mk SHEOSE.

MENA P RDE (BEE) XVECR) ETOTIEREL S,

(FEINZ 176 =Y % ZBI L 728 0,)

25



NE—Fa1—F4E I T7IVVIH

CP611 - CP611H - CP611S2 - CP611S2H #3&[X]

XFEER - -NAEITEH

Ov REIZS VIR FA
FA-$40 ~ 250 Max.10(¢40~100)
" ax.10(¢p40~
[(#E] =M Max 17(9125~250)
WV
/. CE 4-¢J N LILL+ZrE—%) cC A
0N Fo EE EE Fi B Al

1
/6}@ {r§ TTT = = = T ]
2 4 _|8 - - - 4 L _%Ié
6 8

@G}/ = = = MM

317 - 3 o
) 4M (2m@m)

uu

ouas)

BT mm
Egﬁ ANAERT A IHeETE S
il—j'mgﬁ 5 LL | C [*A | Al B Q | B1 MM D [(DD1 EE E |F1|F2| N M NN| V | VW | E J T [uu|R?

¢ 40 97 |30 [ 20 |17 |21 | 183 | 7 |[M14X15| 16 | 47 | Rc1/4 | 55| 17 | 14 | 42 | M6X1 10 [100| 80 | 55| 9 | 10 | 40 |600
¢ 50 10535 | 25|22 |22 |17 | 10 [M18x1.5| 20 | 55| Rc3/8 | 65| 19 | 15| 49 | M8X1 12 {110/ 90 | 65| 9 | 10 | 45 | 600
¢ 63 105| 35 |25 | 22|22 |17 | 10 [M18x15| 20 | 55| Rc3/8 | 75| 19 | 15| 59 | M8X1 12 1130|112 75 | 11 | 10 | 55 | 600
¢ 80 1121 50 | 35 | 32 | 28 | 24 | 12 [M26X1.5| 30 | 75 | Rc1/2 [100| 15| 15| 76 [M12x1.5| 16 |150[125|100| 14 | 14 | 71 | 800
¢ 100 |[112]50 | 35|32 |28 |24 | 12 [M26%X15| 30 | 75| Rc1/2 |116] 16 | 16 | 90 [M12X1.5| 16 |185]|155|116| 14 | 14 | 85 | 800
¢ 125 |121| 60 | 35| 32| 36 | 30 | 12 |M26x1.5| 35| 80 | Rc1/2 |143| 18 | 18 |115|M14Xx1.5| 19 [220|185|143| 18 | 14 | 100|800
¢ 140 [135|/ 80| 50 | 47 | 48 | 32 | 18 |[M36x1.5| 40 | 85 | Rci1/2 |160| 20 | 20 |125|M16x1.5]| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 [135| 80| 50 | 47 | 48 | 32 | 18 |[M36x1.5| 40 | 85 | Rc3/4 |[176| 20 | 20 | 142|M16X1.5| 23 |275|230|176| 22 | 20 | 118|800
¢ 180 [145| 85| 60 | 57 | 50 | 41 | 20 |[M45X 1.5/ 50 | 110| Rc3/4 |198| 20 | 20 | 1565|M20X 1.5| 27 |320| 265|198 | 26 | 25 | 132|1000
¢ 200 |145]|85 |60 |57 | 50 | 41 | 20 [M45x1.5] 50 |110| Rc3/4 |220| 20 | 20 |180|M20x1.5| 27 |335|280|220| 26 | 25 | 150 |1000
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 (M56x1.5| 60 |[120| Rc3/4 |242| 23 | 23 | 190 |M27x1.5| 36 [400|335|242| 33 | 30 | 170 |1000
¢ 250 [160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 |215|M24 x1.5| 30 [420|355|270| 33 | 30 | 180 |1000

) vy 7y My TIREOY A KA TESRPME () LVRR)ETOTIER LS o e (FREAMIZ 176 =2 % T 728 0)

Ov RAITS IR FA
FA-$300 ~ 500
(#18] 5

Vv NN L(LL+ ~E—7) C A
Wi JF. EE EE _F|.B_ Bil_
Max.22 [E T AT
5 1l
- - - - Ll L -
wl 3 o 4 . 8 4 _P al o
2 e
_# X L
= = z = MM
= - - - = Q
L
7 3 (2m@m)
JyiallNIVF) 8-¢J
BT D mm
& I & T2 ATE EL
s.-JmE~>3| LL | C [*A | B | Q |B1 MM D |DD1 EE E|F|N M NN| Vv [w|J|T]uUu]luu|R?

K
¢ 300 [172]120| 80 | 60 | 63 | 25 | MB5%X2 | 71 |112 Rc1 335| 25 |354| 8 | M20X1.5 | 25 |435|395| 22 | 27 | 90 | 270 | 1000
¢ 350 [177[135/90 | 70 | 71 | 30 | M72x2 | 80 |126 Rc1 385| 25 [404| 8 | M24x1.5 | 30 |[510[460| 26 | 30 | 110|330 | 1000
¢ 400 |202(150|100| 75 | 77 | 30 | M82x2 | 90 |144| Rcl 1/4 |435| 30 [465| 8 | M27x1.5 | 35 |575|515| 30 | 32 | 120|360 | 1000
¢ 450 [212[175[110| 90 | 85 | 30 | MOOx2 [100|155| Rcl 1/4 [485| 30 |520| 12 | M27x 1.5 | 35 |630|565| 33 | 35 | 120|400 | 1000
¢ 500 [217|200|130|105| 95 | 30 | M100Xx2 [112|170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 |690 |630| 33 | 37 | 150|450 | 1000
) vy 7y ML TIREOHE. KETA JESRPE () XDER) TTOTITEES LSV, (FEML 176 =2 % TBH 28 0,)




—hxA - BFRS - f5HA2

Ay MUIT S YIRS

FB

FB-¢40 ~ 250 Max. 10(¢40~100)
R Max 17(¢125~250)
(1B == v
vV
J/ [E 4-¢J T L(LL+XrO—%) c A
N 2 EE EE Fil B A1
V N,NN Bt
5 1
TiT IR
) a
o3 Hef 1 By B
15 RS2
. - - - MM
3[7 7 3 Q
. . 2
JyariSIvy 4-M ( )
BAT
’f‘g”} ANEERTE ZHEe 8Tk S
sogmpg|LL| c[*Aa[ar[B[aQ[B1|] Mu | D [oD1] EE E[F1[r2] N M N[V I[w][E]JT]T]uw]|Z?
¢ 40 97 | 30 | 20 | 17 | 21 13 7 |M14x15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 [100| 80 | 55 9 10 | 40 | 600
50 [105] 35|25 |22 |22 17 [ 10 [M18x15[ 20|55 Rea/8 |65 | 19| 15| 49 | mM8x1 |12 [110] 90 | 65| 9 | 10 | 45 [600
63 105 35| 25|22 2217 |10 [M18x15/ 20|55 Reass | 75 | 19| 15| 59 | mMax1 | 12 [130[112] 75 [ 11 | 10 | 55 |600
¢ 80 1121 50 | 35| 32 | 28 | 24 | 12 |[M26X1.5| 30 | 75 Rc1/2 |100| 15 | 15| 76 [M12x1.5| 16 [150|125|100| 14 | 14 | 71 | 800
9100 [112] 50 [ 35 | 32| 28| 24 [ 12 [M26x1.5] 30 | 75| Rc1/2 [116] 16 | 16 | 90 [M12x1.5] 16 [185]155|116] 14 | 14 | 85 [800
6125 |121]60 | 35| 32|36 | 30 | 12 [M26x15| 35 | 80 | Rc1/2 |143| 18 | 18 [115|M14x1.5] 19 [220|185]143| 18 | 14 [100]800
¢ 140 |135| 80| 50 | 47 | 48 | 32 | 18 [M36x1.5] 40 | 85 | Rc1/2 [160| 20 | 20 | 125|M16x1.5] 23 [255]212]160] 22 | 20 | 112] 800
® 160 |135] 80 | 50 | 47 [ 48 [ 32 | 18 [M36x1.5] 40 | 85 | Rc3/a [176] 20 | 20 [ 142|M16x1.5] 23 [275|230[176] 22 | 20 [118]800
® 180 |145| 85| 60 | 57 | 50 | 41 | 20 [M45x 15| 50 | 110 Rc3/4 |198] 20 | 20 | 155|M20x 1.5] 27 [ 320 265]198| 26 | 25 | 132[1000
¢ 200 |145]| 85|60 |57 | 50 | 41 | 20 [M45x1.5] 50 [110] Rc3/4 |220| 20 | 20 [180|M20x 15| 27 [335]280(220] 26 | 25 | 1501000
$220 |160| 90 | 70 | 67 | 52 | 50 | 22 |M56x1.5| 60 |120| Rc3/4 |242| 23 | 23 | 190 |M27 x1.5| 36 | 400|335 |242| 33 | 30 |170]1000
¢ 250 |160] 90 | 70 | 67 | 52 | 50 | 22 [M56x 15| 60 | 120 Rc3/4 |270| 23 | 23 [215|M24x 15| 30 | 420|355|270] 33 | 30 | 1801000
) Ty Ty MEL SHREO G, KA TESEDE ) L0 ECR) ETOTIEEL S, o GEAINE 176 < — 9% TBIC 2500,
. —_
Ay REIZS VIR FB
FB-¢300 ~ 500
(#8] R
T L(LL+XrE—%) c A
vV |F. EE EE _F|.B_ B
Max22 e Y
15 5 1]
s BN = E E e
- / & " " '
I 1 ~—
-] f | 8 4 [a]
o3 - g1 — e R
! 'J ! X 5
I Ul
1, @l - - - I
N \\ 2 X ,/
NN & E - —— Q
317 7 3 (@)
Tyyar LIl KM 8-¢J
BT :mm
37 BT XEEETE Mo
somps| LL[ c [*a [ B [ a][B1 MM D [pp1| EE E[F[N]K M N[ Vv Iw[ua[T]ulu]z?
#300 [172]120] 80 | 60 |63 | 25| Me5x2 | 71 [112] Rct |335| 25 [354| 8 | M20x 15 | 25 |435]395] 22 | 27 | 90 |270( 1000
¢ 350 177135/ 90 | 70 | 71 | 30 | M72x2 |80 [126] Rct |385| 25 [404| 8 | M24x1.5 | 30 [510]460] 26 | 30 [110]330] 1000
® 400 |202][150[100] 75 | 77 [ 30 | m82x2 | 90 [144] Rcl 1/4 [435] 30 [465] 8 | M27x1.5 | 35 |575]515] 30 | 32 [120]360] 1000
6 450 |212]175[110] 90 | 85 | 30 | M90x2 [100[155] Rcl 1/4 |485| 30 [520] 12 | M27x15 | 35 |630]565| 33 | 35 |120]400| 1000
# 500 |217]200]130[105] 95 | 30 | M100x2 [112[170] Rl 1/4 |540]| 30 [570] 12 | M30x 1.5 | 38 [690]630| 33 | 37 150|450 1000

i) uv sy MEL THREORE.

KEDA SR () XD RR) TTOTITERES LS v,

(FEIZ 176 R— Y % TSI 728 0,)




ANE—F1—F 4 IFYUVY

CP611 - CP611H - CP611S2 - CP611S2H #3&[X]

XFEER - -NAEITEH

—lY L E R CA
CA-¢40 ~ 250
-
(#1E] #HEk Max.10(¢40~100)
" Max.17(¢125~250)
) CE R L(LL+ZrO—%) c A
N 4-M K_ 2 EE EE Fi[ B A1
D183 T [/ N_NN Bi
1,5 #DDH10 5, 1
_@ J L ,@_ A T
| ] Ll n
2 | 4 _ | 18 _ _ . 4 L D]B
6 ] 8 kl/ 'F Sie
) W T © RR1 MM
. - 3'7 7 3 Q
YR I . N ;
Zyzaz NI $40~1000% 1 ORIECAS BRUASMEEAVET. @M
BAGT
Egﬂ AT AR THEHEETE S
o LL| C [*A [A1 [ B | Q [B1]| MM D |[DD1| EE E|F|[F2[ N M NN[DD[DI [ R [ T[RRI K [£7
¢ 40 97 |30 |20 | 17 | 21 13 7 |[M14x15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 |10 [ 15| 35 | 12 | 11 15 | 600
»50 |105]| 35| 25|22 22|17 | 10 [M18x15] 20 | 55| Re3/8 | 65| 19| 15| 49 | m8x1 |12 |12 ] 18|35 | 12| 13| 18 600
$63 |105]| 35 | 25|22 | 22|17 | 10 [M18x15] 20 | 55| Re3/8 | 75| 19 | 15 | 59 | mM8x1 | 12 | 16 | 25 | 45 | 15 [17.5] 24 |600
80 |112]| 50| 35 |32 |28 | 24 | 12 [M26x1.5] 30 | 75 | Rc1/2 |100| 15 | 15 | 76 |M12x 15| 16 | 20 |31.5| 55 | 18 | 22 | 30 | 800
100 |112] 50| 35| 32| 28|24 | 12 [M26x1.5) 30 | 75| Re1/2 |116]| 16 | 16 | 90 [M12x1.5] 16 | 25 |35.5] 60 | 20 |27.5] 33 |800
125 [121]| 60| 35| 32|36 | 30| 12 [M26x1.5| 35 | 80 | Re1/2 |143| 18 | 18 [115|M14x 15| 19 | 25 |355| 65 | 20 |27.5 37 800
® 140 |135| 80 | 50 | 47 | 48 | 32 | 18 [M36X1.5| 40 | 85 | Rc1/2 |160| 20 | 20 | 125|M16x1.5| 23 |31.5] 40 | 80 | 25 | 35 | 40 | 800
160 |135| 80 | 50 | 47 | 48 | 32| 18 [M36x1.5] 40 | 85 | Rc3/4 |176] 20 | 20 | 142|M16x 15| 23 [31.5| 40 | 80 | 25 | 35 | 45 [ 800
® 180 |145| 85| 60 | 57 | 50 | 41 | 20 [M45x1.5] 50 |110| Rc3/4 |198] 20 | 20 | 155|mM20x 1.5 27 | 40 | 50 [ 100 31 | 44 | 50 1000
$ 200 |145| 85 | 60 | 57 | 50 | 41 | 20 |M45x1.5| 50 | 110| Rc3/4 |220| 20 | 20 | 180 |M20x 15| 27 | 40 | 50 | 100| 31 | 44 | 50 |1000
6220 |160]| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |242| 23 | 23 [190|M27x1.5| 36 | 50 | 63 |125] 41 | 55 | 65 |1000
®250 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 |215|M24x1.5| 30 | 50 | 63 |125| 41 | 55 | 65 |1000
W) Ty sy M TIREOY G, KEAESEPME () JVECRDETOTIEE LS v, (FEAIIE 176 =Y % THM L 7280,)
— o LVE R CA
CA-¢300 ~ 500
A
(+18] &k
Max.22 E R L(LL+XkE—%) c A
X TIF.  EE EE _F[.B_ Bl
: NN
5 #DDH10 515— i
=
D)o SE
C 4 8 4 Ia) a
C 8 i B . i i . &| © EL
| = AN '
© .
0 o
. RR1
. H— —] Q
7 7 3 (2mm)
T35 NIV
BAGT
i‘:’} AAREBTE THL2ETE S
a3 LL| C [*A | B | Q | B1 MM D |DD1 EE E|F|N]|K M NN[DD[D1| R | T |RRI| X | ©7
300 |172]120] 80 |60 | 63|25 | Me5x2 | 71 [112] Ret  |335| 25 [354| 8 | M20x15 | 25 | 56 | 71 |111] 30 | 63 | 175 1000
350 |177]135] 90|70 | 71 [ 30 | m72x2 |80 [126] Rct |385| 25 [404| 8 | M24x15 | 30 | 63 | 80 [121] 32 | 71 |185] 1000
® 400 |202]|150[100| 75 | 77 | 30 | M82x2 | 90 |144| Rcl 1/4 |435| 30 |465| 8 | M27x15 | 35 | 71 | 90 | 135| 37 | 80 | 220 1000
¢ 450 |212]175/110| 90 | 85 | 30 | M90x2 |100|155| Rel 1/4 |485| 30 |520| 12 | M27x1.5 | 35 | 80 |100|150| 38 | 90 | 2301000
¢ 500 |217]200130[105| 95 | 30 | M100x2 |112[170| Rel 1/4 |540| 30 |570| 12 | M30x1.5 | 38 | 90 | 110|174 50 | 100|260 | 1000
W) Ty s Fy MEE SHEEORE. KA ISR () F0ECRD ETOTIESE LSS0, o GEMIIE 176 <— % ZBHE C 75 50,)




—hxA - BFRS - f5HA2

“WIOUVERR CB
CB-¢40 ~ 250
Max.10(¢40~100
(+15] ik / Max.17§$125~25)0)
[E
N R L(LL+ZrEA—7) C _A
Y33 4-M K, JF2 EE EE Fi[ B Al
D133 / TAT(/ _\!_NN B1
15 ¢DDH10 5; (1
73 fu T T
'\/’ @ /‘: ) )
] C ] 4 . _|8 _ _ _ 4 0[5
] ] 8 . el
| B )
‘/\
&), RR1 MM
37 7 3 Q
$40~1000 210y IZCBE ERUAHBELLYET, (2mEm)
BAGT :mm
f‘”} AT A HEETE =
e B L] C [*A A1 B | Q|81 MM D [DD1| EE E|F1|F2|N M NN|[DD|[D1| R | T [RRI| Y | K |R7
¢ 40 97 |30 |20 |17 |21 [ 13| 7 [M14xX15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10|10 | 1535|1211 | 30 | 15 |600
$50 (10535 |25|22 |22 |17 |10 |M18%x15[20 55| Rc3/8 |65 |19 | 15|49 | M8x1 |12 |12 |18 |35 | 12|13 (35.5| 18 |600
$63 (10535 |25 |22 |22 |17 |10 [M18x15[20 [ 55| Rc3/8 |75 |19 (15|59 | M8x1 |12 |16 |25 |45 | 15 [17.5| 50 | 24 |600
¢80 (11250 (35|32 |28 |24 |12 |M26x1.5(30 | 75| Rc1/2 [100| 15 |15 | 76 [M12x1.5| 16 | 20 [31.5| 55 | 18 | 22 | 63 | 30 | 800
¢ 100 [112|50 |35 |32 |28 |24 |12 [M26x1.5|30 | 75| Rci1/2 [116] 16 | 16 | 90 [M12x1.5| 16 | 25 |35.5| 60 | 20 [27.5| 71 | 33 |800
$125 [121|60 |35 |32 (36|30 |12 [M26x1.5|35 |80 | Rci/2 [143| 18 | 18 [115(M14x1.5| 19 | 25 (355 65 | 20 [27.5| 71 | 37 |800
¢ 140 [135/80 |50 | 47 |48 |32 | 18 [M36x1.5| 40 | 85 | Rci1/2 [160| 20 | 20 [125(M16Xx1.5| 23 [31.5| 40 | 80 | 25 | 35 | 80 | 40 |800
¢ 160 [135/80 |50 |47 |48 |32 |18 [M36x1.5| 40 | 85 | Rc3/4 |176] 20 | 20 [142|M16%x1.5| 23 [31.5| 40 | 80 | 25 | 35 | 80 | 45 |800
$ 180 (14585 |60 |57 |50 | 41 | 20 [M45x1.5| 50 [110| Rc3/4 [198| 20 | 20 [155[M20x1.5| 27 | 40 | 50 |[100| 31 | 44 [100| 50 |1000
¢ 200 [145|85 |60 |57 | 50 | 41 | 20 [M45%x1.5| 50 [110| Rc3/4 [220| 20 | 20 [180|M20x1.5| 27 | 40 | 50 [100| 31 | 44 [100| 50 |1000
220 [160]| 90|70 |67 |52 |50 |22 |M56x1.5| 60 [120| Rc3/4 |242| 23 | 23 [190|M27x 1.5 36 | 50 | 63 [125] 41 | 55 [125] 65 1000
250 [160| 90 |70 |67 |52 |50 |22 [M56x1.5|60 [120 Rc3/4 |270] 23 | 23 |215|M24x1.5| 30 | 50 | 63 [125] 41 | 55 [125] 65 [1000

) oy sty MEE TIREOHE.

KENA S () XD REL) TTOTITEE LS,

GEANE 176 <=V % ZBIE L 72 80,)

29



30

NE—Fa1—-F 4 I7

~

P

U4

XFEER - -NAEITEH

CP611 - CP611H - CP611S2 - CP611S2H

7

Eat]

N

—_——
MSZ=F R TC
TC-¢40 ~ 250

- Max.10(¢40~100)
(#E] Bk Max.17(¢125~250)
L1 P2 L1 NN LLL+ZRO—2) cC __A
A OE S R B A1
N A Lzr EE EE ,’F_1 LBl
____W 5/r ﬂ\1
HL L
ol | T e ===
<o | —
Nk i _ﬁz_ 4 |8 ) ) al | L g5
S5 6 8 I &9
N B
/ @ 3|7 @ E - - MM
/ [ 7 3 Q
79332 INVT) A-M G (2mEm)
BAT :mm
s Gl P ZREEATE Tt [t

RSB LL] C [*A [A1] B | Q |B1 MM D |pp1| EE E|F1[r2[ N M NN[ G [P [r2fLt ] x [xx] r |[R7|s&lrx
¢ 40 97 (3020 (17|21 |13 | 7 |M14X1.5(16 |47 | Rc1/4 |55 (17|14 | 42| M6X1 1022 |58 65|18 |16 |26 |1.5|600| 49 | 47
¢ 50 105352522 |22 (17|10 |M18%Xx1.5/20 | 55| Rc3/8 [ 65| 19| 15|49 | M8X1 12|(28(70|80|18| 16|26 |1.5|600| 58 | 51
¢ 63 105/ 35|25 (22|22 (17|10 |M18%x1.5[/20 | 55| Rc3/8 | 75|19 | 15|59 | M8X1 12128 |84 |100/ 22| 20| 30| 2 [600| 58 | 51
¢ 80 112|501 35|132|28| 24|12 |M26%X1.5/ 30| 75| Rc1/2 |100| 15| 15|76 |[M12Xx1.5| 16 | 32 |104[(112| 28 | 25 | 35 |2.5|800| 60 | 53
¢» 100 (112(50|35|32[28|24|12|M26X1.5/30|75| Rc1/2 (116| 16| 16 | 90 IM12Xx1.5| 16 | 37 |124|136|33.5|31.5| 44 | 2.5|800| 69 | 62
® 125 |121|60| 35|32 |36 |30 | 12 |M26x1.5| 35 | 80 | Rc1/2 |143| 18 | 18 |115|M14x1.5| 19 | 40 |160|170|335(31.5 50 | 2.5 |800] 72 | 65
¢ 140 |135/80 |50 |47 |48 |32 |18 |M36x%x1.5/40|85| Rc1/2 |160| 20| 20 [125|M16Xx1.5| 23 | 45 |180{180|37.5(35.5| 60 |2.5|800| 80 | 73
¢ 160 (135/80 |50 |47 |48 |32 |18 |M36x1.5|40 |85 | Rc3/4 |(176| 20 | 20 [142|M16X%X1.5| 23 | 45 |200|200(37.5|35.,5| 60 | 2.5|800| 80 | 73
¢ 180 (145/85|60 |57 |50 |41 |20 |M45x1.5|50 [110| Rc3/4 [198| 20 | 20 [155|M20x 1.5| 27 | 50 (220|224| 50 | 45 | 60 | 3 |1000| 86 | 75
¢ 200 |145/85|60 |57 |50 |41 |20 |M45x1.5|50 |110| Rc3/4 |220| 20 | 20 [{180|M20x1.5| 27 | 50 |240({250| 50 | 45 | 60 | 3 |1000| 86 | 75
¢$ 220 |160|90 |70 |67 |52 |50 | 22 IM56%x1.5| 60 [120| Rc3/4 |242| 23 | 23 |190|M27 x1.5| 36 | 70 |270|290| 60 | 56 | 80 | 3 [1000/105| 90
¢ 250 |160(90 |70 |67 |52 |50 |22 |M56x1.5|60 |120| Rc3/4 |270| 23 | 23 |215|M24x1.5| 30 | 70 |300({315| 60 | 56 | 80 | 3 [1000/105| 90

) LTy 2 Fy MEE SRR, KA R () L DEC D FTOTTEER A S0, e GERIIE 176 < — ¥ % ZBHC 75500,

2.8, RFED IR B AT SR &4 ) £,
—_—
MSZF R TC
TC-¢300 ~ 500
A
(#1E] ek
NN L(LL+ZFO—%) c A
L1 P2 L1 S R
Max22 LE JF_ EE EE _F| B_ Bl
| T | |
IE s ]
cl R4 S
&Y - \
P | NS 1Y
x| o -
ol 23 I l&2 . a 4| ) 18 . /4h\ . 1 4 alo
3% 5 8 N N 25
0 Nl A\ A
’ . MM
). 3|7 g Q
7 Ll 3 (2mmh)
Tyya NIV KM o
BAT : mm
. AT A XA BTE CrSiES

52— TR S LL | C |*A B Q | B1 MM D |DD1 EE £ IF N K M NN| G P | P2 | L1 X | XX {7 S| Ri&E
¢ 300 1721120 80 | 60 | 63 | 25 | M65x2 | 71 |112 Rct 335| 25 |354| 8 | M20x1.5 | 25| 75 [380(420| 70 | 63 |120{1000 90 | 95
¢ 350 177113590 | 70 | 71 | 30 | M72x2 | 80 |126 Rc1 385| 25 [404| 8 | M24x1.5| 30 | 85 [430(490| 75 | 71 |140{1000| 95 | 100
¢ 400 |[202(150(100| 75 | 77 | 30 | M82x2 | 90 [144| Rc1 1/4 |435| 30 |465| 8 | M27x1.5 | 35 | 90 [490|540| 90 | 80 |160(1000| 107|112
¢ 450 |212[175[/110/90 | 85 | 30 | MOOX2 [100|155| Rc1 1/4 |485| 30 |520| 12 | M27%x1.5 | 35 |100[530(610| 95 | 90 [180(1000[112[117
¢ 500 |217|200|130(105| 95 | 30 | M100x2 |112|170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 [110|610({680|105|100|200(1000[ 117|122

) Lavy sty MEE THEEOYE,
2.S. RO THRRD v

BEIES=R &40 9,

KENA PR (BE) LR D ETOTITR 22w,

R 176 — T % BB 7280,




—hxA - BFRS - f5HA2

PhEAN— - BT AR

Dimension with dust cover

CP611 - CP611H - CP611S2 - CP611S2H #EE |

I Fa—TJAE: 40 ~ 250

JC A

|

|

|

|

|

|

|
1]
®JFA

@ FA TEOBE AU R EA JFA FHEICLTF & v,

| Fa—TJAE : $300 ~ 500

MM

O~TER

BAGT

Fo-JW@E XrO—2 | JC | JB | JA MM A | JFA
0~160 | 110

¢ 40 1612250 L1950} 4o | — | m1ax15 | 20 | 60
251 ~400 | 210
401 ~600 | 300
0~160 | 110

? o ;g::iig ;’8 45 | — | misx15 | 25 | 63
401 ~600 | 300
0~ 160 95
161 ~250 | 120

éff%z 251 ~400 | 165 | 60 | — | M26x15 | 35 | 80
401 ~630 | 235
631 ~800 | 285
0~160 | 105
161 ~250 | 130

$125 | 251~400 | 175|100 | — | M26x15 | 35 | 130
401 ~630 | 245
631 ~800 | 295
0~160 | 125
161 ~250 | 150

i}gg 251 ~400 | 195 | 105 | — | M36x15 | 50 | 140
401 ~630 | 265
631 ~800 | 315
0~250 | 150
180 251 ~ 400 195

izoo o —eso T2ee] 135 | — | M4sx15 | 60 | 170
631 ~ 1000 | 375
0~250 | 140

P e igl:ggg ;;3 145 | — | M56x15 | 70 | 180
631 ~ 1000 | 311
0~250 | 181
251 ~400 | 211

300 [ o180 | 210 | Me5x2 | 80 | —
631 ~ 1000 | 351
0~250 | 186
251 ~400 | 216

350 [ oo 190|220 | m72x2 | 0 | -
631 ~ 1000 | 356
0~250 | 205
251 ~400 | 245

9400 [— 220|250 | mB2x2 | 100 | -
631 ~ 1000 | 385
0~250 | 204

6450 |22 ~400 1234 | 001 060 | moox2 | 110 —
401 ~630 | 294
631 ~ 1000 | 374
0~250 | 220

6500 |22 ~400 1260 | 00| e | mroox2 | 130 | —
401 ~630 | 310
631 ~ 1000 | 400

31



32

NE=Fa1—-F«4EIT7IUVY

R . CP611-CP611H-CP611S2- CP611S2H &
Oy FEREEE - TEX

Ay REHEE - Oy 77y MIOBEDIFTES K UERE > ICDVWTIE 172 ~186 X—T 2 TS Z8 0,

CP611-CP611H+ CP611S2- CP611S2H #i#[H]
B h R

IO EHEACOWTIERIE A 20T [HiiER (CatNo.2224) 1% TSI 280N,



—hxA - BFRS - f5HA2

BHENYyFUIRB

Consumption packing list

| F1—JMiE : 940 ~ 100

CP611 - CP611S2 @

BRES Ny xEH O (LEEYE ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |74/ —1Y>J] 1 M — 1905 M — 1907 M — 1906
17 |8 v Kty %> 1 M — 2049 M — 2050 M — 1147
18 | YUL4Fa-THrsyb| 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 |EX Rty x| 2 M — 1147 M — 1148 M — 2052 M — 2053 M— 1151
22 | vyvarisyxr| 2 M — 2176 M — 2484 M — 2485
24 |Tg KMV R] 2 02301 — 0030
[/ xv x> &y FFEEES| P-CP61-40 | P-CP61-50 | P-CP61-63 | P-CP61-80 | P-CP61-100
@i E T 200y RAAry MiEEInTwIEA,
| F2—TJMeE : 125 ~ 250
BRES wyx g (LRl ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |74/ —1)>J] 1 ZF -8 ZF -9 ZF — 11 ZF — 13
17 |8y KXy %>| 1 |M—2051 M — 1148 M — 1149 M — 1150
18 | YYY4F2-7H2459b| 2 [M—1111[{M—1112 | M= 1113 |M— 1114 |[M— 1115 | M — 1911 [M — 1117
19 [EX RNy x| 2 [M—1152(M—1153 |M— 1154 | M — 1155 |M — 1156 | M — 1955 | M — 1158
22 | Zyvariiyx>| 2 [M—1074 M — 1075 M — 1076 M — 1077
23E |Frv iy FL| 2 M — 3344
23G |73 Z2%7 | 2 02301 — 0189
23H | g SV 2 02301 — 0030

|‘}iéi BNy x>ty PFREFS ‘P-CP61-125 P-CP61-140|P-CP61-160 | P-CP61-180 | P-CP61-200 | P-CP61-220 | P-CP61 - 250

| #21—7ME : 300 ~ 500

@i HTE T 20[ 0y FAAr vy FidEEnTwEtdA,

BRES Ny xR (LY ¢ 300 ¢ 350 ¢ 400 ¢ 450 ¢ 500
17 |74 nx=—u>u] 1 LBH — 71 LBH — 80 LBH — 90 LBH — 100 LBH — 112
18 |y Fixy %>| 1 SKY — 71 SKY — 80 SKY — 90 SKY — 100 | SKY —112
19 | YUY4F2-THRry b | 2 M — 1877 M — 1878 M — 1879 M — 1880 M — 1881
20 |[EX Rty x| 2 M — 1092 M — 1093 M — 1094 M — 1095 M — 1096
2 |Zyvariyxr| 2 M— 1167 M— 1168 M— 1169 M— 1170 M — 1882
23 |7p7ap7FAgz bl 2 02301 — 0070
29 |[#HR&vyrOULY)| 2 02301 — 0210

| HENYy X2y VFEES ‘ P-CP61-300 | P-CP61-350 | P-CP61-400 | P-CP61-450 | P-CP61-500

@il E 21Ty RF 27y b id&EInTwIEdA.

33



34

ANE—Fa1—-F«4H I7

P4

U4

BHBENYyFVU R B

CP611H - CP611S2H #&[X

. . . E (ri ‘§\ :I: IR I
Consumption packing list (PR SRR
| #1—7miE : 940~ 100
BRES Ny X EH (LEEYD ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |74 1x—1) > 5] 1 M — 1905 M — 1907 M — 1906
17 |@ vy KXy % 2| 1 M — 1392 M — 1393 M — 1239
18 | YU 4F1-THrhry b | 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 |EXr2Xy x| 2 M — 1239 M — 1240 M — 1394 M — 1395 M — 1243
22 | Tyiarityxs| 2 M — 2839 M — 2838 M — 2837
24 | Tg MU VER 2 02301 — 0035

|*}‘Ei FNNyv x>y VFEE 7':7—" P-CP61H-40 | P-CP61H-50 | P-CP61H-63 | P-CP61H-80 |P-CP61H-100

| #a—JmE: 9125 ~ 250

@il 20 ay FFAry b IFEEINTHWELA,

BRES Nyx g (L8] ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |74 /18— > 5] 1 ZF -8 ZF—9 ZF — 11 ZF — 13

17 |By KXy %> 1 |M—2055 M — 1240 M — 1241 M — 1242

18 | YUr4F1-THRryb| 2 |[M—1111 |[M—1112|M = 1113 | M — 1114 |[M— 1115 [M — 1911 [M — 1117
19 |[EX RSy x| 2 |M—1244 |M—1245|M — 1246 | M — 1247 | M — 1248 | M — 2054 | M — 1250
22 |Zyvarityx>| 2 |M-—1251 M — 1252 M — 1253 M — 1254

23E |[Fr v vty xL| 2 M — 3344

23G |37 Z2%7 8| 2 02301 — 018B

23H |[(g HMIVFN| 2 02301 — 0035

B x> vy rFRES

P-CP61H-125|P-CP61H-140|P-CP61H-160|P-CP61H-180|P-CP61H-200|P - CP61H-220|P- CP61H-250

| #2—7miE : 300 ~ 500

@A ET 20Ty FAAry MiEIATVWIE A,

BRES AE E-2 KoV 2 ¢ 300 ¢ 350 ¢ 400 ¢ 450 ¢ 500
17 |7 948 —1) > F| 1 SDR — 71F SDR — 80F SDR—90F | SDR— 100F | SDR— 112F
18 |0y K/tXy % >| 1 SKY — 71F SKY — 80F SKY —90F | SKY —100F | SKY — 112F
19 | YYr4F1-THz59b | 2 M — 1877 M — 1878 M — 1879 M — 1880 M — 1881
20 |[ER by x| 2 M— 1518 M— 1519 M — 1520 M — 1521 M — 1522
22 |vyvariiyx| 2 M — 2127 M — 2128 M — 2129 M — 2130 M — 2131
23 |[To LIV 2 02301 — 0075
29 [#HZRHFvROULYT)| 2 02301 — 0215

|‘}‘ﬁ' BNy FL ity NFRES ‘P-CP61H-3OO P-CP61H-350|P-CP61H-400 | P-CP61H-450|P-CP61H-500

WEFET 2Ty FHAYy FIZEEINRTVwETA.



—hxA - BFRS - f5HA2

— CP611 - CP611H - CP611S2 - CP611S2H @[

HoEBE I
BESHER  BmEBEE=0Y VIR F+ORBEFTTYay

E E § B kg

OPDPEL: S @QFEKRF T3>
Fa1—TRE THEHE£E Ehel
W (kg)
LB FA - FB CA CB TC Y I

¢ 40 0.0049 XX bA—7+ 1.9 0.22 0.27 0.34 0.34 0.30 0.12 0.13
¢ 50 0.0077 XX bA—7+ 3.0 0.33 0.34 0.47 0.46 0.49 0.19 0.22
¢ 63 0.0086 XX hEO—=7+ 4.0 0.48 0.46 0.90 0.84 0.65 0.37 0.37
¢ 80 0.0157 XX +bA—-7+ 7.4 0.59 0.97 1.71 1.72 1.10 0.69 0.71

¢ 100 [0.0174 XX +bA—74+104| 0.90 1.40 255 2.55 1.89 1.26 1.17

$ 125 | 00260 XX hO—2+175| 1.3 25 3.3 3.4 238 126 | 1.17
® 140 | 00332 XZ hO—%+250| 25 4.1 5.3 5.4 35
¢ 160 | 00357 XX hA—%+300| 28 5.4 5.9 6.1 4.3 29 30
$ 180 | 00494 XX hO—%+420| 55 9.3 9.7 10.2 5.6

4.9 5.3

¢ 200 |0.0573 xX+A—-74+51.0 6.3 11.3 11.0 10.9 6.8

¢ 220 | 0.0721 XX hEA—7+ 69.0 9.4 18.0 19.6 18.9 14.0

9.7 10.6
¢ 250 |0.0906 XX hA—7+855| 10.1 22.0 22.8 222 13.6
¢ 300 01192 XX +tA—-7+135 | 205 23.1 14.8 23.1 11.7 16.2
¢ 350 0.1449 XX bA—7+ 185 247 35.3 18.4 39.6 17.1 22.2
¢ 400 0.2048 XX hO—7+ 273 55.8 47.6 27.7 — 46.3 22.3 28.9
¢ 450 0.2478 X X hEA—7+ 350 73.4 64.4 35.5 49.8 28.9 37.5
¢ 500 0.2905 XX bA—7+ 457 | 1114 84.0 53.3 91.0 43.3 56.2
H) LB SR 2 %4 ) OREERL T
VUIIEFREEITI ST (8BEN)
| #40 ~p100 | #125 ~p250 | #300 ~p500
30 120 = 80
28
26 128 “ 700 P Sl
24 QO 700
22 o };‘8 6?}3 | 600 = == =
% 20 00/ - L~ %120 A1 /‘r LO —1 i 7K 500 ol e ]
i LA B AT o] il
16 \ A | 1 ] ol _L+T11
= LA 20~ = 90 00 = = 400 — 20
T w ol LT T Do T W T HE
ke 21 B ke AT I k8300 =1 $390 =]
oLt o83 T L s+ o\ L1 0 LT T oat0 LI+
6 —] 1| 40 — [ ’:/ d)\A»O [ =T u | | T
e e e e B =
‘BT +—T940 20T T P 100
2 i 10

0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800 900 1000 0 100 200 300 400 500 600 700 800 900 1000
ZbE—%2S (mm) ZbtA=%7S (mm) ZbO—7S (mm)



36

ANE—F1—F 4 IFYUVY

—hzA - BFH - {502




RAMO—7 - XK
Gl 7oy s

Long-stroke cylinders

cr0Y

RZ bO-7 - BFH
Long-stroke cylinders (standard) CP691
R bO—7 - EA cP691H

long-stroke cylinders (heat-resistant)

JIS i &

JIS Symbol

CPGIBBN-XL T8, RA h=212 )25,
FEIETEE ERICEZ NGRS 4 7D
ZRED ) VT TT

[

—

Designed based on CP61 cylinders for long-stroke application,
CP691 series boast high rigidity with excellent reliability and
proven performance.

ﬁ: ﬁ Specification

Working pressure

E- VN7 [RE:517
b Et 0ne Long-stroke cylinders (standard) | long-stroke cylinders (heat-resistant)
CP691 CP691H
f£E & A R B B W
Operation type Double acting
A B = (J|SK2213~;§71|19—_1:‘>~;& . )
X Vi ISO VG32, 46 tH4ih & ZEAL £ &L,
Lubricant Lubricant
Fa1i-TAR ~
Bore size ¢ 40 250
& A E 7 0.2 ~ 1.0MPa

A hO-VEAE

Stroke tolerances

*14(1,000mLF) /681,001 mmiL L)
Under 1,000mm Above 1,000mm

EX b>&EE

50 ~ 500mm /s

Piston speed

n L 2 =

Tread tolerance JIS (B6H. 6g)

7y 23~ WBI7 7y o3
Cushion Both ends (Air cushion)

it £ B

Resisting pressure 1.5MPa

= B B E

Ambient temp -5~60C 5~ 120C

W) 1. SCUTFToTHMOBEE, FEhoKG2ERE L, @OV E ) THEEES v,
2. 100C A B2 2 ZMATOMHOY &I, F—RO/ Sy F 0 efiafidt 3,
3. LRRCARRDISAC SRR OB A1 B THC 22 S v,
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.
2.If using this cylinder under atmosphere at over 100°C, it is recommended to replace the packing with a new one annually.
3.Please contact us non-standard applications which are not covered by above specifications.

0D EEICD W T Dpesignation of Port location

OLEI1L 7 v a N\ VTOMEIE, EIWETHERIRENTW D O EREE 2 ) 93,
T72, FNS DG OMENERBREZ 2T ICHUTEICS LT 90° £ 7213 180° AW § 545
Al - U CHIR

O E DM EDIREIL FTHOMNFEHFEFIZ L7zh3 > TL 28,

® Standard location of piping ports and cushions are shown in the dimension drawing of each models.
Configurations rotated by 90° or 180° from the standard as keeping the samerelative locations of ports
are deemed as the same and as the standard.

® |dentify the location of piping ports and cushions by the surface numbers shown in the illustrate at right.

37



38

NE—Fa1—F4E I T7IVVIH

CA —
2 & 8 B -nviemL o raomtme e oz A,

Model code

CP691

RhEE *HEeE F 21— TR Z hO—7
HIN— Mounting Style Bore size Stroke
Dust cover
’ [ PR Type‘ ’ (SEZiEA" Mounting style
£ K W MEEA X ¥ & 8 & L N
Standard type No entry Without
w o H W 5 @ 7 - ~ ®| g
Heat resistant type Foot
0Oy K@ 7 3 > 9K
Rod end flange FA
Ny KAl 7 7 2 U W FB
Cap end flange
|- w7 L E 2 W
BN Single clevis CA
5 Standard - Lo
’ @OFFEA/N— Dust cover type — 7 LEZXEE >R CAA
Single clevis /joint pin
%L - 3 Z
_ N —_ b 7 v E 2 ¥
Without Double clevis cB
sOR7L > (B#) - 7 LEZRWE >R
CHLOROPRENE (standard) A = TS /joﬁ]’t oin > ft CBA
e AY7IRoOX S5 = 3 2
Material POLYAMIDE CLOTH B R ?runni:rj]— - ® TC
TILIFAXR7AX D — W LEXEET Y
AU D) CLOU Single clevis /rolled bushing CAD
) PIEEA N —EOMY AL 17 R— PRSI 2SN, — - 4B Sth
Please refer to p.17 for the structure. uéiggk[; clg—vizllﬁgr?‘cﬁaﬁ]bih{n g/ < CAB
— W7 LEZXHBSP T v
Single clevis /SP bushing CAP
Single clevis /CARBON STEEL
CzworeamaITy v a
mﬁﬁ_ﬁﬁ Double clevis /rolled bushing CBD
Double clevis /keeper plate /joint pin
ZWIVERRE=1=TV=h Y G RZy T
Double clevis /keeper plate /joint pin /grease nipple CBKG
Z Wy L E XK FEHE R CBS
Double clevis /CARBON STEEL
T ZF > Wk FEEHE
Trunnion /CARBON STEEL TCS
S = B (X Z)
Trunnion /female screw /steel TFS
|xressLemBY 7] N
wmay >y Basic + Reinforcing ring
ff LB B+® B U > 7| |gT
- _V\flith. Foot + Reinforcing ring
“fng O [FA® B+ B U > 7| par
Rod end flange + Reinforcing ring

i) —HEETERWLONH Y 9. BEOTEHIZOWTIL 160 R— Y 2B 7280,
Please refer to p.160 for details.




RA bO—7 - BAR - faH

By REimes Oy o7+ b efgEN
Piston rod attachment Lock-nut DAL
Port bushing
’9?1—7W@ mmmﬁ
40mm 40
50mm 50
63mm 63
80mm 80
100mm 100
125mm 125
140mm 140
160mm 160
180mm 180
200mm 200
220mm 220
250mm 250
@XrO0—-7 Stroke
(mmtr 1 TR &) (Please order it by a mm unit)

ECEDIE

Port position

Q@UUMENREA U — 7L, Fa—THERLREEERICLY
FehEd,
FEAIE B0 X—= TV DR AKA PE— 7 EKE TSRS v,

® Please refer to p.50 for details.

(@ovrEmes

Piston rod attachment ‘

= & €« & & LU H#EA
Without No entry
Y 7 v
Rod end clevis
Y % (e > f )
Rod end clevis /joint pin YA
/
AR YR (£ fi) BE>f]  yo
t?;‘p:r Rod end clevis /joint pin /split pin
I i I
Rod end eye
I ® ( E > f ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
YFHXx—/IX—TL—hF--EfF YK
Rod end clevis /keeper plate /joint pin
YRE=1=TL—=hEL TRy TIf YKG
Rod end clevis /keeper plate /joint pin /grease nipple
Y # SS &k F*F i =
ISR Rod clevis /CARBON STEEL YS
Applied e
e, |Y B Bl W E > I ® YE
Rod end clevis fixed by split pin
Rod end eye /rolled bushing
I miEm 7 v ¥ af| g
Rod end eye /lubricant bushing
Rod end eye /SP bushing

) —HEECE VL OB ) T, BUEOTHIZOWVTIE 174 =V E B 7280,
Please refer to p.174 for details.

55 2 FEE S
RenDFEIE

Pressure vessel construction code

Cushion position

’ @Oy 7Fvh Lock-nut
Oyo+y &l |IIA
Without No entry
Oy J+y I‘1ﬂa’ﬁ' L
1 lock-nut
Oy 77w b 2Eft L2
2 lock-nut
i) 2 O¥ETHu Y Mk Y OfEiER Sk, 1AMoL T,
EDPLERRE A2 TR CES
Uy 7Fy M LT, 176 =V % TSV E 5,
Please refer to p.176 for lock-nut.
’ OFRENT vy 1R Port bushing
TyiakL H#EA
Without No entry
7y aft B
With

W) 7y ald 1E#EL T, BRI, Re3/8 45 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

 @EENE Port position|
Oy KA/IN— Ny KABIN—

Rod flange Cap flange

1 (iF#) 5 (i%#)

EREOME 1 (Standard) 5 (Standard)
Code of the position 2 6
3 7
4 8

) BEE7 v Y a OB, FA—-EICERETE FE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

©7vya 0B

Cushion position

Oy KA/N— Ny RAIN—
Rod flange Cap flange
1 5
o EIOT 2 (=) 6 (%)
Code of the position 2 (Standard) 6 (Standard)
3 7
4 8
JyalEL
Without 9 9

HQOOFEEN L THEE@:1-5.0:2 - 6) L 2B HEDH, LARETT,
1 AP COEEN D H%E1E, & TRRALTLES W,
In case of standard position for both @ and @ ,the code is not necessary.
) BEE Y v Y a oM, F-HEICIGRETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

| DE2EEARBOFIE  Pressure vessel construction code

IEFE R fRSCA
Not apply No entry
A
%= o0
Applicable V2

) LA 2 RS AR TR & I A SR ) £
285 2FENARRESMICE L T 12—V % TRV F 5,
Please refer to P.13 for details.

39



40

ANE—F1—F 4 IFYUVY

I SN CP691 * CP691 H ;Lé
I*.l uB *% ) =1
| Fa1—TAE: $40~63

- o 1% 1 .
e s = i CP691 CP691H #a

Ty aZNVITE 1A~y K m N — "% 1

2 m] [N BANEE LS 1

3 UL HEF - T R 1

4 = 2 [N > $hk 1

5 Ex2 ~>Oowy K g 1

6 E 2 k> F v b "R 1

8 gy varyry o] 1

2 4 O v K (A R (£FK) 4

9 (TCx#fE s s 1Oy K|,

£ 4 0 v K (B e (i A2k )
(Z DOHADEHE) -
(FE;-\- FB-CA-CB I%ﬂiﬁ@#%é{
10 |+ s b EES Sumaarpq Y| 4
(Z DBOHADIHE) 8
(FA-FB-CA-CB XX 0154

Fry 7007 (Ay RAN—AIDOH) T ey 5

14 | 27)>7O0-1LE> besi] 1

15 | 7 i > El REL 1

16 |7 1 18X — 1) > 7 NBR FKM 1

17 |8 v KXy & > NBR FKM 1

18 | YUYEFa—THA v b NBR FKM 2

19 |EX b >Ny ¥ > NBR FKM 2

20 |Ay KA X4 v b NBR FKM 1

22A | 7y ariXyx (A) NBR FKM 1

22B | 7y vaityFx> (B) NBR FKM 1

23A | 7w 3= — K i 2

23B | = — KL/t y % > NBR FKM 2

23C |m v 7 + v b sl 2

24A | F 1 v U B N — e 1

24C | NN S v Vi TIVIZ) LER 1

24D | NN E 27 L R$H 1

24E | FTy INNTHRy b NBR FKM 1

24F | R — v 248 1

A0y FifiiR) > 73— 2 EORA NI =2 T, O THROBH HHEIZDA
gV LET . 8 = =

50 | #4148y R#M@Y 7 il 13%

CHPEBIRAA M =2 [50 =] & TBHL7EE )




RA bO—7 - BAR - faH

Fa—-TJARFE: ¢80

) "

e e CP691 | CP691H el
T3 INIVTER 1~y KA N = R 1
2 m] K A N — rE 1
3 S HdFa—7 LS 1
4 E 2 k > $H8% 1
5 [ex r>no oy K fES 1
6 EX N> F v b LS 1
8 7y varlyryg b3 1
2 4 B8 v K (A &R (&F) 4
9 (TCxpRAEres1ay K|,
4 4 @ v K (B) e DA 2 1)
(Z DIOHRXDIHZE —
(FEA- FB-CA-CB iﬁﬂ?iﬁ“@%ﬁ!

(Z DDOHXDIHE) 8

(FA-FB-CA-CB XA NBA
BL. FARTa10y FERY | 4

min ox ¥ 4% s L IROBEERC)
Fry TNV T (By KHAN—FIDOH) (2 DHOBRDBE) 8
12 |4 % I 4 =& L] 1
13 |# 4 T 44K b &3] 4
14 | N %2 ¥ H oz b3 4
15 | 7 ) P2 1 $HEE 1
16 |7 A4 /8x — U > 5 NBR FKM 1
17 ||y KX v % > NBR FKM 1
18 | YUY4F2—-FHZsy b NBR FKM 2
19 [BEx bty x> NBR FKM 2
20 |Oy RAZXH v b NBR FKM 1
22A | 7y varixyxr (A) NBR FKM 1
22B | 4y aiivyx (B) NBR FKM 1
23A | 7w 3= — K i 2
23B [ = — F /Xy * > NBR [ FKM 2
23 | @ v 7 F v b LS 2
24B | F 1 v U H N — e 1
24C | I\ * 7 7 TIVIZJLER 1
24D | /N * AL | 1
24E | Fr v INLTHRT Y b NBR [ FKM 1
24F | K — o x| 1

¥E A0y FifiiR) 73— B EORA NI -2 T, O THROBH HHEIZDA
B L E - =

CHpBABIAA ba—7 [50 <=3 | & TBECEE ) 50 | A Ay NtEEY > 7 £ 1K




42

ANE—F1—F 4 IFYUVY

I SN CP691 * CP691 H ;Lé
I*.l uB *% ) =1
|a‘-1—7“wi§: ®100

= . # E _
E AN CP691 CP691H =

N . . 1 D AN o] 1

7y 2a N VTE 2 | n E 7 N — EET 1

3 UL EFa—T ] 1

4 (= s k > ek 1

5 £ X ~h>owy K =35 1

6 ExX N> F oy b sl 1

8 |7 vya>ruy>ry "3 1

2 4 B v K (A LSt (2F:) 4

9 (TCx#fEriearoy k|,

4 4 O v K (B e LA 1)
(Z DbDOFXDIBE) —
(FA-FB- CA-CB iﬁﬁg:ﬁ_@i%é
L3 e A
(Z DOHXDIHE) 8
(FA-FB-CA-CB XBT0BA

L0 DA pEs Sianing ey 4

Fry 71T (Ay KHIS—FOH) (OWOMRORE) | 8

12 |4# # I 4 & LS 1

13 | # 4 T 4 &K b i 4

14 [N 2 ¥ FH % R 4

15 | 7 V 2 o LS 1

16 |7 4 18 — ) > 4 NBR FKM 1

17 |@ v KIS v % > NBR FKM 1

18 | YUL4F2—THRFy b NBR FKM 2

19 |EX b > ivy ¥ > NBR FKM 2

20 (A Yy KA X & v b NBR FKM 1

22A | 7y arinyxl (A) NBR FKM 1

22B | 7y ¥arityx> (B) NBR FKM 1

23A | Vw3 =— K il 2

23B | = — KL /Yy ¥ > NBR FKM 2

23c | v 7 F v b b5 2

24B | F = v 7 H N — SHaE 1

24C | /N ES J T TIVIZ I LER 1

24D | EY FEAY | 1

24E | FTy INLNTHRT Y b NBR FKM 1

. . B N 24F | K - I <40 1

My ATy Mg > 73— E U EORA N O—2 T, O THRROH HHEIZDAR
Bzl ET,

CHBRGIEAA b =2 [50 <= ] & BB E0) 50 | #4140y K@@y s e 1%




RA bO—7 - BAR - faH

Fa—TJAR: ¢125 ~ 250

Ty g INILTER

¥y A0y M) » 73—l LoRA e =27 T, o THR
DHLENZDHMEIB AL E T,
CRAGIRAA ba—2 [60 =2 | & TBM{ 728 0)

B . # i HE
& L CP691 | CP691H §1%5~20] $250
1 ANy K H N — &3R5 1
2 o v K # N — 35 1
3 Y4 F -7 o] 1
4 (=4 2 ~ > $H% 1
5 |[EX F>O vy K R 1
6 EZX N> F v b LS 1
8 gy arl)yry &3 1
2 4 O v K (A |(&FRX) 3R 4
s 48y r® qﬁcggﬁzﬁfgggm""&ﬁﬁ 4
(FA-FBZHHADBE
BU. FARTAM4 0y M R34 4
10 | F v blyrrtogarr)
(Z DD HRDIHE) "3 8
(FAFBEBETAOEE
s ox oy oA ox s Worhasiag | ¢
(Z DbOHRDIHE) 8
12 |+ #+ T 14 % LS 1
13 | # 4T 14 %KL b &3R5 4
14 | N 2 ¥ H % =3 4
15 | 7 v > 2 AEE 1
16 | 7 4 8 — 1) > J NBR FKM 1
17 | @y KXy % > NBR FKM 1
18 | YULEFa—-THRFy b NBR FKM 2
19 [EX by %> NBR FKM 2
20 | Oy RAZX& v b NBR FKM 1
22A | Ty aiixyx (A) NBR FKM 1
22B | 7y aiNyx (B) NBR FKM 1
23A | 7 v ¥ a > h N — FINE 2
23B | = — KR ) N J R 2
23C | F = v 7 N W T HEREE 2
23D | /N ES 25 L 24 2
23E | F 1 v 78y ¥ > NBR FKM 2
23F | @ v 7 F v b bS] 2
23G | Yy varHRT v b NBR FKM 2
23H [ = — KL Iv y % > NBR FKM 2
231 | A7 UryO—-nE> b3 2
50 | 210y K#&Y > 7 &3R5 1%

43



44

ANE—=Fa1—-F4H ITT7VUVE
— : - CP691 - CP691H @
Nk
#MAmIT— M LB
LB ¢40 ~ 250
(#E] R
BT :mm
B85 ISR T XS BT

;l_jmfa’% LL C [*A A1 B Q B1 MM D |DD1 EE E F1 F2 N M NN | UU VA JJ TT H W1
¢ 40 97 [150| 20 | 17 |130| 17 | 10 [ M14Xx15| 20 | 45 Rc1/4 55 | 13 | 14 | 42 M6 X 1 10 | 40 | 15 | 10 4 40 | 30
¢ 50 105[(160| 25 | 22 |130| 22 | 10 | M18%x1.5| 25 | 50 Rc3/8 65 | 15 | 15 | 49 M8 X 1 12 | 45 | 15| 10 6 45 | 30
¢ 63 105|160| 25 | 22 [130| 24 | 12 |M18X1.5| 30 | 60 Rc3/8 75 | 15 | 15 | 59 M8 X 1 12 | 55 | 15 | 12 6 55 | 35
¢ 80 112|1160| 35 | 32 [130| 32 | 18 |M26X1.5| 40 | 76 Rc1/2 100 15 | 15 | 76 | M12X1.5| 16 | 71 15| 15 6 60 | 35
@ 100 112|170 35 | 32 | 130| 32 | 18 |M26X1.5| 40 | 85 Rc1/2 116 16 | 16 | 90 | M12%x15| 16 | 85 | 15 | 15 6 75 | 35
¢ 125 121|1170| 35 | 32 | 130| 32 18 |M26xX1.5| 40 | 85 Rc1/2 143| 18 | 18 [115| M14Xx1.5| 19 [100| 20 | 19 6 85 | 45
@ 140 135|/190| 50 | 47 [150| 41 20 | M36x1.5| 50 |110| Rc1/2 160| 20 | 20 [125| M16X15| 23 [112| 25 | 24 9 |100| 55
¢ 160 135|/190| 50 | 47 | 150| 41 20 | M36X%X1.5| 50 | 110| Rc3/4 176| 20 | 20 [142| M16X1.5| 23 |118| 25 | 24 9 |105| 55
¢ 180 145|/190| 60 | 57 | 150| 50 | 22 | M45x1.5| 60 | 120| Rc3/4 198| 20 | 20 | 155| M20x1.5| 27 |132| 30 | 28 | 13 |125| 70
¢ 200 145|/190| 60 | 57 [ 150| 50 | 22 | M45X1.5| 60 |120| Rc3/4 |220| 20 | 20 |180| M20x1.5| 27 |150| 30 | 28 | 13 |135| 70
@ 220 160|200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 [ 130| Rc3/4 |242| 23 | 23 |190| M27x1.5| 36 |170| 40 | 35 | 13 | 150| 85
@ 250 160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 [ 130| Rc3/4 |270| 23 | 23 |215| M24x1.5| 30 |180| 40 | 35 | 13 | 160| 85

i) o7y M SHREOHA,

MEVA STESEPE (BHE) LYVECR) TTOTIER LSV,

(FRUIIZ 176 *— Y % B 228 0,)




RA bO—7 - BAR - faH

Oy RAITZS VIR FA
FA ¢40 ~ 250
[##8] K=

B D mm
85 AEERT A ZHEeETE
;J_j’pqgfa% LL [ C |*A | A1 B Q | B1 MM D |DD1 EE E |F1|F2| N M NN | V [ VW | E J T | UU
¢ 40 97 [150| 20 | 17 [130| 17 | 10 | M14X 15| 20 | 45 Rc1/4 | 55 | 13 | 14 | 42 M6 X 1 10 [100| 80 | 55 | 9 | 10 | 40
¢ 50 105160 | 25 | 22 |130| 22 | 10 | M18X1.5| 25 | 50 Rc3/8 | 65 | 15 | 15 | 49 M8 X 1 12 1110 90 | 65| 9 | 10 | 45

¢ 63 105|160 | 25 | 22 [130| 24 | 12 |[M18x1.5| 30 | 60 | Rc3/8 | 75| 15 | 15 | 59 M8 X 1 12 130|112 75 | 11 | 10 | 55
¢ 80 112160| 35 | 32 |130| 32 | 18 | M26X1.5| 40 | 76 | Rc1/2 |100| 15 | 15 | 76 | M12X1.5| 16 |150|125|100| 14 | 14 | 71

¢ 100 |112(170| 35 | 32 |130| 32 | 18 | M26Xx1.5| 40 | 85 | Rc1/2 |116| 16 | 16 | 90 | M12X1.5| 16 |185|155|116| 14 | 14 | 85
¢ 125 |121[170| 35| 32 |[130| 32 | 18 | M26X1.5| 40 | 85 | Rc1/2 |143| 18 | 18 [115|M14X1.5| 19 [220|185[143| 18 | 14 | 100
¢ 140 [135(190| 50 | 47 |150| 41 | 20 | M36X1.5| 50 [110| Rc1/2 |160| 20 | 20 | 125| M16X1.5| 23 | 255|212|160| 22 | 20 | 112
¢ 160 [135|/190| 50 | 47 |150| 41 | 20 | M36x1.5| 50 [110| Rc3/4 |176| 20 | 20 | 142 | M16X1.5| 23 | 275|230 |176| 22 | 20 | 118
¢ 180 [145|/190| 60 | 57 |150| 50 | 22 | M45X1.5| 60 |120| Rc3/4 |[198| 20 | 20 | 155| M20Xx1.5| 27 | 320|265|198| 26 | 25 | 132
¢ 200 |[145|190| 60 | 57 | 150| 50 | 22 | M45x1.5| 60 |120| Rc3/4 |220| 20 | 20 | 180 | M20x1.5| 27 | 335|280 |220| 26 | 25 | 150
¢ 220 |160|200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 |130| Rc3/4 [242| 23 | 23 | 190| M27Xx1.5| 36 | 400|335|242| 33 | 30 | 170
¢ 250 [160|200| 70 | 67 |150| 63 | 25 | M66Xx1.5| 71 |130| Rc3/4 |270| 23 | 23 | 215| M24x1.5| 30 | 420|355|270| 33 | 30 | 180

) Oy s dy MEE TIREOH A, KA A TEPEPE ) LVECADETOTITERCLZS v, o (R 176 =2 & TBI7280)




46

NE—Fa1—TF«4H IV
I —— CP691 - CP691H 31X
AR I
Ay RIITSY IR FB
FB ¢40 ~ 250
[(#E] =M
BT :mm
f”} AESTE *HLETE

%;—7’7@&5 5| LL C |*A A1 B Q B1 MM D (DDt EE E F1 F2 N M NN \ A% E J T Uu
¢ 40 97 |150| 20 | 17 |130| 17 | 10 [ M14Xx15| 20 | 45 Rc1/4 55 | 13 | 14 | 42 M6 X 1 10 | 100| 80 | 55 9 10 | 40
¢ 50 105(160| 25 | 22 [130| 22 | 10 | M18X1.5| 25 | 50 Rc3/8 65 | 15 | 15 | 49 M8 X 1 12 |110| 90 | 65 9 10 | 45
¢ 63 105|160| 25 | 22 |130| 24 | 12 [ M18%x1.5| 30 | 60 Rc3/8 75 | 15 | 15 | 59 M8 X 1 12 |130[112| 75 | 11 10 | 55
® 80 112|160| 35 | 32 |130| 32 | 18 [M26X1.5| 40 | 76 Rc1/2 100 15 | 15| 76 | M12Xx1.5| 16 [150|125|100| 14 | 14 | 71
¢ 100 112|170 35 | 32 [ 130| 32 | 18 |M26X1.5| 40 | 85 Rc1/2 116 16 | 16 | 90 | M12X 15| 16 |185|155|116| 14 | 14 | 85
¢ 125 121]1170| 35 | 32 |130| 32 18 | M26X1.5| 40 | 85 Rc1/2 143 | 18 18 |115| M14Xx1.5| 19 [220| 185|143 | 18 14 | 100
¢ 140 135(190| 50 | 47 |150| 41 20 | M36%X15| 50 [ 110| Rct1/2 160 20 | 20 |125| M16X1.5| 23 [255|212|160| 22 | 20 | 112
¢ 160 135(190| 50 | 47 |150| 41 20 | M36%x1.5| 50 | 110 Rc3/4 176| 20 | 20 |142| M16X1.5| 23 |275|230|176| 22 | 20 | 118
¢ 180 1451190| 60 | 57 |150| 50 | 22 | M45%x1.5| 60 | 120| Rc3/4 198| 20 | 20 | 155| M20x1.5| 27 |320|265|198| 26 | 25 | 132
¢ 200 145(190| 60 | 57 |150| 50 | 22 | M45x1.5| 60 | 120| Rc3/4 |220| 20 | 20 |180| M20x1.5| 27 | 335|280|220| 26 | 25 | 150
¢ 220 160|200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 [ 130| Rc3/4 |242| 23 | 23 |190| M27x1.5| 36 | 400|335|242| 33 | 30 | 170
@ 250 160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 [ 130| Rc3/4 |270| 23 | 23 |215| M24x1.5| 30 |420|355|270| 33 | 30 | 180

i) Oy gy My TIREOHEG. MAATESEPE (BHE) LVECR) ITOTIER LS,

(FRUIIZ 176 *— Y % B 228 0,)




RA bO—7 - BAR - faH

— I LERR CA
CA ¢40 ~ 250

(8] #Hk
B mm
%‘gﬁ AFERTiE XL ETE
F 2 — TR 5| LL C [*A | M B Q B1 MM D |DD1 EE B F1 F2 N M NN | DD | D1 R T |RR1| K
¢ 40 97 [150| 20 | 17 [130| 17 | 10 | M14Xx1.5| 20 | 45 Rc1/4 55 | 13 | 14 | 42 M6 X 1 10 |10 [ 15| 35 | 12 | 11 15
¢ 50 105|160 | 25 | 22 [130| 22 | 10 | M18X1.5| 25 | 50 Rc3/8 65 | 15 | 15| 49 M8 X1 12112118 | 35| 12 | 13 | 18

¢ 63 105|160 | 25 | 22 [130| 24 | 12 |[M18x1.5| 30 | 60 | Rc3/8 | 75| 15 | 15 | 59 M8 X 1 12116 | 25 | 45 | 15 |[175] 24
¢ 80 112]160| 35 | 32 |130| 32 | 18 | M26X1.5| 40 | 76 | Rc1/2 |100| 15 | 15 | 76 | M12X1.5| 16 | 20 |31.5| 55 | 18 | 22 | 30
¢ 100 |[112[170| 35 | 32 |130| 32 | 18 | M26X1.5| 40 | 85| Rc1/2 |116| 16 | 16 | 90 | M12X1.5| 16 | 25 |35.5| 60 | 20 |27.5] 33
¢ 125 |121[170| 35 | 32 |[130| 32 | 18 | M26X1.5| 40 | 85 | Rc1/2 |143| 18 | 18 |115|M14X1.5| 19 | 25 |355| 65 | 20 |27.5| 37
¢ 140 |135(190| 50 | 47 [ 150| 41 | 20 | M36X1.5| 50 |110| Rc1/2 |160| 20 | 20 | 125| M16X1.5| 23 |31.5| 40 | 80 | 25 | 35 | 40
¢ 160 |[135|/190| 50 | 47 |150| 41 | 20 | M36X1.5| 50 |110| Rc3/4 |176| 20 | 20 [ 142 | M16x1.5| 23 |31.5| 40 | 80 | 25 | 35 | 45
¢ 180 [145|190| 60 | 57 |150| 50 | 22 | M45X1.5| 60 |120| Rc3/4 |198| 20 | 20 | 155| M20x1.5| 27 | 40 | 50 | 100| 31 | 44 | 50
¢ 200 |[145|190| 60 | 57 | 150 | 50 | 22 | M45x1.5| 60 [120| Rc3/4 |220| 20 | 20 | 180 | M20x1.5| 27 | 40 | 50 | 100| 31 | 44 | 50
¢ 220 |160|200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 |130| Rc3/4 [242| 23 | 23 |[190| M27Xx1.5| 36 | 50 | 63 | 125] 41 | 55 | 65
¢ 250 |160|200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 |130| Rc3/4 |[270| 23 | 23 [215| M24Xx1.5| 30 | 50 | 63 | 125] 41 | 55 | 65

) Oy s dy MEE TIREOH A, KA A TEPEPE ) LVECADETOTITERCLZS v, o (R 176 =2 & TBI7280)




48

ANE—=Fa1—-F4H ITT7VUVE
= s - CP691 - CP691H @
N2~ R
ZWIILVERR CB
CB ¢40 ~ 250
(#1E] #HEk
BT mm
‘E‘gﬁ AEHE XS B
F2— TR < C [*A | A1 B Q B1 MM D |DD1 EE E F1 | F2 N M NN | DD | D1 R T |[RR1| Y K
¢ 40 97 |150| 20 | 17 [130| 17 | 10 | M14X15 | 20 | 45 | Rc1/4 | 55 | 13 | 14 | 42 M6 X 1 10|10 | 15| 35 | 12 | 11 30 | 15
@ 50 105|160| 25 | 22 [130| 22 | 10 | M18X15 | 25 | 50 | Rc3/8 | 65 | 15 | 15 | 49 M8 X 1 12112 (18| 35| 12 | 13 |355| 18
¢ 63 105|160| 25 | 22 [130| 24 | 12 | M18X15 | 30| 60 | Rc3/8 | 75 | 15| 15 | 59 M8 X 1 12|16 | 25| 45 | 15 (17.5| 50 | 24
#80 |112]|160| 35| 32 [130| 32 | 18 | M26%1.5 | 40 | 76 | Rc1/2 |100| 15 | 15 | 76 |M12x15]| 16 | 20 |31.5] 55 | 18 | 22 | 63 | 30
¢ 100 112|170 35| 32 [130| 32 | 18 | M26X1.5 | 40 | 85 | Rc1/2 |116| 16 | 16 | 90 | M12X1.5| 16 | 25 [35.5| 60 | 20 (27.5| 71 | 33
¢ 125 121|170 35 | 32 130 32 | 18 | M26X1.5 | 40 | 85 | Rc1/2 |143| 18 | 18 |115| M14X1.5| 19 | 25 [35.5| 65 | 20 |27.5| 71 37
@ 140 135(190| 50 | 47 |150| 41 | 20 | M36X1.5 | 50 [110| Rc1/2 |160| 20 | 20 |125| M16X1.5| 23 |31.5|/ 40 | 80 | 25 | 35 | 80 | 40
¢ 160 135(190| 50 | 47 |150| 41 | 20 | M36Xx1.5 | 50 [110| Rc3/4 |176| 20 | 20 |142| M16X1.5| 23 |31.5/ 40 | 80 | 25 | 35 | 80 | 45
¢ 180 145(190| 60 | 57 |150| 50 | 22 | M45%X1.5 | 60 [120| Rc3/4 [198| 20 | 20 |155| M20Xx1.5| 27 | 40 | 50 | 100| 31 | 44 |100| 50
$ 200 | 145|190 60 | 57 [150] 50 | 22 | M45x1.5 | 60 | 120 Rc3/4 |220] 20 | 20 [180| M20x1.5] 27 | 40 | 50 [100] 31 | 44 [100] 50
@ 220 160|200| 70 | 67 |150| 63 | 25 | M56X 1.5 | 71 [130| Rc3/4 |242| 23 | 23 |190| M27x1.5| 36 | 50 | 63 | 125| 41 | 55 |125| 65
@ 250 160(200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 |130| Rc3/4 |270| 23 | 283 |215| M24Xx 15| 30 | 50 | 63 | 125| 41 | 55 | 125| 65

i) Oy gy My TIREOHG. MA A TEHSEPE (BH) LVECR)ITOTIER (LS,

(FRUIIZ 176 *— Y % B 228 0,)




RA bO—7 - BAR - faH

rNSZ=F VR TC
TC ¢40 ~ 250
(8] #Hk

AL mm

ﬁg"} AARERT & XFe BTk /H?’:‘_r /E?_tﬂ'

F 2 — TR 5 LL | ¢ [¥A | A1 B Q | B1 MM D |[DD1| EE E |[F1|F2| N M NN | G P | P2 | L1 X | XX| r |s&E|RZE
¢ 40 97 [150| 20 | 17 |130| 17 | 10 [M14X15| 20 | 45 |Rc1/4 | 55 | 13 | 14 | 42 M6 X 1 10 |22 |58 |65 |18 |16 |26 |1.5| 49 | 47
¢ 50 105(160| 25 | 22 |130| 22 | 10 |M18Xx15| 25 | 50 |Rc3/8| 65 | 15 | 15 | 49 M8 X1 121287080 |18 |16 |26 |1.5| 58 | 51
¢ 63 105(160| 25 | 22 |130| 24 | 12 |M18X15| 30 | 60 |Rc3/8| 75 | 15 | 15 | 59 M8 X1 12128 |84 (10022 | 20| 30| 2 | 58 | 51
¢ 80 112({160| 35 | 32 |130| 32 | 18 |M26Xx15| 40 | 76 |Rc1/2 [100| 15 | 15 | 76 | M12X15 | 16 | 32 |104|112| 28 | 25 | 35 |25 | 60 | 53
¢ 100 [112(170| 35 | 32 |130| 32 | 18 [M26X1.5| 40 | 85 [Rc1/2|116| 16 | 16 | 90 | M12X15 | 16 | 37 |124|136|33.5(31.5| 44 | 25| 69 | 62
¢ 125 [121(170| 35| 32 |130| 32 | 18 |(M26X1.5| 40 | 85 [Rc1/2 {143 | 18 | 18 [115|M14X15 | 19 | 40 |160|170(33.5(31.5| 50 |25 | 72 | 65
¢ 140 |[135[190| 50 | 47 |150| 41 | 20 |M36X%15| 50 [110|Rc1/2 {160| 20 | 20 [125|M16%X15 | 23 | 45 |180|180(37.5/35.5| 60 |25 | 80 | 73
¢ 160 [135[190| 50 | 47 |150| 41 | 20 [M36X1.5| 50 |110|Rc3/4|176| 20 | 20 |142| M16X1.5 | 23 | 45 |200|200|37.5(35.5| 60 |[25| 80 | 73
¢ 180 |[145]190| 60 | 57 |150| 50 | 22 |M45X 15| 60 [120|Rc3/4 {198 | 20 | 20 [155|M20x15 | 27 | 50 |220|224| 50 |45 |60 | 3 |86 | 75
¢ 200 [145(190| 60 | 57 |150| 50 | 22 |M45% 15| 60 (120 |Rc3/4 [220| 20 | 20 [180|M20x15 | 27 | 50 |240|250| 50 |45 |60 | 3 |86 | 75
¢ 220 |160(200| 70 | 67 |150| 63 | 25 [M56X1.5| 71 |130|Rc3/4 |242| 23 | 23 |190|M27%x15 | 36 | 70 |270|290| 60 | 56 | 80 | 3 |105| 90
¢ 250 |160|200| 70 | 67 |150| 63 | 25 [M56x1.5| 71 |130|Rc3/4|270| 23 | 23 |215|M24x15| 30 | 70 |300|315|60 | 56 | 80 | 3 |105| 90

) Layrdy MEE ZHREOHA,

MEVA TESERPE (BHE) LVECRY TTOTIER LS,

2.5, RYED ZTHRDPHVHEIXS=R &%) 3.

(FRUI 176 R— Y% B 228 0,)

49



ANE—F1—F 4 IFYUVY

. HIEX
i ﬁ ﬁz :_l:t BU E-i k 2IRO=% CP691 - CP691H @& I
HERAZ FO—UF (ERY1T) BBy Hhmay 5o
Max. stroke Max. stroke with tie-rod (Reinforcing ring)
BT mm BT mm
B B | FA | FB | cA CcB TC o B | FA
¢ 40 700 ¢ 40 701 ~ 900
¢ 50 800 ¢ 50 801 ~ 1,200
¢ 63 800 ¢ 63 801 ~ 1,200
¢ 80 1,000 ¢ 80 1,001 ~ 1,600
¢ 100 1,000 ¢ 100 1,001 ~ 1,600
¢ 125 1,400 900 ¢ 125 1,401 ~ 1,600
¢ 140 1,400 1,200 ¢ 140 1,401 ~ 1,700
¢ 160 1,400 1,000 ¢ 160 1,401 ~ 1,700
¢ 180 1,800 1,400 ¢ 180 1,801 ~ 2,000
¢ 200 1,800 1,200 ¢ 200 1,801 ~ 2,000
¢ 220 2,100 1,500 ¢ 220 2,101 ~ 2,400
¢ 250 2,100 1,400 ¢ 250 2,101 ~ 2,400
) LRSI FB, CA, CB. TC 2oV T

1 F ATy FiliiR) > S EGELTB) FEAD
TIEELZS 0,

Y40y Fdy » I3EE

Dimension of tie-rod reinforcing ring.

(W8] ek

A-AZKFRX
A G
—
T]T
e ==——=—————u
4 Yy el L]
N1
|_ — — = — — — — —_
e
A
B o
w222 540 | ¢ 50 | $ 63 | » 80 | 100| ¢ 125| ¢ 140| ¢ 160| ¢ 180| ¢ 200| ¢ 220| ¢ 250
P 58 70 84 | 104 | 124 | 160 | 180 | 200 | 220 | 240 | 270 | 300
p2 65 80 | 100 | 112 | 136 | 170 | 180 | 200 | 224 | 250 | 290 | 315
G 22 28 28 32 37 40 45 45 50 50 70 70




RA bO—7 - BAR - faH

CP691 - CP691H & |

BEEEH N =" R R E |

Dimension with dust cover

I 2t palley ¢ . .Tﬁi‘\i BT om
Fa 7W1§ : 940~ 63 Fa1—TRE ZrEA—7 JC JB MM A
601 ~ 800 330
® 40 45 M14x1.5 20

801 ~ 1,000 380

601 ~ 800 330
¢ 50 801 ~ 1,000 380 50 M18Xx 1.5 25
1,001 ~ 1,200 420

601 ~ 800 330
\ JCc A ¢ 63 801 ~ 1,000 380 60 M18 X 1.5 25
1,001 ~ 1,200 | 420

801 ~ 1,000 | 320
@ ® 80 1001 ~1200 | 350 | of M26% 1.5 35
= N 1,201 ~ 1,400 | 380
1,401 ~1,600 | 410
801 ~1,000 | 320
MM ® 100 1,001 ~ 1,200 | 350

105 M26 X 1.5 35
¢ 125 1,201 ~ 1,400 380

1,401 ~ 1,600 410

801 ~ 1,000 350
1,001 ~ 1,200 380
1,201 ~ 1,400 420 135 M36 X 1.5 50
1,401 ~ 1,600 450
1,601 ~ 1,800 480

¢ 140
¢ 160

1,001 ~ 1,200 370

1,201 ~ 1,400 400

I ;1_7'1&& . ¢80 ~ 250 z ;gg 1,401 ~ 1,600 430 145 M45 X 1.5 60
1,601 ~ 1,800 460
1,801 ~ 2,000 490

1,001 ~ 1,200 380
1,201 ~ 1,400 410
1,401 ~ 1,600 440
1,601 ~ 1,800 470 160 M56 X 1.5 70
1,801 ~ 2,000 500
2,001 ~ 2,200 530
2,201 ~ 2,400 560
ffffffff i) RSO A h O =2 120onTIEGEEBIWEE &V,

¢ 220
¢ 250

MM




52

ANE—F1—F 4 IFYUVY

) L s CP691 ° CP691H5H\:\%
Oy FEIREE - TER =

Oy REiREE - Oy 74y MIOBEDEMTES L UERE L ICDWTIE 172 ~186 X—J & ZSHB &L,

CP691 - CP691H 38
B AhR

kA EOT [HfER (CatNo.2224)] % ZHHR 1280y,



RA vO—7 - BAFE - igimfs

53



54

NE=Fa1—-TFsREIT7VUVH
CP691 |
:\ V4 o ~
HENYFIURB I
Consumption packing list
| #2—JmiE: ¢40~100
BRES Ny X (LEEYR ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |7 1418 =1 > % 1 M — 1907 SFR — 25K M — 1906 ZF—9
17 |8y Rty £ > 1 M — 2050 SKY — 25 M— 1147 M — 1148
18 | YYr4Fa-THzkry b 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 |EX b2 Isy £ 2 M — 1147 M — 1148 M — 2052 M — 2053 M — 1151
22A | Ty arivyx(A) 1 M— 2176 M — 2484 M — 2485
22B | 7y arity x> (B) 1 02307 — 1150 | 02301 — 7220 \ 02307 — 2160 | 02307 — 2220 \ M — 1075
23B | = — Kty £ 2 02301 — 0030
24E | FryINNTHZLy b 1 02301 — 0090

[B#E/xoy ¥ €y N FEES| P-CP69-40

P-CP69-50 | P-CP69-63

P-CP69-80 | P-CP69-100

| #a—JmE : 9125 ~ 250

@it 200y FAAry Mid&EhTwEdi,

BRES APE 23 LEEY2l ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |7 48— > J] 1 ZF—9 ZF — 11 ZF — 13 LBH — 71

17 |8y Kty %> 1 [M—1148 M — 1149 M — 1150 SKY — 71

18 | YU4F1-742459b| 2 |[M—1111|M—1112|M— 1113 |M — 1114 |M— 1115 | M — 1911 | M — 1117
19 |EXr>Nyx>| 2 |[M—1152|M—1153|M— 1154 |M — 1155 |M — 1156 | M — 1955 | M — 1158
22A | 7y vaityEx(A) 1 |M—1074 M — 1075 M — 1076 M — 1077

22B |7y varity%>(B) 1 |M—1075 M — 1076 M — 1077 M — 1167

23E |Frx v Ny FL| 2 M — 3344

23G |7vvarHrRry | 2 02301 — 0189

23H |Z— Ky x| 2 02301 — 0030

|‘}‘¢J' Xy FL ity VFRES ‘P-CP69—125 P-CP69-140|P-CP69-160 | P-CP69-180 | P-CP69-200 | P-CP69-220 | P - CP69 - 250

@ ET 20Ty FAAry MIEIATWIE A



RA bO—7 - BAR - faH

e ° W = CP691H |
H 7% \. Y F 4 U AR (M (3 T EAE) |
Consumption packing list
| Fa—JmR : 940~ 100
BRES sy xogH (LR R ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |71 —1y > 5| 1 M — 1907 SDR — 25F M — 1906 ZF—9
17 |8y Kty %> 1 M — 1393 SKY — 25F M — 1239 M — 1240
18 | YUV4F1-THAFy | 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 [EX RNy x| 2 M — 1239 M — 1240 M — 1394 M — 1395 M — 1243
22A | 7yvarityEL(A) | 1 M — 2839 M — 2838 M — 2837
22B | 7yvarniyx>(B)| 1 [02307 — 115502301 — 7225 | 02307 — 2165 | 02307 — 2225 | M — 1252
23B = — Ky x> | 2 02301 — 0035
DAE | FrydnLTHRAFY N | 1 02301 — 0095

[/ Ny %> €y F FEES|P-CP69H-40 | P-CP69H-50 | P-CP69H-63 | P-CP69H-80 |P-CPE9H-100

| F2—JmB : 9125 ~ 250

@il 20[ a0y FAA vy FidEENTwELA,

BRES wyx g |WPEYEl ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |7 48— >F] 1 ZF -9 ZF — 11 ZF — 13 SDR — 71F

17 |8y /¥y %> 1 |M—1240 M — 1241 M — 1242 SKY — 71F

18 | YYY4F2-7H259b| 2 [M—1111[{M—1112 | M= 1113 |M— 1114 |[M— 1115 | M — 1911 [M — 1117
19 [EX RNy X | 2 [M—1244|(M— 1245 |M— 1246 | M — 1247 | M — 1248 | M — 2054 | M — 1250
22A | Zyvariiyx>(A) | 1 |M— 1251 M — 1252 M — 1253 M — 1254

22B |7yvariNy%x(B)| 1 |M—1252 M — 1253 M — 1254 M — 2127

23E |FruvoiNyx>| 2 M — 3344

23G |7y varfizFyb| 2 02301 — 018B

23H |[Z— Kty x| 2 02301 — 0035

[Ny x>ty FFRES

P-CPGOH-125 | P-CP69H- 140 | P- CPGIH- 160 | P-CPE69H- 180 | P- CP6IH-200 | P- CPGIH-220 | P- CPE9H-250

@i TE T 20[ 0y FAAFy FidEENTwELA,

55



NE—=Fa1—F 4 IFYUVS RZ bO—7 - BAF - #50f2

0 H S |
B8N - HREE=0YV VIR F+0BEFTTVay
E == § B ke
OPDPEE 5 QBAA T3>
F1—THE W () X548 EHEE 240y K
e LB |[FA-FB| CA CB TC Y I fhigl) > 7
¢ 40 0.0053 X S + 3.5 0.22 0.27 0.34 0.34 0.30 0.12 0.13 0.21
¢ 50 0.0079 X S + 5.0 0.33 0.34 0.47 0.46 0.49 0.19 0.22 0.39
¢ 63 0.0108 X S + 6.9 0.48 0.46 0.90 0.84 0.65 0.37 0.37 0.48

¢ 80 0.0179 X S+ 120 0.59 0.97 1.71 1.72 1.10 0.69 0.71 1.05
¢ 100 0.0191 X S+ 16.2 0.90 1.40 2.55 2.55 1.89 1.26 1.17 1.52
¢ 125 0.0281 X S + 221 1.3 2.5 3.3 3.4 2.8 1.26 1.17 2.57

¢ 140 0.0387 X S+ 34.4 2.5 4.1 5.3 5.4 3.5 o5 30 3.11
¢ 160 0.0376 X S + 39.4 2.8 5.4 59 6.1 4.3 3.97
¢ 180 0.0552 X S+ 51.9 5.5 9.3 9.7 10.2 5.6 49 53 5.31
¢ 200 0.0641 X S+ 61.0 6.3 11.3 11.0 10.9 6.8 7.26
¢ 220 0.0805 X S + 80.7 9.4 18.0 19.6 18.9 14.0 97 106 13.0
¢ 250 0.1030 X S +97.2 10.1 22.0 22.8 22.2 13.6 14.4

i) L SIEAbo—2 (miifhn) Z/RLET
2 LB&RIX 2 AL ) OBEZRLET



v SRS A
e zrouvs

Corrosion-resistant pneumatic

cylinder

60 1su

AV CPOILIGS ) > 7% = RIS & FX T
R7 S VRBE LIt IS 1 TORIES ) ¥ 5T

Corrosion-resistant pneumatic cylinder based on CP611 with

stainless steel external materials.

ﬁ: ﬁ Specification

Operation type

% =m £ = 51 BB AL
X i = Corrosion-resistant surface type
Model code CP61SU

£ & A A # OB W

Double acting

Ambient temp

B o CWUES0 T —"
LTI Lubricant

F - 7 A N

- Bore size ¢ 40 ~ 250
® B E 7 -

Working pressure 0.2 ~ 1.0MPa

+1.0
= (250mmI )

2 b0 -V HFRE 0

Stroke tolerances ) Under250mm

o (250 ~ 1,000mm)
E X k2 &EE _
Piston speed - 50 ~ 500mm /s

1 U nE

Thread tolerance JIS (6H. 6g)
7 v ¥ 3 r WET 77y 3>

Cushion Both ends (Air cushion)

i} £ B

Proof pressure 1.5MPa
#= B B E 5~ 60C

i) 1. S5CLUFCTMMOLEIL, W OKGZHRE L, BHOR VL) TEE S,
2. AR IR BRALT 3o MR THERR C 758 W
3. ARG BIE S B EV A L 9 REIABLEBHEE S v,

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.

2.As CP61SU is not standard products, please contact us about the delivery.
3.As Heat resistant type is available, please contact us for details.

JIS i %

JIS Symbol

[

—

57



58

ANE—F1—F 4 IFYUVY

CA -
2 & 8 S cuvimL cdraontme e ImEd AR,

Model code

cpe1sU - [ - 2N - HCEH - 2l -

Ay MERes

TIWIFAXRKI7OR

HIN— Mounting Style Bore size Stroke Piston rod attachment
Dust cover
’ QEH/N— Dust cover‘ OXrO—-7 Stroke
(mmtF 1 TR &) (Please order it by a mm unit)
% L N
Without
7angL () A ®BAZPO—T 40 ~ 63 600mN
CHLOROPRENE (standard :
o s fona $80 ~ 160, 800mm
Material POLYAMIDE CLOTH B ¢ 180 ~ 250/ 1,000mm
D

ALUMINIZED CLOTH
) BB N—EORY AL 17 X= VRS 7EE v,
Please refer to p.17 for the structure.

’ D& R Mounting style‘ ’ (5 AN 3=} Piston rod attachment‘
X # & B & U N 2 &% €« B & LU HETA
Without Without No entry
# A m 7 — b~ W Y i/
Foot LB Rod end clevis Y
0By KA 73> T® Yy ® (e > & )
Rod end flange FA AT Rod end clevis /joint pin YA
S = . on o Standard 7
Ny PR 7 7 > YW FB ?)I?pea ‘ I i I
Cap end flange Rod end eye
— W 7 L E 2 ® I ®% (B > f )
AT Single clevis CA Rod end eye /joint pin IA
St?;geard — b7 LEI®E >F CAA ) —HEETE VL ODH ) 5, BUEOTTHIZOVTIL 174 )=V R B 2280,
Single clevis /joint pin Please refer to p.174 for details.
- 7 L E X ¥
Double clevis cB
Wy LEXIEE >
Double clevis /joint pin CBA
N S = F L
Trunnion TC
) —EEMETE 0 b OBH D) EF, BIEDTHIZONTIE 160 X— Y A BIE 750, ’ Guyyrvh Lock-nut
Please refer to p.160 for details. —
Oy y+y h&L H|SEA
Without No entry
Oy 7Fy b1 @R L
1 lock-nut
’ OQF1—THE Bore size 2 lock-nut
i) 2N OBAETE By KR v OmER Sk, LEMOREFE LT,
40mm 40 ZHASLERIEE A SHEE SHRC S0
Oy Gy ML TE, 176 %=V % 2%
SOmm 50 Please refer to p.176 for lock-nut.
63mm 63
80mm 80
100mm 100
125mm 125
140mm 140
160mn 160 | @EEOT v 18R Port bushing
180mm 180 TyakL HECA
200mm 200 letE]out ﬁ No entry
VA
220mm 220 With B
250mm 250 ) 7y ald 1RELTT. BAE, R385 5 Rel/d~,

This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.



S\ERTHERAZ - #25HAZ

PZ=Pa’)

Pressure vessel construction code

Oy o3y b ofE0 BEDNTE 7y
Lock-nut T2kt Portposition =
Port bushing Cushion position
 @EENME Port position |
Ay RAN— ANy RAN—
Rod flange Cap flange
1 (1F%) 5 (1R%)
EREOAE 1 (Standard) 5 (Standard)
Code of the position 2 6
3 7
4 8

W) BEE 7 vy a v OB, F—EICIEERETEEEA,

Cannot establish the plumbing and the position of the cushion in the same aspect.

Y PPEPLY Cushion position
Ay RAHN—= | ANy RHN—=
Rod flange Cap flange
1 5
RrROIE 2 (%) 6 (=)
Code of the position 2 (Standard) 6 (Standard)
3 7
4 8
JyoalEL
Without 9 9
XQOODFENETHE(@:1-5.0:2- 6) L 22 HEDH, RARETT,

1 AT COERN D H5E1E. ETRRALTLLES W,

In case of standard position for both ® and @ ,the code is not necessary.

W) L7 vy a Y OREE, W-ciRETE A

Cannot establish the plumbing and the position of the cushion in the same aspect.

‘ DE2BEEHEBDIE  Pressure vessel construction code ‘

IEZE A
Not apply No entry
LS v
Applicable

i) A2 M ARG LMICE L TR 12 =D % TEHEE T,

Please refer to p.13 for details.

59



60

NE—Fa1—F4E I T7IVVIH

CP61SU

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

U 74

1

&5 & b # =1 HE
1 |~ v K # N — 25> L 248 1
2 o v K # N - 27 LR 1
3 UL HFa—TJ POV E: | 1
4 | E 2 N > $hsk 1
5 |E X k>o vy R 27> L 240 1
6 |EX > F v b L3 1
8 |7 vya>rl)ry bS] 1
2 4 O v K (A 27> L 248 (&) 4
9 _ (TCEXHMKDIHZE) 4
2 4 0 K (B Z2FL LR
P e TIVR Gomomxoss) | T
(FA-FB-CA-CBXHFANBE)| 4
10 | + b 2F LR
4 77 (Z DHOTRADHE) 8
. . _ (FA‘FB-CA-CB XHRANDIBE)| 4
IR VAT S 2F 2L R
* * 7 (ZDROTADEE) 8
13 | Oy HITFYERIL b ZAFLLR 4
14 | N %2 ¥ #H z ZFLR 4
15 | 7 Y > el REL 1
16 |7 4 8 — Uy > 4 NBR 1
17 | @ v KX v % > NBR 1
18 | YUY EFa—THAyy b NBR 2
199 [EX k> y %o NBR 2
20 |8y KA X475 v b NBR 1
22 | 7y arivy &2 NBR 2
23 | 7y var=——FKI 25 LR 2
24 | = — KLy ¥ > NBR 2
25| 8 v 7 F v b 25 LR 2




S\ERTHERAZ - #25HAZ

CP61SU

R wE R

IFJ—TNE

$125 ~ 250

3N 5 X22)18) 2 \17X1512(16

&5 & L3 4 =1 HE
' 1| AN v K # N — ZXFL LR 1
2 |o v K B N — ZFLX 1
' 3 | v Fa1—7 2FLLR 1
- 4 | E Z b > $HEk 1
T i 5 | x>0y K ZFL LR 1
6 |E X k> F v b i 1
1
8 |7 v¥aruyry i 1
1 2 4 O v K (A AFL LR (2WR) 4
9 _. (TCEXHMRDIHE) 4
R e AToA (ZomoTAOEA) .
_. (FA-FBXHEFHRNBE) 4
07 / i ATova (DfoHADES) 8
23E) (231) (23D) (23F) (23B) (23H) (23G) (23A) (23C N A _ (FA-FBX#EHRDIHE) 4
MmN 2 ¥ #H =z 272 LR :
(ZDOHXDHE) 8
124 # T 14 4 ZXFLLR 1
13 | # 4 T 4 %K I K AF LR 4
14 | 1N 2 ¥ A x ZFT LR 4
15 | 7 Y P 5 HEE 1
16 |7 1 /8 — Uy > F NBR 1
17 |8y KNy % > NBR 1
18 | YUY EFa—THAyy b NBR 2
199 |EX b>Isy > NBR 2
20 |0y KA XA v bk NBR 1
22 | 7y arivy ¥ NBR 2
283A | 7 v ¥ 3 > H N — 27> LR 2
23B| = — K J N L T 27 LR 2
23C|F = v 7 N N T BIREE 2
23D | /N % ZXFLLR 2
28E| F x v 7Ny X > NBR 2
28F | @ v 7 F v bk ZFLLR 2
23G| Vv yarHAXTy b NBR 2
23H| = — KL/ vy ¥ > NBR 2
231 | 27)>JO—-lLE > 2F LR 2




62

PO _ " - -
NE=Fa—-F«4RIF7IVIS
CP61SU
Z N W
XTRHEER - AEEITEE
Bpm7— ME LB
LB-¢40 ~ 140
(8] A7V LU
Max.10(¢40~100)
Max.17(¢125~140)
CE N L(LL+ZrO—2) c A
N 4-M JF2_ EE EE _Fi| B A1
/ Tf N B
1,5 5 (1
| LI = = UL
| 8 4 o
S | D 2
| | 9
@ ' I=) *
_ 9 = : : N\
— = — — =
- S =5
3l7 a
Wi Wi (2m@rh)
4-¢JJ uu z L1 (L+2W1 )AZE+2 z
BT mm
‘f‘“} ARER T THEETE T
o RlB| LL] C [*A [A1] B | Q | B MM D |DD1 EE E|F1|F2| N M NNJou [ z[w T H [wi|27
40 |97 30|20 |17 |21 |13 | 7 [M14x15|16 | 47 | Rc1/4 | 55|17 |14 |42 | M6 x1 |13 |40 | 15| 10| 4 | 40 | 30 |600
¢ 50 105 35| 25|22 | 22| 17 | 10 [M18x1.5| 20 | 55 Rc3/8 65| 19 | 15 | 49 | M8X1 18 45| 15|10 | 6 | 45| 30 |600
$63 |105|35 |25 |22 |22 |17 | 10 |[M18x15| 20 | 55| Re3/8 | 75|19 | 15|59 | M8x1 |18 |55 | 15| 12| 6 | 55 | 35 |600
¢80 |[112| 50|35 |32 |28 |24 |12 [M26x1.5| 30 | 75| Rc1/2 |100| 15| 15| 76 [M12x1.5/ 23 | 71 | 15| 15| 6 | 60 | 35 | 800
¢ 100 [112| 50 | 35|32 |28 | 24 | 12 [M26%x1.5| 30 | 75 | Rci1/2 |[116| 16 | 16 | 90 [M12 x1.5| 23 | 85 | 15 [ 15| 6 | 75 | 35 | 800
¢ 125 |121| 60| 35|32 (36| 30| 12 IM26x1.5| 35 | 80 Rc1/2 [143| 18 | 18 |115|M14 x1.5| 25 [100| 20 | 19 | 6 | 85 | 45 | 800
¢ 140 |135| 80 | 50 | 47 | 48 | 32 | 18 |[M36x1.5| 40 | 85 | Rc1/2 [160| 20 | 20 |125|M16 x 1.5/ 30 |112| 25 | 24 | 9 [100| 55 | 800
W) vy sy ML TIREOHE. KA EPEPE () JVECRDETOTIERE LS v, GEINZ 176 R— T % TBW L 28 0,)
- —_—y
Ov RAIZS VIR FA
FA-¢40 ~ 250
_ Max.10(¢40~100)
(8] RFYURE / exi7a125-250)
vV
/ E 4-0J NN L(LL+ZXrO—%) c A
N JF2_ EE EE _Fi B As
LIS NS
115 5 1 F
o ="
1
> 2 | 4 8 a
dq et P — - s
1
I = =
' 37 7 3 Q
. (@)
Jyar NIV 4-M
BIfT :mm
’:’gﬁ RIS A THEETE L
s—JRR~>| LL | C |*A | A1 | B | Q | Bl MM D |DD1 EE E|F1|F2| N M NNV IwlE] o[ T ul|R?
$40 |97 |30 |20 |17 |21 |13 | 7 [M14x15|16 |47 | Rc1/4 | 55|17 | 14| 42 | M6 x1 | 10 [100| 80 | 55| 9 | 10 | 40 |600
¢ 50 [105| 35|25 |22 |22 |17 | 10 [M18x1.5/ 20 [ 55| Rc3/8 | 65|19 | 15| 49 | M8X1 | 12 [110| 90 | 65| 9 | 10 | 45 |600
$63 |105|35 |25 |22 |22 |17 | 10 |[M18x15| 20 | 55| Rc3/8 | 75|19 | 15|59 | M8x1 | 12 [130[112| 75| 11 | 10 | 55 |600
¢80 |112]50 |35 |32 |28 |24 | 12|M26x15| 30 | 75| Rc1/2 [100| 15| 15| 76 [M12 x 1.5/ 16 |150[125|100| 14 | 14 | 71 |800
¢ 100 (11250 | 35|32 |28 | 24 | 12 [M26%x1.5| 30 | 75 | Rci/2 [116] 16 | 16 | 90 [M12 x1.5| 16 |185|155|116| 14 | 14 | 85 | 800
¢ 125 [121| 60 | 35|32 |36 | 30| 12 [M26%x1.5| 35 | 80 | Rci/2 [143| 18 | 18 |115|M14 xX1.5| 19 |220|185(143| 18 | 14 | 100|800
140 |135| 80 | 50 | 47 | 48 | 32 | 18 |[M36x1.5| 40 | 85 | Rc1/2 [160| 20 | 20 | 125|M16 x1.5| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 |135| 80 | 50 | 47 | 48 | 32 | 18 [M36x1.5| 40 | 85 | Rc3/4 |176| 20 | 20 | 142|M16 x1.5| 23 |275|230|176| 22 | 20 | 118|800
$ 180 |145| 85| 60 | 57 | 50 | 41 | 20 |[M45x1.5| 50 [110| Rc3/4 |198| 20 | 20 | 155|M20 X 1.5| 27 | 320|265 198| 26 | 25 | 132 (1000
200 |145|85 |60 | 57 | 50 | 41 | 20 [M45x1.5| 50 |110| Rc3/4 |220| 20 | 20 |180|M20 x1.5| 27 [335|280|220| 26 | 25 | 150 (1000
$220 |160| 90 | 70 | 67 | 52 | 50 | 22 |M56x 1.5 60 |120| Rc3/4 |242| 23 | 23 |190|M27 x1.5| 36 [400|335|242| 33 | 30 | 170{1000
$ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 |M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 |215|M27 x1.5| 36 [420|355|270| 33 | 30 | 1801000

) vy 7y ML ZiEED

o /.
LN

AN A SR AME

() LYRCAYETOTIEEL S v,

(FEAIIE 176 ~— 2 % TBIE L 2 E0,)




S\ERTHERAZ - #25HAZ

= CP61SU
“HEER - AETEE
Ay RIS VIR FB
FB-¢40 ~ 250
[#8) ZFVURE i iieiz5-250
v
Wi
4 [E 4-¢ T L(LL+ZO—%) c A
N e EE EE _FI| B At
N,NN B
115 5 '
- e 11+ = —
| \ |
> . 2 . 4l 1ls _ _ 4 j o[ 5
w5 6 J 8| ] %
[ |
pidlva @@ 1 E E o
/ 37 7 3 Q
) (2mEm)
7ya g 4-M
BT : o
’f‘g"} AEETE FHEHEETE e
sa-gmas| LL | ¢ [*A [Aa1] B [ a [B1 MM D |[DD1| EE E|[F1[Fr2[N M N[V I w[E] ] T]ul|R?
940 |97 |30 20|17 21 [13] 7 [Miax15| 16| 47| Ret/a |55 |17 [ 14| 42| mex1 | 10 [100[ 80 | 55| 9 | 10 | 40 [600
$50 |105|35 |25 22|22 |17 ] 10 [Mi8x15[ 20| 55| Re3/s |65 | 19| 15[ 49| mex1 |12 [110[ 90| 65| 9 | 10| 45 [600
963 |105| 35|25 22| 22|17 [ 10|mi8x15/ 20| 55| Re3/8 |75 [ 19| 15| 50| mMex1 | 12 [130]112] 75| 11 | 10 | 55 [600
$80 |112]50 | 35|32 |28 |24 |12 |M26x15) 30| 75| Rc1/2 [100] 15 | 15 | 76 [M12 x1.5] 16 [150[125[100| 14 | 14 | 71 |800
9100 |112] 50|35 [ 32 28| 24| 12 [M26x1.5| 30| 75| Rc1/2 [116] 16 | 16 | 90 [M12 x1.5] 16 [185[155]116] 14 | 14 | 85 |800
0125 |121| 60| 35] 32| 36| 30| 12 [M26x1.5] 35| 80| Rct/2 [143| 18 | 18 [115|m14 x1.5] 19 [220]185]143] 18 | 14 [ 100|800
140 |135) 80 | 50 | 47 | 48 | 32 | 18 [M36x1.5] 40 | 85 | Rc1/2 [160] 20 | 20 | 125|m16 x 15| 23 [255]212]160] 22 | 20 [ 112800
160 |135] 80| 50| 47| 48| 32| 18 [M36x 15| 40 | 85 | Rc3/a [176] 20 | 20 | 142|m16 x 1.5] 23 [275[230] 176] 22 | 20 [ 118|800
180 |145| 85| 60| 57| 50 | 41 | 20 [Ma5x 15| 50 [ 110| Rc3/4 | 198 20 | 20 | 155|mM20 x 1.5] 27 | 320]265] 198] 26 | 25 | 132]1000
200 |145| 85|60 |57 |50 | 41 | 20 [Ma5x1.5] 50 [110| Rc3/4 [220] 20 | 20 [180|m20 x 15| 27 335280220 26 | 25 | 1501000
220 |160| 90|70 |67 52| 50 | 22 [M56x1.5| 60 [120| Rcara [242] 23 | 23 [190|m27 x 15| 36 [400(335(242| 33 | 30 [ 1701000
250 |160| 90 | 70 | 67 | 52 | 50 | 22 [M56x1.5| 60 [120]| Rca/4a |270| 23 | 23 [215|m27 x 15| 36 420|355 270] 33 | 30 | 1801000
W) vy 2y ML THREDOHE. XA FESEPE () JDVECRDEFTOTIEELZS v, e (FEINZ 176 =T % TBM L 728 0,)
— I LVERR CA
CA-¢40 ~ 250
(#E] RFV LR
Max.10(¢40~100)
Max.17 (¢125~250)
LE R L(LL+XRE—2) c A
ON 4-M K, F_ EE EE _Fi| B At
D133 / TT[ N*NN B
1,5 ¢DDH10 5 (1 —“
_@ @‘_ /l,’p: i — — THT
2 gl 4 ™ 8 4 42
6 17 8 N - - - ;I%
17N 7\ — — 4 |
\Y%) \Y%) RR1 MM
NI 3'7 7 3
CREEEALE) $40~100041OyFECAS B RUASHELAVET, (2iErh)
BT D
"'_“gﬁ AT E XL ETE R
a—gmas| LL | c [*a [Aa1 ] B [ a [B1 MM D |[DD1| EE E|F1[F2 M NN[pD[D1 [ R | T [RRI] kK |[R7
040 |97 30|20 17|21 [ 13| 7 [M14x15[ 16|47 | Rct/4 |55 [ 17 14| Mex1 [ 10|10 ] 15[ 35|12 [ 13| 15 [600
$50 |105|35 |25 |22 22|17 ] 10 [M18x15[ 20| 55| Rea/a |65 19| 15| mMex1 [12] 12|18 |35 12| 15| 18 |600
963 |105|35 |25 22 22|17 [ 10 |mi8x15] 20| 55| Rea/8 |75 [ 1915 mex1 [ 12 16|25 [ 45| 15| 19 | 24 [ 600
»80 |112| 50| 35|32 28|24 12|mM26x1.5] 30| 75| Rc1/2 [100] 15 | 15 [M12 x1.5] 16 | 20 [31.5] 55 | 18 | 24 | 30 | 800
100 |112| 50| 35| 32| 28| 24 | 12 [M26x1.5] 30| 75| Ret/2 [116] 16 | 16 [M12 x1.5| 16 | 25 [35.5] 60 | 20 | 30 | 33 | 800
9125 12160 | 35[ 32| 36| 30| 12 [M26x15] 35| 80| Rct/2 [143| 18 | 18 [M14 x1.5] 19 | 25 [3555] 65 | 20 | 30 | 37 | 800
140 |135|80 |50 | 47| 48| 32 | 18 [M36x1.5] 40 | 85 | Rc1/2 [160| 20 | 20 [M16 x1.5] 23 [31.5| 40 [ 80 | 25 | 38 | 40 | 800
160 |135) 80| 50 | 47 | 48 | 32 | 18 [M36x1.5] 40 | 85 | Rc3/4 |176] 20 | 20 [M16 x1.5| 23 [31.5] 40 [ 80 | 25 | 38 | 45 | 800
180 |145| 85| 60| 57| 50| 41 | 20 [Ma5%x 1.5 50 [110| Rc3/4 | 198 20 | 20 [M20 x1.5] 27 | 40 | 50 [100] 31 | 48 | 50 [1000
200 |145|85 |60 |57 |50 | 41 | 20 [M45x1.5) 50 [110] Rc3/4 [220] 20 | 20 [M20 x1.5] 27 | 40 | 50 [100| 31 | 48 | 50 [1000
220 |160| 90| 70|67 | 52| 50 | 22 [M56x1.5] 60 [120| Rca/a [242] 23 | 23 [M27 x1.5| 36 | 50 | 63 [125] 41 | 63 | 65 |1000
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 [120| Rc3/4 |270| 23 | 23 [M27 x1.5| 36 | 50 | 63 |125| 41 | 63 | 65 |1000
W) vy ML TIREOY A, KEA FEsERE () LR ARDFTOTIEE S v, o GEE 176 "=V % TZHE 128 0,)

63



64

NE=Fa1-F4E IF7IUVE
CP61SU
' ~,

EREER - AETEE |
ZIMOLVERR CB
CB-¢40 ~ 250
[#E] AFVUAH Max10(p40~100)

Max.17 (¢125~250)
LE
N R L(LL+ZbA—7) C A
Y83 4-M JAF2_ EE EE _Fi| B A
D:8? / T NN | B
15 -DDH10 5 1
- — e T — — T
=2 /'t : '
6 o 1] 8 N $ 9
L U = B \=
e 317 7 3 Q
Zyza T 640~100051 0y KIECBS BRUAABEEAVET, (2mm)
BAGT
% ANAERT A FEEETE LI

52 w8 LL| C [*A [A1 | B | Q | B MM D |DD1| EE E|F1|[F2|N M |[NN[DD|[D1| R | T [RRI| Y | K [R7
$40 |97 30|20 |17 |21 |13 | 7 [M14Xx15|16 | 47 | Rc1/4 | 55 | 17 | 14 | 42 [M6x1 |10 |10 | 15|35 | 12 | 13 | 30 | 15 |600
$50 105|835 | 25| 22| 22|17 |10 [M18Xx1.5|20 | 55 | Rc3/8 | 65 | 19 | 15 | 49 [ M8x1 |12 [ 12| 18| 35 | 12 | 15 |355| 18 |600
$63 |105]35 |25 |22 | 22|17 |10 |[M18%x1.5[ 20 | 55 | Rc3/8 | 75 | 19 | 15| 59 | M8x1 | 12 | 16 | 25 | 45 | 15 | 19 | 50 | 24 |600
$80 |112|50|35|32| 28|24 |12 |M26%x1.5|30 | 75 | Rc1/2 [100| 15 | 15 | 76 [M12x15| 16 | 20 [31.5| 55 | 18 | 24 | 63 | 30 |800
$ 100 [112] 50 |35 |32 |28 |24 | 12 [M26x1.5| 30 | 75 | Rc1/2 [116| 16 | 16 | 90 [M12x15| 16 | 25 [355| 60 | 20 | 30 | 71 | 33 |800
$125 [121|60 | 35|32 |36 |30 | 12 [M26x1.5| 35 | 80 | Rc1/2 [143| 18 | 18 [115|M14x15| 19 | 25 |355| 65 | 20 | 30 | 71 | 37 | 800
$ 140 [135]80 | 50 | 47 | 48 | 32 | 18 [M36x1.5| 40 | 85 | Rc1/2 [160| 20 | 20 | 125 |M16x1.5| 23 [31.5| 40 | 80 | 25 | 38 | 80 | 40 | 800
$ 160 [135]80 | 50 | 47 | 48 | 32 | 18 [M36x1.5| 40 | 85 | Rc3/4 [176| 20 | 20 | 142 |M16x15| 23 [31.5| 40 | 80 | 25 | 38 | 80 | 45 | 800
$ 180 [145|85 |60 | 57 | 50 | 41 | 20 |[M45x1.5| 50 |110| Rc3/4 [198| 20 | 20 |[155|M20x1.5| 27 | 40 | 50 |100| 31 | 48 |100| 50 |1000
¢ 200 [145|85 |60 | 57 | 50 | 41 | 20 [M45x1.5| 50 |110| Rc3/4 |220| 20 | 20 | 180 [M20 x1.5| 27 | 40 | 50 [100| 31 | 48 [100| 50 1000
$220 [160|90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |242| 23 | 23 [190 [M27 15| 36 | 50 | 63 |125| 41 | 63 |125| 65 1000
$250 [160] 90 | 70 | 67 | 52 | 50 | 22 [M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 [215|mM27 x15| 36 | 50 | 63 [125| 41 | 63 [125] 65 1000
W) Ty sy MEE THEOR A, KA HESFRE () XY R R ETOTIEESC LS 0, e (FEHINE 176 =Y % TBIE L 72 80,)

NSZ=F IR TC
TC-¢40 ~ 250
2ad =~ ~
HE] AFYUAE e,
L1 P2 L1 N L(LL+XrA—7) C A
A LE s R B A
LN ’jf EE EE _Fil|.BiL
) .1
el ot 15 TIT = i = T
RS L il 2 el e o - == M
S 6 8 N4 'Iﬁ S
/ @' 3|7 @ = N = MM
- | 7 t 3 Q
Iyiar VT [ 4M (2m@m)
G BIGT  mm
& AT ik Zte Atk SRS

- gmR| LL| C [*A [A1| B | Q |B1| MM D |[DD1| EE |[F1|F2| N M NG [P P21 x [xx]r |R7|s%|ra
$40 |97(30(20|17 (21|13 | 7 |[MI4x15|16 |47 | Rc1/4 |17 |14 |42 |[M6x1 |10 |22 |58 | 65|18 |16 |26 [1.5[600| 49 | 47
$50 [105|35|25|22|22|17 |10 [Mi8x15|20 55| Rc3/8 |19 | 15|49 | M8x1 |12 |28 |70 |80 | 18|16 |26 | 1.5|600| 58 | 51
¢ 63 [105| 35| 25|22 (22|17 |10 [M18x15|20 [ 55| Rc3/8 |19 | 15|59 | M8x1 | 12 | 28 | 84 [100| 22 |20 [ 30 | 2 [600| 58 | 51
$80 [112|50|35|32 (28|24 |12 |M26x15|30|75| Re1/2 | 15| 15| 76 [M12x15| 16 | 32 [104|112| 28 | 25 | 35 | 2.5 [800| 60 | 53
¢ 100 [112|50 |35 |32 |28 |24 |12 | M26x15| 30 | 75| Rc1/2 | 16 | 16 | 90 [M12x15| 16 | 37 [124[136|33.5|31.5| 44 | 2.5|800| 69 | 62
¢ 125 (12160 |35 |32 |36 |30 |12 |M26x15|35|80| Rc1/2 |18 | 18 [115|M14x15| 19 | 40 [160[170|33.5/31.5| 50 | 2.5|800| 72 | 65
¢ 140 (13580 |50 | 47 | 48 | 32 | 18 | M36x15 | 40 | 85 | Rc1/2 | 20 | 20 |125|M16 x1.5| 23 | 45 [180(180|37.5/35.5| 60 | 2.5 |800| 80 | 73
¢ 160 [135|80 |50 | 47 | 48 | 32 | 18 | M36x1.5 | 40 | 85 | Rc3/4 | 20 | 20 |142|M16 X 1.5| 23 | 45 [200|200|37.5|35.5| 60 | 2.5 |800| 80 | 73
¢ 180 [145|85 |60 |57 |50 | 41 | 20 | M45x15 | 50 |[110| Rc3/4 | 20 | 20 |155|M20 x1.5| 27 | 50 [220(224| 50 | 45 | 60 | 3 |1000| 86 | 75
¢ 200 [145|85 |60 |57 |50 |41 |20 |M45x15 |50 |110| Rc3/4 | 20 | 20 |180|M20 x1.5| 27 | 50 [240(250| 50 | 45 | 60 | 3 |1000| 86 | 75
$ 220 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56x1.5 | 60 |120| Rc3/4 | 23 | 23 |190|M27 x1.5| 36 | 70 [270(290| 60 | 56 | 80 | 3 |1000| 105 | 90
¢ 250 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56x1.5 | 60 [120| Rc3/4 | 23 | 23 |[215|M27 x1.5| 30 | 70 [300(315| 60 | 56 | 80 | 3 |1000| 105 | 90

) Luavyrdy Ml IREOHA.
2.5, RYPEOTHRDP WAL S=R L &) 5.

KENA PP (BE) LVRAR) ETTOTIWR 22w,

R 176 — T % BB 7280,




S\ERTHERAZ - #25HAZ

Owv F&ig T

Y

a .

-

I &R

CP61SU

1

|9:—7WE:¢%~4&
(#1E) RFV LR

RR1_

A1

¢DDH10

MM

B —
L

—

I?J—7WE:¢N~QW
(#EB] X7V LR
A1

¢DDH10

s
=
M
I hursx
sl A—-—+t{+ 7
|
X
L RR1
OEmEE - AR BA o mm
Fa—JAZE| DD | Y |[RR1| X Al L D1 R T MM
¢ 40 10 | 30 | 11 14 | 23 | 45 | 15 | 13 | 24 [M14x 15
¢ 50 12 |355| 13 | 16 | 29 | 50 | 18 | 15 | 30
M18 X 1.5
¢ 63 16 | 50 [175| 20 | 29 | 55 | 25 | 19 | 35
¢ 80 20 63 22 25 36 65 | 315 | 24 45
¢ 100 25 | 71 |275(315| 36 | 70 |355| 30 | 55 |M26 %X 1.5
¢ 125 25 | 71 |275|315| 36 | 70 |355| 30 | 55
14 1. 4 2 |1 4 7
¢ 140 31.5| 80 35 0 5 00 0 38 5 M36 X 1.5
¢ 160 315| 80 | 35 | 40 | 52 | 100 | 40 | 38 | 75
1 4 1 44 2 | 12 4
¢ 180 0 00 50 6. 5 | 50 8 90 M5 X 1.5
¢ 200 40 | 100 | 44 50 62 | 125 | 50 48 90
¢ 220 50 | 125 | 55 | 63 | 72 | 160 | 63 | 63 | 110 M56 % 15
¢ 250 50 | 125 | 55 | 63 | 72 | 160 | 63 | 63 | 110

) HHE 2o LT, HlEsaE 228w,

65



66

NE—Fa1—F4E I T7VVIH

S\ERMIERAZ - #aoHAZ

H @ I8 B

CP61SU

OIS /N —BfT A
L TAPE
CTREE

onzEE

CP611 7 (B#) ER—TT, 17 R—JE TSR &L,
CP611 ¥ (B#) EE—TT, 33 R—TEZSEBL AL,
CP611 #, (FZ#) EE—TT9,

kA 207 [HATEFR (CatNo.2224) | &# T8 £ &L,
CP611 1 (B#) EFE—T79, 35 R—TJ &2 TS &L,



may i

¥l xrouvse

Double rod type

0 1710r

—~RHZEAIED ) 25+ CP6LL BEN—-R& L

oy K4 70000 5T,

Double rod cylinder designed based on CP611 pneumatic cylinder.

ﬁ: ﬁ Specification

Operation type

Ay R

A Dbl ot
Model code CP611 DR

£ & #H R B OB W

Double acting

Ambient temp

i ) B (NS s B ean)
Lubricant Lubricant
e - 7 A #& ~
- Bore size % 40 100
= B E 5B ~
Working pressure 02 1.0MPa
*10(250mm )
A hO-VFRE 0
Stroke tolera?wces 12 Under250m
o (250 ~ 1,000mm)
E X b > & E -
Piston speed - S0 S00mm /s
B L A =
Thread tolerance JIS (6H. 68)
g v ¥ 3 r MmwIT7Tya>
Cushion Both ends (Air cushion)
it £ 5
Proof pressure 1.5MPa
f&E A = E -5~ 60°C

) 1. SCULF IO AR, TP OKRGEREL, HEOL L) THEBE S,
2. RELIIERALERS T, MR SRR C 228 v,

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.

2.As CP61DR is not standard products, please contact us about the delivery.

JIS i %

JIS Symbol

—

67



68

ANE—Fa1—-F«4H I7

YUvy

CA -
2 & 8 B -nviemL o raomtme e oz A,

CP611DR -[1] -

FhEE XHEeE Fa1—THRHE Z hO—7 Oy Remesd
HIN— Mounting Style Bore size Stroke Piston rod attachment
Dust cover
’ OQFEH/N— Dust cover‘ ’ (5 ) mETANE Sy 3= Piston rod attachment‘
5 L N B % & B & U MmEEA
Without Without No entry
sOoo07Ly (1B#%) A Y i/ Y
CHLOROPRENE (standard) Rod end clevis
ME RUT7IRIBX B Y % ( g > & ) YA
Material POLYAMIDE CLOTH Rod end clevis /joint pin
FLIFAXEIOR D IAR (YR (E>f) BEC /| o
ALUMINIZED CLOTH St?;g:rd Rod end clevis /joint pin /split pin
) BEEEA N — ORI 17 =Y R SIS v, I i I
Please refer to p.17 for the structure. Rod end eye
I ® (B > f ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
° YF¥x—/N—TL— k- ESf
’ DEELE Mounting style Rod end clevis /keeper plate /joint pin YK
* # 2 B # L YHF-N=-TL—bES )Ry TIVf YKG
Witho,l; N Rod end clevis /keeper plate /joint pin /grease nipple
BAY v w ® : y
— A " 7 IR = k] 1)
#w A m FZ)t b LB Applied Rod clevis /CARBON STEEL YS
e W E T v v a2 fl
5 F = - o W I ' 7 v v a2 R
AR S Rfaj enz fIade = ¥ Y FA Rod end eye /rolled bushing 1D
S A P o S .
Saed N K@l 7 5 > YW pg I R#m Ty > af g
Cap end flange Rod end eye /lubricant bushing
— — N "/ I ﬁ? SP 7 Y :/ a1 1{"
—_— 7,
bz Trunnio7rj1- - " TC Rod end eye /SP bushing P
= - N % 1) ) LSRRy 2y bCH) IES L 9.
ISE b7 = T# b ?7 ISS4OO S TCS 2 —HREIET 2 RV b DD ) £ 30 BIEO TS THE 176 XY E B 780,
A pIieé — runnion s/ee Please refer to p.176 for details.
ype |‘7:7J'>ﬁﬁ()‘X) TFS
Trunnion /female screw /steel

) —HBEETE VL OB ) T3, BUEOWEHIZOWTIL 160 -V E B 7280,

Please refer to p.160 for details.

©@F1-THE Bore size | K I=PFEXa Lock-nut
40mm 40 Ay 7Fv h&L H\IEA
Without No entry
50mm 50
Oy 77y b1 @R L
63mn 63 1 lock-nut
80mm 80 Oy 77y b 2@ L2
2 lock-nut
100mn 100 W) 2 IAHOBATY Dy KIS ORI St 1O £ [ Lo,
PR A FihE SRS v,
Ty 7y ML T, 176 =2 % TSV $ 9,
Please refer to p.176 for lock-nut.
OXrO—7 Stroke

(mm# A ZTHRSFEEL)

(Please order it by a mm unit)

eRAXO—Y

¢ 40 ~ 63| 600mm

Max.strokes

¢80 ~ 100| 800mm




MmOy Rz - aims

-@- B

Ay oyFy b efED ELEDNIE 73D
Lock-nut Jw 2kt Portposition &
Port bushing Cushion position

@EEOT v 2R Port bushing
Tyiakl A
Without No entry
Ty aft
With B

) 72l 1EELTY . BIZIE Re3/82°5 Rel/d ™o
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

| @EENLE Port position
Oy KAH/IN— Ny RAN—
Rod flange Cap flange

EREDME
Code of the position

1 (B#%)
1 (Standard)

5 (1Z#)
5 (Standard)

2 6
3 7
4 8

) BEE vy a OB, F—HEICIERETE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

1 APTC O LHED D HYitrid.

ETRALTLEE Y,

’ ©QUva i Cushion position
Oy KA/IN— Ny RAIN—
Rod flange Cap flange
1 5
HEONE 2 (Bt )
Ceea@ilis el 2 (Standard) 6 (Standard)
3 7
4 8
Ty a &L
Without 9 9
QOO HEEDETHHE(O:1 - 5.@:2 - 6) L 2 2B EDH, ARETT,

In case of standard position for both ® and © ,the code is not necessary.

) BEL 7 vy a o,
Cannot establish the plumbing and the position of the cushion in the same aspect.

[FA—TIERETE A

69



70

ANE—F1—F 4 IFYUVY

CP611DR

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

58 (9) (10

B

@@e
N

L.

4

|

E) R W B wE
1 O v K A /8 —A o] 1
2 |8 v F 4 5 B "% 1
8 Sy LA F -7 b3 1
4 e x ~ > 5% 1
5BA | EZX k>BE vy KA L] 1
5B X k>Ovy KB b3 1
e "%B 2
2 18 v FQA FEy &R 4
9 (TCERTADBE) 4
2 14 8 vy KB PR3 :
2 P& Gl (ZomotknEa) -
(FA-FB ZBTAOBE) | 4
10|+ ; k %
y G (ZOBOTADES) 8
- ~ (FA-FB ZBIAOBE) | 4
"N 2= ¥ 5 =z e :
* * G (Z DHOTRDBE) 8
13 | # 4 T 4 %K I K 54 8
4|5 x ¥ 5 # PET 8
e Fas 2
16 74 8 =y > F NBR 2
17 O v KN v ¥ > NBR 2
18 YL EF1-THAy b NBR 2
19 EX M2y F NBR 2
20 Oy KA X5 v b NBR 2
22 | 7y a Ny X NBR 2
23 v a3 —FKIJI b3 2
24 = — KNy x> NBR 2
5|8 v 7 7 v ¢ %% 2




MmOy Rz - aims

XREER - ARTEE CP611DR

BE@7 — M LB
LB-¢40 ~ 100

(+1E] Rl

Max.10 CE A C+AbO-7 L(LL+ZrO—2) cC __A
A1 B _|F2 EE EE Fi| B At
NN ‘ Bl
5 1
T, 1 T
| |
al o B =\ 8 _ _ 4 ‘k %175
34 i S
e 7 = T
— MM MM
T T T T T T 7 3 T T
37 = 2.Q
wi Wi (@)
4-pJJ uUu z L1(L+2W1) z
B mm
& AT & XA BT mo
s B LL| C[*AJA1[B|Q|B1| MM | D |DDI] EE | E |F1|F2| N M [NN|UU[Z [JW]TT]H (w37
¢ 40 1001 30 | 20 | 17 | 21 13 7 |(M14x15| 16 | 47 Rc1/4 55 |17 | 17 | 42 M6 X 1 13|40 | 15| 10 4 40 | 30 | 600
$50 |105] 35| 25 | 22 | 22 | 17 | 10 |M18x15| 20 | 55 | Rc3/8 | 65 | 19 | 19 | 49 | M8x1 | 18 | 45 | 15| 10 | 6 | 45 | 30 | 600
$63 |105| 35| 25| 22 | 22 | 17 | 10 |[M18x1.5] 20 | 55 | Rc3/8 | 75| 19| 19 | 59 | M8x1 | 18 | 55 | 15 | 12| 6 | 55 | 35 | 600
¢ 80 1121 50 | 35| 32 | 28 | 24 | 12 |[M26X1.5| 30 | 75 Rc1/2 |100| 15 | 15| 76 |M12x1.5| 23 | 71 15| 15 6 60 | 35 | 800
$100 |112| 50 | 35 | 32 | 28 | 24 | 12 |M26x1.5| 30 | 75| Rci/2 |116] 16 | 16 | 90 |M12x15| 23 | 85 | 15| 15| 6 | 75 | 35 | 800
W) T s MbE SIEOR A, KA THEARBI () L )ECRY) TFOTIEE AR, e (G 176 X— 3k TR A E0,)
. —_
Oy RAIZS VIR FA
FA-¢40 ~ 100
e
(4E] &R
v
W A C+AbO-7 L(LL+XrEO—2) c __A
Max.10 OE At B [F2_ EE EE _F[B_ | Al
LN A0 4B | NN AT LBl
Tl 1
11 — T[T
| |
~— ” A_h —
o [a) 8 4 ol o
o g8l A Ry - - 2 28
7 L N
MM — = MM
e 7 3 2-Q
T3 INIVT 4-M (2@”1)
BT D mm
& AT XBEETE T
sa-me B LL| C |[*A [AT | B | Q|B1| MM | D |DDI| EE | E |FI|F2| N M [NN| VW] J]T]uul|R”

¢ 40 100| 30 | 20 | 17 | 21 | 13 | 7 |[M14X15| 16 | 47 | Rc1/4 | 65 | 17 | 17 | 42 | M6X1 10 {100 | 80 | 9 | 10 | 40 | 600
¢ 50 10535 | 25 |22 | 22 | 17 | 10 [M18X1.5| 20 | 55 | Rc3/8 | 65 | 19 | 19 | 49 | M8X1 12 |110/ 90 | 9 | 10 | 45 | 600
¢ 63 105| 35 | 26 | 22 | 22 | 17 | 10 {M18%x1.5| 20 | 65 | Rc3/8 | 75 | 19 | 19 | 59 | M8X1 12 {130 |112| 11 | 10 | 55 | 600
¢ 80 112 50 | 35 | 32 | 28 | 24 | 12 [M26X1.5| 30 | 75 | Rc1/2 |100| 15 | 15 | 76 |[M12x1.5| 16 |150|125| 14 | 14 | 71 | 800
¢ 100 |112| 50 | 35 | 32 | 28 | 24 | 12 [M26x1.5| 30 | 75 | Rc1/2 |116| 16 | 16 | 90 |[M12x1.5| 16 |185|155| 14 | 14 | 85 | 800
) 1y sy MEE THREOWE. KA JESRPE () LDRER) ETOTITEEL LS v e (FEAE 176 =V % TR 728 0,)




72

- — " - .
NE—FTa—-F«4HITT7VUVE
CP611DR
A S W
ZEEZEH  -AEETEE
. —_
Ay RIS VIR FB
FB-¢40 ~ 100
Y s
(ME] R
- Vv
W A C+AbE—Y LILL+XhE—7%) cC A
Max.10 [E A1 B [F2 EE EE Fi| B A1
N 4-¢J i NN | Bil[
115 5 ;
TT TIT
e 8] il = =
5 2 l4 ala 11| s 4 ala
w5 . N r > T a eI 1 N - a
6 |8 2 /7 4«!__ | A \\ v
£ L& & o e = = i
317 7 3 oq
Jyiaz v 4-M e
B mm
EM} AAEBTE THEETE e
B LL] C |[%A [A1] B | Q | B MM D |[bD1| EE E|F|F2| N M NN Vv [w] o ]T]uoul|s?
¢ 40 1001 30 | 20 | 17 | 21 13 7 M14x15 | 16 | 47 Rc1/4 55 | 17 | 17 | 42 M6 X 1 10 |100| 80 9 10 | 40 | 600
$50 |105| 35|25 22 2217 [ 10| Miex15] 20|55 Red/s |65 19| 19| 49 | Mmsx1 12 [110] 90 | 9 | 10| 45 [600
63 |105| 35| 25|22 22|17 | 10| M18x15 |20 | 55| Rc3/8 | 75| 19| 19 | 59 | M8x1 12 [130[112] 11 [ 10 | 55 [ 600
$80 |112]50 |35 |32 |28 |24 |12 M26x15 |30 75| Ret/2 [100] 15| 15| 76 | M12x1.5 | 16 [150[125| 14 | 14 | 71 | 800
100 |112]| 50 | 35 | 32 | 28 | 24 | 12 | M26Xx1.5 | 30 | 75 | Rc1/2 |116] 16 | 16 | 90 | M12x1.5 | 16 | 185|155| 14 | 14 | 85 | 800
) T sy My SIEEOH A, KA TESERE (B X)ECRD ETOTIER S, o (GEAINE 176 ~<— ¥ % SBIRC 55 0,)
—_———a
rS=F R TC
TC-¢40 ~ 100
A
(18] #Hek
L P2 L1 A C+ANI-Y L(LL+ZkE—%) cC . A
Max.10 CE A1 B |F2. EE EE Fi B A1
LN NN LBl
1,5 5 1
c1_ r| @} J@ \ HH = =
o X8 gfr)%g QQSI R 7aN s 3k
3 \ % & [ 3 ya— N/ | < 3
@’ MM — — MM
N 3'7 7 s 2.
AV EPZAVID) 4-M G (ZEI'U)
s R
BT 2 mm
f“”} ARARERTE IHEETE A /Ejsf*‘f ;"Trff
B LL] C %A [A1] B | Q | B MM D |DD1| EE E|[F1|[F2| N M NN[ G [P [P2lLt| x [xx] r |[R7|s&lrx
40 |100[ 3020|1721 [18| 7 [M1ax15[ 16|47 | Rc1/4 |55 17 17| 42] mex1 [10]22]58 65|18 16]26|1.5[600] 49 | 47
50 |105/35[25|22]22]17|10[M18x15[20[55 Rears 65| 19|19 [49] mMex1 [12]28]70] 8018 16]26]1.5[600[ 58 | 51
63 |105) 35|25 |22 22]17|10[mM18x15[ 20|55 Rears |75 19| 19| 59| mMax1 [12]28] 8410022 20]30]20(600] 58 | 51
80 |112]50|35|32[28 |24 12|mM26x1.5/ 30 75| Ret/2 [100] 15| 15[ 76 [M12x1.5] 16 | 32 [104]112] 28 | 25 | 35 | 2.5 ]800 60 | 53
100 |112[50| 35|32 28| 24|12 |M26x15[30] 75 Ret1/2 [116] 16 | 16 | 90 [M12x1.5] 16 | 37 [124]136[33.5|31.5] 44 [ 2.5 [800[ 69 | 62

) Luav sy M TIREOYE.
2.S. RJED THRRD e W

VN
&l

MEDA STEOSRPE () LVRECR) ITOTIERLLE W,
IES=R&ADET,

(FEAIIE 176 R— T % T 7280,




MmOy Rz - aims

N CP611DR
HBIEB
OF5EH/N—B{F~F% CP611J (12#) L A—TT. 17 "~V % ZBBIE AL,

CP611DR

DOy krEmER - TER

Ay KRB -0y 7+ y MIOBEDRMTES L UERE IOV T 172 ~186 X—T £ ZSRRZE LN,

CP611DR

B =R

DY AT DOWTIR A 2O T [HATER (CatNo.2224) |& TSR 2L,

73



AE—F1—F 4 T7YUVS M0y RA? - fE5HA

HENRKYEIURIK SAALLL |
Consumption packing list
| Fa—7mE : ¢40~ 100
BRES Ny gk |LEYR ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |7 48— 25| 2 M — 1905 M — 1907 M — 1906
17 @y KXy 2] 2 M — 2049 M — 2050 M — 1147
18 | YYY4F1-THAAy b | 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 [EX RNy x| 2 M— 1147 M — 1148 M — 2052 M — 2053 M— 1151
22 |y varityx| 2 M — 2176 M — 2484 M — 2485
24 [Z— RNy x| 2 02301 — 0030

|‘}‘ﬁ' FENy XLy N FEREEFS \P—CP61DR—4O P-CP61DR-50|P-CP61DR-63|P-CP61DR-80|P-CP61DR-100
@il FE T 20Ty R Ay b lIZ&INTnEdA.

% [ g - CP611DR I
BEHEN  HREE=0YVVIiKFE+0BEFTTVa Y
E = § B kg
OPANPEF N @EARF T3>
Fai-—TAR &8 el
W (kg)
LB FA - FB TC Y I
¢ 40 0.0060 X S + 2.3 0.22 0.27 0.30 0.12 0.13
¢ 50 0.0090 X S + 3.3 0.33 0.34 0.49 0.19 0.22
¢ 63 0.0102 X S+ 4.3 0.48 0.46 0.65 0.37 0.37
¢ 80 0.0192 X S + 8.3 0.59 0.97 1.10 0.69 0.71
¢ 100 0.0203 x S+ 11.3 0.90 1.40 1.89 1.26 1.17

#) L EROSEANE—2 (D) 2RLET,
2. LBEHIZ 2L ) OBEERLE T,
3 PRI 1L ) ORI RLE T,



A bO—7AEK
¥l xrouvse

stroke adjustable type

w01

AD
AR

CPOIL TG > o N=RE LT, A b= > 4,

2y FINFICH#E2f9 ADBEDY FOUT K2

HEz1r) ARBD 251 7TT,

his CP611-based general purpose pneumatic cylinder with
adjustable stroke is available in 2 types: AD type adjusts stroke at

rod "IN" and AR type at rod "OUT".

ﬁ: ﬁ Specification

Hy FEHAZ hO— 7%

Rod-in stroke adjustable type

XKL=

Hy R bO— 7R

Rod-out stroke adjustable type

Model code

CP611AD CP611AR
£ #H A K #H B
Operation type Dogble act!r)g
G . P B (NS s mcran)
Lubricant Lubricant
5 - 7 RN & ~
- Bore size ® 40 100
£ B E 75 ~
Working pressure 02 1.0MPa
_ *19(250m )
AbB-THBE O ™ nder250m

Stroke tolerances

*34(250 ~ 1,000mm)

Thread tolerance

2 F R E —
Piston speed > 50 500mm /s
L A =

JIS (6H. 6g)

v v o3

mELIT7Ty 3> %

g o9 8 m

Ambient temp

Cushion Both ends (Air cushion)
£ Vi
Proof pressure 1.5MPa
iy = -5~ 60C

i) 1. SCUFTIMHOS A, AT okS 2 iE L, S0z w L) TEECLEE N,

2. ARBL IR T MISRHIERIE THERE C 228 v

3LUKFEL vy aryilowTiRA M= HBEICBI2HEMO Y v ¥ a VIRIEH ) FTEAOTT

EEE S,

Notes 1.The air must be dried the ambient temperature may drop below 57C to prevent problems due to freezing.
2.As CP61AR / CP61AD is not standard products; please contact us about the delivery.

3.The cushion system may be ineffective at adjusted side.

JIS i85 CP611AD JIS Symbol
4
/\\ [ / N :
JIS i85 CP611AR JIS Symbol
4 A

/

—

75



76

NE—Fa1—F4E I T7IVVIH

CA -
2 & 8 S cuvimL cdraontme e ImEd AR,

Model code

CP611 n— % -

*HEeE Fa1—THHE Z hO—7
Eﬁgﬁ?ﬁ HIN— Mounting Style Bore size Stroke
Stroke adjustment Dust cover
type
’ QX rO—7HEERK Stroke adjustment type ‘ @ArO0—7 Stroke
(mmtF 1 TR &) (Please order it by a mm unit)
0y l*glil?ﬁg% AD
Stroke adjustment type (rod IN)
O FIFHRERY AR ®RAZPO—T ¢ 40 ~ 63| 600mn
Stroke adjusti tt d OUT :
m — = e,a Justment type to ) ¢80 ~ 100/ 800mm
i) L ey N5 AR

ERCIZEY, BYoAa—2 (O Fj[AKE) T
R ) v 7T,

2.0y P LR
Ay FIICA bo— 27 @A 20T, 0y FIBROA bo— 2 @417 2 ) 7 A b
O—WEFE ) > 7T,

FATHAV) U F A MO — s

’ OFFEH/N— Dust cover‘ ’ (6 )= ETANE =] Piston rod attachment‘
B U N % % 2 8 & U WA
Without Without No entry
soa7 L (1E#%) A Y it/ Y
CHLOROPRENE (standard) Rod end clevis
HE RKUF7IR7OZ B Y % (& > f ) YA
Material POLYAMIDE CLOTH Rod end clevis /joint pin
TIWIFAXKIO D ER YR (E>f) BE>H]  yeo
ALUMINIZED CLOTH St?yggrd Rod end clevis /joint pin /split pin
W) BEEA N —EOH) FHIHEE L 17 =D R BR72E 0, I iz
Please refer to p.17 for the structure. Rod end eye I
I ® (B > f )
. Rod end eye /joint pin IA
’@iﬁﬁﬂ Mounting style _ ceyeomp
Y & T v ¥ a1 ft YD
¥ ¥ £ B & L N Rod end clevis /rolled bushing
Without YRx—X—TL—b-Eqft YK
w5 m 7 - b~ W LB Rod end clevis /keeper plate /joint pin
L YHE=1=TU= V- TYZZy T | yka
AT oy K@ 7 3 > v % FA Rod end clevis /keeper plate /joint pin /grease nipple
% o
7 Rod end flange DIYREY LD T > 5
Standard S - . - - YM
type Ny KA 7 7 > U W FB Rod end clevis /detent angle
__Capend flange AVHA--Tb- b € BTV | yem
k 4 = 7 > i TC Rod end clevis /keeper plate /joint pin /detent angle
Trunnion Imy=z5i 3 VI 6Tl N P TR AT =
- — 4 BVHE-K=TV-p €V UGN G2y T YKGM
> NS = F > R = & TCS A|toyp5|§d Rod end clevis eeper plate foint pin /detent angle fgrease nipple
Inyz)it7 Trunnion /CARBON STEEL z = - T
: Y ® & F s #®
Applied [ N »” : YS
Ve b2 = F > (X X)) TFS Rod clevis /CARBON STEEL
Trunnion /female screw /steel Y % = vy E > i ® YE
) —HEETE RV 0NH ) T, BEOTEHIZONTIZ 160 -T2 B 230, Rod end clevis fixed by split pin
Please refer to p.160 for details. I % % 7 v > 21 fF D

’ OF21—-THE Bore size
40mm 40
50mm 50
63mm 63
80mm 80
100mm 100

Rod end eye /rolled bushing
ImmI v o aft| g
Rod end eye /lubricant bushing
Rod end eye /SP bushing

i) 1.YM, YKM, YKGM o¥34, 1y FeiigRizny 74y P ClEEL 3,
2. —EBMECE LWL ONH Y T PUEOTHIZONTIX A R= TV E BB 2280,

Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.




A bO—JRHEERS - FQmAs

Ov Reke s : Em
Piston rod attachment Lock-nut Ty 1R
Port bushing
’ @Oy 7Fvh Lock-nut‘
Oyo+y h&l #|A
Without No entry
Oy 7+y I‘1'ﬂa1¢ L
1 lock-nut
Ay 77+ 2@ L2
2 lock-nut
W) 2R OWETY Ty Mk D oiER S, LEfFOREF T,
EEALER L A 2 TR IEE v,
Uy 79y ML T, 176 "=V % TS E 5,
Please refer to p.176 for lock-nut.
@EEOT v 2 ER Port bushing
Tvoakl fREEA
Without No entry
7» v a 171- B
With

W) 7y Al TEELTY. Blzid, Re3/8 45 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

!EE%*OMELE

Port position

 @EENLE Port position|
Oy KA/IN— Ny KhIN—
Rod flange Cap flange
1 (18%) 5 (1%%)
EREOAME 1 (Standard) 5 (Standard)

Code of the position 2 6
3 7
4 8

W) B E 2 v Y s Y ORI, [T S $ A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

7ya>h A2 hA—7
& A

Cushion position Stroke adjustment range

’ Orva>oiuE Cushion position ‘
Oy RAN— | Ay RH/N—
Rod flange Cap flange
1 5
ERE D E ) 6 (=)
Code of the position > (Sta?:a;rd) 6 (Staar:a'a_rd)
3 7
4 8
7 v :/ = ‘/ﬁ L 9 9

Without

¥QODFEE 2 TEE@:1-50:2 - 6) L 2 2HEDH, LARETT
1 AFCOEED D HPE1E. ETRALTLZS W,
In case of standard position for both @ and @0 ,the code is not necessary.
) BEE s vy a ryOfEE F-mCRETS A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

® X rO— A&
(mmtr 1 ZTTHRRL EEL,)

Stroke adjustment range
(Please order it by a mm unit)

QLA NI — 7\ TR BB E 2 ) 5
1 500A M — 27 1Zxt L CTH0 L RE L 7oA
AN a— 7 JEEHIPHIL450 ~500A bO—2 &%) E 9,
Stroke adjustment range is against full stroke.
Ex.) When the full stroke of the cylinder is 500mm and indicated adjustment
range is 50mm, the adjustment stroke is 450 ~ 500mm.

77



78

NE—Fa1—F4E I T7IVVIH

CP611AD (Av FEHAX A — VEHER)

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

53) (54) (52

i
/
\
5 - 1 _ i i i [
= 4
- _/y =
9)(10
; &S % # R HE
1 Ny KA N — LS 1
~ 2 |l v K # N — "R 1
3 |y agFa—7J bt 1
4 E 2 k > $H8% 1
5 |EX bb>@a vy K =35 1
6 |E X b F v bk R 1
7 | 2F7Uursao-nE> "3RS 1
8 |V vva>y>y REA 1
23) (25)(24 2 4 0O v K (A 35 (&2HX) 4
9 (TCEXHEBRDIHE) 4
4 4 @O v KB o i
2o HRR (FOBOTADBE) -
(FA-FB X#EHRDBE) 4
10 | + 5 N e

/ Gl EOBOTADEE) 5
.. . .. . (FA-FB XHHRDIHE) 4

11N %= ¥ H z ;
i * G (EOhOHA 0B 8
IFREREREE I 4448 4
14 | N %2 ¥ H oz 3R 4
15 | 7 > 2 2 HEE 1
16 |7 18—y > 4 NBR 1
177 |8 v KXy % > NBR 1
18 | YUYEF1-THISy b NBR 2
19 B b2uxy %o NBR 2
20 By KAHZRH v b NBR 1
22 | Vv variNy ¥ NBR 2
23 | v yvar=—FKu bS] 2
24 [Z — Rixy % > NBR 2
25 | @ v 7 F v b R3RER 2
51 | 7 L — k L3 1
52 |F 39tV x T REA 1
53| @ v 7 F v b LS 1
54 | ¥ — b ¥ H % 0 -NBR 1
55 | # X & vk NBR 1




A bO—JRHEERS - FQmAs

CP611AR (O FIFH X kO — 7 EER)

n B 18

|7 2—JmE: 940 ~ 100

(@]

ey

7 =] =
"R 1
b3 1
"R 1
8% 1
b5 1
"R 2
2 4 0O v K (A b3 (&) 4
9 (TCEEWRDIHE) 4
2 1 0O K (B
e BT T -
N (FA-FB ZHEFRDBEA) 4
1
0|7 ? MR TR oma) 8
Cs . SN (FA-FB X#HHADIHZE) 4
1Mlns 2 ¥ 5 = T
* 7 O S horknBa) 8
ENEEEREEIES 444 4
14 | N 2 ¥ H % bS] 4
15 | 7 Y 2 1 HEE 1
167 18—y > 5 NBR 2
177 ]a v Koy % > NBR 2
18 | YU 4F2-THRly b NBR 2
192y x> NBR 2
20 [By KHXHF v b NBR 2
22 | 7y a iy x> NBR 2
23 | 7y 3 iy ¥ 3| 2
24 | = — RNy % > NBR 2
25| @ v 7 F+ v b &30 2
51 | FavtyzxyI7>9 L3 1
52 | FavtevyxyOoy K 30 1
53 | Favtwvyzxsyryg LS 1
54 |@m v 7 F v b Yot it 1
55 | 7 > N AL 1




80

NE—Fa1—-F 4 I7

~

P

U4

XFEER - -NAEITEH

CP611AD

CP611AD - CP611AR

M T — M LB
LB-¢40 ~ 100
Y o
(#5E] R
Max.10 OE W(WW-+Ad)) L(LL+R hO—%) cC A
NE NH _|F2. EE EE F1| B A1
AT B_1
) 5 1
@ T = = = H _._a_
: ! T
—7 A - h h h : f __D{_é
CR - e e E ° :
syarnNVT @ / _ = = = _ T
— == AM q E MM
I T 3 7 T ] T T 7 3 T T
! -
Wi wil| |~ (2%m)
4-¢JJ uu z L1(L+AT+2W1) 7
BT :mm
E‘;’} ANEETE Z hO— 7 EREEE ZHEEEE LI
-7-1—7'qu§5% LL| C |*A |[A1| B Q | Bt MM D EE E | F1 [ F2 ([WW/| AT | NH | NB | NE AM Uu| Z | JJ|TT | H [W1 z'\a
¢ 40 97130 |20 (17|21 |13 | 7 |M14X15]| 16 Rc1/4 | 6517 (14|37 |15 |27 |13 | 7 | M16 X2 |40 |15| 10| 4 | 40 | 30 {600
¢ 50 105(35 (|25 |22 |22 |17 |10 IM18Xx1.5| 20 Rc3/8 65|19 |15 (37| 15|27 (13| 7 | M16Xx2 |45 |15 |10 | 6 | 45 | 30 |600
¢ 63 105(35 (|25 (22|22 |17 |10 IM18X1.5| 20 Rc3/8 75119 |15 (37|15 |27 |13 | 7 |M16 X2 |55 |15 |12 | 6 | 55 | 35 |600
¢ 80 11250 |35 (32|28 |24 |12 IM26X1.5| 30 Rc1/2 [100| 15|15 |55 |24 |41 |19 | 9 [ M24x3 |71 |15 |15 | 6 |60 | 35 |800
¢» 100 (11250 [ 35|32 |28 |24 |12 [M26%x1.5| 30 Rc1/2 (11616 |16 |55 |24 |41 |19 | 9 | M24 X3 |85 |15 |15 | 6 |75 | 35 |800
H) vy sy Ml TIREOY G, KA TESEPE () LYVECR)FTOTIEEL LS v, (FEMIIE 176 =Y % TBIH L 728 0,)
ham T — b2 LB
LB-¢40 ~ 100
(18]
Max,10 _, E W(NL+Adj+X bO—%) L(LL+RX kO—2%) C A
NH(WW+Adj) X kO—% AT|F1_ EE EE _F1[ B A1
NEJ| _ NE ‘ ‘ Bl
70
. 1,5 ) (1
THT
® | 9 = 1
: , !
5 | —— T 1
_.‘8‘<(<E( N/ _ i _”, 8 | _ _ _ 4l 1 _% 2
e \_‘4 1_— ] 3_I 11
syarnng - = = = |15 T
© | © v/ \x @ =2 "
- ot (2@E) Em) ok 7 3 -
377
Q
W1 Wh (2mm)
4-¢4JJ uu z L1(L+AT+2W1) Z
BT : mm
E‘;’} ANEERTE Z hO— 7R *HEEEE LI
-7-1—7'qu§5% LL| C [*A [A1| B | Q |B1 MM D EE E | F1 |[WW| AT | AD | NF |NC | NE [ NB | NL AM Uu| Z (W |TT| H |W1 X'\O
¢ 40 100{ 30|20 (17|21 |13 | 7 [M14X15|16 |Rc1/4|55|17 39|18 |30 (12|24 | 6 |11 |57 | M14x2 |40|15|10| 4 | 40 | 30 |600
¢ 50 105|/35(25 (22|22 |17 |10 |M18X1.5|20 |Rc3/8|65[19[43|19[35(12|30| 7 (13|62 | M16 X2 |45|15|10| 6 |45 | 30 |600
¢ 63 105/ 35|25 (222217 |10 [M18X1.5|20 |Rc3/8|75|19|43|19|35[12|30| 7 | 13|62 | M16 X2 |55|15|12| 6 | 55| 35 |600
¢ 80 112]50|35(32|28|24 |12 |M26%X1.5| 30 |Rc1/2|100| 15|60 |28 |50 (20|41 | 9 [19|88 | M24 x3 |71 |15|15| 6 | 60 | 35 |800
¢ 100 (112|50|35(32|28|24 |12 |M26x1.5/30 |Rc1/2 116/ 16|60 |28 |50|20|41| 9 19|88 | M24x3 |85|15|15| 6 |75 | 35 |800

) Oy sy MEe TIREOHE.

MEDVA FEDRPE (BHE) LVECRY) ETOTIERL LS,

(FRHII 176 <=V % TZIR L 2 80,)




A bO—JRHEERS - FQmAs

CP611AD

Oy FT SV IR
FA-$40 ~ 100
[#1E5] BesRem

FA

v
W W(WW-+Ad)) L(LL+X FO—%) C A
Max.10 OE NE NH [F2. EE EE  _Fi B Al
NB 4-¢J AT AT LB
) 15 5 1 F
I T, HE
o@ || 9 e
?\ N — - _
o _ 2_ 4 _ | — 8 _ _ _ 4 WAL afa
k! e Y8 — w1 sl
. - _L_‘
@ @’ O AM/ [~ = = = = MM
/ 37 7 3 Q
syavnNVT Zam
BAT ©mm
"g” AEER T Z kO — 7 EREER XHEHEEETE R
sagmps| L[ c [*a a1 [ B[ a[B1| Mm D EE E|F[F2|ww[AT[NH][NB[NE] AM vIiwl|[E]J]T[u|R?
040 |97 |30 (201721 13| 7 [M1ax15]16| Rc1/a |55[17 |14 |37 1527 [13] 7 [mi6x2 [100[ 80|55 9 |10 40 [600
950 105352522 2217 |10 |mi8x15[/20| Reass |65 |19 15|37 152713 ] 7 [mi6x2 [110[ 90 |65 | 9 | 10| 45 [600
963 |105/35 |25 222217 [10|[mM18x15/20| Red/s |75 19|15 |37 15|27 [13] 7 [ mi16 x2 [130][112][ 75 | 11 | 10 | 55 [600
80 [112][50 353228 |24 |12 |M26x1.5/30| Rect1/2 [100[ 15 |15 |55 |24 [41 [19] 9 [ m24 x3 [150[125[100| 14 [ 14 | 71 [800
100 [112|50 |35 [32 |28 24 [12 [M26x1.5|30 | Rc1/2 [116|16 |16 |55 [24 |41 [19 | 9 | m24 x3 [185[155[116] 14 | 14 | 85 [800
) Ty s Ty MEE SIREOR A, KA TESERE () L)ECA) FToTS FEU e (GERIE 176 <— V% TBIRC 2 80,)
. —_
Oy FAIZS VIR FA
FA-¢$40 ~ 100
(ME] R
v
W W(NL+Adj+2 hE—2%) L(LL+X hO—2) cC A
Max.10 OE NH(WW+Adj) X ko—2 AT|Fi_ EE EE _Fi| B Al
4-¢J NE NF 1
) 1,5 . 5 1 F
7 T i
6 9 ., —
a T )
w3 e 4-— <2z %_;; S L 18 - - - 4 va 3[8
© i I ©
j A g il
Vi @ ! @)6} NB_/ NC 'ﬁ" = = = = ] MM
bysarnT) 37 (2m@m) (2@m) 7 3 o
varNb (2@Em)
BT mm
‘g” AtEtiER 2 hO— 7B XL ETE LM
s LL| c #aat[B[a[Bt] Mm [D] EE [ E [F1[ww|AT[AD[NF[NCINE[NB[NL] AM vIiwl]eE[u]T][ul|R?
940 [100[30 20172113 7 [M1ax1.5] 16 |Rc1/4|55 |17 |39 18[30|12[24] 6 [11]57 | m14 x2 [100[80|55] 9 |10 40 600
$50 [105/35|25|22]22[17|10|mM18x15[20|Rec3/8]65[19]43[19]35[12]30| 7 [13]62| Mi6 x2 [110]/90]65] 9 | 10] 45 [600
$63 [105/35|25|22]22[17 |10 |m18x1.5(20|Re3/8| 75| 19|43 [19]35[12]30| 7 [13]62| Mi6 x2 [130[112] 75| 11 | 10] 55 [600
$80 [112[50 3532|2824 12|mM26x1.5(30 |[Rect/2]100[15]60([28]50 2041 | 9 |[19]|88| M24a x3 [150[125[100] 14 | 14 | 71 800
100 |112[50|35|32] 28|24 |12 mM26x 1.5/ 30 [Rct1/2][116] 16|60 |28 |50 (20|41 | 9 [19] 88| M24a x3 [185[155[116] 14 | 14| 85 800

i) 0y gy MEe TREOHE.

KENASPE S RPE (BE) JYVECRD) ETOTIERESZ S,

(FERINE 176 < — T % BB 72 50,)

81



82

NE=Fa1-FT4RIT7Y

U4

XFEER - -NAEITEH

CP611AD

CP611AD - CP611AR

Ay RUITSIR
FB-¢40 ~ 100
[(#1E] R

FB

v
vV W(WW-+Adj) L(LL+Z bO—2%) C A
Max.10 OE NE NH |[F2.  EE EE  _F1| B A1
AT B1|
5 1
_ :|_: = = H :_%_
do - = ey =
r - 1 ©
. AM T = = = — MM
Y -/ 37 7 3 Q
YRS S /“
viar NIV T7 zam
BT D mm
f‘;’} AEERTE Z hO— 7 R%ER XEEETE R
s—TmR3| LL | C [*A [A1| B | Q | BT MM D EE E |F1|F2 |WW|AT [NH|NB|NE| AM vIiwl[E]J ] uwl|R?
40 |97[30|20 |17 |21 |13] 7 |M14x15|16| Rc1/4 |55|17 |14 |37 |15|27 13| 7 | M16x2[100| 80| 55| 9 | 40 |600
$50 [105/35|25 (22| 22|17 |10 |[M18x15(20| Rc3/8 65|19 | 15|37 | 15|27 |13 | 7 | M16x2 110/ 90 | 65 | 9 | 45 |600
$63 (105 35|25 (22|22 |17 |10 [M18x15[20| Rc3/8 75|19 | 15|37 | 15|27 |13 | 7 | M16x2 [130[112| 75 | 11 | 55 |600
$80 [112|50[35(32|28| 24|12 |M26x15/30| Rc1/2 [100| 15| 15|55 |24 | 41 [ 19| 9 | M24 x3 [150|125[100| 14 | 71 |800
® 100 [112| 50| 35|32 |28 | 24| 12 [M26x1.5( 30| Rc1/2 [116| 16| 16| 55| 24| 41| 19| 9 | M24 x3 [185]155|116] 14 | 85 |800
W) Ty sy MEE THEORE, KA SFESEDE (i) L0EAD ETOTIEEL LS v, (I 176 < — V& SBIC 25 0,)
- —_—
Ny REIZS VIR FB
FB-¢40 ~ 100
(ME] &=
) v
| vV W(NL+Adj+ X hA—2%) L(LL+R bO—2%) C A
Max.10 [ NH(WW+Adj)) X hO—% AT|F1_  EE EE  _F1| B A1l
NE NE Bl
1,5 5 1
- | ~ _ oI T E - — = ._ﬁ
@' Q 1 Q @ ' I
| | 5 T l,;_ . ’ _
o 2 14 2= % ] 8 4 f o2
wls - - — T E -4 - = F - - - - - a
6 8 < i i S
| | ® o I ‘ ®
o ? NB NC 1= = = = = MM
e 317 (@) (2@m) 7 3 Q
syarvNIg CaEm
BT D mm
f‘;’} AEERTE Z hO— 7 A% XHEEETE R
5—TmR~3| LL | C [*A [A1| B | Q |B1 MM D| EE | E [F1|WW/|AT|AD|NF|NC|NE|[NB|NL| AM v wlE]J|uu|R?
¢ 40 [100[30[20(17|21|13| 7 [M14x15|16 |Rc1/4|55|17|39|18|30|12[24| 6 | 11|57 | M14x2 [100[80 | 55| 9 | 40 |600
¢ 50 [105(35|25|22| 22|17 |10 |M18x1.5(20 |Rc3/8|65|19|43|19|35(12[30| 7 | 13|62 | M16x2 [110/90 |65 | 9 | 45 |600
¢ 63 |105(35|25(22( 22|17 |10 [M18x1.5(20 |Rc3/8|75|19|43|19|35(12[30| 7 | 13|62 | M16 x2 [130[112| 75 | 11 | 55 |600
$80 [112|50[35(32|28|24|12|M26x1.5|30 [Rc1/2[100] 15|60 (28|50 |20[41| 9 | 19|88 | M24 x3 [150[125[100] 14 | 71 |800
¢ 100 [112[50(35 |32 |28 |24 |12 |M26x15]30|Rc1/2[116]| 16|60 |28 |50 20|41 | 9 | 19|88 | M24 x3 [185[155[116] 14 | 85 |800

) Oy sy MEe TIREOHE.

MEDVA FEDRPE (BHE) LVECRY) ETOTIERL LS,

(FRHII 176 <=V % TZIR L 2 80,)




A bO—JRHEERS - FQmAs

CP611AD

—_——
SZH IR TC
TC-¢40 ~ 100
-
(#E] ek
L1 P2 L1 W(WW+Adj) L(LL+X kO—2%) C A
Mah10 OE NE NH |F2 EE EE F1| B Jg¢
,fﬁ¢ AT LB
I 5 1
. i @\ r| c LR = 1 = LERN='
<[ o 2 4 - - 8 ﬁ—b =] 5
NCERE o7 =30 FE 18
8% 6 8 — Y I S 3
/_ | AM/ - = |~ = - MM
/ 377 7 : 3 Q
va N
JyarnNIvg G CEm
S | R
BT
8% AEERTE 2 b — 7R XL BT L
samEB[ L] C [%A [A1] B | Q |B1 MM D EE E|[F1[F2|ww[AT[NH[NB[NE] AM glprp P2l | x [xx]r |27
¢ 40 97(130(20|17 (21 |13| 7 ([M14x15]| 16 Rc1/4 55 (17|14 |37 | 15|27 |13 | 7 | M16 X2 |22 |58 |65|18 |16 |26 |1.5|600
¢ 50 105|135 (252222 |17 |10 |M18%Xx15|20| Rc3/8 |65|19|15|37 15|27 13| 7 | M16 X2 |28 70|80 |18 |16 |26 |1.5|600
¢ 63 105|/35 (25|22 (22|17 |10 [M18Xx1.5]| 20 Rc3/8 7519|1537 |15[27 |13 | 7 | M16 X2 | 28 | 84 |100| 22 | 20 | 30 | 2.0 |600
¢ 80 112/ 50 | 35|32 |28 |24 |12 |[M26X1.5|30| Rc1/2 [100(15|15|55|24 |41 |19| 9 | M24 X3 |32 [104(112| 28 | 25 | 35 |2.5|800
» 100 |112|50 35|32 (28|24 |12 |M26x1.5[30| Rcl1/2 [116|/16 |16 55|24 |41 |19 | 9 | M24 X3 | 37 |124|136(|335|31.5| 44 | 2.5 [800
W) Luvy sty M TIREOYE. KEA FESEPE () VR LD FTOTIEERL S v, o (FEHIL 176 R— V& TSR 28 0»,)
2.5, RFED TRV WA S=R L2 ) 5
—_——
FS=F R TC
TC-¢40 ~ 100
L P2 L1 W(NL+Adj+X kE—2%) L(LL+X hO—%) C _A
Malx.10 CE NH(WW+Adj) R bO—%_ AT [F1 EE EE Fi1| B A1
NE| _ NE B1ll
1,5 5 1
@ : e I = l_ = ARY=
3 | 2 ' H— 1 _|s
Xl 1 _ [42 441 | | = 4 _ _n _ ] _ 4 | ala
& é 3 6 8| o < i ii o
0 Il N>~ | °
\@' @ NB NC - = l = = MM
7 37 (2@mm) (2mm) 7 A 3 Q
oyiavNIVT Cam
S R
BT o
f‘”} ANEETE X hO— VRS XEFeETE L
so B LIL|C[*A [AM1[B]Q[BI| MM |D| EE | E |F1 |WW|AT|[AD|NF|NC|NE[NB[NL] AM | G| P [P2[L1] X [xx] r |*7
¢ 40 100(30| 20|17 |21 |13 | 7 [M14X15| 16 |Rc1/4|55|17 39|18 |30(12|24| 6 (11|57 | M4Xx2|22|58|65|18| 16|26 |1.5(600
¢ 50 105/ 35|25 22 (22|17 |10 |M18%X15| 20 |[Rc3/8[65| 19|43 |19(35|12|30| 7 | 13|62 | MI6X2|28|70|80| 18|16 |26 |1.5|600
¢ 63 105/35| 25|22 22|17 |10 [M18X1.5| 20 |Rc3/8| 75|19 |43|19|35[12|30| 7 [13|62| M6 X2 |28 |84 |100| 22 | 20 | 30 | 2.0 {600
¢ 80 112/ 50| 35(32| 28|24 |12 |M26%X15| 30 |Rc1/2|100| 15|60 |28 |50[20|41| 9 [19|88|M24 x3| 32 (104|112| 28 | 25| 35 |2.5(800
¢ 100 (112/50|35(32|28|24|12|M26%x1.5| 30| Rc1/2(116| 16 | 60|28 50| 20|41 | 9 | 19|88 | M24 X3 | 37 [124|136|335|31.5| 44 | 2.5|800

i) Lav gy Ml THREOHE,
2.5, RVEO TR WHEIES=R %) 5,

XENA SR (BEE)

LRGN EFTOTIEELZ S, -

(

P 176 R— V% TBMIL 2280,




84

NE—Fa1—F4E I T7IVVIH

CP611AD - CP611AR

BhEH/N— - M TER

Dimension with dust cover

I 2t palley ¢ . .#%;E BT D mm
Fa—TJME: $40~100 Fo-JRE | ZtO—7 JC | JB MM A | JFA
0~ 160 110
® 40 161~2%0 | 150 | 45 | yiax15 | 20 | 60
251 ~400 | 210
401 ~600 | 300
1€ A 0~ 160 110
e ;g: :jgg ;’8 45 | Mi8x15 | 25 | 63
401 ~600 | 300
””””” 0~ 160 95
161 ~250 | 120
————— - ‘f%% 251 ~400 | 165 | 60 | M26x15 | 35 | 80
401 ~630 | 235
,,,,,,, 631 ~800 | 285

|
|
|
|
|
|
|
¢JFA

@ FA EOHE I R % JFA HEIC L TF & v,

W) A ME— 7 BN, BFEA NI IO NFTADTIEE L 230,



A bO—JRHEERS - FQmAs

CP611AD - CP611AR

DOy hkhrEEmER « TER

Ay REHEE - Oy 75y MIOBEDORfITES L UERE IS0 TE 172 ~186 X—J 2 ZSBZE L,

CP611AD - CP611AR

B h=x

CP611AD : CP611 /5 (12%) ER—T 7,
CP611AR : CP611 7, (1RE) D512 RAILR—TT,
AEH 20T [HfiTER (CatNo.2224) & T8 2 & 0,



86

ANE—Fa1—-F«4H I7

P4

U4

HENYF2VU X b

Consumption packing list

CP611AD - CP611AR

| cP611AD « F 1 —JH : 40 ~ 100

BRES Ny xegH |LAEYR ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |71 /8—U> 5| 1 M — 1905 M — 1907 M — 1906
17 (B vy KXy %> 1 M — 2049 M — 2050 M — 1147
18 | YU 4F2-THREy M| 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 [EXb>ixy x| 2 M — 1147 M — 1148 M — 2052 M — 2053 M— 1151
2 |Jyiariiyxr| 2 M — 2176 M — 2484 M — 2485
24 |To HMIU77 5] 2 02301 — 0030
54 |¥ — L ¥ H x| 1 WS — 16 DT1 — M24
55 |70 % 2 % 5| 1 IN—18 IN — 22 IN — 34
@i E 720/ 0y FART v MIFEEINTWELE A
| cP611AR « F 1 —JHE : 940 ~ 100
BEES| sy x EH K78 ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |7 14/1x—1y>5| 2 M — 1905 M — 1907 M — 1906
17 |8y Ry x| 2 M — 2049 M — 2050 M — 1147
18 | YU 4F1-THREy M| 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 [EX b2ty x| 2 M — 1147 M — 1148 M — 2052 M — 2053 M— 1151
2 | vyvarixyxr| 2 M — 2176 M — 2484 M — 2485
24 | o HMIVFN 2 02301 — 0030

@iy 20[ 1y FAA v FidEENThEEA,




A bO—JRHEERS - FQmAs

CP611AD - CP611AR |

i
80
IR
8

BEHER : MREE=0YVVIiFF+0BFFTVa Y

CP611AD - BHER P
OPDPEE XS QEARF T a>
Fa—-TAE W (ke) THEE Ehie g8 ERAOMEEE
LB FA FB TC Y I (1mm=5+))
¢ 40 0.0049 X S + 2.3 0.22 027 | 0.29 0.30 0.12 0.13 0.0013
¢ 50 0.0077 X S + 3.6 033 | 034 | 0.34 0.49 0.19 0.22 0.0013
¢ 63 0.0086 X S + 4.8 0.48 | 046 | 049 | 065 0.37 0.37 0.0013
¢ 80 0.0157 X S+ 9.5 059 | 097 0.94 1.10 0.69 0.71 0.0030
¢ 100 0.0174 X S+ 132 0.90 1.40 1.52 1.89 1.26 117 0.0030
CP611AR - BEXR -
OPDPEZ X @QFERF T3>
Fa1-—TAR W (kg) XHEE£E8 ERel FERAOMEES
LB FA FB TC Y I (1mm=4+))
¢ 40 0.0060 X S + 2.5 0.22 027 | 0.31 0.30 0.12 0.13 0.007
¢ 50 0.0090 X S + 3.9 0.33 | 0.34 | 0.40 0.49 0.19 0.22 0.009
¢ 63 0.0102 X S + 5.1 048 | 046 | 056 | 065 0.37 0.37 0.009
¢ 80 0.0192 X S+ 10.4 059 | 097 0.97 1.10 0.69 0.71 0.019
¢ 100 0.0204 X S + 14.2 0.90 1.40 1.62 1.89 1.26 1.17 0.019

) 1 LROSIEA Fe—2 (AL ERLFET
2. LB&EIZ 24 ) O-BEZRLET,



88

ANE—F1—F4H IFIUVY

A bO—HEERS - #QmAs




INGLT
¥l xrouvse

CP611M : MILL type with screwed rod.

CP611MR : MILL type with integrated rod eye

0 11iir

CP6IIS2 B2 v I N—=RIC

SN Fa=T8T 7 IMEIATELL,
AE=F2=7 1252 V5 TTs

Heavy duty pneumatic cylinder based on CP611S2 with flange-

welded cylinder tube.

ﬁ: ﬁ Specification

. Oy RERBCH |Ov Fokim 28 —1AE
R E= MILL type with screwed rod MILL type with integrated rod eye
Model code CP611M CP611MR
£ B B A # OB W
Operation type Dot_JbIe actjr)g‘
A ) S B (RN s Ymc ran,)
Lubricant Lubricant
5 - 7 A & ~
+ Bore size ® 40 500
£ B E 7 -
Working pressure 0.2 1.0MPa
+1.0
i} (250mmiL )
ZbhAO-UHFRE 0 Under250mm
Stroke tolerances 14
o (250 ~ 1,000mm)
E X k2 &EE ~
Piston speed = 50 S00mm /s
B L 2B =
Thread tolerance JIS (6H. 6g)
7 v ¥ oa > mwI7Iyoa>
Cushion Both ends (Air cushion)
it £ 5
Proof pressure 1.5MPa
& B B & — 60"
Ambient tgnﬁp - -5~ 60C

i) 1. SCUTFTIMHOBA R, i okg il L, difozwv ) TEECLES Y,
2. ARSI BRAGT 3o MMIEEIRE THERE C 75 & W
3. ARG BIE S BYEV o L 3 FEIABEBHEE S LS v,

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.

2.As CP61M / CP61MR is not standard products; please contact us about the delivery.
3.As Heat resistant type is available, please contact us for details.

JIS

J

JIS Symbol

—

89



90

NE—Fa1—F4E I T7IVVIH

CA —
2 & 8 B -nviemL o raomtme e oz A,

Model code

CP611

mERNiZ FhEE FHEE£E Fa—TRE Z kO—7
Rod type HIN— Mounting Style Bore size Stroke
Dust cover
@Oy KR Rod type | ! Mounting style
Oy R5EdRR L M % % 2 B 11 L N
Rod end screw
o ” & Vil B 7 = k i
Oy K& &8— T MR Foot | LB
Rod end eye B = . s 2
| Y K@l T 7 > T W FA
Rod end flange
Cap end flange
= ] 7 L E z i
Single clevis CA
- | g L _ E e i CB
‘ @ BEEEA /N — Dust cover Double clevis
k = = 7 > i TC
i L N Trunnion
iifizout W) 1CB AR ¢ 300 UL, BIELTHD FHADTIER /50,
saAQ7L Y (%) 2CB X ERD ¢ 40 ~ ¢ 100, Wy A 7L ) 4,
HETEEE N (e A 5 EBEUEC 2 2 b OB ) E . BUEDTEIZ OV TIX 160~ — T R B £ 0,
1y PR Please refer to p.160 for details.
KRUF7IK70OX
CPE11M POLYAMIDE CLOTH B
TIIFAXR7OX .
ALUMINIZED CLOTH D ‘ e Fa1—THE Bore size
sOoO7L > (1Z#%)
CHLOROPRENE (standard) J 40mm 40
CP611MR RIF7IF70R F 50mm 50
=
)’ N
ALUMINIZED CLOTH G 80mm 80
HE) L BEEA N RO I 17,106 R — P 2 B 22 S0, 100mm 100
2CP6IIMR O¥péid 107 X— V2B L 7250,
1.Please refer to p.17,106 for the structure. 125mm 125
2.Please refer to p.107 for CP611MR. 140mm 140
160mm 160
180mm 180
200mm 200
220mm 220
250mm 250
300mm 300
350mm 350
400mm 400
450mm 450
500mm 500




SIVE AT - faH

(mmtF 1 TR EEL,)

(Please order it by a mm unit)

eRAX b O—Y
Max.strokes

¢ 40 ~ 63| 600mm
¢ 80 ~ 160 800mm
1,000mm

O/NA hu—2
THRREAIC LI Y BRESNE S,

Ay Mened AyoFy bk oFEN FCEDNE
Piston rod attachment Lock-nut T a¥Ekt  Port position
Port bushing
@xrO—7 Stroke

S s g oo ¢ s, | @ 180 ~ 500

[@ovr%Hes

Piston rod attachment ‘

B Kk £ B & LU #mA
Without No entry
Y i
Rod end clevis - Y
Y #® ( E > 1+ ) YA

Rod end clevis /joint pin

EARIYR (€ > ) #E > ]y

St?;geard Rod end clevis /joint pin /split pin
I 2 I
Rod end eye
1 ® (B > f ) IA

Rod end eye /joint pin
Rod end clevis /rolled bushing
YHRx—IN—TL— k- ESf YK
Rod end clevis /keeper plate /joint pin
YHx-1-TU—-bt-EY-T)RZy T YKG
Rod end clevis /keeper plate /joint pin /grease nipple
weY o @Y) 1ikEd 7> Tt YM
Rod end clevis /detent angle
o E-N-TU-hEV - BYEDT VTN YKM
Rod end clevis /keeper plate /joint pin /detent angle
AT oy p-n-7u-1 € 1o 332 0 | yeam
A%fg'gd Rod end clevis fkeeper plate foint pin /detent angle /grease nipple
Y % kR ® @ ®| g
Rod clevis /CARBON STEEL
Y % ® W€ > &k ®| y
Rod end clevis fixed by split pin
Rod end eye /rolled bushing

I ﬁg /Hﬂ 7 v Y2 ﬁ' 1B
Rod end eye /lubricant bushing
I % SP 7 A 2 a ﬁ' 1P

Rod end eye /SP bushing

1) 1.CP6IIMR O¥A13 0 v M40 THRIIAETT,
2.YM, YKM, YKGM O#fr, b FEmafiday 79y PTEELE T,
3. —HECE Vb ONH Y . BIEOWFIZONTIRITAR—TE B 22E 0,
Notes 1. In the case of CP611MR, the end-joint instructions are unnecessary.
2. In the case of YM, YKM or YKGM, fix with a lock nut.
3. Please refer to p.174 for details.

5 27EEN
RenDFEIE

Pressure vessel construction code

Cushion position

’ @Oy Fv bk Lock-nut
Oy7F+y h&L |IIA
Without No entry
1 lock-nut
Oy 774w b 2Eft
2 lock-nut L2

) L 2ENOYAETY Ty Fiih Y ofiER Sk, 1 EfoREFEETT,
EEDPLERRE A2 TR S,
Ty 7 Fy ML T, 176 =2 % THRFHVCE 5,
i) 2. YM, YKM, YKG O#4, 0y FE&Ridny 79y PTHEEL .
Notes 1. Please refer to p.176 for lock-nut.
2. In the case of YM, YKM or YKG, fix with a lock nut.

’ OREOT v 1R Port bushing
Tyiakl EA
Without No entry
Ty aft
With B

W) 7Ty ald 1BEEL T, flZ2iE, Re3/8 55 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

’ OREDME Port position
Hy KRA/N— Ny RAIN—
Rod flange Cap flange

1 (1F%) 5 (1F%)

ERROME 1 (Standard) 5 (Standard)
Code of the position 2 6
3 7
4 8

) BEE 7 v v a Y OB, F-EICERETE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

Dy vasonE

Cushion position ‘

Oy KAh/N— Ny RAN—
Rod flange Cap flange
1 5
A EOME 2 (%) 6 (=)
Code of the position 2 (Standard) 6 (Standard)
3 7
4 8
TJyalEL
Without 9 9

¥QOOFEEHDETHEE(@:1-5.0:2 - 6) L 2 2HEDH, FARETT
1 AFTCOEED D HYE1d, ETRALTLZE Y,
In case of standard position for both @ and @ ,the code is not necessary.
) BEL 7 vy a rofiiiik, A—moEkBEcE i,
Cannot establish the plumbing and the position of the cushion in the same aspect.

| DE2EEARBOFIE  Pressure vessel construction code

FERZ Y fRSCA
Not apply No entry
A
%= o0
Applicable V2

) LA 2 RS AR TR & I A SR ) £
2.4 2RE NI L Td 12 %=V % T2V E 5,
Please refer to p.13 for details.



92

NE—Fa1—F4E I T7IVVIH

RN EER

CP611M - CP611MR

|9":l.—7"l7€|?§ : 40 ~ 100

[

i

0

X

N ]
(18) (14

&= £ 5 ## 21 HE
1 AN oy K AN — S 1
2 |a v K #H /N — =35 1
3 P EF -7 "R 1
4 | E 2 b > REWE-REE 1
5 | x ~>o vy K e 1
6 E X b2 F v b 3] 1
7 | 27vurso—-iE> S 1
8 |V v>vary>ry R 1
9 OyHhIT7FYFRILE o] 8
A e 8
13 | Ay hIT7F+YFRIL b &2 4
14 | N x ¥ #H 0z =35 4
15 | 7 Y % 1 $HEE 1
16 |7 14 I8 — 1) > F NBR 1
17 |8 v KX v ¥ > NBR 1
18 | YUY EFa—-THATy b NBR 2
19 [EX h>uxy x> NBR 2
20 | By KA X7y b NBR 1
22 | 7y Y3 rIiNy X2 NBR 2
23 | Vv ¥ar=—FKL 3 2
24 | = — RNy % > NBR 2
25 |0 v 7 F v bk b 2




SIVE AT - faH

CP611M - CP611MR

|3":l.—7"l7€|f§ P 9125 ~ 250

/7 A

A

M 2 AERSE OB E TR E L ) 9,

u i It S
l 3
, 1 \

&= & 5 # 21 HE

1 ANy K H N = S 1

2 [m] [N B AN s 1

8 UL EFa—T R 1

4 = 2 b > REW-HEE 1

5 2 ~>Oowy K e 1

23 231) (23D) (23F) (23B) (23 3G) (23A) (23C 5 R P 1
7 27 O—-E> S 1

8 gy arl) g i 1

9 OyHhIT7F+YFKRILE 454 8

A e 8

12 F % I 14 % R 1

13 | #H T 14 %K) b S 4

14 | N x ¥ 4 X e 4

15 | 7 Y > 1 e 1

16 |7 4 )X — U > F NBR 1

17 |B v KX v % > NBR 1

18 | YULEFa—-THATy b NBR 2

19 [EX b2y ¥ > NBR 2

20 Oy KA X4 v b NBR 1

22 | Vv 3Ny X2 NBR 2

23A | 7 v ¥ a3 > H N — EhEE 2

23B | = — K J /N T bS] 2

23C | F = v 7 N T BIRES 2

23D | /¥ ES 25 L X8 2

28E | Fx v 7Ny ¥ > NBR 2

23F | @ v 7 F+ v b b 2

238G | Vv varHATy b NBR 2

28H | = — R/ y % > NBR 2

25U 28 231 | 2 7UrsO—)LE Y s 2

| 9 [avrs7ryEfis |

93



ANE—F1—F 4 IFYUVY

CP611M - CP611MR

RN EER

|9":l.—7"l79?§ : $300 ~ 500

= HE

&5 ® *’F i 9300 9360] 9400] 9450] 9500
1 D AN i 1
2 a vy K # N — S 1
%1 3 S YL EF T R 1
4 = Es k 2 REH-HEL 1
28)27)26 24)23)29 5 |[ext>nay K R 1
6 |E X k> F v b ; 1
7 | v ] £ 1
8 gy aryyry 1

19 | Ouho7FIEENE 6 | 24
THEENE 3% 16 | 24

12 | % I 14 = 3R 1
13 | # % I A4 2K b 3 4
14 [N %2 ¥ FH X S 4
15 7 P 2 E1 REE 1
17 |74 x =y > 5 NBR 1
18 Ay KXy ¥ > NBR 1
19 | UL 4F2-THRL b NBR 2
20 [EX k> iXy &> NBR 2
21 [By KA R4 v b NBR 1
22 gy gy x> NBR 2
23 Jya NIVTHRry b NBR 2
24 | 7w Y a rHh N — b3 2
25 | F v 7 NV T HEE 2
26 = — K J N T 27 L X8 2
¥ 165 2 FEE DA S OB A TR E B ) 5, 27 SR rXFy b P 2
[o Tavnsrryxsir] 25> L 238 | 28 | N EY 1a%H >
29 |[# 2 & oy b NBR 2




ST - R

XREER - HETED

CP611M

CP611M - CP611MR

HAET— M
LB-¢40 ~ 250

Max.10(2 40~100)

Max.17(@ 125~250)
CE

LB

(+1E] ERERE L(LL+ZbO—7) c A
I 2 Fle_ | Al
B1
15 5/ - 1
f T[T T[T
| |-
S P I | P I P i N
8 80
]
T
! — —-— E| MM
St m NI | 3:7 | T 7 3 T 5
Wi W1 (2iErh)
4-04) uu z L1 (LH2W1)AE+2 z
BT om
EW ARRERTE XHEETE B || S
sa a8 LL] C |*A [A1 ] B | Q | B1 MM D |DD1 EE E[FR [rlw]z[w[t]H[w |77
940 | 97 |30 |20 |17 |21 [ 13| 7 | m1ax15 |16 | 47 | Retza [ 55 |17 | 1440 |15 | 10] 4 | 40| 30 [600] 0O
$50 |105| 35 |25 |22 [ 22|17 |10 | mMisx15] 20 | 55| Rears |65 |19 | 15 | 45 | 15| 10| 6 | 45 | 30 [600]| 4
$63 |105| 35 | 25 |22 [ 22 |17 | 10 | Mmisax15 | 20 | 55 | Rears | 75 [ 19 | 15 | 55 |15 | 12| 6 [ 55 | 35 [600| 4
$80 |112] 50 [ 35 [ 32|28 |24 | 12 | M26x15] 30 | 75 | Retr2 [100| 15 |15 |71 [ 15| 15| 6 [ 60 | 35 [800]| 5
100 |112] 50 | 35 [ 32 [ 28 | 24 | 12 | M26x15 [ 30 | 75 | Re1/2 [116] 16 | 16 | 85 | 15 | 15| 6 | 75 | 35 [ 800 | 28
¢ 125 1211 60 | 35 | 32 | 36 | 30 12 | M26x1.5 | 35 | 80 Rc1/2 143 | 18 18 [ 100 | 20 19 6 85 | 45 | 800 | 25
$140 [135| 80 | 50 | 47 | 48 [ 32 | 18 | M36x15 | 40 | 85 | Re1/2 [160] 20 | 20 [112| 25 | 24 | 9 [100] 55 [ 800 | 35
$160 |135| 80 | 50 | 47 | 48 | 32 | 18 | M36x15 | 40 | 85 | Rc3/4 |176] 20 | 20 [118| 25 | 24 | 9 [105]| 55 [ 800 | 35
¢ 180 145 | 85 | 60 | 57 | 50 | 41 20 | M45x15 | 50 | 110 | Rc3/4 198 | 20 | 20 (132 | 30 | 28 13 (125 | 70 [1000| 30
$200 |145| 85 |60 |57 | 50 | 41 | 20 [ Ma5x15 | 50 [110| Red/a [220] 20 | 20 [150 | 30 | 28 | 13 [ 135 | 70 [1000] 30
$220 |160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 [120 | Rc3/4 [242| 23 | 23 [170] 40 | 35 | 13 [ 150 | 85 [1000]| 40
250 |160| 90 | 70 | 67 | 52 | 50 | 22 [ M56 x1.5 | 60 | 120 | Re3/4 |270| 23 | 23 [180| 40 | 35 | 13 | 160 | 85 [1000] 42
W) "y gy ML TIREOY A, KEA HESERE () LR D EFTOTIRE S v, GEME 176 =T % &
AT — M2 Max.10(2 40~100) LB
_ Max.17(@ 125~250)
LB-¢40 ~ 250 /M LILL+ZPO—%) ci
- A
(ME] R 2D
15 RA
1
2 ! 4 \& a
- T, "8 - T T T - (=)
| )
L
o 5\
T3 NIV 317 ¥ 2CDH10
W1 W1
4244 uu z Li(L+2W1)AZE+2 z
33
[m
o
BAT mm
i AT ERERTE Bo R
s.-mp5| LL | c1 [ AA ] B | D [DD1 EE E|[RAaJeo|[r|[F [rR2uw | z w1 H W |[T7]|%7
940 | 97 |60 | 15|21 [ 16 | 47 | Retsa [ 55 |13 [ 10 |16 | 17 |14 |40 | 15[ 10| 4 [ 40 | 30 [600]| O
$50 |105| 70 | 18 [ 22 | 20 [ 55 | Re3/8 [ 65 | 15 [ 12 [ 20 [ 19 | 15 | a5 | 15 [ 10 | 6 | 45 | 30 |600]| 4
$63 |105| 70 |23 [ 22| 20 |55 | Red/s [ 75 | 19| 16 [ 25 |19 | 15 |55 | 15 | 12| 6 | 55 | 35 |600]| 4
$80 |112] 90 [ 30 [ 28 [ 30 [ 75 | Re1/2 [100| 24 [ 20 [ 30 [ 15[ 15 |71 [ 15 | 15| 6 | 60 | 35 [800]| 5
¢ 100 112 | 90 35 28 30 75 Rc1/2 116 | 30 25 35 16 16 85 15 15 6 75 35 [ 800 | 28
p125 [121 110 35 [ 36 | 35 | 80 | Re1/2 [143] 30 [ 25 [ 35 | 18 [ 18 [100| 20 | 19| 6 | 85 | 45 [800]| 25
¢ 140 135 | 140 | 50 48 40 85 Rc1/2 160 | 38 |31.5| 40 20 20 (112 | 25 24 9 100 | 55 | 800 | 35
¢ 160 135 | 140 | 50 48 40 85 Rc3/4 176 | 38 |31.5| 40 20 20 [ 118 | 25 24 9 105 | 55 | 800 | 35
180 |145|160| 65 | 50 | 50 | 110 | Rc3/4 [198| 48 | 40 | 50 | 20 [ 20 [132] 30 | 28 | 13 | 125 | 70 [1000] 30
¢ 200 145 | 160 | 65 50 50 | 110 Rc3/4 | 220 | 48 40 50 20 20 [ 150 | 30 28 13 | 135 | 70 [1000| 30
¢ 220 160 | 180 | 80 52 60 | 120 Rc3/4 | 242 | 63 50 60 23 23 [ 170 | 40 35 13 | 150 | 85 [1000| 40
¢ 250 160 | 180 | 80 52 60 | 120 Rc3/4 | 270 | 63 50 60 23 23 [ 180 | 40 35 13 [ 160 | 85 [1000| 42

95



96

NE—Fa1—-F 4 I7

~

P

U4

xKEEER - NEDT

CP611M

yr

CP611M - CP611MR

B75m 7 — M
LB-¢300 ~ 500

(W8] R

Max.22

LE

L(LL+ZhE—7)

LB

Wi W1
4-24J uu z Li(L+2Wn)AZE+2 z
BT mm
5 AFEBTE ZHEETE S| R
h_jmﬁe% LL | C [*A B Q | Bt MM D |DD1 EE E F |UU | z W[ H [w|[27]R7
¢ 300 |172(120| 80 | 60 | 63 | 25 | M65%x2 | 71 | 112 Rc1 335 | 25 | 240 | 43 | 33 | 25 | 220 | 105 [1000| 50
¢ 350 |177|135| 90 | 70 | 71 | 30 | M72x2 | 80 | 126 Rc1 385 | 25 | 280 | 43 | 36 | 25 | 230 | 105 [1000| 45
¢ 400 202 | 150 | 100 | 75 | 77 30 M82 x 2 90 | 144 | Rc11/4 | 435 | 30 | 320 | 50 39 | 32 | 295 | 130 |1000| 52
¢ 450 | 212 (175|110 | 90 | 85 | 30 | M9OO x2 |[100 | 155 | Rc11/4 | 485 | 30 | 380 | 55 | 42 | 35 | 320 | 145 [1000| 42
¢ 500 | 217 [ 200|130 |105| 95 | 30 | M100 x2 [ 112 | 170 | Rc11/4 | 540 | 30 | 420 | 55 | 46 | 38 | 360 | 175 [1000| 53
H) Ty sy M TIREOY G, KEA FESEPE () JVRCRDFTOTIERL LS v, o (FEAIIE 176 ==Y % TBH 728 0,)
ham T — b2 LB
LB-¢300 ~ 500
(18] R
Max.22 E L(LL+XrE—7%) Ci
B AA
T [1bD1
o 2D
5 RA
| U | ) B E
2CDH10 T
-
Jyar NIV L =
W1 W1
4-24J uu Li(L+2W1)AE+2 z 33
a
o
(P
L |
B4 mm
e ANAERT A ZHe8TE S || St
s.—JmE~>2| LL [ C1 | AA| B D | DD1 EE E RA | CD | RD F |UU | z Jo| 7T H[wi |R7] %7
$300 | 172|220 | 80 | 60 | 71 | 112 Rct 335 | 63 | 56 | 71 | 25 | 240 | 43 | 33 | 25 | 220 | 105 |1000| 50
$350 | 177|250 | 90 | 70 | 80 | 126 Rc1 385 | 71 | 63 | 80 | 25 | 280 | 43 | 36 | 25 | 230 | 105 |1000| 45
¢ 400 | 202 | 270 | 100 | 75 | 90 | 144 |Rc11/4| 435 | 80 | 71 | 90 | 30 [ 320 | 50 | 39 | 32 | 295 | 130 |1000| 52
¢ 450 212 | 300 | 110 | 90 | 100 | 155 | Rc1 1/4 | 485 | 90 80 [ 100 | 30 | 380 | 55 42 35 | 320 | 145 [1000| 42
¢ 500 217 | 330 | 125 | 105 | 112 | 170 | Re1 1/4 | 540 | 100 | 90 | 112 | 30 | 420 | 55 46 38 | 360 | 175 |1000| 53




SIVE AT - faH

CP611M

Oy FUT SV IR
FA-$40 ~ 250
[#1E5] BesRim

Max.10(2 40~100)
Max.17(2 125~250)
V

FA

L(LL+ZrO—%) c A
vV 4-29 2 Fi| B A1
7 E T o€ N
15 5/ I L —
4 i ; 1] ) Hasue
g . 4 ' Al
{3 et e — Ammi =
|
to | o9 ot N\
37 7 - 3 Q
Jya NV (2mEm)
6 o
"gﬁ AR XL EE S0 | 55
F.-JRE~S| LL | C [*A | A1 | B | @ | Bt MM D |DD1 EE E |F1 |[F2| V |[WwW]| J TJw]|u |7 |%7
¢ 40 97 | 30 | 20 | 17 | 21 | 13 | 7 | M14x15 | 16 | 47 | Rci1/4 | 55 | 17 | 14 |100| 80 | 9 | 12 | 40 | 60 | 600 | O
¢$50 |105| 35| 25 |22 | 22 |17 | 10 | M18x15 | 20 | 55 | Rc3/8 | 65 | 19 | 15 |110| 90 | 9 | 14 | 45 | 70 | 600 | 4
$63 |105| 35 | 25 |22 | 22 | 17 | 10 | M18x15 | 20 | 55 | Re3/8 | 75 | 19 | 15 | 130 |112| 11 | 14 | 55 | 80 |600 | 4
$80 |112| 50 | 35 | 32 | 28 | 24 | 12 | M26%X1.5 | 30 | 75 | Rci/2 [100| 15 | 15 | 150 |125| 14 | 20 | 71 | 105|800 | 5
$100 (112 50 | 35 | 32 | 28 | 24 | 12 | M26%x1.5 | 30 | 75 | Rc1/2 |116| 16 | 16 [ 185|155 | 14 | 20 | 85 | 120 | 800 | 28
$125 [121 | 60 | 35 | 32 | 36 | 30 | 12 | M26x1.5 | 35 | 80 | Rc1/2 |143 | 18 | 18 | 220|185 | 18 | 25 | 100 | 150 | 800 | 25
¢ 140 |135| 80 | 50 | 47 | 48 | 32 | 18 | M36x1.5 | 40 | 85 | Rc1/2 | 160 | 20 | 20 [255 | 212 | 22 | 27 [112| 165 | 800 | 35
¢ 160 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36X1.5 | 40 | 85 | Rc3/4 [176| 20 | 20 |275|230 | 22 | 27 | 118|180 | 800 | 35
¢ 180 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45x1.5 | 50 | 110 | Rc3/4 [198 | 20 | 20 | 320 | 265 | 26 | 33 | 132|200 |1000| 30
¢ 200 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45x1.5 | 50 | 110 | Rc3/4 [220 | 20 | 20 | 335|280 | 26 | 33 | 150 | 225 |1000| 30
$220 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 | 120 | Rc3/4 |242 | 23 | 23 [ 400 [335| 33 | 42 | 170 | 250 [1000| 40
$250 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 | 120 | Rc3/4 |270 | 23 | 23 | 420|355 | 33 | 42 | 180 | 275 [1000| 42
) "y 2y My TIREOY G, XA FEEPE () LDREAY) FTOTIERSZE Vo (FERINE 176 =T % BB 7250,)
CP611MR
Oy RFEITS VIR Max.10(240~100) FA
FA_¢40 ~ 250 Maf/.17(®125~250) LLL+RRO—2) o
[#18) R%sE — 04 T - ey A
15 % _ ool |‘ RA
K FH n 1/
R S | |4 )
| Q
Vi B - A - (] 2CDH10
37 7 3
Iy | 33
H g
TR
EA
"gﬁ AFEBTiE XHEEE L0 || K5
F.-JRE~>Z| LL | C1 | AA | B D | DDt EE E | RA|CD|RD | F1 | F2 v | w J T |w ]| u |7 r7
¢ 40 97 | 60 | 15 | 21 16 | 47 Rci/4 | 55 | 183 | 10 | 16 | 17 | 14 | 100 | 80 9 12 | 40 | 60 | 600 | O
¢ 50 105 | 70 | 18 | 22 | 20 | 55 | Rc3/8 | 65 | 15 | 12 | 20 | 19 | 15 | 110 | 90 9 14 | 45 | 70 | 600 | 4
¢ 63 105 | 70 | 23 | 22 | 20 | 55 | Rc3/8 | 75 | 19 | 16 | 25 | 19 | 15 | 130 | 112 | 11 14 | 55 | 80 | 600 | 4
¢ 80 112 | 90 | 30 | 28 | 30 | 75 | Rc1/2 [ 100 | 24 | 20 | 30 | 15 | 15 | 150 [ 125 | 14 | 20 | 71 | 105 [ 800 | 5
$100 [ 112 | 90 | 385 | 28 | 30 | 75 | Rc1/2 | 116 | 30 | 25 | 35 | 16 | 16 | 185|155 | 14 | 20 | 85 | 120 | 800 | 28
¢ 125 [121 | 110 | 35 | 36 | 35 | 80 Rc1/2 | 143 | 30 | 25 | 35 | 18 | 18 [ 220 | 185 | 18 | 25 | 100 | 150 | 800 | 25
¢ 140 [ 135|140 | 50 | 48 | 40 | 85 Rc1/2 | 160 | 38 |315| 40 | 20 | 20 | 255 | 212 | 22 | 27 | 112 | 165 | 800 | 35
¢ 160 | 135|140 | 50 | 48 | 40 | 85 Rc3/4 | 176 | 38 |315| 40 | 20 | 20 | 275|230 | 22 | 27 | 118 | 180 | 800 | 35
¢ 180 | 145|160 | 65 | 50 | 50 | 110 | Rc3/4 | 198 | 48 | 40 | 50 | 20 | 20 | 320 | 265 | 26 | 33 | 132 | 200 [1000| 30
¢ 200 | 145|160 | 65 | 50 | 50 | 110 | Rc3/4 | 220 | 48 | 40 | 50 | 20 | 20 | 335 [ 280 | 26 | 33 | 150 | 225 [1000| 30
$220 | 160 | 180 | 80 | 52 | 60 | 120 | Rc3/4 |242 | 63 | 50 | 60 | 23 | 23 | 400 | 335 | 33 | 42 | 170 | 250 [1000| 40
$250 | 160 | 180 | 80 | 52 | 60 | 120 | Rc3/4 |270 | 63 | 50 | 60 | 23 | 23 | 420 | 355 | 33 | 42 | 180 | 275 [1000| 42

97



98

NE=Fa1-FT4RIT7Y

U4

xKEEER - NEDT

CP611M

= B

CP611M - CP611MR

Oy FITSVIR
FA ¢300 ~ 500
[(#1E] R

FA

v L(LL+Zka—7) cC A
Fl sl
Max.22 T
_ M
[T 7] | |
7/
4 al
53|2| —t#—- L 0 | I N & i ‘35
- MM
-\ - - Q
7 — 3 (2@mh)
a7
BT mm
f‘é”} AAEERTE XHFEETE L || G
aomaB| LL | C [*A [ B [ a [ B1 MM D |DD1 EE EJF | v w]uo[]T[]uJuw]|ue]|z?|x?
$300 |172|120| 80 | 60 | 63 | 25 | M65x2 | 71 |112| Rct |335| 25 | 435|395 | 22 | 35 | 90 | 270 | 345 [1000| 50
350 |177|135| 90 | 70 | 71 | 30 | mM72x2 | 80 [126| Rct |385| 25 510|460 26 | 42 | 110 | 330 | 395 [1000| 45
@400 | 202|150 [100| 75 | 77 | 30 | M82x2 | 90 | 144 | Rel 1/4 | 435 | 30 | 575 | 515 | 30 | 47 | 120 | 360 | 450 [1000| 52
450 | 212 |175|110| 90 | 85 | 30 | MO0 x2 | 100 | 155 | Rc1 1/4 | 485 | 30 | 630 | 565 | 33 | 47 | 120 | 400 | 500 [1000| 42
¢ 500 | 217 | 200|130 | 105 | 95 | 30 | M100 x2 | 112 | 170 | Rl 1/4 | 540 | 30 | 690 | 630 | 33 | 50 | 150 | 450 | 550 |1000| 53
) By rFy ME SIGEOB G, KA FEAERE (Bl XhECAD ETOTIEEC S, o (GERINE 176 <— ¥ % SBIE 755 00,)
. —_
Ov RISV IR FA
FA ¢300 ~ 500
(h1E] el
L(LL+ZO—%) C
Max.22
RA
2
Y13 —+ - "
2CDH10
N
\4
e prel
-
o
1
T
SR
BT om
57 At ZREATA AR
BB LL [ C1 | AA| B | D |DDI EE E[RA[CD[RD| F | vV [w ][ 4 T[ufuw] u]|z7|%?
300 | 172 |220| 80 | 60 | 71 | 112 | Rel |335| 63 | 56 | 71 | 25 | 435 | 395 | 22 | 35 | 90 | 270 | 345 |1000| 50
350 | 177 |250| 90 | 70 | 80 | 126 | Rct | 385 | 71 | 63 | 80 | 25 | 510 | 460 | 26 | 42 | 110 | 330 | 395 1000 45
400 | 202 | 270 | 100 | 75 | 90 | 144 |Rc11/4 | 435 | 80 | 71 | 90 | 30 | 575 | 515 | 30 | 47 | 120 | 360 | 450 |1000| 52
450 | 212 | 300 | 110 | 90 | 100 | 155 | Re11/4 | 485 | 90 | 80 | 100 | 30 | 630 | 565 | 33 | 47 | 120 | 400 | 500 | 1000]| 42
500 | 217 | 330 | 125 | 105 | 112 | 170 | Re1 174 | 540 [ 100 | 90 | 112 | 30 | 690 | 630 | 33 | 50 | 150 | 450 | 550 [1000| 53




SIVE AT - faH

CP611M

ANy REIZS VIR FB
FB-¢40 ~ 250 Max.10(@ 40~100)
(5] s Vi 172 125~250) . ) _
VvV 4-2J F2 Fi| B A1
/. OE 2-EE .
. 1 I5 | Is - - 1
G O T H

SE L e Ll TR 48

b 8

@' : $ 1T MM

f/ - 3'7 @ g T -3 Q

M (2mrh)
BT mm
"g” AEETE TS ETE L | e
F.-JRE~Z| LL | C |*A | A1 | B | Q@ | Bt MM D |DD1 EE E|F1|F2 |V |[w]|J Tluwl|u |R7|%7

¢ 40 97 | 30 | 20 | 17 | 21 13 7 M14x1.5 | 16 | 47 Rc1/4 55 | 17 | 14 | 100 | 80 9 12 | 40 | 60 | 600 | O
¢ 50 105| 35 | 26 | 22 | 22 | 17 | 10 | M18X1.5 | 20 | 55 Rc3/8 65 | 19 | 15 | 110 | 90 9 14 | 45 | 70 | 600 | 4
¢ 63 105| 35 | 26 | 22 | 22 | 17 | 10 | M18X1.5 | 20 | 55 Rc3/8 75 | 19 | 15 | 130 [ 112 | 11 14 | 55 | 80 | 600 | 4
¢ 80 112 | 60 | 35 | 32 | 28 | 24 | 12 | M26%x15 | 30 | 75 Rc1/2 | 100 | 15 | 15 | 150|125 | 14 | 20 | 71 | 105|800 | 5
¢ 100 |112| 50 | 35 | 32 | 28 | 24 | 12 | M26x1.5 | 30 | 75 Rc1/2 | 116 | 16 | 16 | 185|155 | 14 | 20 | 85 | 120 | 800 | 28
¢ 125 (121 | 60 | 35 | 32 | 36 | 30 | 12 | M26x1.5 | 35 | 80 Rc1/2 | 143 | 18 | 18 | 220|185 | 18 | 25 | 100 | 150 | 800 | 25
¢ 140 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36%x15 | 40 | 85 Rc1/2 |160 | 20 | 20 | 255|212 | 22 | 27 | 112|165 | 800 | 35
¢ 160 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36%x1.5 | 40 | 85 Rc3/4 176 | 20 | 20 |275|230 | 22 | 27 | 118|180 | 800 | 35
¢ 180 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45Xx15 | 50 | 110 | Rc3/4 | 198 | 20 | 20 | 320|265 | 26 | 33 | 132 | 200 [1000| 30
¢ 200 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45x1.5 | 50 [110 | Rc3/4 |[220| 20 | 20 | 335|280 | 26 | 33 | 150 | 225 [1000| 30
¢$220 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 [ 120 | Rc3/4 |242 | 23 | 23 | 400|335 | 33 | 42 | 170 | 250 [1000| 40
¢$250 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 | 120 | Rc3/4 |[270 | 23 | 23 | 420|355 | 33 | 42 | 180 | 275 [1000| 42

W) vy gy ML THREOY A, KA FTESERE () LR ADFTOTIEEZS v, o GEZ 176 =V % TZHE 2 80,)
. —_—as
Ay RAIZS VIR FB
FB-¢40 ~ 250 L(LL+Z+A—7%) Ci
(78] = .
RA
L2132 — -
@ CDH10
[a]
o
:
SR
BT : o
& I A TREATE R
51 9ma5| LL [ c1 [ AA | B | D [DD1 EE E [RA|CD|RD|FI [F2 ] v [w] U T Juw ] u |T7| %7
¢ 40 97 60 15 21 16 47 Rc1/4 55 13 10 16 17 14 100 80 9 12 40 60 | 600 0
@ 50 105 70 18 22 20 55 Rc3/8 65 15 12 20 19 15 110 90 9 14 45 70 | 600 4
¢ 63 105 70 23 22 20 55 Rc3/8 75 19 16 25 19 15 130 | 112 11 14 55 80 600 4
¢ 80 112 | 90 30 28 30 75 Rc1/2 100 | 24 20 30 15 15 150 | 125 14 20 71 105 | 800 5

¢ 100 112 | 90 35 28 30 75 Rc1/2 116 | 30 25 35 16 16 | 185 | 1565 | 14 20 85 | 120 | 800 | 28
¢ 125 121 | 110 | 35 36 35 80 Rc1/2 143 | 30 25 35 18 18 | 220 | 185 | 18 25 | 100 | 150 | 800 | 25
¢ 140 135 | 140 | 50 48 40 85 Rc1/2 160 | 38 | 31.5| 40 20 20 | 255 | 212 | 22 27 | 112 | 165 | 800 | 35
¢ 160 135 | 140 | 50 48 40 85 Rc3/4 176 | 38 |31.5 | 40 20 20 | 275 | 230 | 22 27 | 118 | 180 | 800 | 35
¢ 180 145 | 160 | 65 50 50 | 110 Rc3/4 198 | 48 40 50 20 20 | 320 | 265 | 26 33 | 132 | 200 |1000| 30
¢ 200 145 | 160 | 65 50 50 | 110 Rc3/4 | 220 | 48 40 50 20 20 | 335 | 280 | 26 33 | 150 | 225 |1000| 30
¢ 220 160 | 180 | 80 52 60 | 120 Rc3/4 | 242 | 63 50 60 23 23 | 400 | 335 | 33 42 | 170 | 250 |1000| 40
¢ 250 160 | 180 | 80 52 60 | 120 Rc3/4 | 270 | 63 50 60 23 23 | 420 | 355 | 33 42 | 180 | 275 [1000 | 42




100

NE—Fa1—F4E I T7IVVIH

ZxFHFEEA - HET
CP611M

yr

CP611M - CP611MR

Ay RMUITSVIR
FB ¢300 ~ 500
[(#1E] R

FB

v L(LL+ZO—%) c A
wW JF 2EE B B
Max.22 OE T
115 _|sl/ o
T N LA
i b
o # 4 3
g3t e —————— R 3
NS/ —
o MM
N : - 3
317 7 — 3 (2frh)
7y NIV 8-2J
BAT mm
&7 AET EBERTE LB
B L[ C |*A | B | a | Bt MM D |DD1 EE E|F | v w]uo[T[]uJuw]lue]|Z?|lx?
300 |172|120| 80 | 60 | 63 | 25 | Me5x2 | 71 [112| Rct |335| 25 | 435|395 22 | 35 | 90 | 270 | 345 [1000| 50
350 |177|135| 90 | 70 | 71 | 30 | M72x2 | 80 | 126 | Rct |385| 25 | 510|460 | 26 | 42 | 110 | 330 | 395 [1000| 45
400 | 202|150 [100| 75 | 77 | 30 | M82x2 | 90 | 144 | Rel 1/4 | 435 | 30 | 575 | 515 | 30 | 47 | 120 | 360 | 450 [1000| 52
450 |212|175|110| 90 | 85 | 30 | MO0 x2 | 100|155 | Rel 1/4 | 485 | 30 | 630 | 565 | 33 | 47 | 120 | 400 | 500 [1000| 42
500 | 217 | 200|130 | 105| 95 | 30 | M100 x2 | 112 | 170 | Rel 1/4 | 540 | 30 | 690 | 630 | 33 | 50 | 150 | 450 | 550 |1000| 53
) Ty ME SIEOHE. KE A FESERME (Bl XDECAD ETOTIEECE S, o (GEEINE 176 <— ¥ % TBIEC 755 00,)
. —_ e
ANy REIZS VIR FB
FB ¢300 ~ 500
(#1E] R
v L(LL+ZFO—%) Ci
- 2EE Fl.B AA
Max.22
s/ —h
N LERJ
RA
43I T (1
B 2 CDH10
—7 — 3
JyvazivT OpD1 2D
58
{ E
BT mm
= A XHEETE o [ mo
5.-JmE3| LL | C1 | AA| B | D |DD1 EE E|[RA[CD[RD| F | vV [w ][ 4 T[] u Ju] u]|z?|%”
300 | 172|220 | 80 | 60 | 71 | 112 | Rel |335| 63 | 56 | 71 | 25 | 435 | 395 | 22 | 35 | 90 | 270 | 345 |1000| 50
350 | 177 |250| 90 | 70 | 80 [ 126 | Rct | 385 | 71 | 63 | 80 | 25 | 510 [ 460 | 26 | 42 | 110 | 330 | 395 1000 45
@400 | 202 | 270 | 100 | 75 | 90 | 144 |Rcl1/4 | 435 | 80 | 71 | 90 | 30 | 575 | 515 | 30 | 47 | 120 | 360 | 450 |1000| 52
$ 450 | 212 | 300 | 110 | 90 | 100 | 155 |Rc11/4 | 485 | 90 | 80 | 100 | 30 | 630 | 565 | 33 | 47 | 120 | 400 | 500 [1000| 42
500 | 217 | 330 | 125 | 105 | 112 | 170 | Re1 1/4 | 540 [ 100 | 90 | 112 | 30 | 690 | 630 | 33 | 50 | 150 | 450 | 550 [1000| 53




SIVE AT - faH

CP611M

—lIVEZRRE

CA

CA-¢125 ~ 250
Fr
(#1E] &k
Max17 . OE R L(LL+ZrE—%) c A
0. K F: Fi| B A1
LTl | 2EE B
2DDH10 ]/ — _ l1I
LB bl H_frT]
4 a a
R €[S
T MM
J9a NV -3 Q
= @)
BT om
“:‘W AAERT A ZHEETE LA || S
semEE| LL| C %A [A1 ] B | Q |81 MM D |DD1 EE E|[F [r|[D|[DI|[R]| T[RRI kK [£7|%7
$125 [121| 60 | 35 | 32 [ 36 | 30 | 12 | M26x1.5 | 35 | 80 | Rc1/2 |143| 18 | 18 | 25 [355| 65 | 20 |27.5| 37 | 800 | 25
$140 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36%x15 | 40 | 85 | Rc1/2 [160| 20 | 20 [315| 40 | 80 | 25 | 35 | 40 | 800 | 35
$160 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36%x1.5 | 40 | 85 | Rc3/4 |[176 | 20 | 20 [31.5| 40 | 80 | 25 | 35 | 45 | 800 | 35
$180 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45%x1.5 | 50 | 110 | Rc3/4 [198 | 20 | 20 | 40 | 50 | 100 | 31 | 44 | 50 |1000| 30
$200 [145| 85 | 60 | 57 | 50 | 41 | 20 | M45x1.5 | 50 [ 110 | Rc3/4 [220| 20 | 20 | 40 | 50 | 100 | 31 | 44 | 50 |1000| 30
$220 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 |120 | Rc3/4 |242 | 23 | 23 | 50 | 63 |125| 41 | 55 | 65 |1000| 40
$250 [160| 90 | 70 | 67 | 52 | 50 | 22 | M56 x1.5 | 60 |120 | Rc3/4 |270 | 23 | 23 | 50 | 63 |125| 41 | 55 | 65 |1000| 42
) Lavrdy MEe TIREOY A, KA TESEPE () LDVECR) FTOTINEEL S v, (REMIIE 176 "=V & T2 28 0v,)
2. Fa—THNE p40~100b8YFN-LE 9,
—lI L ER# CA
CA-¢125 ~ 250
Max17 E R L(LL+ZrE—%) C
D1 02 K. 2 Fi| B AA
LT 2:EE
2DDH10 5y — |1 RA
T T[T
& | g r*
" 5
1l 18 U | N | O - a
[N
T [ \_2D @CDH10
yysa T ! 8
-0
Q<
[a]
ﬁ 'I
BT o
”gﬁ AAEEBTE XHEETE SR || 5T
F.-JRE~Z| LL | C1 | AA | B D |DD1 EE E | RA|cCcD|RD | F1 | F2 | DD | D1 R T [RR1] K | 7| %7
$125 [ 121|110 | 35 | 36 | 35 | 80 | Rc1/2 | 143 | 30 | 25 | 35 | 18 | 18 | 25 |355| 65 | 20 |275| 37 | 800 | 25
$140 | 135|140 | 50 | 48 | 40 | 85 | Rc1/2 | 160 | 38 |315| 40 | 20 | 20 [315| 40 | 80 | 25 | 35 | 40 [ 800 | 35
$160 | 135|140 | 50 | 48 | 40 | 85 | Rc3/4 | 176 | 38 |315| 40 | 20 | 20 [315| 40 | 80 | 25 | 35 | 45 [ 800 | 35
$180 | 145|160 | 65 | 50 | 50 | 110 | Rc3/4 | 198 | 48 | 40 | 50 | 20 | 20 | 40 | 50 | 100 | 31 | 44 | 50 [1000| 30
$200 | 145|160 | 65 | 50 | 50 | 110 | Rc3/4 | 220 | 48 | 40 | 50 | 20 | 20 | 40 | 50 | 100 | 31 | 44 | 50 [1000| 30
$220 |[160 | 180 | 80 | 52 | 60 | 120 | Rc3/4 |242 | 63 | 50 | 60 | 23 | 23 | 50 | 63 | 125 | 41 | 55 | 65 [1000| 40
$250 | 160 | 180 | 80 | 52 | 60 [ 120 | Rc3/4 | 270 | 63 | 50 | 60 | 23 | 23 | 50 | 63 | 125 | 41 | 55 | 65 |[1000| 42

W) Fa—T7WNE: ¢40~100bBEEN/-LET,

101



102

NE=Fa1-FT4RIT7Y

U4

XFEER - -NAEITEH

CP611M

CP611M - CP611MR

—lILERR CA
CA ¢300 ~ 500
A
(48] #Hek
Max.22 [E R L(LL+ZrO—%) c A
X TIF. 2EE F| B_ Bt
Dﬁg:l T
15 @DDH10 Sy — e
g
2 af o
- -—t a
6 Q
T O
MM
\ Q
(2iEm)
JyaiiNIv
BT mm
E‘“} AFERTE THEETE S| R
B L] C |*A | B | a | Bt MM D |DD1 EE E F |bb | D1 | R T[RRI x |7 | %7
$300 [172|120| 80 | 60 | 63 | 25 | MB5%2 | 71 [ 112 | Rct 335| 25 | 56 | 71 | 111 | 30 | 63 | 175 [1000| 50
$350 |177|135] 90 | 70 | 71 | 30 | M72x2 | 80 [ 126 | Rect 385| 25 | 63 | 80 | 121 | 32 | 71 | 185 [1000| 45
400 |202|150|100| 75 | 77 | 30 | mM82x2 | 90 | 144 |Rc11/4|435| 30 | 71 | 90 | 135| 37 | 80 | 220 [1000| 52
450 |212 175|110 | 90 | 85 | 30 | MO0 x2 |100 | 155 | Rc11/4 | 485 | 30 | 80 | 100 | 150 | 38 | 90 | 230 |1000| 42
$500 |217 200|130 |105| 95 | 30 | M100 x2 | 112|170 | Re11/4 | 540 | 30 | 90 | 110 | 174 | 50 | 100 | 260 [1000| 53
W) Ty sy M TIREOYE. KA FESEPME () LVECRDETOTIER LS v, o (FEAIE 176 R—Y % TBH 728 0,)
—lY LE R CA
CA ¢300 ~ 500
Max.22 [E L(LL+Z~E—7) Ci1
X TF. 2-EE Fl.B AA
D1gd /
15 5 |
—— 2DDH10 — ]
i N E BEES RA
|
| - |
1
4 8 4
EaCE IR H———-——— ]
2 CDH10
i ./ RR1
37 7 — 3
Jya NIV [IDD1 o
SIS
o
o
BIfT o
= AR ZEEETA Mo | e
o—Tmas| LL | c1 | AA | B D | DD1 EE E |RA|[co|RD| F [ DD | D1 T[RRI x | £7 |27
$300 | 172|220 | 80 | 60 | 71 | 112 | Ret 335 |63 | 56 | 71 | 25 | 56 | 71 | 111 | 30 | 63 | 175 [1000| 50
$350 |177 250 | 90 | 70 | 80 | 126 | Rct 385 | 71 | 63 | 80 | 25 | 63 | 80 | 121 | 32 | 71 | 185 |1000| 45
$400 | 202|270 100 | 75 | 90 | 144 |Rc11/4 | 435 | 80 | 71 | 90 | 30 | 71 | 90 | 135 | 37 | 80 | 220 [1000| 52
450 | 212|300 | 110 | 90 | 100 | 155 | Rc11/4 | 485 | 90 | 80 | 100 | 30 | 80 | 100 | 150 | 38 | 90 | 230 [1000| 42
$500 | 217 | 330|125 | 105 | 112 | 170 | Rc1 1/4 | 540 | 100 | 90 | 112 | 30 | 90 | 110 | 174 | 50 | 100 | 260 [1000| 53




SIVE AT - faH

CP611M

I LERR CB
CB-¢125 ~ 250

J-T-
(#18] sk
Max.17 R L(LL+Z~A—7) C A
K P F | B A
| | 2€E il |
2DDH10 5y — 1
T T
PrEeus (et
} 8 4 afa
-+ 1—-r—t1—————"—-—r—r -— s|O
8
RR1 T I 71T 7 MM
7 T T 3
Jyia v 37 (Z%I‘h)
BT mn
“f‘g"} NSRS XELETE Sl | S
sa-7mEB| LL | ¢ [*A [ A1 | B [ a [ B1 MM D |DD1 EE E[FR[r|[op[pt[R] TR Y[ K |[T7|F7

¢ 125 |121| 60 | 35 | 32 | 36 | 30 | 12 | M26x1.5 | 35 | 80 Rc1/2 | 143 | 18 | 18 | 25 |35,5| 65 | 20 |27.5| 71 | 37 | 800 | 25
¢ 140 |(135| 80 | 50 | 47 | 48 | 32 | 18 | M36X1.5 | 40 | 85 Rc1/2 | 160| 20 | 20 |31.5| 40 | 80 | 25 | 35 | 80 | 40 | 800 | 35
¢ 160 |135| 80 | 50 | 47 | 48 | 32 | 18 | M36Xx1.5 | 40 | 85 Rc3/4 |176| 20 | 20 [31.5| 40 | 80 | 25 | 35 | 80 | 45 | 800 | 35
¢ 180 |145| 85 | 60 | 57 | 50 | 41 | 20 | M45Xx1.5 | 50 | 110 | Rc3/4 |198| 20 | 20 | 40 | 50 | 100 | 31 | 44 | 100 | 50 [1000| 30
¢ 200 |(145| 85 | 60 | 57 | 50 | 41 | 20 | M45x15 | 50 | 110| Rc3/4 |220| 20 | 20 | 40 | 50 100 | 31 | 44 | 100 | 50 [1000| 30
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 | M56 X1.5 | 60 | 120 | Rc3/4 |242| 23 | 23 | 50 | 63 |125| 41 | 55 | 125| 65 |[1000| 40
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 | M56 X1.5 | 60 | 120 | Rc3/4 |270| 23 | 23 | 50 | 63 | 125| 41 | 55 | 125 | 65 |[1000| 42

i) L uyrFy M TIREORE, XA TESIRDE () JVECRY) ETOTIER S v, o (FEZ 176 =2 % = {7EEV)
2F2—TAE: ¢40~100d8EALET. (HL, CB&RIZEHEMEL 2 £3.

CP611MR

ZIYLERR CB
CB-¢125 ~ 250

(+15] &k

Max.17 _ . E R L(LL+ZrO—2) Ci
0.1
3

2DDH10 5 I

—
n
m
m

RR1 - T~ | —
Jy>a NIV
BT : o
& AT % XRERTE o | o
51 mEB| LL| C1 |AA ] B | D |DD1 EE E |RA|CD|RD|F1 |[F2|DD|DI | R | TIJRUI| Y | K |T7|3%7

¢ 125 121 | 110 | 35 | 36 | 35 | 80 Rc1/2 143 | 30 | 25 | 35 18 18 | 25 |355| 65 | 20 |275]| 71 37 | 800 | 25
¢ 140 135|140 | 50 | 48 | 40 | 85 Rc1/2 160 | 38 |[315| 40 | 20 | 20 [31.5| 40 | 80 | 25 | 35 | 80 | 40 | 800 | 35
¢ 160 135|140 | 50 | 48 | 40 | 85 Rc3/4 176 | 38 [315| 40 | 20 | 20 |31.5| 40 | 80 | 25 | 35 | 80 | 45 | 800 | 35
¢ 180 1451160 | 65 | 50 | 50 | 110 | Rc3/4 198 | 48 | 40 | 50 | 20 | 20 | 40 | 50 | 100 | 31 44 | 100 | 50 |[1000| 30
¢ 200 145|160 | 65 | 50 | 50 | 110 | Rc3/4 | 220 | 48 | 40 | 50 | 20 | 20 | 40 | 50 | 100 | 31 44 | 100 | 50 |1000| 30
¢ 220 160 | 180 | 80 | 52 | 60 | 120 | Rc3/4 | 242 | 63 | 50 | 60 | 23 | 23 | 50 | 63 | 125 | 41 55 | 125 | 65 |1000| 40
¢ 250 160 | 180 | 80 | 52 | 60 | 120 | Rc3/4 | 270 | 63 | 50 | 60 | 23 | 23 | 50 | 63 | 125 | 41 55 | 125 | 65 |1000| 42

) Fa—TNE $40~100 b8Vl Ed, (HL, CBEREEE#EE &) £9)

103



104

ANE=F1—F 1 I7

~

P

U4

XREER - HETEE

CP611M

CP611M - CP611MR

S=F IR TC
TC 40 ~ 250 Max.10(@ 40~100)
[#E8) R4 Max.17(@ 125~250)
L1 P2 L1 L(LL+ZhA—7%) c A
/. CE s R B A1
_QI. 2-EE G ] =1
rr5; ] _Telr
8 4 nl ol
: e T o/ N - =
] T MM
7 — 3 Q
JyvaziNv ()
#5 AFETiE *HEEEE S|
s 3| LL| C [*A | A1 ] B | Q | B MM D |DD1 EE E|F[r2gisptE| a [P [P2] 1] x [xx] r [R7|R7
40 |97 |30 |20 |17 |21 |13 | 7 | M14x15 |16 | 47 | Rc1/4 | 55|17 | 14 70 22 |58 | 65|18 | 16 | 26 | 1.5 |600| 43
$50 |105|35 |25 |22 (22|17 | 10| MI18x15 |20 | 55| Rc3/8 |65 | 19 | 15 78 28 | 70 | 80 | 18 | 16 | 26 | 1.5 |600| 51
¢ 63 [105) 35|25 |22 |22 |17 |10 | M18%x15 |20 | 55| Rc3/8 | 75| 19 | 15 78 28 | 84 |100| 22 | 20 | 30 | 2 |600| 51
¢80 |[112| 50|35 |32 |28 |24 |12 | M26%x15 |30 | 75| Rc1/2 |[100| 15| 15 85 32 [104|112]| 28 | 25 | 35 | 2.5 (800 | 58
¢ 100 [112| 50 | 35|32 |28 |24 | 12 | M26x15 | 30 | 75 | Rci/2 |116] 16 | 16 | 100 | 37 [124|136|33.5(31.5| 44 | 2.5 |800| 88
¢ 125 |121|60 | 35|32 |36 |30| 12| M26x1.5 | 35| 80| Rcl/2 |[143| 18 | 18 | 105 | 40 |160|170|33.5/31.5| 50 | 2.5 |800| 89
¢ 140 [135| 80 | 50 | 47 | 48 | 32 | 18 | M36X1.5 | 40 | 85| Rci1/2 |[160| 20 | 20 | 120 | 45 [180|180|37.5/35.5| 60 | 2.5 | 800|105
¢ 160 |135| 80 | 50 | 47 | 48 | 32 | 18 | M36Xx1.5 | 40 | 85 | Rc3/4 |176| 20 | 20 | 120 | 45 |200|200|37.5/35.5| 60 | 2.5 |800| 105
¢ 180 |145| 85|60 | 57| 50 | 41 | 20 | M45 x1.5 | 50 [110| Rc3/4 |198| 20 | 20 | 125 | 50 |220|224| 50 | 45 | 60 | 3 |1000| 105
¢ 200 |145| 85|60 | 57| 50 | 41 | 20 | M45 x1.5 | 50 |110| Rc3/4 |220| 20 | 20 | 125 | 50 |240|250| 50 | 45 | 60 | 3 |1000| 105
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 | M56 X 1.5 | 60 | 120| Rc3/4 |242| 23| 23| 150 | 70 |270(|290| 60 | 56 | 80 | 3 |1000| 140
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 | M56 X 1.5 | 60 | 120| Rc3/4 |270| 23| 23| 152 | 70 |300|315| 60 | 56 | 80 | 3 |1000| 144
) Loy gy Ml THEOSEG, KETA FESEPE () XYECAYETOTIEE S v, o GEINIE 176 ~— V% ZBW L 725 0,)
2P A PO =21 SR OYEERLET. i) S RYFBEO TRV R VAR S=R L 40 9,
CP611MR
—_— Max.10(2 40~100
bj—z “Jﬁ? Max.17§125~252)) TC
TC ¢40 ~ 250 Li P2 L LILL+XrO—%) i
R B AA
(18] 5 gr b
5/ — o RA
c1 1] H uu /
I Q
/ i [ 2D 2 CDH10
7 —— 3 o
QD
Jyyazivg / ﬁ: Q
BAT : mm
85 A& L EHE Sl || el
s omaB| LL | C1 | AA] B | D |DD1 EE E|[ra[co|[RD[F1 [F2fgnspta| G [ P [P2 L1 | x [xx| r [R7]F
¢ 40 97 | 60 | 15 | 21 | 16 | 47 | Rc1/4 | 55 | 13 | 10 | 16 | 17 | 14 70 22 | 58 | 65 | 18 | 16 | 26 | 1.5 | 600 | 43
¢$50 [105| 70 | 18 [ 22 | 20 | 55 | Rc3/8 | 65 | 15 | 12 | 20 | 19 | 15 78 28 | 70 | 80 | 18 | 16 | 26 | 1.5 | 600 | 51
¢63 [105| 70 | 23 [ 22 | 20 | 55 | Rc3/8 | 75 | 19 | 16 | 25 | 19 | 15 78 28 | 84 [100| 22 | 20 | 30 | 2 |600| 51
$80 |[112]| 90 | 30 | 28 | 30 | 75 | Rc1/2 |[100| 24 | 20 | 30 | 15 | 15 85 32 [104|112| 28 | 25 | 35 | 25 | 800 | 58
¢ 100 |112| 90 | 35 | 28 | 30 | 75 | Rc1/2 |116| 30 | 25 | 35 | 16 | 16 | 100 | 37 | 124|136 (335|31.5| 44 | 25 | 800 | 88
¢ 125 | 121 |[110| 35 | 36 | 35 | 80 | Rc1/2 |143| 30 | 25 | 35 | 18 | 18 | 105 | 40 | 160|170|33.5|31.5| 50 | 2.5 | 800 | 89
¢ 140 |135|140| 50 | 48 | 40 | 85 | Rc1/2 |160| 38 [31.5| 40 | 20 | 20 | 120 | 45 | 180|180 |37.5|35.5| 60 | 2.5 | 800 | 105
¢ 160 |135[140| 50 | 48 | 40 | 85 | Rc3/4 | 176| 38 [31.5| 40 | 20 | 20 | 120 | 45 | 200|200 |37.5|35.5| 60 | 2.5 | 800 | 105
¢ 180 |145|160| 65 | 50 | 50 | 110 | Rc3/4 | 198| 48 | 40 | 50 | 20 | 20 | 125 | 50 | 220|224 | 50 | 45 | 60 | 3 |1000| 105
¢ 200 |145(160| 65 | 50 | 50 | 110| Rc3/4 |220| 48 | 40 | 50 | 20 | 20 | 125 | 50 | 240|250| 50 | 45 | 60 | 3 [1000| 105
¢ 220 |160(180| 80 | 52 | 60 | 120| Rc3/4 |242| 63 | 50 | 60 | 23 | 23 | 150 | 70 | 270|290| 60 | 56 | 80 | 3 [1000| 140
¢ 250 [160|180| 80 | 52 | 60 | 120| Rc3/4 |270| 63 | 50 | 60 | 23 | 23 | 152 | 70 | 300|315| 60 | 56 | 80 | 3 [1000| 144
) R/AA M E— 2L S=R OB EERLET, ) S, RTEO TRV L WIHEIES=R £ 420 £9,




SIVE AT - faH

CP611M

SZH IR
TC-$300 ~ 500
[#4E8] Fesasl

TC

L1 p2 L1 L(LL+XrE—7) c A
Max.22) [E S . B
JE. 2:EE ;F‘ .f- Bil
]'_ —:— _h
2 8 4 o
ol ¥ 2 -+ -—-—-4@«-—-—-—--— —-R---- sl8
' AN U
| MM
—] ! — Q
: 7 — 3 [EET)
TyaiNIVF)
BfT o
gg"} ARERTE XHFEETE S5 || 58T
s.—JmE~>| LL | C |*A | B Q | B1 MM D |DD1 EE E F |&hSRTE G P P21 | x [xx]|R7|%7
$300 [172]120| 80 | 60 | 63 | 25 | MB5%2 | 71 |112| Rcl 335 | 25 | 168 | 75 | 380|420 | 70 | 63 | 120 [1000| 164
$350 [177[135| 90 | 70 | 71 | 30 | M72x2 | 80 | 126 | Rcl 385 | 25 | 175 | 85 | 430|490 | 75 | 71 | 140 [1000| 173
$ 400 [202 150|100 75 | 77 | 30 | mM82x2 | 90 | 144 | Re11/4 | 435| 30 | 196 | 90 | 490|540 | 90 | 80 | 160 [1000| 190
$450 |[212|175[110| 90 | 85 | 30 | Moo x2 | 100|155 | Rcl11/4 | 485 | 30 | 202 | 100|530 |610| 95 | 90 | 180 [1000| 192
$500 |217 200|130 |105| 95 | 30 | M100 x2 | 112|170 | Re1 1/4 | 540 | 30 | 220 | 110|610 |680 | 105 | 100 | 200 [1000| 223
W) L0y dy MEE TIREORE, XA TESRDE (BHE) LVECRY FTOTIWEEL EE W, e (BRI 176 ~— V% B 7280,)
2 /A PO =7 fllE SSR OB EERLET, ) S, RVEO TR VHAIES=R 40 £,
—_——
rS=F R TC
TC-¢300 ~ 500
(+1E8] =
L1 P2 L1 L(LL+ZXhA—7) C1
Max.22) CE S X R B AA
F. 2EE f L
1. —:—
ci I RA
o) 8
|2 FH—— e ——- -
£ | 2 CDH10
[ — !
. :
N T -0
Jya NIV pock
[a]
o
AL ¢
29 Atk THeETE e
s.-JmR~s| LL | C1 | AA | B D |DD1 EE E | RA| CD | RD | F |[®ISRTH#| G P | P2 | L1 X [ xx | 7
$300 |[172|220| 80 | 60 | 71 | 112 Rc1 335 | 63 | 56 | 71 | 25 | 168 | 75 | 380|420 | 70 | 63 | 120 [1000| 164
$350 | 177|250 | 90 | 70 | 80 | 126 Rc1 385 | 71 | 63 | 80 | 25 | 175 | 85 | 430|490 | 75 | 71 | 140 |1000| 173
400 | 202|270 [ 100 | 75 | 90 | 144 |Rcl1/4| 435 | 80 | 71 | 90 | 30 | 196 | 90 | 490 | 540 | 90 | 80 | 160 |1000| 190
450 | 212|300 | 110 | 90 | 100 | 155 | Rc1 1/4 | 485 | 90 | 80 | 100 | 30 | 202 | 100 | 530 | 610 | 95 | 90 | 180 |1000| 192
$ 500 | 217|330 | 125|105 | 112 | 170 | Rel 1/4 | 540 | 100 | 90 | 112 | 30 | 220 | 110 | 610 | 680 | 105 | 100 | 200 |1000| 223

W) 1HRNA PO =213 S=R DY EERLE7,
2.5, RYVED TR VHEIES=R &%) 5.

105



106

ANE—=Fa1—-F4H ITT7VUVE
= s CP611M
BhE HhI)N— - M TEE
Dimension with dust cover
CP611M
| 7 2—JPiE : @40~ 250
JC A BAGT : o
F.-JA@E RfOo-2 |JC|JB] MM | A WFA
0~160 |110
161 ~250 |150
- - 040 oo Targ| 40 |M14x 1520 | 60
401 ~ 600 | 300
o 0~160 |110
® ggg ;S:igg ;‘:’8 45 |M18x1.5| 25 | 63
il 401 ~ 600 |300
0~160 |95
MM 161 ~250 |120
;’1%% 251 ~ 400 |165| 60 |M26x1.5| 35 | 80
401 ~ 630 |235
631 ~ 800 |285
0~160 |105
161 ~250 |130
— 6125 | 251 ~400 |175|100|M26x1.5| 35 |130
401 ~ 630 |245
< 631 ~ 800 |295
B E 5 0~160 [125
© 161 ~250 [150
i]gg 251 ~ 400 |195|105|M36%1.5| 50 |140
I 401 ~ 630 |265
631 ~800 |315
0~250 |150
180 | 251 ~400 |195
2200 0T~ 650 26 135|M45% 15| 60 [170
@ FA B0 AU AR JFA I LT S0, 631 ~ 1900 1375
0~250 |140
$220 | 251~400 [173), |\ es 15| 70 |180
¢ 250 | 401 ~630 |227
631 ~ 1000 |311
|72 —Jmiz : 300 ~ 500
BAGT : o
F.-JA@E Xfto-2 |Jc|JB| D MM | A | JA
0~250 |181
Jc
6300 |221~400 [211], 4526 865 | MB5 x2 | 80 |210
401 ~630 |271
77777777 g 631 ~ 1000 |351
A 0~250 |186
******* —— - 251 ~ 400 |216
1. 9350 [ - 1190( 85X 981 | M72 x2 | 90 |220
,,,,,,, B ng S3 631 ~ 1000 |356
0~250 |205
——————— e 6400 | 221400 [245] 5 o5« 110 | M82 x2 | 100|250
201 ~ 630 |295
’’’’’’’’’ = MM 631 ~ 1000 | 385
0~250 |204
6450 | 221400 [233] 01105 % 121 | Moo x2 |110]260
201 ~ 630 |294
631 ~ 1000 |374
0~250 |220
6500 |21 ~400 1260),5] 115 x 133| M100 x2 | 130|280
401 ~ 630 |310
631 ~ 1000 | 400




S5 AT - Gl

" S < CP611MR
BhE Hh/N\N— - R TER
Dimension with dust cover
BT D mm
CP611MR F.—JAE ALA—2 |JCi| JFA| JB | AA | RA | RD | CD
I ; 0~160 |[120
-7 : @40 ~ 250 161 ~250 |[160
Fa-JRE: ¢ ¢ 40 2o —a00 225 60 | 40 | 15 | 13 | 16 | 10
401 ~ 600 |310
JC1 0~160 |130
AA 161 ~250 (170
» ¢ 50 o1 —a00 1235| 63 | 40 | 18 | 15 | 20 | 12
401 ~ 600 |320
/ 0~160 |[130
161 ~250 |170
¢ 63 251400 1238| 63 | 40 | 28 | 19| 25 | 16
i . o 401 ~ 600 |320
S 0~160 |125
161 ~ 250 |155
¢ 80 251 ~400 |200] 80 | 60 | 30 | 24 | 30 | 20
””””” 401 ~ 630 |270
\  oCDuo 631 ~ 800 |320
0~160 |125
161 ~ 250 |155
100 | 251 ~400 |200| 80 | 60 | 35 | 30 | 35 | 25
401 ~ 630 |270
'\'. ; :/v 631 ~ 800 |320
U 0~160 |[140
161 ~ 250 |165
< 125 | 251 ~400 |210| 130 | 100 | 35 | 30 | 35 | 25
e o 401 ~ 630 |280
< 631 ~ 800 |330
0~160 |165
161 ~ 250 |190
g}gg 251 ~ 400 |235| 140 | 105 | 50 | 38 | 40 | 315
7 401 ~ 630 | 305
631 ~ 800 |355
= 0~250 |210
bl 6180 | 251 ~400 |255
Q 5200 201 ~630 arg| 170 | 135 | €5 | 48 | 50 | 40
T 631 ~ 1000 |435
- —n- T 0~250 |215
T 6220 | 251~400 |245
5250 | 201 =530 aoo| 180 | 145 | 80 | 63 | 60 | 50
© FA RO A KRR JFA FHEIILTTF S, 631~ 1000 ]380
|a‘-:—7“wf§: ¢300 ~ 500
JCt
AA
BAGT
F2—JHWE ZrO—2 |JCi| JA | JB | AA | RA | RD | CD
0~250 |260
RA 251 ~ 400 |290
$ 300 [ {1210 | 180 | 80 | €3 | 71 | 56
/ 631 ~ 1000 | 430
""""" / 0~250 |280
_ ] e '%;;:} ¢ 350 jgl:ggg 3178 220 | 190 | 90 | 71 | 80 | 63
631 ~ 1000 | 450
""""" — 0~250 300
0o | 251~400 [340
o 4 201 630 T300] 250 | 220 | 100 | 80 | 90 | 71
631 ~ 1000 | 480
¢ CDH10 0~250 |305
= ¢ 450 4212: :ggg 232 260 | 230 | 110 | 90 | 100 | 80
2 631 ~ 1000 |485
1 0~250 |330
- ’%‘*l%* 6500 |221~400 IS701 oor | oo | 125 | 100 | 112 | 90
| 401 ~ 630 |420
‘ 631 ~ 1000 |510

107



NE=Fa1-F4H IF7YUVY

5 CP611M - CP611MR
HE@IE B I
00 v NkimeE~tE Ov R4 E EHEEICDOVWTIR172 ~186 =T & T8
BRI,
OiLtihx CP611 T (%) EA—T 7,

A 207 [HifTEF (CatNo.2224) & TR 12E 0,

108



SIVE AT - faH

BHENYyFUIRB

Consumption packing list

| F2—JrE : ¢40~100

CP611M - CP611MR

%)

BRES Ny xEH O (LFEYE ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |7 14/x—1U> 5| 1 M — 1905 M — 1907 M — 1906
17 |8y KXy %> 1 M — 2049 M — 2050 M — 1147
18 | YUrFa-THREy N | 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 [EXbrixy x| 2 M — 1147 M — 1148 M — 2052 M — 2053 M — 1151
20 (Oy KAZXR4Z v b| 1 |02301 —0100 02301 — 0140 02301 — 0240
2 |Jyvarisyxs| 2 M — 2176 M — 2484 M — 2485
24 |Z—FKuixy x| 2 02301 — 0030

[B#/v vy %> €y b FEEE|P-CP6IMR-40 | P-CP6IMR-50 | P-CP61MR-63 | P-CP61MR-80 |P-CP61MR- 100

| F2—JmR : ¢125 ~ 250

L)

BeEs|  NvxcgB (WUU2] o125 | 9140 | 9160 | 180 | 9200 | 4220 | ¢ 250
16 |74/ -U>g] 1 [SFR—35K SFR — 40K SFR — 50K SFR — 60K

17 By F/Xy *>| 1 |M—2051 M — 1148 M — 1149 M — 1150

18 | YUr472-74249h| 2 [M—1111|M—1112|M—1113|M— 1114 |M— 1115[M — 1911 [M — 1117
19 [EZpr>iy*>| 2 [M—1152|M—1153|M— 1154 |M— 1155 |M — 1156 | M — 1955 | M — 1158
20 |y K#AZR4 v k| 1 [02301-0280] 02301 — 0320 02302 — 0400 02302 — 0450
22 |vyvarinyxr| 2 |[M-1074 M — 1075 M — 1076 M — 1077
23E |Fxvoimuk| 2 M — 3344

23G | 7yvar#HRyyb| 2 02301 — 0189

28H [Z—RFuixy x| 2 02301 — 0030

[~ v x> vy FFRES

P-CP61MR-125|P-CP61MR-140|P-CP61MR-160|P-CPG1MR-180(P- CP61MR-200|P - CP61MR-220 |P- CP61MR - 250

| #21—7ME : 300 ~ 500

BRES Ny xR (LFEYE ¢ 300 ¢ 350 ¢ 400 ¢ 450 ¢ 500

17 |man—vu>u| 1 LBH — 71 LBH — 80 LBH — 90 LBH — 100 LBH — 112
18 (B vy Fivy %> 1 SKY — 71 SKY — 80 SKY — 90 SKY — 100 | SKY —112
19 | YUY4F2-THRry b | 2 M — 1877 M — 1878 M — 1879 M — 1880 M — 1881
20 |[Exhrixyxr| 2 M — 1092 M — 1093 M — 1094 M — 1095 M — 1096
21 |By RAZX4 v k| 1 |02302— 0550 | 02302 — 0650 | 02302 — 0700 | 02302 — 0800 | 02302 — 1000
22 | Tyvarisyxs| 2 M— 1167 M— 1168 M— 1169 M — 1170 M — 1882
23 | gyvavinisiaryr| 2 02301 — 0070

29 |# 2 & v b| 2 02301 — 0210

[ /vy %> € v b FEES|P-CP6IMR-300|P-CP61MR-350|P-CP61MR-400|P-CP61MR-450 | P- CP61MR-500

e o =]
C CHER ]
@ L3, CPOLIMR (11 Fsii | R —K) OM#e/ Sy ¥ )2 M T,
CP6LIM (& v Foehiiia L)

DYty

D&

md 20 4. ¢ 300 ~ ¢ 500 D%

~
~
H,

1
a

G 21 %) 5 VA MK DEBRIL ST T,

— FNo. (Z PCP6IM- * * £ 720, EHOT Y KHATr v b (V) VA X 40 ~¢ 250

109



NE—Fa1—F4E I T7IVVIH

— CP611M - CP611MR
RomEBE I
BE5HER - 8Bm =QVYVUIIKRFE+OBEEXRFTVay
E ==} § (817 : kg)

OPPEY @QFEXRF T3>

Fai—TAR W (ke) LEE: CP611M THLE Eie 8
& Fg:cpe11MR LB |FA-FB| CA CB TC Y I

) X )
¢ 40 0.0071 S+24 0.22 0.40 0.34 0.34 0.28 0.12 0.13

0.0071 X S+ 24

0.0090 X S + 3.7
¢ 50 0.0090 XS + 38 0.33 0.58 0.47 0.46 0.48 0.19 0.22

0.0108 X S+ 5.0
¢ 63 00108 XS + 5.2 0.48 0.77 0.90 0.84 0.70 0.37 0.37

0.0190 X S + 8.7
¢ 80 0.0190 X S + 9.1 0.59 1.68 1.71 1.72 1.25 0.69 0.71

0.0179 X S+ 155
¢ 100 00179 X S + 16.2 0.90 2.3 2.55 2.55 2.1 1.26 1.17

.0311 X S + 21.1
¢ 125 83211 X2+21 P 1.3 3.9 3.3 3.4 3.4 1.26 1.17

0.0325 X S + 28.7
¢ 140 00325 X S + 301 2.5 5.3 5.3 5.4 5.2

25 3.0
0.0399 X S + 35.7
¢ 160 00399 X S + 37 1 2.8 7.9 59 6.1 59
. X .
¢ 180 882}8 » :1:182 55 11.1 9.7 10.2 8.1
: : 4.9 53
0.0560 X S + 58.1
¢ 200 0 8568 » : n Zg 5 6.3 14.0 11.0 10.9 9.0
0.0753 X S + 83.0
¢ 220 9.4 246 19.6 18.9 17.2
. X .
0.0753 X S + 88.5 97 106

0.0728 X S + 100.8
10.1 297 22. 222 20.
¢ 250 0.0728 X S + 106.3 0 o 8 0.9

0.1180 X S + 158
¢ 300 01180 X S + 165 20.5 35.0 14.8 - 32.7 1.7 15.2

0.1520 X S + 216
¢ 350 01520 X S + 226 24.7 57.1 18.4 - 48.6 171 222

0.2230 X S + 319
¢ 400 02230 X S + 333 55.8 81.4 27.7 - 64.3 22.3 28.9

0.2510 X S + 408
¢ 450 02510 X S + 427 73.4 100.9 35.5 - 79.7 28.9 37.5

0.2870 X S + 543
¢ 500 02870 X S + 569 111.4 129.7 53.3 — 119.5 43.3 56.2

) L SIEA bo—2 (miifn) ZRLET.
2. LBERIF 2L ) 0BEERLE T,
3. CP6IMR O &id, #feeh (YD 3T & $8A.

110






FALAYMIT ) 5358 R

BEEODMBEREICOWVT Designation of Port location

OILEIIE Y vy a NV TOMEIR, FIVETERIIREN TS b OPEEE ) £4,
T/, ENO O OMEAERILRE 2 2 FVHAHBICH LT 90° £ 7213 180° A H T 254 1 F I # M & L TV F 9
ONLE DM EDIREIXTHOMNFELEFIZ L2 > TLEE W,
® Standard location of piping ports and cushions are shown in the dimension drawing of each models.Configurations rotated by 90° or 180° from
the standard as keeping the samerelative locations of ports are deemed as the same and as the standard.
® Identify the location of piping ports and cushions by the surface numbers shown in the illustrate at right.

112



BAEE 1 /N — DETHEE

| (1) ¢ 40 ~ 100

FHIATET X NFEITV YNNI RTHELE T,
A0y ReI¥y NI CHY MATTREEL, C ¥ M AT
EVXNSOMIZO U 7 EIHALET,

DO

i Ay
I b

% |

EXr>Ay K
Oy KAH/IN—
am B & & R HE
30 DAAYA 1
31 CHENAT 2
32 oury 1
34 TN K 1

|(2) ¢ 125 ~ 250

FHIAZET X NFGEITV YNGR THELE T,
EAMay FEIXNGECHY MATTREEL.C HY M AT
LYUXNTORIIZ OV ZEFALE T,

(s0)a)a)ar)

S
|

. EXkrOy R
AHIA%
mE & B e
30 JwINT 1
31 CHEZIXT 2
32 oy 1
34 DEPASIADAN 1

|3) » 300 ~ 500

IVXNGIIITAZET X NTIIFRAXTVTHEHELE T,
EAL By FEDX NG CHY MATTREEL.C T MAT
LUXNSOMIIZO U 7 EIHALET,

31)32)34) 32
i EE ) HE
30 A AN R 1
31 AT, 1
32 CHENAT 2
33 FNaRY 8
34 0y 1

BIEAN—MFEEEEDH T

M 248

Heat resistance

2 W

Name

08 7L >

CHLOROPRENE {EHMEERE 120C

AY7IrF7AX

POLYAMIDE CLOTH {FRMEEE 200°C

MG, SRR - TREEATTRAE IS

< - SRR IR
PASTAESZBR | mmeas dooc
fEE AR E 600°C

E1) 100CZBAZTRAR[TOEADHZEICIK, F—ROTHEHEL T,

113



114



F1UVAE z7ovo4

Oilless enclosed cylinder

cr6 1 fu
r665

SR - RIEY ) 2 Y DNR P T =,
SFEFLT1-NFIEHEERTHZ T,
Top seller among oilless enclosed type pneumatic cylinders.

With its high reliability and proven performance, this cylinder
meets various applications in different fields.

T #k Svecification

JIS

J

JIS Symbol

Thread tolerance

; BN
X &= Standard t/ype
Model code CP611LU CP665
f£E & A R ' B
Operation type Double acting
2 ) 5 TE (Eiemaa7)
Lubricant none (Oilless)
Fai—-—TARE _ _ —
lBore Sizequ = ¢ 40 ~ 100 ¢ 125 ~ 250 ¢ 300 ~ 500
= B E 5 -
Working pressure 0.2 1.0MPa
+1.0
- (250mmi )
Z hO—-JFRE ° Under250mm
Stroke tolerances a4
14 (250 ~ 1,000mm)
EZX b EE - -
E = 50 ~ 500mm /s 50 ~ 100mm /s
B L 2R E JIS (6H. 6g)

VAN A

mEI 7Ty

Cushion Both ends (Air cushion)
M E B
Proof pressure 1.5MPa
£ B B E — B0°
Ambient temp -5~60C
2 & ¥ 7o 13 (FEHEEAE A 1000km 2 F % 7= I3 {FEHEEREA 100km
SF=/S=ar = ISETBEFOWT AR VB (CETB3EOWT AR VEEER
IE3| HA The overhaul should also be performed The overhaul should also be performed
Overhaul when the cylinder operational distance when the cylinder operational distance
reaches 1000km, even before two years reaches 100km, even before two years

from the date of last inspection. from the date of last inspection.

#) 1. 5CUT T

B2,

PEid, MR OKGEBEE L, BEORVE ) T

2. FREDAMOARET TR 2 B3 A3, Bl SRR 228 v,

3L A2 EIXTE LI MUY B L 7)) — ZAHEH S E S O TR
Fldfas ) 7 e LT o TL2ZE o ARICIF A § 2 £ 12
LY ETHN ZOROIGMERSLEL R T,

Notes

1.The air must be dried the ambient temperature may drop below 5°C to prevent
problems due to freezing.

2.Consult factory for non-standard applications which are not coverd by above
specifications.

3.Can be lubricated but the grease will be exhausted. Although durability is
enhanced after the lubrication, continual lubrication will be required.

115



116

ANE—F1—F 4 IFYUVY

fz

0 B CRTIEL TR TROBREETIRE S,

Model code
752 g8 F 1 — TR PIN=R Oy KoEhes
HIN— Mounting Style Bore size Stroke Piston rod attachment
CP665 =
’ QFFEH/N— Dust cover‘ ’ OF1—TAHE Bore size
AV N 40mm 40
Without
SO0 () A 50mm 50
CHLOROPRENE (standard) CP611LU 63mm 63
ME RUF7IR7OX B 80mm 80
Material POLYAMIDE CLOTH 100mm 100
TIVIFAXR7AR
’ ALUMINIZED CLOTH D 125mm 125
TE) BHEEA N —EBORLY FHTHEE L 113 <= V2B S0, 140mm 140
Please refer to p.113 for the structure. 160mn 160
180mm 180
200mm 200
220mm 220
P
5 _ CPO65 250mm 250
’ D& R Mounting style 300mn 300
X # £ E © U N 350mm 350
o 400mn 400
W 5 @ 7 - ~ ®| g
Foot 450mm 450
0y K@l 73 > 2 ® FA 500mm 500
Rod end flange
Ny KAl Z7 5 2 W
Cap end flange g FB
— 7 v E 2 ®
B YN Single clevis - CA
Standard N 3
e | W7 LEII®ESAH 20— Stroke
Single clevis /joint pin CAA o (mmtF 1 TR EEL,) (Please order it by a mm unit)
- 7 v E Z =
Double clevis - cB O HAAO—7 ¢ 40 ~ 63| 600mm
= RN Max.strokes
s LreEZRE >R CBA ¢ 80 ~ 160 800mm
Double clevis /joint pin ¢ 180 ~ 500 1.000mm
N TC ;
Trunnion
— W7 LEXHET v
Single clevis /roﬁed bushing CAD
— I LEXFHEMBT v a
Single clevis /Iutj)rica;n bushing CAB
— U7 LEXFSP T v
Single clevis //SP bushing . CAP
— W7 LEXFxFEN
Single clevis /CARI;ON STEEL CAS
ZILEZXEET v
mﬁﬁ_ﬁ? Double clevis /rojlled bushing . CBD
Double clevis /keeper plate /joint pin
ZWIVERRA=1=TV=h €V FYRZy TIf
Double cIevi; /keeper plate /joint pin /grease nipple CBKG
Z— Wy L E XK FE R CBS
Double clevis /CARBON STEEL
M2 =24 > Wk F#E A
Trunnion /CARB/ON STEEL TCS
NS =4 > ® (2 ZX)
Trunnion /female sc/rew Isteel TFS

1) —HEETE RV 0NH ) T, BEOTEHIZONTIZ 160 =T 2B 7230,
Please refer to p.160 for details.



FALUARRE

(8)

OyoFy b e&E0 BUEONE
Lock-nut T2kt Port position &
Port bushing Cushion position
@Oy FiHeE Piston rod attachment |
B % €« & & LU A
Without No entry
Y 2 v
Rod end clevis
Y i ( (=) > T ) YA
Rod end clevis /joint pin
/
EXW YR (e > ) BlE > YC
St?;‘ggrd Rod end clevis /joint pin /split pin
I 2 I
Rod end eye
I % (e > ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
Yﬁ?‘\'——/f—TI/—I*-l:“/ﬁ' YK
Rod end clevis /keeper plate /joint pin
YRE-1=TL— b TRy TV YKG
Rod end clevis /keeper plate /joint pin /grease nipple
1Y @Y IED T 2 TV YM
Rod end clevis /detent angle
=AM G 7 STACAVEN SN R C )N & Y 2 YKM
Rod end clevis /keeper plate /joint pin /detent angle
BNFE-1N=TV=h €V 7o 52y Th
Rod end clevis /keeper plate /joint pin /detent angle grease nipple YKGM
Y B ® %= @ #®| g
Rod clevis /steel
Rod end eye /rolled bushing
ImmI v o aft| g
Rod end eye /lubricant bushing
Rod end eye /SP bushing

) 1.YM, YKM, YKGM O¥;4,

oy FemaRizay 7y STEELE T,

2. —HEVECE RV OPH ) T3, BUEOTTHIZOW T ITAR— PRSI S v,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.

JyaD

5 2FFES
BeaDEIE

Pressure vessel construction code

@EEOT v 1B Port bushing
Tyviakl A
Without No entry
Ty aft
With B

) 7y v ald 1B LT Blaid Re3/8 45 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

| @EENLE Port position|
Oy KA/N— Ny KAN—
Rod flange Cap flange
1 (1F%) 5 (1R%)
EREIOAIE 1 (Standard) 5 (Standard)

Code of the position

2 6
3 7
4 8

) BEE7 v Y a OB, F-EICERETE AL
Cannot establish the plumbing and the position of the cushion in the same aspect.

’ QU aniE Cushion position‘
Ay KA/N— Ny RAN—
Rod flange Cap flange
1 5
R OME

Code of the position

2 (1F#%)
2 (Standard)

6 (1Z#%)
6 (Standard)

3 7
4 8
JyalEL
Without 9 9
X¥OOQDREN S THEE(@Q:1-5.0:2-6) L 2 2HEDHR, FLANETT,

1 AT COEREND 513, &TREA

LTL7ES v,

In case of standard position for both ® and © ,the code is not necessary.
) BEL 7y a OB FA—HICERETE A

’ (6 1= Lock-nut
Oy 7+y haEL \|IA
Without No entryt
Oy 7F+y b1 EfR L
1 lock-nut
Ay 77y b2 @ff
2 lock-nut L2

1) 2 OBATY Ty Mk D oEiER S, TEFOREF T,
LB L A Pl AR SHRRC 72
Ty 7y MIBLTIE, 176 =2 % 2

Please refer to p.176 for lock-nut.

Cannot establish the plumbing and the position of the cushion in the same aspect.

| DE2BEHRBDFIE  Pressure vessel construction code

IEFE R fRSCA
Not apply No entry
A
%= o0
Applicable V2

W) 158 2 I ARG A TR i & IS SR ) £
28 2ME ARSI L TR 12 =V % TBREV 5,
Please refer to p.13 for details.

117



ANE—F1—F 4 IFYUVY

CP611LU

RN EER

|9":l.—7"l7€|?§ : 40 ~ 100

Wiz 1]

¥ |

&5 kS b # g
1 Ny K BN — o] 1
2 | . K #H N = L& 1
3 |y 4dF1—7 bE3! 1
4 | B 2 b > 5% 1
5 | Xx r>Ooy K L3 1
6 |EZX > F v b bE3] 1
8 |7 va>r)g "R 1
2 4 B8 v K (A &3 (&) 4
9 (TCEZHEHRDIHE) 4
2 4 O v KB pE
e Gl (ZDOOHADEE) =
(FA‘FB-CA-CB X#E#HADHA)| 4
10 | + 5 N pER
g Gl (EBOTADBE) 8
. s . N " (FA-FB-CA-CBXiANBE)| 4
1| N 2 ¥ FH oz :
R (ZOROTADES) 8
124 4 I 1 % HES 1
13 | Ay hIT7FYHFRIL b HEE 4
14 | N 2 ¥ H X SWRH 4
15 | 7 W 2 S LS 1
16 |7 4 18— > 5 NBR 1
17 |0y Ky y % > NBR 1
18 | YUY 4F1—THRGy b NBR 2
19 | EX k> vy ¥ o NBR 2
20 | @By KH X HF v b NBR 1
22 | 7y a iy ¥ 2 NBR 2
23 | 7y ¥ar=Z—FKL b3 2
24 [ = — Kty % > NBR 2
25| v 7 F v b L] 2

118



FALUARRE

CP665
ot % "
Fa1—TRE: ¢125 ~ 250
3 X5 )22(18) 2 (17)15(12)16
T
_ _ _ N/
AN
;_E}
14)(13
1
= HE
: £ B mooR 9125~220] $250
_ 1A v K #N = el 1
T 1 2| a K B N = "R 1
3| YU EFa—7 3R 1
X 4| E z b > 5% 1
5| 2 k> Oy K S 1
A 6| E X k> F v b g 1
8| v vyary>ry RFH 1
. 2 4 0O v K (A |&#FR) wEE 4
4 4 A v K (B) |(TcxiEwxogs) x%EE 4
23E) (231) (23D) (23F) (23B) (23H) (23G) (23A) (23C 10l + Y k (FA-FBEEIADSE) KRN 4
(ZOMOBRDBE)  REE 8
.- . .. . (FA - FBXHFRADIHZE) 4
N 3 3 3
! S P (ZOROTADHE) 8
124 % T 14 & 3R 1
13| % T 14 %K) K e 4
14| N zx ¥ H oz S 4
15| 7 P > El HEE 1
6|7 48— 1) > F NBR 1
178y KNy x> NBR 1
18| YULEFa-THRSy b NBR 2
19| EX b>ivy %> NBR 2
2|8y KHAXHF v b NBR 1
2| 7yvvarivy x> NBR 2
20 7 v 3 Hh N — FIRER 2
2Bl = — KN L F S 2
28C| F = v 7 NI T TFIREE 2
23D | /N * 25 L 248 2
BE|F v 7Ny X NBR 2
20 0y 7 F oy b "R 2
2G| 7y varHRyy b NBR 2
BH| = — Ky x> NBR 2
Bl 27> 7a—ILE> e 2

119



120

ANE—Fa1—-F«4H I7

RN EER

CP665

| 2 —puz : 9300 ~ 500

9 (10111

1

25)28)27

7 )22) 6 (20) 4 )21

835 19)18) 2 X15(12(17

[ [ @I I ] I D|
H | et
. ] rJ U_l
lEI g P
14)(13
| o B B
i 2% I $300] $350 9400 | 9450 9500
1 1(~N v K #H N — 3R 1
2|0 K # N - =35 1
! . RFH 1 — 1
3|4 Fa—7F 2 - ] -
4 |E Z ~ > 8% 1
5/ 2 b>O v K o 3] 1
6|l X N> F v b 3R 1
26)24)23)29 7|7 ) = > bl 1
8|7 v >¥a>l>y S 1
. 2 4 B v K (A)|(&FX) LS 8 12
: 2 4 O v K (B)|(TCXEHXNBEE) kKR 8 12
. (FA-FBX A DEE) 8 12
07 / b LT s ) 6 24
< s C o s e (FA-FBX A DIZE) 8 12
N BER G hhonAnBa) 16 24
12|14 4+ T 14 =& 3R 1
13|# 4 T 14 &2 K J b EEa 4
14N %2 ¥ #H oz S 4
15| 7 Y ¥ Ex AEE 1
177 1 18 — U > 5 NBR 1
18|A v K /X v ¥ > NBR 1
19 | Y8 Fa—THRTy b NBR 2
20(E X b Xy F o NBR 2
210y F#H X4 v b NBR 1
22| 7y v arivy ¥ > NBR 2
23|79 va VT HRTy b NBR 2
24|\ v ¥ a > H N — b 2
25(F = v 7 NI T HEE 2
26|= — KN J 25 L 24 2
27| =Z — RIW b X F v b 3R 2
28 |\ * (£194@ 2
29|45 2 oy b NBR 2




FALUARRE

XFEEH - ARITEH

CP611LU - CP665

5@ — M

LB

LB-¢40 ~ 250 Max.10(¢40~100)
- Max.17(¢125~250)
(#15] CE NN LILL+ZrO—%) c A
e s i N 4-M JF2. EE EE |F1 B Al
15 5, _\n
M TIT = = = T[T
* 1
2 _ |4 .8 _ _ 4 =
6 8 S
I
T
| © L& - 1\
. e SE - 7 g i—
ya g 317 Q
Wi W1 (2mEm)
4-¢JJ uu z L1 (L+2W1)A+2 z
BIfT :mm
& AT & XEEETE mo
-S| LL[ c [*A [Aa1 ] B | o [B1 MM D [DD1| EE E[F[FR2]N M NN[uu[ Z Jw [TT] H [wi |27
¢ 40 97 | 30 |20 |17 | 21 13 7 |(M14x15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 | 40 | 15 | 10 4 40 | 30 | 600
¢ 50 105 35|25 |22 |22 |17 | 10 [M18X1.5| 20 | 55 Rc3/8 65|19 | 15| 49 M8 X 1 12|45 (15|10 | 6 45 | 30 | 600
¢ 63 105 35| 25|22 | 22|17 | 10 [M18X1.5| 20 | 55 Rc3/8 75|19 | 15| 59 M8 X 1 12 | 55| 15| 12 6 55 | 35 |600
¢ 80 112 50 | 35| 32| 28 | 24 | 12 [M26%X1.5| 30 | 75 Rc1/2 100| 15 | 15| 76 [M12x1.5| 16 | 71 15| 15 6 60 | 35 | 800
¢ 100 112 50 | 35| 32 | 28 | 24 | 12 (M26%Xx1.5| 30 | 75 Rc1/2 |116| 16 | 16 | 90 (M12X15| 16 | 85 | 15 | 15 6 | 75| 35 |800
®125 |121| 60 | 35 | 32 | 36 | 30 | 12 |M26x1.5| 35 | 80 | Rc1/2 |143| 18 | 18 |115|M14x1.5| 19 |100| 20 | 19 | 6 | 85 | 45 | 800
¢ 140 135/ 80 | 50 | 47 | 48 | 32 | 18 |[M36Xx1.5| 40 | 85 Rc1/2 |160| 20 | 20 [125|M16X1.5| 23 |112| 25 | 24 9 [100| 55 | 800
¢ 160 135/ 80| 50| 47 | 48 | 32 | 18 |M36X%X1.5| 40 | 85 Rc3/4 |176| 20 | 20 [142|M16Xx1.5| 23 |118| 25 | 24 | 9 |105| 55 | 800
¢ 180 145 85| 60 | 57 | 50 | 41 | 20 [M45%X1.5| 50 [ 110| Rc3/4 |198| 20 | 20 |155|M20x1.5| 27 [132| 30 | 28 | 13 | 125| 70 1000
¢ 200 145|185 | 60 | 57 | 50 | 41 | 20 |[M45x1.5| 50 |110| Rc3/4 [220| 20 | 20 [180|(M20x1.5| 27 |150| 30 | 28 | 13 |135| 70 {1000
@ 220 160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 |120| Rc3/4 |242| 23 | 23 [190|M27x 1.5 36 |170| 40 | 35 | 13 |150| 85 (1000
¢ 250 160| 90 | 70 | 67 | 52 | 50 | 22 [M56X%X1.5| 60 |120| Rc3/4 |270| 23 | 23 [215|M24Xx1.5| 30 |180| 40 | 35 | 13 |160| 85 (1000
W) T dy MEE CHEOB G, KA IR (B )RR D FFOTIREC A S0, o GHIR 176} — Y TR S0
#AmET — M LB
LB-¢300 ~ 500
(8] "R
Max.22 NN L(LL+ZrO—2) c _A
JF EE EE _F|B_ Bi
]( 1
! - -
F a
8 . 1 4 &| %[ Q
_bf < 0
= = = = MM I
- - - - Q
Lo - 2 =
. 7 3 A (eamh)
FH N\
w1 Wi
4-¢JJ uu z LI(L+2WIAZ+2 z
BIfT :mm
= AT A ZHE AT zo
sa-gms| LL| c [*A [ B | @ [B1 MM D [DD1 EE E[F[IN]K M NN[uU[ Z [ [T H[wi| 7
¢ 300 1721120| 80 | 60 | 63 | 25 M65 X 2 71 (112 Rc1 335| 25 [354| 8 | M20x1.5 | 25 |240| 43 | 33 | 25 [220|105| 1000
@ 350 177113590 | 70 | 71 | 30 M72 %2 80 | 126 Rct 385| 25 [404| 8 | M24Xx1.5| 30 |280| 43 | 36 | 25 [230|105| 1000
® 400 |202]|150|100| 75 | 77 | 30 | M82x2 | 90 |144| Rcl 1/4 |435| 30 |465| 8 | M27x1.5 | 35 |320| 50 | 39 | 32 | 295|130 1000
¢ 450 (212(175|110| 90 | 85 | 30 M9OXx2 |[100|155| Rcl 1/4 [485| 30 |520| 12 | M27x1.5 | 35 |380| 55 | 42 | 35 |320| 145| 1000
¢ 500 |217[200(130|105| 95 | 30 | M100%x2 |112[170| Rcl1 1/4 |540| 30 [570| 12 | M30x1.5| 38 [420| 55 | 46 | 38 |360|175| 1000

W) B st Mk SHEOSE.

MENA P RDE (BEE) XVECR) ETOTIEREL S,

(FEINZ 176 =Y % ZBI L 728 0,)

121



122

ANE—F1—F 4 IFYUVY

KT8 -NAEITEH

CP611LU - CP665

Oy FAIT SIS

FA

{6}@ {-5

FA-$40 ~ 250 Max.10(¢40~100)
" ax.10(¢p40~
[(#E] =M Max 17(9125~250)
WV
/. CE 4-¢J N L(LL+XkE—2) cC A
N Fo EE EE Fi B Al

err B1

w3 3 : T : TL 98
B
@ G}/ = = = MM
/ 317 7 3 Q
PP EDZN ) 4-M (2@Em)
BT mm
#% ANEEBT A IHeETE S
e BB LL| C |¥A [A1 | B | Q|BI|] MM | D |pDI| EE | E|F |F2| N M INN| VI IWI[E]J]TIo|R?
¢ 40 97 [ 30 |20 | 17 | 21 | 13 7 [M14x15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10 |100| 80 | 55 9 10 | 40 | 600
¢ 50 105 35| 25|22 | 22| 17 | 10 [M18Xx1.5| 20 | 55 Rc3/8 65 | 19 | 15| 49 | M8X1 12 (110 90 | 65| 9 | 10 | 45 |600
¢ 63 105( 35 |25 | 22|22 |17 | 10 (M18X1.5| 20 | 55 Rc3/8 7519 | 15 | 59 | M8X1 12 130|112 75 | 11 | 10 | 55 | 600
¢ 80 112 50 | 35 | 32 | 28 | 24 | 12 [M26X1.5| 30 | 75 Rc1/2 [100| 15 | 15| 76 |[M12X1.5| 16 |150|125|100| 14 | 14 | 71 | 800
¢ 100 |112| 50 | 35| 32 | 28 | 24 | 12 |M26X1.5| 30 | 75 Rc1/2 |[116| 16 | 16 | 90 [M12X1.5| 16 |185|155|116| 14 | 14 | 85 | 800
¢ 125 |121| 60 | 35|32 | 36 | 30 | 12 IM26X1.5| 35 | 80 Rc1/2 |[143| 18 | 18 [115|M14X1.5| 19 |220|185|143| 18 | 14 | 100|800
¢ 140 |135| 80| 50 | 47 | 48 | 32 | 18 |[M36X1.5| 40 | 85 Rc1/2 [160| 20 | 20 [125|M16X%X1.5| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 [135| 80 | 50 | 47 | 48 | 32 | 18 |[M36X 1.5 40 | 85 Rc3/4 |[176| 20 | 20 | 142|M16X1.5| 23 |275|230|176| 22 | 20 | 118|800
¢ 180 |145| 85| 60 | 57 | 50 | 41 | 20 |[M45X1.5| 50 |110| Rc3/4 |198| 20 | 20 | 155|M20Xx 1.5| 27 |320|265| 198| 26 | 25 | 1321000
¢ 200 |145|/85 |60 | 57 | 50 | 41 | 20 (M45%x1.5| 50 [110| Rc3/4 |220| 20 | 20 [180|(M20x1.5| 27 [335|280(220| 26 | 25 | 150 [1000
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |242| 23 | 23 [190|(M27 X 1.5| 36 [400|335|242| 33 | 30 | 170 [1000
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |270| 23 | 23 |[215|M24Xx1.5| 30 [420|355|270| 33 | 30 | 180 |[1000

) vy 7y My TIREOY A KA TESRPE () LVRR)ITOTIERI LS,

o (R 176 =Y % TBH L 28 Wv,)

Oy FIITSVIR
FA-¢300 ~ 500
[(#1E] R

V NN L(LL+Z~EA—7) C A
vV JF_ EE EE _F|.B_ B1
Max.22 [E T AT
; 1|
- - - - Ll L -

) 8 4 _P af o

wf 5| D — - - %| s] o

bﬁ N ]

= - - — MM
H = = = = Q
L -
7 3 (2m@r)
Jyal NIV, 8-¢J
BT D mm
z‘;’} ANET i ZHFEETE L
% 2 — TR S LL | C [*A B Q | B MM D [(DD1 EE E = N K M NN| V | VW ]| J T U [ UU ;,f z

¢ 300 172(120| 80 | 60 | 63 | 25 M65 X2 71 (112 Rc1 335| 25 |354| 8 | M20x1.5 | 25 [435|395| 22 | 27 | 90 | 270| 1000
¢ 350 177135190 | 70 | 71 | 30 M72 %2 80 (126 Rct 385| 25 |404| 8 | M24x1.5 | 30 |510|460| 26 | 30 |110|330| 1000
¢ 400 (202(150|100| 75 | 77 | 30 M82 x 2 90 |144| Rcl 1/4 |435| 30 |465| 8 | M27%x1.5 | 35 |575(515| 30 | 32 | 120|360 | 1000
¢ 450 (212(175|110| 90 | 85 | 30 M90x2 [100|155| Rcl 1/4 |485| 30 |520| 12 | M27x1.5 | 35 |630|565| 33 | 35 | 120|400 | 1000
¢ 500 |217[200|130|105| 95 | 30 | M100%x2 |112[170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 |690|630| 33 | 37 | 150|450 | 1000

) oy 7y MEE TIREOY A, KA TESRPE () LVRR)ITOTITERILES

o (RENG 176 =T % TBIL 2 E W)




FALUARRE

Ny MUIT SV IR FB
FB-¢40 ~ 250 Max.10(¢40~100)
Y o Max.17(¢125~250)
(8] = v
Vv
J [E 4-¢J T L(LL+XrE—2) C A
N Fo  EE EE F1 A1

L R

) a
|3 1 1 O
15 9
N = = - MM
3|7 7 3 Q
. . 2@
JyariSIvy 4-M ( )
' BT :mm
- A E ey e
9—1—7"Vq1; S LL | C [*A | A1 B Q | B MM D |DD1 EE E |F1 |F2| N M NN |V |[VW ]| E J T | UU z'\/y

¢ 40 97 | 30|20 (17 |21 | 13 | 7 |[M14x15| 16 | 47 | Rc1/4 | 55| 17 | 14 | 42 | M6X1 10 [100| 80 | 55| 9 | 10 | 40 |600
¢ 50 105/ 35| 25|22 | 22|17 | 10 IM18X15|/ 20 | 55| Rc3/8 | 65| 19 | 15| 49 | M8X1 12 [110/ 90 | 65| 9 | 10 | 45 |600
¢ 63 105| 35 |25 | 22|22 |17 | 10 (M18%x1.5| 20 | 65| Rc3/8 | 75| 19 | 15| 59 | M8X1 12 1130 (112| 75 | 11 | 10 | 55 | 600
¢ 80 1121 50 | 35| 32 | 28 | 24 | 12 [IM26x1.5| 30 | 75| Rc1/2 |[100| 15 | 15| 76 [M12x1.5]| 16 |150|125|100| 14 | 14 | 71 | 800
¢ 100 |112] 50 | 35|32 |28 |24 |12 [M26%x15| 30 | 75| Rc1/2 |116]| 16 | 16 | 90 [M12X1.5| 16 |185|155|116| 14 | 14 | 85 | 800
¢ 125 |121]| 60 | 35| 32| 36 | 30 | 12 |[M26X1.5| 35 | 80 | Rc1/2 |143| 18 | 18 | 115|M14X1.5| 19 |220|185|143| 18 | 14 | 100|800
¢ 140 |135| 80| 50 | 47 | 48 | 32 | 18 [M36x1.5| 40 | 85| Rci1/2 |160| 20 | 20 | 125|M16Xx1.5]| 23 |255|212|160| 22 | 20 | 112|800
¢ 160 |135| 80| 50 | 47 | 48 | 32 | 18 [M36%x1.5| 40 | 85| Rc3/4 |176] 20 | 20 | 142|M16X1.5]| 23 |275|230|176| 22 | 20 | 118|800
¢ 180 |145| 85| 60 | 57 | 50 | 41 | 20 |M45X 1.5/ 50 | 110| Rc3/4 |198| 20 | 20 | 155|M20Xx 1.5| 27 | 320|265|198| 26 | 25 | 132|1000
¢ 200 |145|85 |60 | 57 | 50 | 41 | 20 |[M45x1.5]| 50 |110| Rc3/4 |220| 20 | 20 |180|M20x1.5| 27 |335|280|220| 26 | 25 | 150 |1000
¢ 220 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |242| 23 | 23 |190|M27x1.5| 36 |400|335|242| 33 | 30 | 1701000
¢ 250 |160| 90 | 70 | 67 | 52 | 50 | 22 |[M56x1.5| 60 |120| Rc3/4 |270| 23 | 23 |215|M24x1.5| 30 [420|355|270| 33 | 30 | 180 |1000

W) Ty sy ML TIREOY A, KA FESEPE () LOVRCRDFTOTIEEREZS v, (FEAINE 176 R—2 % T 728 0,)
Ay REIZS VIR FB
FB-¢300 ~ 500
(71E] &R
v T LILL+ZRE—%) C A
W IF. EE EE _F.B_ Bil
Max22 CE NN
15 5 d
s RN == - - -
:.& & ‘3’: - - -
wl 2 s I2 B f 4: ~ 8 R R : } 4 R %| al o
o ﬁ—G_ 8i e a
! I : # X

DR -
ANy _ ;
317 7 3 (2m)
gyyariSnI] KM 8-¢J

A7 mm
& Atk XFEATE R
?—1—7"Pq1_¥éa% LL| C |[*A | B | Q | Bt MM D |DD1 EE E F | N K M NN | V [VW]|J T ufuu| %7
¢ 300 |172]120| 80 | 60 | 63 | 26 | M65x2 | 71 |112 Rc1 335| 25 |354| 8 | M20Xx1.5 | 25 |435|395| 22 | 27 | 90 |270| 1000

¢ 350 177135/ 90| 70 | 71 | 30 | M72x2 | 80 |126 Rc1 385| 25 |404| 8 | M24Xx1.5 | 30 |510(460| 26 | 30 | 110|330 1000

¢ 400 [202|150[100| 75 | 77 | 30 | M82x2 | 90 [144| Rcl 1/4 |435| 30 [465| 8 | M27x1.5 | 35 |575|515| 30 | 32 | 120|360 | 1000

¢ 450 |212[175[/110| 90 | 85 | 30 | MOOx2 |100|155| Rcl 1/4 |485| 30 |520| 12 | M27x 1.5 | 35 |630|565| 33 | 35 | 120|400 | 1000

¢ 500 |217[200|130[105| 95 | 30 | M100Xx2 [112|170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 |690|630| 33 | 37 | 150|450 | 1000

) "y sy MEe CHREOS G, KA A TEFRTE BE) LORA)ETOTIERCZZE v, o (RN 176 R — 2% T 728 0)

123



124

NE—Fa1—-F 4 I7

~

NS

KT8 -NAEITEH

CP611LU - CP665

— LI L E R CA
CA-¢40 ~ 250
-
(#E] Bk Max.10(¢40~100)
" Max.17(¢125~250)
) E R L(LL+ZrO—%7) c A
ON 4-M K. 2 EE EE FiI B Al
D183 T [/ N NN Bt
1,5 ¢DDH10 5, 1
_@ J L ,@_ A T
| ] i .
2 1 4 _ | 18 _ _ . 4 L D] 8
6 —|— 8 N B S
© W [ © RR1 MM
. . 3'7 7 3 Q
ySa N . ; ;
AP AN $40~10002 1 ORIECAS BRUASMEEAVET. @)
BAGT
= AAET R XS BT B
sa-gmps| LL | ¢ [*A [a1] B [ @ [B1 MM D [DD1| EE F1r2| N M NN[DD[DI [ R T [RRI] K |27
¢ 40 97 |30 |20 | 17 | 21 13 7 |[M14x15| 16 | 47 Rc1/4 55 | 17 | 14 | 42 M6 X 1 10 |10 [ 15| 35 | 12 | 11 15 | 600
¢ 50 105/ 35|25 |22 | 22 | 17 | 10 (M18%x1.5| 20 | 55 Rc3/8 65| 19 | 15| 49 M8 X 1 12112 (18| 35| 12 | 13 | 18 |600
¢ 63 105 35|25 |22 |22 |17 | 10 IM18X1.5| 20 | 55 Rc3/8 75119 | 15| 59 M8 X1 12 |16 | 25 | 45 | 15 |17.5] 24 | 600
¢ 80 112 50 | 35|32 |28 |24 | 12 |M26X1.5| 30 | 75 Rc1/2 |100| 15| 15| 76 (M12x1.5| 16 | 20 [31.5| 55 | 18 | 22 | 30 | 800
@ 100 1121 50 | 35|32 |28 |24 | 12 |[M26Xx1.5| 30 | 75 Rc1/2 [116| 16 | 16 | 90 |[M12x1.5| 16 | 25 |35.5| 60 | 20 (27.5| 33 | 800
» 125 121 60 | 35|32 | 36 | 30 | 12 |M26%x1.5| 35 | 80 Rc1/2 |143| 18 | 18 |115|M14Xx1.5]| 19 | 25 [35.5| 65 | 20 |27.5| 37 | 800
¢ 140 135 80 | 50 | 47 | 48 | 32 | 18 |M36X%x1.5| 40 | 85 Rc1/2 |160| 20 | 20 |125|M16Xx1.5| 23 |31.5| 40 | 80 | 25 | 35 | 40 | 800
¢ 160 135 80 | 50 | 47 | 48 | 32 | 18 |M36X%x1.5| 40 | 85 Rc3/4 |176| 20 | 20 |142|M16Xx1.5]| 23 |31.5| 40 | 80 | 25 | 35 | 45 | 800
¢ 180 145 85| 60| 57 | 50 | 41 | 20 (M45Xx1.5| 50 |110| Rc3/4 [198| 20 | 20 [155|M20%x1.5| 27 | 40 | 50 | 100| 31 | 44 | 50 (1000
¢ 200 145|185 | 60 | 57 | 50 | 41 | 20 [M45%Xx1.5| 50 [110| Rc3/4 |220| 20 | 20 {180 (M20x1.5| 27 | 40 | 50 |100| 31 | 44 | 50 {1000
¢ 220 160| 90 | 70 | 67 | 52 | 50 | 22 [M56X1.5| 60 [120| Rc3/4 |242| 23 | 23 |190|(M27%x1.5| 36 | 50 | 63 |125| 41 | 55 | 65 [1000
¢ 250 160 90 | 70 | 67 | 52 | 50 | 22 [M56Xx1.5| 60 [120| Rc3/4 |270| 23 | 23 |215(M24%x1.5| 30 | 50 | 63 |125| 41 | 55 | 65 [1000
) U2 b MEE SIEEOR A, KA S () L DR A D ETOTIER S, o (G 176 X — V% DB C £ 50,)
— I LERRE CA
CA-¢300 ~ 500
A
(#1E] ek
Max.22 [E R L(LL+ZRO—%) cC A
X TIF. EE EE _F[.B_ Bl
: NN
5 #DDH10 515— i
=
D)o SE
C 4 8 4 Ia) a
C B i i i i i i &| S EL
| = AN '
© :
% o
’ RR1
. L — —] Q
7 7 3 (2mEmm)
T35 NIV
BAGT
= AR XiEe B~k o
sagmRB| LL | C [*A [ B | Q [ B1 MM D [DD1 EE E[F[NTK M NN|[DD[D1 | R [ T [RRI[] X | &7
¢ 300 172|1120| 80 | 60 | 63 | 25 M65 X 2 71 |112 Rc1 335| 25 [354| 8 M20x15 |25 |56 | 71 |111| 30 | 63 |175| 1000
¢ 350 1771135 90 | 70 | 71 | 30 M72 X2 80 | 126 Rct 385| 25 (404 | 8 M24x15 | 30 | 63 | 80 |121| 32 | 71 |185| 1000
@ 400 202|150(100| 75 | 77 | 30 M82 x 2 90 |144| Rcl 1/4 |435| 30 |465| 8 M27x15 | 35| 71 | 90 |135| 37 | 80 |220| 1000
¢ 450 212|175(110| 90 | 85 | 30 MO0Xx2 |100|155| Rcl 1/4 |485| 30 |520| 12 | M27x1.5 | 35 | 80 |100|150| 38 | 90 |230| 1000
¢ 500 217(200|130[105| 95 | 30 | M100x2 |112[170| Rcl 1/4 |540| 30 |570| 12 | M30x1.5 | 38 | 90 |110|174| 50 | 100|260 | 1000

) vy 7y MyE ZREOWE.

KEDA STEOERDPE (BHE) LVRER) ITOTIERL LS,

(FEAIIE 176 ~— T % TBIB L 2 E0,)




FALUARRE

“WIOUVERR CB
CB-¢40 ~ 250
Max.10(¢40~100
(+15] ik / Max.17§$125~25)0)
[E
N R L(LL+ZrEA—7) C _A
Y33 4-M K, JF2 EE EE Fi[ B Al
D133 / TAT(/ _\!_NN B1
15 ¢DDH10 5; (1
73 fu T T
'\/’ @ /‘: ) )
] C ] 4 . _|8 _ _ _ 4 0[5
] ] 8 . el
| B )
‘/\
&), RR1 MM
37 7 3 Q
$40~1000 210y IZCBE ERUAHBELLYET, (2mEm)
BAGT :
f‘”} AT A HEETE =
e B L] C [*A A1 B | Q|81 MM D [DD1| EE E|F1|F2|N M NN|[DD|[D1| R | T [RRI| Y | K |R7
¢ 40 97 |30 |20 |17 |21 [ 13| 7 [M14xX15| 16 | 47 Rc1/4 55 |17 | 14 | 42 M6 X 1 10|10 | 1535|1211 | 30 | 15 |600
$50 (10535 |25|22 |22 |17 |10 |M18%x15[20 55| Rc3/8 |65 |19 | 15|49 | M8x1 |12 |12 |18 |35 | 12|13 (35.5| 18 |600
$63 (10535 |25 |22 |22 |17 |10 [M18x15[20 [ 55| Rc3/8 |75 |19 (15|59 | M8x1 |12 |16 |25 |45 | 15 [17.5| 50 | 24 |600
¢80 (11250 (35|32 |28 |24 |12 |M26x1.5(30 | 75| Rc1/2 [100| 15 |15 | 76 [M12x1.5| 16 | 20 [31.5| 55 | 18 | 22 | 63 | 30 | 800
¢ 100 [112|50 |35 |32 |28 |24 |12 [M26x1.5|30 | 75| Rci1/2 [116] 16 | 16 | 90 [M12x1.5| 16 | 25 |35.5| 60 | 20 [27.5| 71 | 33 |800
$125 [121|60 |35 |32 (36|30 |12 [M26x1.5|35 |80 | Rci/2 [143| 18 | 18 [115(M14x1.5| 19 | 25 (355 65 | 20 [27.5| 71 | 37 |800
¢ 140 [135/80 |50 | 47 |48 |32 | 18 [M36x1.5| 40 | 85 | Rci1/2 [160| 20 | 20 [125(M16Xx1.5| 23 [31.5| 40 | 80 | 25 | 35 | 80 | 40 |800
¢ 160 [135/80 |50 |47 |48 |32 |18 [M36x1.5| 40 | 85 | Rc3/4 |176] 20 | 20 [142|M16%x1.5| 23 [31.5| 40 | 80 | 25 | 35 | 80 | 45 |800
$ 180 (14585 |60 |57 |50 | 41 | 20 [M45x1.5| 50 [110| Rc3/4 [198| 20 | 20 [155[M20x1.5| 27 | 40 | 50 |[100| 31 | 44 [100| 50 |1000
¢ 200 [145|85 |60 |57 | 50 | 41 | 20 [M45%x1.5| 50 [110| Rc3/4 [220| 20 | 20 [180|M20x1.5| 27 | 40 | 50 [100| 31 | 44 [100| 50 |1000
220 [160]| 90|70 |67 |52 |50 |22 |M56x1.5| 60 [120| Rc3/4 |242| 23 | 23 [190|M27x 1.5 36 | 50 | 63 [125] 41 | 55 [125] 65 1000
250 [160| 90 |70 |67 |52 |50 |22 [M56x1.5|60 [120 Rc3/4 |270] 23 | 23 |215|M24x1.5| 30 | 50 | 63 [125] 41 | 55 [125] 65 [1000

) oy sty MEE TIREOHE.

KENA S () XD REL) TTOTITEE LS,

GEANE 176 <=V % ZBIE L 72 80,)

125



126

NE—Fa1—-F 4 I7

~

P

U4

KT8 -NAEITEH

CP611LU - CP665

—_——
MSZ=F R TC
TC-¢40 ~ 250

- Max.10(¢40~100)
(#E] Bk Max.17(¢125~250)
L1 P2 L1 NN LLL+ZRO—2) cC __A
A OE S R B A1
N A Lzr EE EE ,’F_1 LBl
____W 5/r ﬂ\1
HL L
ol | e ===
<o | —
Nk i _ﬁz_ 4 |8 ) ) al | I
S5 6 8 I &9
N B
/ @ 3|7 @ E - - MM
/ [ 7 3 Q
79332 INIVT) A-M G (2mEm)
BAT :mm
s Gl P ZREEATE Tt [t

RSB LL] C [*A [A1] B | Q |B1 MM D |pp1| EE E|F1[r2[ N M NN[ G [P [r2fLt ] x [xx] r |[R7|s&lrx
¢ 40 97 (3020 (17|21 |13 | 7 |M14X1.5(16 |47 | Rc1/4 |55 (17|14 | 42| M6X1 1022 |58 65|18 |16 |26 |1.5|600| 49 | 47
¢ 50 105352522 |22 (17|10 |M18%Xx1.5/20 | 55| Rc3/8 [ 65| 19| 15|49 | M8X1 12|(28(70|80|18| 16|26 |1.5|600| 58 | 51
¢ 63 105/ 35|25 (22|22 (17|10 |M18%x1.5[/20 | 55| Rc3/8 | 75|19 | 15|59 | M8X1 12128 |84 |100/ 22| 20| 30| 2 [600| 58 | 51
¢ 80 112|501 35|132|28| 24|12 |M26%X1.5/ 30| 75| Rc1/2 |100| 15| 15|76 |[M12Xx1.5| 16 | 32 |104[(112| 28 | 25 | 35 |2.5|800| 60 | 53
¢» 100 (112(50|35|32[28|24|12|M26X1.5/30|75| Rc1/2 (116| 16| 16 | 90 IM12Xx1.5| 16 | 37 |124|136|33.5|31.5| 44 | 2.5|800| 69 | 62
® 125 |121|60| 35|32 |36 |30 | 12 |M26x1.5| 35 | 80 | Rc1/2 |143| 18 | 18 |115|M14x1.5| 19 | 40 |160|170|335(31.5 50 | 2.5 |800] 72 | 65
¢ 140 |135/80 |50 |47 |48 |32 |18 |M36x%x1.5/40|85| Rc1/2 |160| 20| 20 [125|M16Xx1.5| 23 | 45 |180{180|37.5(35.5| 60 |2.5|800| 80 | 73
¢ 160 (135/80 |50 |47 |48 |32 |18 |M36x1.5|40 |85 | Rc3/4 |(176| 20 | 20 [142|M16X%X1.5| 23 | 45 |200|200(37.5|35.,5| 60 | 2.5|800| 80 | 73
¢ 180 (145/85|60 |57 |50 |41 |20 |M45x1.5|50 [110| Rc3/4 [198| 20 | 20 [155|M20x 1.5| 27 | 50 (220|224| 50 | 45 | 60 | 3 |1000| 86 | 75
¢ 200 |145/85|60 |57 |50 |41 |20 |M45x1.5|50 |110| Rc3/4 |220| 20 | 20 [{180|M20x1.5| 27 | 50 |240({250| 50 | 45 | 60 | 3 |1000| 86 | 75
¢$ 220 |160|90 |70 |67 |52 |50 | 22 IM56%x1.5| 60 [120| Rc3/4 |242| 23 | 23 |190|M27 x1.5| 36 | 70 |270|290| 60 | 56 | 80 | 3 [1000/105| 90
¢ 250 |160(90 |70 |67 |52 |50 |22 |M56x1.5|60 |120| Rc3/4 |270| 23 | 23 |215|M24x1.5| 30 | 70 |300({315| 60 | 56 | 80 | 3 [1000/105| 90

) LTy 2 Fy MEE SRR G, KA R () L DEC D FTOTTEER A S0, e GERIIE 176 < — ¥ % ZBHC 75500,

2.8, RFED IR B AL SR &4 ) £
—_—
MSZF R TC
TC-¢300 ~ 500
A
(#1E] ek
NN L(LL+ZFO—%) cC A
L1 P2 L1 S R
Max22 LE JF_ EE EE _F| B_ Bl
| T | |
5 s ]
cl R4 S
&Y - \
P | NS 1Y
x| o -
ol 23 I lg2 . a 4| ) 18 . /4h\ . 1 4 alo
3% 5 8 N N 25
0 Nl A\ A
’ . MM
). 3|7 g Q
7 Ll 3 (2mmh)
Jyia NIV KM o
BAT : mm
. AT A XA B TE CrSiES

52— TR S LL | C |*A B Q | B1 MM D |DD1 EE £ IF N K M NN | G P |P2| L1 X | XX {7 S| Ri&E
¢ 300 1721120 80 | 60 | 63 | 25 | M65x2 | 71 |112 Rct 335| 25 [354| 8 | M20x1.5 | 25| 75 [380(420| 70 | 63 |120{1000 90 | 95
¢ 350 177113590 | 70 | 71 | 30 | M72x2 | 80 |126 Rc1 385| 25 [404| 8 | M24x1.5| 30 | 85 [430(490| 75 | 71 |140{1000| 95 | 100
¢ 400 |[202(150(100| 75 | 77 | 30 | M82x2 | 90 [144| Rc1 1/4 |435| 30 (465| 8 | M27x1.5 | 35 | 90 [490|540| 90 | 80 |160(1000| 107|112
¢ 450 |212[175[/110|/90 |85 | 30 | MOOX2 [100|155| Rc1 1/4 |485| 30 |520| 12 | M27%x 1.5 | 35 |100[530(610| 95 | 90 [180(1000[112[117
¢ 500 |217|200|130(105| 95 | 30 | M100x2 |112|170| Rcl 1/4 |540| 30 |570| 12 | M30x 1.5 | 38 [110|610({680|105|100|200(1000[ 117|122

) Lavy sty MEe THEOYE,
2.S. RO THRRD v

BEIES=R &40 9,

KENA PRl (BE) LR ) ETOTITRS 22w,

R 176 — T % BB 728 0,)




FALUARRE

PhEAN— - BT AR

Dimension with dust cover

CP611LU - CP665

I Fa—TJAE: 40 ~ 250

JC A

|
|
|
|
|
|
|
o JFA

@ FA TEOBE AU R EA JFA FHEICLTF & v,

O~TER

| Fa—TJAE : $300 ~ 500

MM

BAGT
Fo-JW@E XrO—2 | JC | JB | JA MM A | JFA
0~160 | 110
¢ 40 1612250 L1950} 4o | — | m1ax15 | 20 | 60
251 ~400 | 210
401 ~600 | 300
0~160 | 110
? o ;21 :iig ;’8 45 | — | misx15 | 25 | 63
401 ~600 | 300
0~ 160 95
161 ~250 | 120
(;”18& 251 ~400 | 165 | 60 | — | M26x15 | 35 | 80
401 ~630 | 235
631 ~800 | 285
0~160 | 105
161 ~250 | 130
$125 | 251~400 | 175|100 | — | M26x15 | 35 | 130
401 ~630 | 245
631 ~800 | 295
0~160 | 125
161 ~250 | 150
i}gg 251 ~400 | 195 | 105 | — | M36x15 | 50 | 140
401 ~630 | 265
631 ~800 | 315
0~250 | 150
180 251 ~ 400 195
izoo o —eso T2ee] 135 | — | M4sx15 | 60 | 170
631 ~ 1000 | 375
0~250 | 140
P e 421?)1 :ggg ;;3 145 | — | M56x15 | 70 | 180
631 ~ 1000 | 311
0~250 | 181
251 ~400 | 211
300 [ o180 | 210 | Me5x2 | 80 | —
631 ~ 1000 | 351
0~250 | 186
251 ~400 | 216
350 [ oo 190|220 | m72x2 | 0 | -
631 ~ 1000 | 356
0~250 | 205
251 ~400 | 245
9400 [— 220|250 | mB2x2 | 100 | -
631 ~ 1000 | 385
0~250 | 204
6450 |22 ~400 1234 | 001 060 | moox2 | 110 —
401 ~630 | 294
631 ~ 1000 | 374
0~250 | 220
6500 |22 ~400 1260 | 00| e | mroox2 | 130 | —
401 ~630 | 310
631 ~ 1000 | 400

127



ANE=F1—-F 4 IFYUVY

R . CP611LU - CP665
Oy FEREEE - TEX

Ay REHEE - Oy 77y MIOBEDIFTES K UERE > ICDVWTIE 172 ~186 X—T 2 TS Z8 0,

B h =X

UL EHIIOWTE IR A2 AT [HATER (CatNo.2224) |% TSR 2L,

128



FALUARRE

BHENYyFUIRB

Consumption packing list

| F1—JMiE : 940 ~ 100

CP611LU - CP665

BRES Ny xEH O (LEEYE ¢ 40 ¢ 50 ¢ 63 ¢ 80 ¢ 100
16 |74/ —1Y>J] 1 SFR — 16K SFR — 20K SFR — 30K
17 |8 v K/t y %> 1 PNY — 16 PNY — 20 PNY — 30
18 | YUL4Fa-THrsyb| 2 M — 2336 M — 2337 M — 2338 M — 2339 M — 2340
19 |[EX RNy x| 2 PGY — 40 PGY — 50 PGY — 63 PGY — 80 PGY — 100
22 | vyvarisyxr| 2 M — 2176 M — 2484 M — 2485
24 |Tg KMV R] 2 02301 — 0030

|‘}iéi FNNyvFtEty NFERES ‘P-CP61LU—4O P-CP61LU-50 |P-CP61LU-63 |P-CP61LU-80|P-CP61LU-100

| F2—JmR : 9125 ~ 250

@i E ST 20Ty RE A7y b lIF&InTnEdA.

op
Lk

BRES AR 225 "8 ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 220 ¢ 250
16 |74/ -1 >%| 1 |[SFR—35K SFR — 40K SFR — 50K SFR — 60K

177 |8y K8y % >| 1 |PNY—235 PNY — 40 PNY — 50 PNY — 60

18 | YUY4F21-7H2459r| 2 [M—1111 [M—1112(M— 1113 |M— 1114 | M — 1115 | M — 1911 |M — 1117
19 |EXh>/ty %> | 2 |[PGY—125|PGY—140 | PGY—160 | PGY—180 | PGY—200 | PGY—220 | PGY—250
22 |vyvariNyxr| 2 |M—1074 M — 1075 M — 1076 M — 1077

23E |F v xL| 2 M — 3344

23G | 7yvarHRyyN| 2 02301 — 0189

23H | = — KWLiXy ¥ | 2 02301 — 0030

(g~ x> vy FFRES

P-CP66-125|P-CP66-140 | P-CP66-160|P-CP66-180 | P-CP66-200 | P-CP66-220 | P-CP66-250

| #21—7ME : 300 ~ 500

@i HTE T 20[ 0y FAAr vy FidEEnTwEtdA,

BRES Ny X (LEEYE ¢ 300 ¢ 350 ¢ 400 ¢ 450 ¢ 500
17 |74 nx=—u>u] 1 LBH — 71 LBH — 80 LBH — 90 LBH — 100 LBH — 112
18 |y Fixy %>| 1 SKY — 71 SKY — 80 SKY — 90 SKY — 100 | SKY —112
19 | YUY4F2-THRry b | 2 M — 1877 M — 1878 M — 1879 M — 1880 M — 1881
20 |[EX Rty x| 2 M — 1092 M — 1093 M — 1094 M — 1095 M — 1096
2 |Zyvariyxr| 2 M— 1167 M— 1168 M— 1169 M— 1170 M — 1882
23 |7p7ap Az bl 2 02301 — 0070
29 |[#HR&vyrOULY)| 2 02301 — 0210

|‘}iéi FNy Xty PFEE 7':7—" P-CP66-300 | P-CP66-350 | P-CP66-400 | P-CP66-450 | P-CP66-500

@il E 21Ty RF 27y b id&EInTwIEdA.

129



ANE—Fa1—F 4 IF7IUVS T4 UAH

= CP611LU - CP665

HoE=E I

=QVVUIIKRF+OBEFTVYIY
E E § B : kg
OPDPEE S QEAF T3>
Fa1—TAE THEHE£E EReE
W (kg)

LB FA - FB CA CB TC Y I

¢ 40 0.0049 XX bA—=74+1.9 0.22 0.27 0.34 0.34 0.30 0.12 0.13
¢ 50 0.0077 XX bA—7+ 3.0 0.33 0.34 0.47 0.46 0.49 0.19 0.22
¢ 63 0.0086 XX hEA—74+ 4.0 0.48 0.46 0.90 0.84 0.65 0.37 0.37
¢ 80 0.0157 XX bA—-7+ 7.4 0.59 0.97 1.71 1.72 1.10 0.69 0.71

¢ 100 | 0.0174 XX +bOA—7+104| 0.90 1.40 255 255 1.89 1.26 1.17

$ 125 |00260 XZ hO—2+175| 1.3 25 3.3 3.4 2.8 126 | 1.17
® 140 | 00332 XZ hO—2+250| 25 4.1 5.3 5.4 35
¢ 160 | 0.0357 XX hA—%+300| 28 5.4 5.9 6.1 4.3 25 30
® 180 |0.0494 XZ hO—%+420| 55 9.3 9.7 10.2 5.6

4.9 5.3

¢ 200 | 0.0573 xXZX+A—-7+51.0 6.3 11.3 11.0 10.9 6.8

¢ 220 | 0.0721 XX bH—7+69.0 9.4 18.0 19.6 18.9 14.0

9.7 10.6
¢ 250 0.0906 X X hO—7+ 85.5 10.1 22.0 22.8 22.2 13.6
¢ 300 01192 XX bO—7+ 135 20.5 23.1 14.8 23.1 11.7 15.2
¢ 350 0.1449 x X hA—7+ 185 24.7 35.3 18.4 39.6 171 22.2
¢ 400 0.2048 X X hO—7+ 273 55.8 47.6 27.7 - 46.3 22.3 28.9
¢ 450 0.2478 X X kO—7 + 350 73.4 64.4 35.5 49.8 28.9 37.5
¢ 500 0.2905 X X hO—27+ 457 | 111.4 84.0 53.3 91.0 43.3 56.2
) LB&RIZ 2L ) ORHEZRLET,
VUVIRFBEEIST (825N
| #40 ~p100 | #125 ~p250 | #300 ~p500
30 180 = 80
28 170 -
: ‘ T
24 QU 700
22 o ]38 Gﬁg | 600 A == =
% 2 SA n = %120 ] /‘T l20 AT %500 o 20—
16 5 > o0 N 6% | EBEC A = L \4)\ | =T
g 12 7 Q‘Q’o/ g 0 =T 1 'ig?/ i = %400 = & /ﬁﬁoo ]
w ol A P W 80F e w = A o
ke A ke D AT RS I ke300 = 5380 =TT
8 A o 963 /://// 50 : =] — ‘dﬂ@’::/ =T 200 LT | ‘43‘30‘0 1]
; T O T o =TT |
] Qf)ﬁ/,//// 30 =———" T ““?5’ =
N Yy =TT 2 100
2 i 10
0 100 200 300 400 500 600 700 800 O 100 200 300 400 500 600 700 800 900 1000 O 100 200 300 400 500 600 700 800 900 1000
ZbO—7S (mm) ZhA—=7S (mm) Z+hA—=7S (mm)

130



Wil 1
FA VAR 72904

Oilless enclosed cylinders
with solenoid valve

w009

RG> ) > 5« CP663 BIC 5 7 — | Bl

VR ZA M
HELHEDMIEE P ZESHBEADHIMICE LI 5D
A UEXE

CP665 oilless enclosed cylinder with directly mounted 5-port
solenoid valve.

This design enables easier piping and reduction in air
consumption, thus lowering costs.

JIS

oy
djo

JIS Symbol

YUY ST

ﬁ Specification(Cylinder)

RS

AT - BRI
Oilless enclosed cylinders
with solenoid valve

CEl A

Specification(Solenoid valve)

X &=

Model code

4A3 []

Model code

MP665

A R h B

Internal leakage

JISB 8375 (IC L AMEMUUT

£ @ A K

Operation type

'8 W

Double acting

HEBELEDE

Allowable voltage fluctuation

EREBEICKH L+ 10%

+ 10% of applicable voltage

B E £ & & 70CAT
Temperature rise Max. 70°C
if & & il JIS C 4003 B #&
Insulation class Class B
Ho# B S| AC---6VA  DC---55W

Power consumption

fEg) (%) B

Response time

¢ 125~ 250 --- 0.05 LT
=0.05s

Thread tolerance

- , S TE (EiaEs1 7)
Lubricant none (Oilless)
5 - 7 A #& ~
+ Bore size ¢ 125 250
= B E 7 ~
Working pressure 0.2 ~0.7MPa
+1.0
3 (250mmEL )
A b0 -7 FRE 0
Stroke tolerances 142 Hnder250m
o (250 ~ 1,000mm)
¢ 125~ 140 50 ~ 500mm /s
¢ 160 50 ~ 400mm /s
EZ N YEE ¢ 180 50 ~ 320mm /s
Piston speed ¢ 200 50 ~ 260mm /s
¢ 220 50 ~ 220mm /s
¢ 250 50 ~ 170mm /s
b U B = JIS (6H. 6g)

Ambient temp

7 v . 3> WET7 7 7> = >
Cushion Both ends (Air cushion)
£ 7
Proof pressure 1.5MPa
=
® B B & —

) 1.5CUTCTHAOE AR, ATmOKGERE L, HHEORVE ) TEEL 2SN,
2. FREDAMOARRT TR 2 2 55613, Bl TR 728 v,
3T A2 LIFTEETA, AT 5 & 70 — AR S E O TR A
D) FE LT o T2 MMTIHAMASE T Z L1220 925, 20k
DR LEE 2 ) 5
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent
problems due to freezing.
2.Consult factory for non-standard applications which are not coverd by above
specifications.
3.Can be lubricated but the grease will be exhausted. Although durability is enhanced
after the lubrication, continual lubrication will be required.

131



132

ANE—F1—F 4 IFYUVY

2 I0 50 B (72— 7R 125 ~ 250) cisricls L T FROBRTE T IRE AR,

Model code

MP665-[1] -

!iﬁﬁ;!

PAPE LS

X

RhEES/N— Fa1—TREF Z hO—% Oy NEmels
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ QEEH/N— Dust cover‘ ’ OQF1—TAHE Bore size
& L N 125mm 125
Without
> 5 140mm 140
7Oa7L > (E#) A 0
CHLOROPRENE (standard) 160mm 160
ME RYF7IRFUAZR B 180mn 180
Material POLYAMIDE CLOTH
FHIFAXFIOR 5 G0 200
ALUMINIZED CLOTH 220mm 220
) BEEEA N— O AL 113 R =P 2SI S,
Please refer to p.113 for the structure. 250mn 250
#& B Mounting style AhO—7 Stroke
’ (2F3 = 95y ‘ ° (¥ 1 X TR &) (Please order it by a mm unit)
X B 2 8 & L N
Without =
ORKAMO—7 ~
@ 5 B 7 — W B Voo strokes ¢ 125 ~ 160 800mm
Foot ¢ 180 ~ 250 1,000mm
oy Kl 723 > o FA
Rod end flange : eZ/ZhO—% 20mm
Ny K@l 7 2 > YW FB Min.strokes
Cap end flange
HAT — W 7Singlé/clevis[,: AW CA ’ @Oy r&kigg£E Piston rod attachment‘
Standard 5 7 1o o -
el [-W I LEZXWE /| can &% £ B & L WA
Single clevis /joint pin Without No entry
- k7 r E 2 ® Y i/
Double clevis CB Rod end clevis ) Y
W7 LEXIWE > Yy % (g > f )
Double clevis /joint pin CBA Rod end clevis /joint pin YA
vz A W EXM VR (> f) BE>f
Trunnion TC St?&‘ggrd Rod end clevis /joint pin /split pin YC
Single clevis /rolled bushing Rod end eye
—WILEABBET Y V1| o I ® ( E > & ) IA
Single clevis /lubricant bushing Rod end eye /joint pin
Single clevis /SP bushing Rod end clevis /rolled bushing
— W7 LEXIWKFHEE CAS YEEXx—/IX—TL -t Ef YK
Single clevis /CARBON STEEL Rod end clevis /keeper plate /joint pin
, | LEXMET v YR&-1N=TL= b EV-TYRZy T
I;‘\Bﬁli ﬁg Double clevis /rolled bushing CBD Rod end clevis /keeper plate /joint pin /grease nipple YKG
e | SWILERBE—/S-TL—pELf | opy BYRBEOLED 7> T M| yy
Double clevis /keeper plate /joint pin Rod end clevis /detent angle
ZWIVERRE=1=TV= bV FURZy T BHE-1=TU= b€V BYEDT T If
Double clevis /keeper plate /joint pin /grease nipple CBKG Ilf\ﬁﬁ i Rod end clevis /keeper plate /joint pin /detent angle YKM
Wy LrEXBREAR| ogs Ao’ [RWB=I=Tu-b- o i 1320 | ykam
Double clevis /CARBON STEEL Rod end clevis /keeper plate /joint pin /detent angle /grease nipple
Mo = 4 > W x = i & TCS Y i x = & YsS
Trunnion /CARBON STEEL Rod clevis /CARBON STEEL
Trunnion /female screw /steel Rod end eye /rolled bushing
) —HEECE 2L OBD ) FF o BEOTEIZONTIZ 160 X— VA B 28, I % % m 7 v ¥ 2 ft IB
Please refer to p.160 for details. Rod end eye /lubricant bushing
I ﬁ? SP 7 Y N ElR ﬁ' 1P

Rod end eye /SP bushing

##) 1.YM, YKM, YKGM O¥jé,
2. —HEETE Vb ODH ) T3 EHEOUEFIZD

Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.

0y FEiaRizay 25y PTEELE T,
WA R— VRS EE N,




BT - A1 LR

5 2T8ES !#Eiﬁ !#}ﬁﬁé !’ﬁ*ﬁ

BRI

Oy 77y bk [i5={0) Jyyar TR
Lock-nut (i OfrE ReDiE B 2 OOE Ak BE
Port position  Cushion Pressure vessel installation Solenoid Electrical ~ Rated
position construction code position of valve connection voltage
valve type
®ovyFvh Lock-nut | | D ARRAHEE installation position of valve
Oy y+v h&L | ANy RAN— H
Without No entry Cap flange
Hy 7%y b1 {Ef L Oy KA/x—18 R
1 lock-nut Rod flange
2 lock-nut
#) 2 OBETL Oy MR Y oBER S E, Lo EFE LT,
EEPLERRE A ik x SRR S0,
Ty 7 Fy MIBLTIE, 176 X— Y % TSRV 3,
Please refer to p.176 for lock-nut.
’ @ EEDAE Port position‘ ’ (1 { itz {D) | Solenoid valve
Oy KA/IN— ANy RAHIN— soL ‘
Rod flange Cap flange ) & — EEIK‘I s
1 (1R%) 5 (1R%) A [ P |
EREOAE 1 (Standard) 5 (Standard)
Code of the position 2 6 S m soLa
3 7 " o D
P
4 8 (LA} |
) BEL Y v Y a yoMEE, F-HEICIGHETE A, ) ERERCIE, YY) S A= Foay b= VHELTIF VA ML TR

Cannot establish the plumbing and the position of the cushion in the same aspect.

’ O@/varouE Cushion position ‘
Oy KAN— Ny RAIN—
Rod flange Cap flange
1 5
R DALE

Code of the position

2 (Z#%)
2 (Standard)

6 (1Z#)
6 (Standard)

3 7
4 8
HQODFEN L THIE(@:1-5.0:2 6) L 22 HEDA, WATETT.

L AT HYERY D LHAIL, ETRALTLZE Y,
In case of standard position for both (@ and ®) ,the code is not necessary.

W) BREE 7 vy a y oL, [W—

HIZITHETE A

Cannot establish the plumbing and the position of the cushion in the same aspect.

| @ FE2BEHEBDFIE Pressure vessel construction code |

FERZ Y A
Not apply No entry
A
7% =on
Applicable V2
) LA 2 FEE AR a% M i 3 IERE M i & IR RS s R ) 97

2.5 2 FEFE ) A 4R34 4 ah

KL CE 12 R=V % TSRV E T,

Please refer to p.13 for details.

PRV L E S

Included speed control mufflers as standard equipment.

| PR Electrical connection type
1) — Nig
Lead wire L
DIN SoTHY) N
x4 W/ indicator
DIN Z>ThHL D
connector W/o indicator
Bhka % 7 & w
Water proof

’ ® EREE Rated voltage
AC100V - 50/60Hz 1
AC110V - 50/60Hz 2
AC200V - 50/60Hz 3
AC220V - 50/60Hz 4
DC24V 5
DC48V 6
DC100V 7
#) ACLOOV - AC200V (50/60Hz) 11 Wi, 60Hz (ZBED . 2424 ACLIOV.
AC220V (ZEAASTHET Y

133



134

ANE—F1—F 4 IFYUVY

=]
==}

B

BADOMBHAELERLEDEIESFTIE

1. fe5) I (93U S RO ()5 )

BDPERZ . it

DAy FEBF H) D& &,
VL /A Kl (OFF) .y v ¥
DYER by FAFAR(IN) &
70 E 9,

VL /A N (ON) T v ¥
DYA~ray FHHHHL (OUT)
LR ET,

@Oy NRIERFR) D& %,
/L /1 N (OFF) CWEA b r
Ty A5 AA (I N2 D T35

@/ L/ 1 Niif&i (ON) TEA N
Oy RAHIHLOUT) &0 9,

[2F— IV FEEHAD L X

DAy KRR (H) D& %,
VL /4K alhk(ON)
YL /AR b (OFF)
oL /A F-aiihi (OFF)
VLA F - bk (ON)
@0y KRIEREFR) D E %,
®VL /4 F-alph(ON)
YL /AR b (OFF)
VL /A F-aik (OFF)
VLA F - bk (ON)

ez rvoy FAR ON)

ezt roy FEHL (OUT)

B E¥xbrmy FHL (OUT)

exrray FELAA (N)

) ¥ — VIEEHAM YA IE. D) HOBIERES kL ) 3,
(@YD)

VL) A FOMIE L 31) v 5Ol s & 70 5 & 9293 B34, 1R
IO/ ATy WSy F U2 B52 LT Ay FHEUHE “NO”™, a7 v FHIEU
13 NC" == HZ2 XU RBLTLZE N,

Ny KAN—f - BREEFRMT (H))

\ \
0 i |V 1oL
‘ @ @ ' @ (@
(B KA - BEEFT (R))
\ \
s R
‘ I () ‘ @ @
2. BoifR - &
[ 1) S ER AR R D ACAR
DU-FEALDEE,
1 #R

Y — F#( ¢ =300m)

) — ML, T4 VX DHI300mmO e S
THIHERTOET,

) — IR A 7 &
5 SRR 228w

@DIN 3742 D) (N DE X,

7> 7 %4 (N) R

7> 7% L (D) #E8R X
AC DC

S IS @: +q
@ ®§ _@E

O/ — 7ML VS 1p 6 ~8DH A XD D% THIHL 728w,
W ECiRIER

Al H)N—1kdRA LEA L HILL 720K
Mo R Z2mTEEE OK0E)
NG HRIRD S D (KT 4 3—4)
(S PR DA NN e
LTL7Z&




BRI - 71 LA

MPG665

r—=INW% 75 Ky M7y,
Ry F 2 AN—DNEIELD %
T — FROWEEZY L. iz
FoTHIK T LOHTL R,

Chii FHaoum ko tO, @%
W58, — N+ IGELAATE
iy IRDRLERITIT TS W,
® 7 — ZAEMEAMLIE L A3, Ui

THO T—7EPc) —F
MR L T 28 v,

DINa %7 2 &ER&H

HIN—1kHFY

g |

DVEHE [T DT (I 3 —=HUT51) & kv 729 2. A=k 4+ T %

NI TS,

— 3
CER) D CAMOB a1 B R A 2 £ D T4 SR

728\,

NEZRFIHODEE
O N—EDRTED LD, N IN—
R 2 EICX ) VERS IO %
2771 (180°) WO Il H

FTHIENTEET,

QBKIARITZRXW) DEZ,
O K A1 N — DB
DALY A X —PF1 /2
ORI #1377 A b VTR
LTWETOT, Y — FfEY A4 X
130.75~3.37mm? D —7)v
B TR 2 &,

W ECHRIERE
) — FHUE A N — 708 LA
V=7 %GB L 729 2T &
AL (9 4mm), JEi% X o THl
CFEDHTLER,

Bl ) — F#iE 7 7 A b VI TIHHA
LA BED) Z, #fifgA) —
TEIPSEETIA VEID T N
TATHELAATL 7280,

wE2 -7

BRI [T (1 3= TT1) ZRAED D 2 AN —1kD A T %

R T L 728w,

S
CER T R0 0y v sk L kD SR,

NERFIEOOEE

O I, 2 )] (180°) ICZHF 5 2 LASTE 5,

O eV I
OHIIMI10Y 7 Y Fik% 47y a2 & LTHRV L E T, SAHEO
B, FA B SRR C 2250,

FE4en BET—TNHA X B
®9 ¢ 85~9.4 15a
¢ 10 ¢ 9.5~104 15b
¢ 11 ¢ 10.5~11.4 15¢

135



136

ANE—F1—F 4 IFYUVY

E®Fr7Z7veYyIU

MP665

Solenoid valve assembly

MP665 3 ) ¥ FICHEBROERKIE, ED LI s 4 TOERSIEY ) »FI2h
SHAWEZTET,

S5K—FEMAEL V) CHICEMAETLHIEICL S, BE TR ZRNEERD
ik & BT 1 YV ICBUAEIANE—O—BE LTITHML 2 & v,

| READ wnhmosar SHELoBaE. TROBREDEE RS0,

Model of solenoid valve

4A3 c-B@
G OBHAY A faie  OER
hE EE

(DFEXE  Size of solenoid S

valve

@ Film % THROLGEIE, Y Y HIUMTEREL Y b
EHELE

) B -2 Y SHORE T 2 — 7 LTI B W LE-ADT,

B S,

Operation Electrical Rated
type ?onnection voltage
ype
‘ O #HRBOESE Operation type ‘ ‘ @ ERHE Electrical connection type
‘ 1) — F#R
)a—-> SlozLE[KlI s Lead wire L
Return P DIN S2THY) N
[ \ S22 4 W/ indicator
DIN Z>THEL D
f b Sm SoLa connector W/o indicator
Ao D Bk %7 % W
‘m P ‘ Water proof

) EEAICE, YV S AE-FOay b VHELTIF VA RNV T ERAN LT
W7z L5 BRI 21 TG 2 HEOBIE, SRR,

‘ O EHWARY I X Size of solenoid valve ‘ ‘ O EIREE Rated voltage
@WH ‘/ g . 9"_:1. — TR SBAXF AC100V - 50/60Hz 1
Applicable cylinder Code AC110V - 50/60Hz 5
¢ 125 - 140 404
AC200V - 50/60Hz 3
¢ 160 ~ 250 406
AC220V - 50/60Hz 4
DC24V 5
DC48V 6
DC100V 7

BHER - BWEOEFE (Rc) —(8%8)

Port size (Solenoid valve)

OUT #— b
7y SUP #—k (P
i (P) ) 8
4A3[]404C 1/2 1/2 1/2
4A3 ] 406C 1/2 1/2 3/4

) ACL00V - AC200V (50/60Hz) @3 A Vid. 60Hz (ZBRY . Zh 24 ACL10V,
AC220V I ZAERASTTRET Yo



BT - A1 LR

MP665
Z S v
xFHEERN - AEETEE
‘iﬁﬁﬂnb N
E) 1K XEDT IS DINT A7 9 OB A DO EA R LET
2. RPNE BRES &~y A= B3 2BYA 7 &R L ET,
BT o
75 £l
s\ | C|A|Al|B | Q]BI1 MM D |[DD1| E | N M NN [ X1
n & [
¢ 125/121| 60 | 35 | 32 | 36 | 30 | 12 |M26X1.5| 35 | 80 [143|115|M14 x1.5| 19 | 800
¢ 140/135| 80 | 50 | 47 | 48 | 32 | 18 |M36%X1.5| 40 | 85 [160|125|M16x1.5| 23 | 800
¢ 160(135| 80 | 50 | 47 | 48 | 32 | 18 |[M36X1.5| 40 | 85 176|142 |M16x1.5| 23 | 800
¢ 180|145| 85 | 60 | 57 | 50 | 41 | 20 [M45x15| 50 |110|198|155|M20x1.5| 27 1000
¢ 200|145| 85 | 60 | 57 | 50 | 41 | 20 |M45%X1.5| 50 [ 110|220 |180|M20x1.5| 27 [1000
¢ 220|160| 90 | 70 | 67 | 52 | 50 | 22 |M56x1.5| 60 | 120|242 |190 |M27x1.5| 36 |1000
¢ 250/160| 90 | 70 | 67 | 52 | 50 | 22 |M56x1.5| 60 |120|270|215|M24%x1.5| 30 |1000
B mT— Mz LB
(8] KR
BAT mm
s
S5\ VU | W | Z|JW|[TT|H
N &
¢ 125/100| 90 | 20 | 19 | 6 | 85
¢ 140/112|110| 25 | 24 | 9 [100
¢ 160/ 118|110 25 | 24 | 9 |105
¢ 180/ 132|140| 30 | 28 | 13 | 125
¢ 200(150|140| 30 | 28 | 13 | 135
¢ 220(170|170| 40 | 35 | 13 | 150
¢ 250/ 180|170| 40 | 35 | 13 | 160
- —_, e
Oy RAIZS VIR FA
(78] R
BIfT
s
5\ VIW|E|J|T|UU
I
¢ 125(220|185|143| 18 | 14 | 100
¢ 140[255|212[160| 22 | 20 | 112
¢ 160|275|230(176| 22 | 20 |118
¢ 180|320|265(198| 26 | 25 |132
¢ 200| 335|280 [220| 26 | 25 | 150
¢ 220( 400|335 (242 | 33 | 30 |170
¢ 250| 420|355 |270| 33 | 30 | 180

137



ANE—F1—F 4 IFYUVY

- N MP665
XFEEREAN - AETEE
Ay K75V UH FB

FB
(+1E] Rl

BT :mm

©8
s\ VW[ E|J]|T]|TT
n &
¢ 125/220|185[143] 18 | 14 |100
$ 140[255|212[160| 22 | 20 [112
$ 160/ 275|230[176| 22 | 20 | 118
¢ 180|320 265|198| 26 | 25 [132
¢ 200| 335|280 | 220 | 26 | 25 [ 150
¢ 220/ 400 335|242 33 | 30 [ 170
¢ 250|420 355|270 33 | 30 | 180

— I LERR CA
CA

(+18] #HEx

B mm

5
55\ DD | D1 | R | T |RR1| K
W&

¢ 125| 25 [35.5| 65 | 20 (27.5| 37
¢ 140/31.5| 40 | 80 | 25 | 35 | 40
¢ 160/31.5| 40 | 80 | 25 | 35 | 45
¢ 180| 40 | 50 |100| 31 | 44 | 50
¢ 200| 40 | 50 [100| 31 | 44 | 50
¢ 220| 50 | 63 |125| 41 | 55 | 65
¢ 250| 50 | 63 |125| 41 | 55 | 65

—WILVEZRR CB

CB
(*15] #Hx
B mm
©5
s5\oD|D1 | R| T |RRI| Y | K
" &
¢ 125| 25 |35.5| 65 | 20 |27.5| 71 | 37
¢ 140(31.5| 40 | 80 | 25 | 35 | 80 | 40
¢ 160(31.5| 40 | 80 | 25 | 35 | 80 | 45
¢ 180| 40 | 50 |[100| 31 | 44 [100| 50
¢ 200| 40 | 50 [100| 31 | 44 |100| 50
¢ 220| 50 | 63 | 125| 41 | 55 | 125]| 65
¢ 250| 50 | 63 |125| 41 | 55 |125| 65
FSZ=F R TC
TC
€z =) =73
AL mm
e % ~T [T
7.7\ G [ P |P2]| L1 X [ XX| r iy |y
N # S &E|R A

¢ 125| 40 [160|170|33.5|31.5| 50 |2.5| 72 | 65
¢ 140| 45 (180|180|37.5/35.5| 60 |2.5| 80 | 73
¢ 160( 45 [200|200|37.5(35.5( 60 |2.5| 80 | 73

¢ 180| 50 [220]|224| 50 | 45 |60 | 3 | 86|75
¢ 200| 50 (240|250| 50 | 45 |60 | 3 |86 |75
¢ 220| 70 |270]|290| 60 | 56 | 80| 3 |105| 90
¢ 250| 70 [300({315| 60 | 56 [ 80| 3 [105| 90

138



BHEAT - 71 LA

. MP665
£BIEB }
OFFEH /N —Bff~F% CP665 T EFl— T T o127 N— S % ZBBL £ &L,
OO0y NkiwmeBE~T*E CP665 L FA—TT,172 ~186 X— U & ZBBL &L,
OHEFE/ Ny X S L HERIE. CPEB5 S ER—T T
129 R—T & TSR,
@ERITEICOVTIL, BlEBHAEE /23w,
L LpabE s CP665 £ F—T 7,
AiEH 207 [HTER (CatNo.2224) | % TS8R £ E W,
O GLES 130 "— T DCPE65 52 U > 4 ANEDERICTENERAEE

EMATLIZE W,

OEFRETv LT - BEX B kg
FOIEFE ¢ 125 ~ 250
)z—> 0.9
F—IL R 1.03

139



ANE—Fa1—F 4K IF7VUVY BFT - AU AR

140



AL Ft

A1 LA zrovv4

Oilless enclosed cylinders

with reed switch

009

TRME ) > 5 CP665 BICA b =7 WiE R D

V= XL v FRIEBLIEAL v FH D) 25,

APRRE 2B R LI ES L E L

Oilless enclosed cylinder based on CP665 with reed switch for
detecting stroke position.
This cylinder boasts high adaptability regardless of loads or
operational environment.

:/ U \J 9 ﬁ: ﬁ Specification(Cylinder)

®RXi =

Oilless enclosed cylinders with reed switch

BT - 21 o

Model code

SP665

e @ A K

Operation type

'y W

Double acting

3 Lubricant i = néﬁﬁ%ﬁeﬁs){ 7
Fa -7 RARE ¢ 125 ~ 200
(Ed . .. 7 0.2 ~ 1.0MPa
2hO-sHBEE 6 250mLT)

Stroke tolerances

*14(250 ~ 1,000mm)

Ambient temp

E X b2 REE N

Piston speed = 50 ~ 500mm /s
B C A =

Thread tolerance JIS (6H. 6g)
7 v ¥ a3 WHIF 7y a
Cushion Both ends (Air cushion)

i} £ Vil

Proof pressure 1.5MPa
s i i B -5~ 50C

A A4 w F L BR specification (Switch)

JIS i85 JIS Symbol
= ) X

==

Isolation resistance

e SW-1 SW-2
3 iR
Detecting method Proximity of iron
fe Fd ® 8 B | Ac/DC5~ 115V | AC100 ~ 220V
f ﬂgat'é::é cﬁeﬁﬁ & 2 ~ 60mA 2 ~ 30mA
= KA RE
= Pov-\)ir ratin? = 3w 6VA
FRAT (5> 7) |RESAA- K ONBRIT| 2428 OFF BT
(5B h 8 %) ight when switch is on Neon lamp light up
Lamszeakage Curlrent) whe(q ;VKEQF')S off
g B & H 20M QL E

0

Withstand voltage

1,500V 1 &

[E] @ <8

&

Protect construction

B Ambient tgzwp. -5~50C
r #E B =

IEC #1% IP-65 (JIS C 0920 &) #HY

i) 1.5CLF T IHMAOS A, itk ok &bk L
2. FREDAOHART TR 4 2 a1, BlET

FRED K ) TEELZZE v,
&,

3T A2 LIETEETA, AT 5 & 7)) — AR S E 3 O TR A
Y)Y FE LT o TSV AFMTCIHAMEAY T Z L1220 $905 0%

DFGIMEEDS LI E 2 ) T3

Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent

problems due to freezing.

2.Consult factory for non-standard applications which are not coverd by above

specifications.

3.Can be lubricated but the grease will be exhausted. Although durability is enhanced
after the lubrication, continual lubrication will be required.

& #R
(P9 #B @ B% )

Internal circuit

2

i) SW-1 Ot T (2) |

JIERR L RV T S v,

LRSI OTEE T TR OW AL, BBV AR EE v,

141



ANE—F1—F 4 IFYUVY

2 I0 50 B (72— 7R 125 ~ 200) cisricls L T FROBRTE T IRE AR 0,

Model code

SP665 - ;g_ mp_

PAPEEL S

X

Fa1—TREF Z hO—% Ay NEmels
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ OEH/N— Dust cover ‘ ’ OQF1—THE Bore size
& L N 125mm 125
ithout 140mn 140
7Oa7L > (E#) A
CHLOROPRENE (standard) 160mm 160
ME RKYF7IRKoAR B 180mm 180
Material POLYAMIDE CLOTH
FHIFAXFIOR 5 2eom) 200
ALUMINIZED CLOTH
) BEEEA N— O AL 113 R =P 2SI S, e ZhO—% Stroke
Please refer to p.113 for the structure. (Y1 ZTTHERE & WY,) (Please order it by a mm unit)

’ CEz A" Mounting style‘
% B £ B & L N
Without
g 5 @ 7 — b~
Foot LB
0oy K@ 73 > 9/
Rod end flange FA
Ny Rl 75 S| g
Cap end flange
L, |— W7 v E 2 ¥
gzgﬁéd Single clevis CA
t 5 . Lo -
S?)?pear — 7 LEZXKBE >R CAA
Single clevis /joint pin
- b7 r E X W
Double clevis cB
W7 LEX®E >R
Double clevis /joint pin CBA
T
Trunnion TC
— I LrEXEET Y Yo
Single clevis /rolled bushing CAD
— W7 LEXFHEHT v ¥
Single clevis /lubricant bushing CAB
— I LEXRWSPT v ¥a
Single clevis /SP bushing CAP
Single clevis /CARBON STEEL
, | S LEXMET v a
yshi Double clevis /rolled bushing CBD
Mpe  [CWILERBF——TU- b EXM | cpye
Double clevis /keeper plate /joint pin
ZWIVERRE=R=TV=h €V FYRZy TIfE
Double clevis /keeper plate /joint pin /grease nipple CBKG
W LE XM ixFEE CBS
Double clevis /CARBON STEEL
NZ =2 F > Wk EEE
Trunnion /CARBON STEEL TCS
N2 =4 > ®(x X)
Trunnion /female screw /steel TFS

i) —HEETERWLONH Y 9. BEOTEHIZOWTIL 160 R— Y 2B 280,
Please refer to p.160 for details.

142

emAA MO

Max.strokes

e /A MO
Min.strokes

-7 ¢ 125 ~ 160

800mm

¢ 180 ~ 200

1,000mm

-7

TFIEAE A A v FHUSTH L E720EAA v T ORHITEE X1 HIBR

BHY Ed. FEMMiE, 148 =T F TTH S0,

R !

Piston rod attachment‘

Rod end eye /SP bushing

2 & « B & LU HECA
Without No entry
Y i v
Rod end clevis
Y % (e > f ) YA
Rod end clevis /joint pin
/
EXW YR (> f) sle>f|  ye
Stetuygeard Rod end clevis /joint pin /split pin
I i I
Rod end eye
I ® ( B > f ) IA
Rod end eye /joint pin
Rod end clevis /rolled bushing
YHx—/X—TL—FhF-Ef YK
Rod end clevis /keeper plate /joint pin
YFx-1R=TL—-hEST)RZy TIVf YKG
Rod end clevis /keeper plate /joint pin /grease nipple
Y @) kDT T YM
Rod end clevis /detent angle
BYHE-1-TU-p £ )LD T T
rey:zhiz Rod end clevis /keeper plate /joint pin /detent angle YKM
Appli 7 P —
e | AWHEATo- b T AT |y
Rod end clevis /keeper plate fjoint pin /detent angle /grease nipple
Y ® &k % # & YS
Rod clevis /CARBON STEEL
Rod end eye /rolled bushing
Iﬁgﬁlﬁ\ﬂ37/:/l'ﬁ' IB
Rod end eye /lubricant bushing
I ®SPJ v ¥ a1 ft 1P

i) 1.YM, YKM, YKGM ¥4,

0y FE&REIRT Yy 25y PCEELE T,

2. —HBECE Vb ONH Y . BIEOWHIZOWTI 1A RV E B 7ZE 0,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.




ALY FF - A UARS

Ay y7Fy b eEEN BEah eUyiz
Lock-nut TyialER LB DiLE
Port bushing Port position  Cushion
position construction code
®ovyFvh Lock-nut |
Oy7+y gl |
Without No entry
Hy 7%y b1 {Ef L
1 lock-nut
2 lock-nut
) 2N OBATL Ty M Y ofiER ik, LEFOREFR T,
BEPLERIE A 2 TR S,
Ty 7 Fy MIBLTIE, 176 X— Y % TSRV 3,
Please refer to p.176 for lock-nut.
’ QREEO 7 v 1ER Port bushing ‘
TyiakL A
Without No entry
Ty aft -
With

W) 7y ald 1BEEL T, fl2iE, Re3/8 775 Rel/d ™~
This bushing reduce the port size one step down. e.g. from Rc3/8 to Rc1/4.

27EESN
RenDFZIE

Pressure vessel

’ O REDLE Port position‘
Oy KAH/IN— Ny RAIN—
Rod flange Cap flange
1 (F%) 5 (iR#)
RS 1 (Standard) 5 (Standard)
Code of the position 2 6
3 7
4 8
i) ML 2 v Y a OB, F—HICE#ETE A

Cannot establish the plumbing and the position of the cushion in the same aspect.

’ @7y a i Cushion position‘
Oy KA/N— Ny RAIN—

Rod flange Cap flange
1 5

RErEOIE 2 (%) 6 (=)

Code of the position 2 (Standard) 6 (Standard)

3 7
4 8

XOODREHNETHHE(Q:1-5.0:2 - 6) L 2 2HEDH, WARETT,
1A TOEEDN D B35613, ZTRRALTLZE N,

In case of standard position for both ® and @ ,the code is not necessary.
i) BEL 7 vy a oz, F—mIERETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

| DFE2BEHRIBDFIE Pressure vessel construction code

FERZ Y A
Not apply No entry
A
7%= oo
Applicable Vi

) L& 2 MEIE A a3 IR G it & BT A AR ) E 9
2.5 2 MBI ARSI LTI 12 =D % THHEEC E5,

Please refer to p.13 for details.

| U—FRZA4yF ]

feH ﬁi Liﬁ L»r/aw)
BE

firE
Rated Electrlcal

Position PrOX|m|ty
voltage connection to detect switches

type
’ ®R1 v FEREE Rated voltage
AC/DC5 ~ 115V 1
AC100 ~ 220V 2
’ ® 21 FIEEFHE Electrical connection type
Lead wire
DIN X7 % PG-9 D
DIN connector 1/2NPTFE N
’ ® X1 v FRYHHIE Position to detect
i fAl
Both ends B
Ay R
Cap end H
By K4
Rod end R
’ QX1 v FOEE Proximity switches ‘
| S W ® A

143



144

ANE—F1—F 4 IFYUVY

U=FAAYFOMBRL ECERLEDEETSIA

A
==

® ©06

@

A4y Fid AR SN E B 2 TR L 2wt 280w,
)= FAA v FI, BEERA (A ) T TE /A,
U—FR2A v Fid, BEER b T v A4 EHSEEE LI TRV
WHAT BT TN TE T A

F— VEEDET HFEAMN () LB & ok,
RWEHBTOY — F2A v FOMFIZ LRV TL 23w, TS 0fl
FAGAEDHEE SN ABAITIE, Rk 2 2T T L E S0,
BB R A 7 —ay 25712 — F AL v F 24
LA, WA 2 TR O R REE X T S, ) — F R
4 v FUNOEMNDZ £ v F. B 52035 51 v
y—ny 7 FHRERH 230,

Pk & EWENEDOD DT CIIMERI L 2 25 2 DB D 3,
WEEDHERGIZ I3 L I8y 712 X B K O BRI I3
AN—m i HE 72 &0,

A4 FENEEOWR B HIZE 5 ) ¥ OFEEINE, TR GERIR
12D FFTOTEL BT, RS 24 v FRUFEICW 5 A5
FELTOROWPHER L, WLMHDEIT-o TS0,

1. % i 7R

@2 brO—7 - FERADE E,
0F ¥ YA MYEWHEEILECHESETBE, VY ¥ FD
W ERiA SENEFNRAAL v F2EDTTLEE N,
B2 SEDTTAAL v FHAON & %o A, H05EDF
TONE Lo BEDOHPEIZA AL v F 2T TL 7280,
oY X b yOBEHIMZ., HEHOVOINL—THHALTL A
By, fEEEE T, BIfEEE X AN SLRR ) 9,
WAL v T - PN OAE. V) YT DY R b AR
FTEZWE D) THEELEE N,

12) 21 v FRIFFE

Da140y FAXBFT D EZ, (F2—7HE: ¢ 40 ~ 160)
0y fuy FIZAA v F 2RI HEEIE, ¥4 0y FOE
IZAE.90° Do DMz )i n4 7T A AL v FEAN DS ETY,
KPS H A7y NI T IR 723,

BT IER
OX A v FEHNAr v b
O T U AL E IS
EWTLZE N,

ex A v FoIHIiE, A
A v F O BAS A3
(75 VM) Lhbk
H TEEL SV

[ 1) Eh{ERERE
OUR YA BEILTAA v T e
MHONEZRD, &SI
B L A4 v FHAOFF
LB EFTOWEA N ET, =>
|
0 =
BHFEERE
(25 =

O U N IAEEH LT AL vFA0
N & 7% o 727 S s ¥
A NYHEBEHL.OFFE %5 F
TOHEEZ T, ZOMIC
=28 NV A | e 2R S (S )
EEARE LY. ot
GLOWEEZIRT L) 7
DTAA v FRA OB A5
ICTTEE L& v,

-3

2. 24 v FRf LOFEEE D

OGHI & LT, BT 228 v, & TS AER IR 2 B2
VF BT COMHIEBREET < 7280,

O AN L BICHAE L TV AYII Tl EBIOBRNTH ) T3, M
BB T SHEF L& v,

O 2 A v FITUE WAL — TV E MR L NWTLZE W, Fo0 A4 v FHGH
XTEZMRY WL ORI EEE L & OB IR OB L THE
LTL7ZE W,

2 4 v F % 2HULEIUFT B, HAETH% 2135720, ZhEh
20mmPL L THUFHFTL 728w,

L) R @

@OZxrO—7 - IORDEE,
AL v F#RANKRY Y 3 »CEIG
SELH7-0. 0y M~y FilE
W2 Z oA CEUS T L 2
élf\o

W Z 103 147 R — D OIEIER %
TS v,

O H (Bw) 2 RXAvnT
LThrhnrbayfay
FIiZ S HBT—HDE
Hh L7280 CAL v F %
Iz TL 8w,

o4 H (v MR M)
DY AT L Oy
FOTIZLT, Y b
A b (N R &2 Bl
DERoRICEHEE, IE
TR TL 28w,

OCDIKENT T, A v F
AR EILICHIBICA
T A F & THRE O
A Z e LT3,
X A v FDMEITNSM
LyFERMHLTEY
bRV b EHEATTL
728w,

O L 713 1.2N-mPLT
ELTLZE

QN FHRBIFTDEZ,

(F2—TPIE : 180, 200854

\ZHEAE TN Y R ORI

US|

ONY NIZTAAL, vF %
AT 28E1E 20
¥ Fa—TOWE
AL EOMEIZA A v
FHAHF AU HET T,

I N Y RIEH S %
TR 728w,

O/ N FHESEX — 7 — 4]
’oA R ML %)

O A -y FEATHI




ALY FF - A UARS

SP665
[3) XA v FHEBRAE (X1 v FOBH) | [2) aEER
mEEIES -
oL Hoty NEL MR ¥ X |EHEE/RE ST Y
Ly FTBOTLES
R ocs~tisy| |
D3 V4 = ~ =l
254 FTXBIRIER SW-1L |, O &,
2 ~ 60mA
LET, (L-D*N) awl @& [
02 v FLEHE i
VTR O AL E R B S ] s
FTLEEN, AC100 ~ 220V Lo
¥H Ay NASIEH IR SW-2[ ] N o
: 2 ~30mA
BICHDILRMAL (LD *N) A ‘
TLEES W, gaE=ine
@ SW-1 DR @I F (2) ISR L2 nT L2 S0,
OB D AL v F R @SWEA T - V= FAA4 v FId, EWERLBR LA
N ey HATEEEA, L0, BHASYEEET 2551 152
HIFT S0, EREL2ZE v, (FMOT &S, 2L v FHAKEHIAT 5
A BV 21, 1.2N-m BABhrdh £3.)
PIFELTL S, @ FENAHRE A RAWE RT3, Y2 FaT ) L—
A L CHAEIR 1T - TSV,
DHEIZF 27 L —H5E5
FR B RM %Y NFYZyJET HC #
L0 MY £ =35 RD &Y
5. ERLOTEF I | 5iTK | 6P | mainus

(1) SBERSI DS |
DU—-FEXLDE =
oy — N, MBS : ¢ 5VCTF 2MALTw 33, B33

Im#zE#EE L, Zh U OS2 THEOBI, 10m % 2

HELTWETOT, ZOFEITHRRLIZE 0,

0 — FMBIIEFIR MR 2Mb SR L 9. U — FHIC
K EFEErO, MY RHE T IRy FEIIZI 7L
TLEMLTL SV,

0 — F#lA /NWN— 1N E TS v (AR KK
D FET) Sy,

@DINV4 vy FR(D.N)DEZE

0y 47 DI rI vy b—DBHEENLTET,
BRI TOF Yy TIAYI— 2 THHLZE W,

KHMPTFa— Fid#EL TEA,

ey {7 NIZIEZFI vy Fhy MEZHBLTWwEEA, 71
FUTNREZ—VEREFLHOTEML TLEE W,

MERMEOEMREITHEL A,

@unIohny 478, ¥—3IFVICIEHMTF 7213 ¢ 55 /NEE

B T2 HWTL 72280,

@Dy P HAN—DMEZER DL ETEMIN LA 180°

EroNET,

® 24 v FEEEREO E £, A 2B ST RnT L2
S, GRECH, iz i) F 2B Td - T BRI
NIz ZA v FIEHR E SR L TL22E v,

4. % ot
[ 1) FRAT \
DFNT A+ —F (SW-1 ¥4 7 - ZEMH) OBaiE, A4 v FE
BHREICHIT LET. CmAUTTRATLERAOTITER
L 7EE W)
@ AF VE (SW245 47 - ZiE M) oaid. A4 v F 5
VAT U905 ARG T, ST L EEADTIER
{28V,

[2) 5B - B |
WAy FIRERE LT, SRAIEE), #8% 52 20Tl S
Wy,

145



146

NE—Fa1—F4E I T7IVVIH

U=RRHFUFPZYEIIV SPO%S |

SWHAT - U= RSy Fi&, (ERMDEBEARIV T FTHoEVZETEROBHEERNEMEL, BIFVATLED
X AVTFVADBHE. FU Y IHBNORINEFEEE SITAAMZIALE Ui,

1. 51 ERiESRE AR DER - TBEHPEHRBTE, THIC. AR v MPERTEERR/—YOH@bZEn D, 3Tl
7 N ~ S = —d sb7w
21 v F 3. RHEE ARG E BB LICEEIET Y, BOYVZ TN SRIMABARECT
U—REP DIN VI Y FAROERPREWA D EEETT 4 RERBEFS,

28 ELELF A TORERICH. 24 v FICHBEZNE LA gy 1 TTIN S5V UV D
SEMAS (7. THAEAYA TD2 51 TEEEELET, WBICEFREL . F1—TYA X0 40~200EDEEAED
OS2 I,aY O S DAAEE LT, Fhe—F a7 YUYSICEATEET, (BL. Fa—IHHEMMETER N
UL—. IVEBHHEE DBEEBFEAE U TRASHEULET, YHHEFROY UV TICRDET.) LLE., A1y FR>IVIN
E5(C. EEEEDESICHAA v FLAETmT BUENTL . I RT. ZOSATNEMAMZRBATNEIDTYUVFLL
BSIEEIIDERNEE DD Z DB T OK TT SHBEDEEEYYELTHTERVEEITERTD,

B XUTFVANEBR. 5.4 =277 ) —INERNK,

I BECiRZENT LWL RA Y FREDITIRDTEX T, I R yFEm/ A ZECERNENNU XS ZABEL TVET,

| FeRERD Cpimtien [ 4 v FHE) TIA 4R TIA 725+ )

Model of reed switches

SW - -

AR eSEBE BERF1—THAZ

{FHEE OiEE Applicable cylinder
Rated Electrical
voltage connection
| @ EREABE Rated votage | | @ BAF1—THAR Applicable cylinder
125mm
AC/DC5 ~ 115V 1
140mm 80
160mm
AC100 ~ 220V 2
180mm 180
200mm 200
¥ 180 200 DA A FHUF I NS FHRIZAD £5,
’ A S EROES Electrical connection type (
1) — Rig=X L
Lead wire
DIN PG9 D
| CEREENE: ¢ 7)
Yy b =0
cl?cyr\llnector o 1/2NF3TF N
(97> FFy bF0Fy hEL)

AAYF - N EER

SW-[JL/ U— Kig SW-[ID/DIN V4 v b (PG9) SW-[IN/DIN V4 v b (1/2NPTF)
70
31
‘
) ‘ = !
== O B o J A
(= -]
13 13
$5VCTF(1m) = ‘ ==
(0.35gX2) —4
o 1/2NPTF /: [‘ ‘ - ] Q




ALY FF - A UARS

ETER

SP665

ZIFZELL

N-¢125 ~ 200
»Fe Loe sFie
8
4-M EE EE Q
(2mh)
¥ ¥ o MM
115 = 5 1 >
byyayrng ¥ @L T — 1 '@
o o
2 4 8 4 al @
M- . - T —+ 93
@ & - = = E
3[7 7 3
Bl
ON B A
max.17 )3 NN L(LL+R kO —%) C A
BAL :mm
= DU Sk 2{yFEtE | BT
5. TR~ | LL (o] A | Al B Q | B1 MM D |DD1 EE E F N M NN |YD|YL| Z o |7
¢ 125 121|160 | 35 | 32 | 36 | 30 | 12 M26 X 1.5 35 | 80 Rc1/2 143 | 18 | 115 M14 X1.5 19| 35 | 22 1 |30° | 800
¢ 140 |135| 80 | 50 | 47 | 48 | 32 | 18 M36 X 1.5 40 | 85 Rc1/2 160| 20 [125| M16x15 |23 |33 |20 | 1 |30°| 800
¢ 160 |135| 80 | 50 | 47 | 48 | 32 | 18 M36 X 1.5 40 | 85 Rc3/4 176 | 20 [ 142 M16x15 |23 |31 |18 | 1 |30°| 800
¢ 180 |145| 85 | 60 | 57 | 50 | 41 | 20 M45 X 1.5 50 | 110 Rc3/4 198 | 20 [1565| M20 x1.5 |27 | 46 | 29 | 1 0° | 1000
¢ 200 |145| 85 | 60 | 57 | 50 | 41 | 20 M45 X 1.5 50 | 110 Rc3/4 220| 20 | 180 | M20x15 |27 | 45|28 | 1 0° | 1000

1) ¢ 180, ¢ 200 1k N> FHUF K

147



148

NE=Fa1—-TFsREIT7VUVH
. SP665 |
-~ ~ =
AA1vFHIYUIYSY - mg/INA MO—2 |
BT D mm
it ) X YV EFa—T ¢ 140 ¢ 180
T | MHEE 24y FRALE (L) M ¢ 125 160 200
Ay RAIRRH Oy NEl&H
o Bl 55 55 55
sH o e
Qv
- T fEh o o o5
FA
FB
o S =]
0] 1l 55 55 55
y | P [ED} J:
|
i
%
E (T 125 120 125
MEII E]]
. a ~y || I 7 110 115 120
1]
L L"" S.Rmin 157 169 178
BLAAMyF
FE B A3 48 ~y |~1Eu Oy Kl 120 130 140
SX R ARt
EVINGERS _
S.R min 168 181 197
TC
n 195 205 215
o 1l [L,] S.R min 157 169 178
0] il —
B L S=R ﬁ 215 230 250
S.R min 168 181 197
Xt . ) e YV EFa—7 ¢ 140 ¢ 180
T | PRE 24y FRAHLE (L5 Wi ® 125 160 200
Ay R E Oy R{EIARH
B Bl 30 85 85
s [l
®
LB g s IE'- 30 85 85
FA
FB
CA -
D ! ElN
P lca|m M =~ | oo 30 85 85
N
v
7.
V2
L 5 [EDJ @]: 165 165 170
st
~y Kl A KA
" l /éﬁ.‘f. pram 90 145 150
| ....|- _
S.R min 138 199 208
D BLRA 7
JE B A5 18 D Ay |~1ﬂu ay Rl 150 160 170
SX IR R
EYINGE P .
S.R min 198 211 227
TC
165 265 275
L] I@I@ = .
B Bl : S.R min 138 199 208
0] 1l
8 L S=R ﬁ 275 290 310
« = S.R min 198 211 227
) LEMS - ALy FHNVT LAY 27 T MS665 (B46 X—3) DAt ROITIZTHERECZSw,
2. TC ¥ yfﬁ/fmt% E b T =AYl OMEARNA PO =2 L) T3,
[CIEADN HOWHTFM [2) Y FHRHT 7 v b ORKIZE D AL v FHETEHT L6050 50T, AL v FIEHEB LA L v FILS - Z 1%k TSR Z2E0,)



ALY FF - A UARS

HX&EIEB

SP665 |

OREEE

Oz & ER - SHTiE

OFFEH /N —BF~Fi&

®0 vy FEimeR~iE

LR EIADE S

L LAt

OHRE

Gl

D) A EBIECPE65 AT L. EX bR E F 2 — THED
EEINETH ERNBERIFE—TT,
MINR=—TUEZERIEE L,

X & BEBIICPEES I ER—T T,
121 ~126 "= T & TR 280,
ZDABDTEIENAT =T & TERZE L,

CPE65 M ERI—T 4127 X—=T & ZER 1280,

————————— CPBB5 W ER—TF,172 ~186 X— Y & ZHHL &L,

) L HERIZCPE6S 2 ERI—T T,
129 R—J & ZERBLLZE L,

CP665 2 L B—T ¥,
A 207 [HiliER (CatNo.2224)] & TSR 128 Ly,

130 =T MDCP611LU f4/CPEB5 52 V) » S ARIGEDEEICT
DRy FEEBEMA TS ZE L,

OXAMyF  -EBER Bt g/ fA
21y FOBE e Z2H 4 XHd@
L 100 (U —Figz&®)
SW-1 S
SW-2 85
N
| RiteEty b 30 |

149



ANE—F1—F 4R IT7IVUVS AL YF - AL UVAR

150



BRI - R1 ¥ FH
FA VAR 72904

Oilless enclosed cylinders with 5-port
solenoid valve and reed switch

w609

3
o
Jio

JIS Symbol

RG> ) > & - CP665 JBIC 5 K — P &l
)= FXAL v F2 i LEHE YT Y,
gazy bo—LIZEZA) v FEEPEET,

Oilless enclosed cylinders based on CP665 with 5-port solenoid
valve and reed switch.
Advantage of integration of each unit can be fully enjoyed.

-

G

==

SI%EIK[[

Kmnis o

:/ U 4 9 ﬁ: ﬁ Specification(Cylinder) % ﬁﬁ # ﬁ: ﬁ

Specification(Solenoid valve)

W, - WA, A1 v FA B 4A3 [
iz X i & Oilless enclosed cylinders with 5-port Model code
Mode! code solenoid valve and reed switch W gB B h = B g [y
MS665 Internal leakage JIS B 8375 (& 3 MREBLUT
\ 7 HEBEL DR ERBEIX L+ 10%
fE O;%’ration ?\?pe o ﬁubl%jactiﬁg AulIowable?/oltage%luctuation + 103!/2' of applicable voltage0
g =] o~ IS
‘% Lubricant 5Eh = néﬁﬁ%ﬁeﬁs)’r j) - Emperg%ure ri E ZﬂgX%%gF
T - T A& ® B @ 7l JIS B 4003 B 1&
< Do s 1 ¢ 125 ~ 200 Insulation class Class B
fi W iﬁ IES jJ 0.2 ~0.7MPa ! Power consumption AC 6VA DC 5.5W
g e o : fE8 (J5%) BRI | ¢ 125~200 005 BT
_ ~(250mmLL T esponse time = 0.05s
ZbhO—-7HAE 0 Under250mn
Stroke tolerances e
44 (250 ~ 1,000mm)
® 125~ 140 | 50 ~ 500mn /s A1 v F T Ek Specification (Switch)
Piston speed ¢ 180 50 ~ 320mm /s Model code
w H A A Sk AR
¢ 200 50 ~ 260mm /s Detecting methodI Proximﬁ of ﬁon
C A = R EBE# HE ~ ~
S JIS (6H. 6g) - s L AC/DC5 ~ 115V | AC100 ~ 220V
7 v ¥ oa > BEI7 Iy as R & i & H 2 ~ 60mA 2 ~ 30mA
Cushion Both ends (Air cushion) = j’zat;% CFL:EST“ —
it [E5 7 = A &= 3w 6VA
Proof pressure 1.05MPa Fowet rating S ey
® B B E 5~ 50C KR (7> F) |BE8514- K ONBar | FT 4 OFF Bl
Ambient temp ( IE i B8 /ﬁ ) LED light when switch is on when switch is off
1) 1.5CEFCOMMOB AR, FIOkD % RE L, BEEOR LD SR S0, Lamp(Leakage current) | —————— (1mA IF)
2. FRRDALOARRT TR R 2 5580, IR THRR 2 S v,
BRI B 2 BT 3 2, AT £ ) — %A S 1L E T ORI ﬁﬁ]waﬁn ,esfgamﬁ 20M QRIE
P YFE LTI Ro T2 S, #MCHAMEART I &12% 0 305, 20tk
DRMERALIEE 5 ) £+ w & E 1,500V 1 48
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent o iExig \{oltage
problems due to freezing. E_l @ = fg _5~50C
2.Consult factory for non-standard applications which are not coverd by above Ambient temp.
3gpecg§élitit?rn§éted but the grease will be exhausted. Although durability is enhanced 'f% %E *% iﬁ
. n 1 wi X . I} I =3 | < M
aﬁer theLIJubrication,ucontinEal lubrication will b: required. ven cu Y Protect construction IEC *E*g IP-65 (JIS € 0920 Kﬁuﬁﬁ) *Eé
(L) 2
=} *ﬁ -
(P9 3B E 38 )
Internal circuit
1 1

) SW-1 OFRfaag@iF (2) 12134

LT 2280,

LRSI OEEIC T THEAOW AL, BlEBRVAE S,

151



ANE—F1—F 4 IFYUVY

2 I0 50 B (72— 7R 125 ~ 200) cisricls L T FROBRTE T IRE AR 0,

Model code

MS665-[1] -

!Ivr 8

PAPE Y. NS

X

RhEE/N— Fa1—TRE Z hO—% Oy Reimres
Dust cover Mounting Style Bore size Stroke Piston rod attachment
’ OEH/N— Dust cover‘ ’ O@F1—THE Bore size
& L N 125mm 125
Without
> 5 140mm 140
7Oa7L > (E#) A 0
CHLOROPRENE (standard) 160mm 160
& RUT7IRF7BX B 180mm 180
Material POLYAMIDE CLOTH
FIWIFAXEHAR b 2007 200
ALUMINIZED CLOTH
) BEEEA N— O AL 113 R =P 2SI S, e ZhO—% Stroke
Please refer to p.113 for the structure. (Y A ZTRTRLEEWD,) (Please order it by a mm unit)
e 2! Mounting style | ®BAZMA-7——[5125 ~ 160]  800mN
ax.strokes
¥ B 4 B i L N ¢ 180 ~200| 1,000mm
Without @B/ NZ hO—2
7 7|\ —_
& A M| FZ)t -~ B LB Min.strokes
= T 5 > U W LFIER & AL v FHUSTHE., F720EA A v F ORI L 0 HIRAS
¥ A AT e V% B RN
Rod end flange FA HYFF, ML, 48 R—TVETBMLEE 0,
Ny KAl T 7 2 YW
Cap end flange FB ’ (5 YN 3=} Piston rod attachment‘
, | T 7 L B W ep # & & B & L HEEA
B YN Single clevis With { N. i
Standard 5 2 Lo -~ thou o entry
type - IJ.I 7L E X W E > 'ﬁ' CAA Y i
Single clevis /joint pin R e @l 7 Y
Z— 7 vr E X W CB 7 5 S
. Y % (g > & )
m Botbiololoys . Rod end clevis /joint pin YA
- J L E X E >R - Y [ T F L
23 BBl £ CBA St?ndeard ﬂ:Fjlod(end c;vil-‘/rjoi)nt prrl\J/spIit pj1 i YC
NS = W TC e I o
Trunnion Rod end eye 7 |
— W7 LEXRMET v Ta % ER
Single clevis /rolled bushing CAD I E’R . d(en g é:ye : o - ) IA
— I LEXFHEMBT v a 2 S
Single clevis /lubricant bushing CAB Y ﬁ%odﬁd cgvis /ri)lledgushi_;‘\-g ff YD
—IJ-I7|/l:Zﬁ3$P7y:/:L CAP " o o o
. : ) YR¥x—X—TL—FhF:Ef
m Slnglloelens dol bushl; T Rod end clevis /keeper plate /joint pin YK
— W7 LEXIWxFHEE CAS YHE-N—7 AT
, ; JE—IN=T L= EV TRz y T
mSlngIe slevis /CARZN STEEL Rod end clevis /keeper plate /joint pin /grease nipple YKG
WU LEXBET v Y2 S YA LD T F
Imy:zhia Double clevis /rolled bushing CBD BY R LT T e YM
Applied S LEAT% =T h-Eof Rod en; clevis /detent angle :
ype - v = h CBK B Hx-1=TV-b €V BIEHT LTI
ulJDoubIe gieyisy I;eeper plate /joint p-/lpn m y:zfia Rod end clevis /keeper plate /joint pin /detent angle YKM
ZWIVERRR=1=TU=bE FURZy TIf CBKG Applied "o I
! - ) ype ANHE-18=-TV=pEV TV00 F) A2y T
DOUb:LdeV'S A A e /g;as; n'g Rod end clevis /keeper plate /joint pin /detent angle /grease nipple YKGM
- 7 L E X x FE i E 7 e - 1
Double clevis /CARBON STEEL CBS Y R’Zj e AR‘?&N ST%@L = YS
Mo Z 4 > Wk R & TCS I 7 % j S
A 7 7 v ¥ 2 ﬁ'
U /CARB;;N S(’TEEL ) Rod end eye /rolled bushing ID
M7 Z # > B (X X AT
Trunnion /female screw /steel TFS I ?;Z d fﬁ d é;i/ae /|u7b i caj - bjshi;t; e 1B
) —HEECTE Vb ODH ) 3, EHEOUTIZOWTIE 160 =V E B 72 S0, , s N 2
Please refer to p.160 for details. I ®sp7 v > 1 f IP

1562

Rod end eye /SP bushing

) 1.YM, YKM, YKGM ¥4, vy Fhingizay 75 v S TEELE T,
2. —HEECELVDOPDH D FT, BHEOTHIZOWTIE T4 R— DRSS,
Notes 1. In the case of YM, YKM or YKGM, fix with a lock nut.
2. Please refer to p.174 for details.



B - AA v Ft - TA LU AR

Ty L’Z&Eﬁ !#ﬂiﬁ !#ﬁﬁﬂ% !ﬁ‘.ﬁ !r';f’rﬁ !Eﬁﬁ !ﬁﬁ Liﬁ

BB

U—NZA{yF

Ay7Fy b eEED J f f 21y FD
Lock-nut i (i BaDiE W& OEE i O EE B HE B 1EE
Port Cushion Pressure vessel installation Solenoid Electrical Rated voltage Rated voltage ~Electrical Position  Proximity
position position construction code position of valve valve connection type for solenoid valve  for reed switch connection type to detect switches
®OvyFvh Lock-nut| | DRARBOES Solenoid valve
Oy 77Fy &L |ETA SOL.
Without No entry ) &a—> EEIEI s
Ov o+ b1 {Ef Return A=k
1 lock-nut L ‘ ‘
Ay 7Fvy b2 ﬂEHT.f L2 SOLb SOL.a
2 lock-nut K=K IZEIEI D
) 2B OBETY Ty M D oRER S, TEFOREF T, Hold P
T AL A iR SHORC 250 [ |
Ty 7 Fy MIBLTIE, 176 X— Y % TEMREV 3,
Please refer to p.176 for lock-nut. i) %ﬁz’gﬁm;\ YU FACSFOI L FA-VHELTRE AL T E
[t VAR Do S
Included speed control mufflers as standard equipment.
’ VOEEDOME Port position‘
Oy KA/N— Ny RAIN— ’ @ EHAREE S E Electrical connection type
Rod flange Cap flange
N s )— K v
1 (e 5 (E%) L L
EREOAIE 1 (Standard) 5 (Standard) = _
Code of the position 2 6 775 N
DIN %7 4% W/ indicator
3 7 DIN connector S LTHEL D
4 8 Wr/o indicator
W) REL Y Y3 L O, AR RETE 2 A, Bﬁv?;te:lr 7;0’;9 w
Cannot establish the plumbing and the position of the cushion in the same aspect. p

’ QOrva> i Cushion position‘
Oy KA/N— Ny RAIN—
Rod flange Cap flange
1 5
ERE DA E

2 (iz%) 6 (iZ%)
2 (Standard) 6 (Standard)
3 7
4 8
QOO HENETEE(@:1-5.0:2-6) L 2 HEDH, FEARETT,
1 AP COEEN D 5981, &2 TRRALTLES W,
In case of standard position for both () and ®) ,the code is not necessary.
) BELZ v Y a yoMEE, F-mICIGHETE A,
Cannot establish the plumbing and the position of the cushion in the same aspect.

Code of the position

| @FE2BEHEBDTIE  Pressure vessel construction code)|

FERZ S m fBECA
Not apply No entry
S AT
AX =]=}
Applicable Vi

i) LA 2 MR a3 IR i & B B S R ) $ 5
245 2MEIE RS LMICE LT 12 =D % TS 5,
Please refer to p.13 for details.

| O ERABHIE installation position of valve
Ny RHIN—1 H
Cap end
(m I\ﬁ/\_'ﬁ“ R
Rod end

| ®EWREREE

AC100V - 50/60Hz
AC110V - 50/60Hz
AC200V - 50/60Hz
AC220V - 50/60Hz
DC24V
DC48V

DC100V 7

i) ACI00V - AC200V (50/60Hz) @14 )ik, 60Hz 2BV, #1241 ACLI0V,
AC220V (ZEFAASHET Y

Rated voltage for solenoid valve

OB |WIN| =

| @ ~ ®ovci. rEcEBLTELFT.

1563



154

ANE—F1—F 4 IFYUVY

’ QX1 v FERERE Rated voltage for reed switch
AC/DC5 ~ 115V 1
AC100 ~ 220V 2

(® 21 v FREES &

Electrical connection type

1) — F#RzK

Lead wire L
DINIX %% PG-9 D
DIN connector 1/2NPTE N

@ 21 v FRUHEE

Switch position detect

[l 1Al
Both ends B
Ay KA
Cap end H
a0y K
Rod end R
’ ® X1y FOIEE Proximity switches ‘
| S W A |




B - AA v Ft - TA LU AR

5 o % B ——
4 /.
ZHEERL N
N-¢125 ~ 200
O T DDERRFT E (BHFA)
DINa%x%% (D-N) BhRKaIR U2 (W)
BAGT : mm
75 24y FEFE | BT
S LL C A Al B Q B1 MM D DD1 = F N M YD YL ) ;'S &
¢ 125 121 60 35 32 36 30 12 M26 X 1.5 35 80 143 18 115 M14 xX1.5 35 22 30° 800
¢ 140 135 80 50 47 48 32 18 M36 X 1.5 40 85 160 20 125 M16 X 1.5 33 20 30° 800
¢ 160 135 80 50 47 48 32 18 M36 X 1.5 40 85 176 20 142 M16 X 1.5 31 18 30° 800
¢ 180 145 85 60 57 50 41 20 M45 x 1.5 50 110 198 20 155 M20 X 1.5 46 29 0° 1000
¢ 200 145 85 60 57 50 41 20 M45 X 1.5 50 110 | 220 20 180 M20 X 1.5 45 28 0° 1000

1565



156

NE—Fa1—F4E I T7IVVIH

HX&EI8 B

O RER#E:

MS665 |

=3
=

OEREHFORBAELERALOIEEE —

OEFEHAT7 vt TV (FEFE —

OV -R21yFORETEELFRLEOEEER —

Q-R2149vFT7vErTY FEEER —

Oz & RH - STiE

OFSEHN—B{3~Fi&

OO0y FEmeR~TE

) AERIZCPEEE A L. EX MBIk E F 2 — THMED
EREINETH EAESIIR—TT,
11ON—T % TSR AL,

MP665 Ft; (BHFAT) 134 ~135 =T & TSR 280,

04

1836 XN—2 & IR LE L,

(y

SPE65 T (XA v F)—144 ~145 ~"— T % THBBLE &L,

146 "= & B2 W

X2 BEERIICPEE5 2 ER— T4,
121 ~126 "—2 & TR 280,
AEEBDTEIRABE X=T & ZSRBLEE L,

CP665 fiZ ER—T T,
127 "= & ZERBLZE W,

CPEBS S ER—T 9,172 ~186 X—Y & TR 281,

OEFE/NYy X 1) > 4 ERIECP665 T ER—T 1,
129 R— T & ZBBLEE L,
[ =aE= CP665 HER—T7,
A 4207 [HlTER (CatNo.2224) | %2 TSR 2 &,
OHREE 130 N— Y DCPBB5 ¥ 1) > 4 AHDERICFER M
TLFEE W,
BHAT7 T - BEBX Bt kg O yvF - -BEX Hf g/ fA
pomm e ¢ 125~ 200 - i BY A KA
g —> 0.9 St L 100 (U —Kigz&E)
R—IL R 1.03 SW-2 D 85
N
| MFEE+y b | 30




B - AA v Ft - TA LU AR

1567



Mounting type

vuvsA [ « ZHSEE

—W-ZUZREFhD 7 LEARZHEEDOHEEEEAT. READY )
iﬁﬁﬂ%ﬂéﬁ{ﬁm1§“ S DEAT T %QE#’?%&Z:U&T?&’UZI#U%(ffé\,\o T

It makes easier to install cylinder to machinery by combining single clevis and double clevis.

—ILVER (YUY5H) +ZIMILER HEREY JWIVER (YUYFH) +—ILIVER +HREREY

Single clevis + Double clevis + Joint pin Double clevis + Single clevis + Joint pin

158



INDEX

CA 2 (—1L %7 L E R) Single clevis mounting

WETY 1 EAZAT

Single clevis /rolled bushing

W CAC &2 7 2 [ EA 4 A4 7—— Single clevis /lubricant bushing CAC

WAAVRTDVaEAZAT

W% SR SRS

Single clevis /Oilless bushing

Single clevis /CARBON STEEL

C B 2 (=1L L E X) Double clevis mounting

WET2EAZAT
Wx—N=TL—h-EAF
WEx—N—TL—hrEL A=y T IAF Double clevis /keeper plate /joint pin /grease nipple

W% SR SRS

Double clevis /rolled bushing

Double clevis /keeper plate /joint pin

Double clevis /CARBON STEEL

TC 2 (= =7 >) Trunnion mounting

W% SR S S

Trunnion /CARBON STEEL

T F (b9 4L « BF=F>) Trunnion mounting /female screw

W% SR SRS

Trunnion /female screw /CARBON STEEL

~

N=

P.162
P.163
P.164
P.166

P.166
P.167
P.168
P.169

P.170

P17

159



()]
2
%0
£
=]
c
-}
O
=

mh
0z
14
iy
2
iE
2
B
B

R
;
RO
I
o
>
mh
¢H
14
™
[]

ﬁ_/_u.vFM_/:(/wymMax.uvpﬁﬁ?/dﬁwmwwm____omwﬁ_wwm WxxxxxxxOOOxxxxxxxxxxxxxxxxxxxxxxxxxx
O skEn—«p a/.u.upﬁﬁu‘/dﬁmc_ac_ee:_e:oo“_mXxxxxxxOOOxxxxxxxxxxxxxxxxxxxxxxxxxx
Eﬂiﬁﬁawtb afuvﬁﬁﬁu‘gﬁm:_hm:_o_e:_e\o_wmm__mXxxxxxxOOOxxxxxxxxxxxxxxxxxxxxxxxxxx
FLNIRAR XK Betey vonuny | 2]|O]O[x [ x| x| x[x|O|O|O]O[O|x [x|x|x|x[x|x|O[O]O]x|x|x|x|x|x|x|x|x|x|x|x|x]|x
BN RAR ISR M_mw__wm:ﬂom_go mOOxxxxxOOOOOxxxxxxxOOOxxxxxxxxxxxxxx
DD UKEE  IRREER M_w__mw._mugo:mom%o mOOxxxxxOOOOOxxxxxxxxxxxOxxxxxxOxxxxx
D UKD &mwmwﬁmmﬂw»ﬁM_mm:_wmww_w\muﬁ_%%kzooMOOXxxxxOOOOOxxxxxxxxxxxOxxxxxxOxxxxx
w/-m__mﬁ/bEXmM *lwljulb.e‘/ﬁ”_%wm_m_\_\mwﬁmo_nsooWOOXXxxxOOOOOxxxxxxxxxxxOxxxxxxOxxxxx
B 130 U ™ wmnﬁumsm_oo_a:oomeOOxxxxxOOOOOxxxxxxxxxxxOxxxxxxOxxxxx
| IOV IRHEE R M_w__mw_mw__%cm__wNEO MOOOXXXXOOOOOOXXXXXXXxxxOOxxxxxOOxxxx
[ TOAUKER  fevAKNad PRSI0 1% 0)0|o|o|o|o|x [o|olojololololo]o] x| x| x|x|x|x|x|ololo|o|o]x|x|o|o|o|o]o]x
[ DU CACwm”mm,m?y_._w_mwhmmﬁmww_ow_mc_mMOOOOOOOOOOOOOOOOOxxxxxxOOOOOOxOOOOOO
[TOAUKE N wunﬁum_s_om_?_mmooooxxxOOOOOOOxxxxxxxxxOOOxxxxOOOxxx
FILIN 4 AR uouunL} SPPIA 210|000 |0]|O|0|O]O|0O|O|O|0O|O|O|O]O|0|O]O|O|O[O|0|O|0|O]O|0|O|O|0|O|0|0]O
[T UNKER VUNER c_QE_o_\mSo_om_n:oomOOxxxxxOOOOOxxxxxOOxxxOOxxxxxOOxxxxx
[T UNKER SIA9I0 8|gnod WOOxxxxxOOOOOxxxxxOOxxxOOxxxxxOOxxxxx
[T UK VAE c_guc_o_\m_\,m_om_mc_wWMOOOOOOOOOOOOOOOOOOOXxxOOOOOOOOOOOOOO
w_mﬁjbﬁzmm sinsp slbus S|0|0]0]|0|0|0|0]0]|0O]|O|0[0O|0]|0]|O|0]0]0]|0] % |x [ x|O|O|0|0]0]0|0|0|0]0|0|0|0|0
<DLENIN NN abuey) pus ded 210|000 |0]|O|0|O]O|0O|O|O|0|O|O|O]O|0|O]O|O|O[O|0|O|0|O]O|0|O|O|0|O|0|0]O
ODLZNINANER abuey} pus poy L |O|O|O|O|0]O|O|O]O|O|O|O|0|O|O|O]O|0|O]O|O|O[O|0]O|O|O]O|0|O|O|0|O|0|0]O
FREN—LR joo4 BIO[O[O|O|0O|O|O|O|O|O|0|O|O|O]O]O|0|0O]|d|O|O]O[O|0O|0]O|O]O|O[0O|0|0|0|0|0|O
XHE MR D oiseq z|O|0|0|0|O|0]0]0|0]|0|O|O|0]0|0|0|O|O|0]0]0|0|0|O|0]0]0|0 000|000 |0|0O
=] ] O O ] =1 O O O O =20 =T E= =120 O =1 = O Y O

m g AR AR RN AR R REEEEHE RN EEEE

“p S SN SINEIEIE RS 2|8

160



Bul Buioioyuie.

& OMLENNANS Y IMEESNNE | obue puspoy | £|O|O
.m FREN—£ QYO LIEED \NQNE  Bun Buroiojuisy/ 1004 m O|O
Eﬂw X HEHm] 0 D RO LIEED\NQNE  Buu Buoiojuie oiseg _M OlO
FELN RN ®K ety uonuny, | £]O]O
FT=PANTTE N p— JEisNosvo (36
IO UKR ISR jashosdvo 18100
T N e L M TSl fS
DI UKER F=C-NA-£-UNE "_m_mwm_w_w_\_\mwﬁm s|gnog mKw o0
._m__\bw HEIDDUXKER AL mmn_%wm_i_o s|gnog me o0
| TONUKR IR jas s 1210(0

[ IOAUKE  fevAKNAA PgiRaso 1% 1010

| TOAUKE  O<oEERNAT P00 g |2|O]O

[ IDAUKER T wun__%wm_%_o a|buis m O|O
FELN R AR uoluuns SpPIN <ile]le)
NENAUKER  uAER ud o}/ snap aianoa & | O| O
[T UNXER SIns[0 8|gnog m-w 0Olo

| T VUKED VNE uid juiol/ sinejo ejbuis m OlO

w [ IDAUKR sina ajbuIs % Olo
CDLENINNNR abueyy pus den aiolo

O ZZNNAND abue|} pus poy M OlO
FREN—LR 1004 80O

Y HEHImR 3 O oiseg z|0|0O
8|8

mi & 2

“ el

CP691

HUERJHE Available

BIEARTA] Not available

O

X

A |CP61SU ¢180 ~ 250 @ LB £ £ IF8EARA] As CP61SU-180~250-LB is not available

161



“UoR LA - ZiEEE

CAD#® (—luoLER) —— BIY1FEAYAT

Single clevis /rolled bushing

(#1E] &%
<Fa—TAR: ¢40 ~ 250 >

CJE R
N K T
0 4-M1
D103 W)

e
@

<Fa1—TALF: $300~ 350 >

m[3 R
ON T
o
D1-8s 4-M1
(ERfF7%)
RR1 |

N

2 1 -2 BT mm
%*"2| E N M1 R K T D1 | RRI DD
$40 | 55 | 42 M6 X 1 15 15 | 11 10 *9:068
35 12 2
$50 | 65 | 49 18 18 | 13 128
M8 X 1 .
$63 | 75 | 59 45 | 24 | 15 | 25 | 175 169
$80 | 100 | 76 55 | 30 | 18 | 315 | 22 20 *§-081
$100| 116 | 90 R o e
20 | 355 | 275 25 *g.081
$125| 143 | 115 $16 65 | 37
140| 160 | 125 40
i $18 80 25 | 40 | 35 32 +Q.085
$160 | 176 | 142 45
180 | 198 | 155
2 $22 100 | 50 | 31 50 | 44 40 *§085
$200| 220 | 180
220 | 242 | 190 30
. ¢ 125 | 65 | 41 | 63 | 55 509110
$250| 270 | 215 $26
$300| 175 | 125 033 111 30 | 71 | 63 553110
h 0.190
$350| 185 | 135 121 32 | 80 | 71 65 *3:629

1 Fa—TNE 140, ¢ 160, ¢ 300, ¢ 350, @ DD Jikid, FREGEERLY) £, (DD= ¢ 315, ¢ 56 ¢ 63 (FRENzLEHA.)
¢ 140 - 160 DITMAE#EY Y 7 ¥ (R4 d9) O b TRk,
%2 D 1BXUDD OFFEAEZEY 4 XL HIFEGRELERE) 5,

162



Ak il

CAB#® (—luoLER) — CACH#SHEFIYVIEAYAT

Single clevis /lubricant bushing CAC

(+4E] #hk
<Fa—-JAEFE: ¢40 ~ 250 >

CJE R
ON K, T]
0 4-M1
D103 AR

"
@

<Fa-—-TAEZE: $300~ 500 >

D184 4-M1

(ERf37%)

@@ $DD 1

7 a
1 BT imm
%>"2| E N M1 R K T | D1 | RRI DD
$40 | 55 | 42 M6 X 1 15 15 | 11 10%§-0%8
35 12 U
$50 | 65 | 49 VB 1 18 18 | 13 1249
963 | 75 | 59 45 | 24 | 15 | 25 | 175 161307
$80 | 100 | 76 55 | 30 | 18 | 315 | 22 205084
100| 116 | o0 | 2" [Teo | as
2 20 | 355|275 25+3:084
$125| 143 | 115 $16 65 | 37
140 | 160 | 125 40
¢ ®18 80 25 | 40 | 35 31.5%g100
$160| 176 | 142 45
180 | 198 | 155
i ¢ 22 100 50 31 50 44 40 +8.1 00
$200| 220 | 180
220| 242 | 190 30
¢ ¢ 125 65 41 63 55 50 +8.100
$250| 270 | 215 $26
$300| 175 | 125 111 30 71 63 56*9-120
¢33 +0.120
$350| 185 | 135 121 32 | 80 | 71 63*9
$400 | 220 | 160 030 135 | — | 36 | 90 | 80 7178120
$450| 230 | 170 150 38 | 100 | 90 80+9120
$500| 260 | 190 $ 46 174 50 | 110 | 100 90*9140

¥ 1 BEEY V7 E Y (R4 d9) O

163



164

“UoR LA - ZiEEE

CAP R (—uoLER) — FAUVRTVIEAYAT

Single clevis /Qilless bushing

(#1E] &%
<Fa—TAR: ¢40 ~ 250 >

OE
ON K, .T]
N 4-M1
D _0.1
103 @)
1 I 1
7 @ -
@ f (/ RR1
1 )
/
ol ¢ DD
@ Il @
. |
<Fa-—THAE: $300 ~ 450 >
OE
D163 4-M1
(ERf$7%)
- J [ (;S RR1
&iJ@: $DD
7 a
*1 X2 B i mm
%> 4| E N M1 R K T D1 | RR1 DD DD #E3R#AE
940 | 55 | 42 M6 X 1 o 15| 4, 15 | 1 1018828 10 28322 (d8)
50 | 65 | 49 i X 1 18 18 | 13 12+9:034 12 ~3:920 (qg)
$63 | 75 | 59 45 | 24 | 15 | 25 | 175 1679934 16 23859 (d8)
980 | 100 | 76 | . . | 55 | 30 | 18 |315] 22 2079977 20 -3:888 (d8)
$100| 116 | 90 ’ 60 33 +0.071 _0.065
20 | 355 | 275 2513 25 23:393 (d8)
$125| 143 | 115 $16 65 | 37 0038 0098
$140| 160 | 125 40 +0.062 0.080
18 80 25 | 40 | 35 31.5%9 31.5 23983 (@8
160 | 176 | 142 ¢ 45 0.000 0.119
180| 198 | 155
:200 220 T 150 $22 100 | 50 | 31 | 50 | 44 4023839 40 ~3983 (d8)
220 | 242 | 190 30
2 ¢ 125 | 65 | 41 | 63 | 55 5079193 50 23953 (d8)
$250| 270 | 215 $26 : :
$300| 175 | 125 33 111 30 | 71 | 63 563120 56 253192 (d8)
#350| 185 | 135 121 | [ 32 |80 |71 6373989 63 3192 (d8)
$400| 220 | 160 39 135 36 | 90 | 80 70+3:980 70 23192 (d8)
$450| 230 | 170 150 38 | 100 | 90 8079989 80 3192 (d8)

¥ 1. DD OFFEAEIEY A X SIEERLRE) 5,
¥2. PRy V7 €Y (MEEAZ 9) O,




Ak il

CAS® (—uyLEeR) — s

Single clevis /CARBON STEEL

<Fa1—-THE: 940 ~ 250 >

OE R
CIN K T
=y 4-M1

1o (AR

[
L/
I ¢ DDH10
& e
| e L |
<Fa1—-TAE: ¢300 >
OE R
= K, T
4-M1
D181 (ERf$7%)
+ —
ea==¥e! w |
L I (] > 1l
!
- @- -@ - #DDH10/ T~
1 X1 w2 B Dom
%*"2| E N M1 R K T | DI | RRI DD
$40 | 55 | 42 M6 X 1 15 15 | 11 10*§-0%8
35 12 +0.07
$50 | 65 | 49 VB 1 18 18 | 13 12%9
963 | 75 | 59 45 | 24 | 15 | 25 | 175 161307
980 | 100 | 76 55 | 30 | 18 | 315 | 22 205084
100| 116 | o0 | 2" [Teo | as
2 20 | 355 | 275 25+3:084
$125| 143 | 115 $16 65 | 37
140| 160 | 125 40
2 ¢18 80 25 40 35 31.5+5:100
$160| 176 | 142 45
180 | 198 | 155
i ¢ 22 100 50 31 50 44 40 +8.1 00
$200| 220 | 180
220 | 242 | 190 30
¢ ¢ 125 65 41 63 55 50 +8.100
$250| 270 | 215 $26
$300| 210 | 160 ¢ 33 111 65 30 71 63 56*9120

1 Fa—TNEG 3000 E N, BHEERERL) $3,

¥ 2. BEERY V7 ¥y (A d9) O

165



“UoR DA - ZiERE

CBD#® ziwsrez)

BEIV1EAYA(T

Double clevis /rolled bushing

LE
ON R
Y-83 K, T
D183 A
(Bnft7R)
P d ||
@ </ RR1
4P #DD
&l | 1@
. |
¥*2 *2 M1 -2 BAL imm
Z2-Z| E N M1 R K T | bt [RR1 | Y DD
$40 | 55 | 42 M6 X 1 15 15 | 11 | 30 1075068
35 12 +0.068
$50 | 65 | 49 18 18 | 13 | 355 12+9
M8 X1 70.068
$63 | 75 | 59 45 | 24 | 15 | 25 | 175 | 50 1619
$80 | 100 | 76 55 | 30 | 18 | 315 | 22 | 63 20+3-081
100| 116 | 90 Mi2>1.5 60 | 33
¢ 20 | 355 | 275 | 71 2513081
®125| 143 | 115 616 65 | 37
140| 160 | 125 40
¢ ®18 80 25 | 40 | 35 | 80 32+9085
¢160 | 176 142 45
180 | 198 | 155
¢ 022 100 | 50 | 31 | 50 | 44 | 100 40+5:085
$200| 220 | 180
220 242 | 190 30
¢ ¢ 125 | 65 | 41 | 63 | 55 | 125 50+8 11
$250| 270 | 215 26

¥ 1. Fa—THNEP 140

. ¢ 160 ® DD ~fid, R

¥2. D 1BLUY, DD OFFEAZETEY A AL biFMESH

L

B0 EF, (DD= ¢ 315 3EEN 2L EHAL)
HERL) T,
¢ 140 - 160 DIFMEREEL Y o ¥ 0 (BRA7E d9) O I fk.

166




Ak il

CBK# ziuisrez) —

Double clevis /keeper plate /joint pin

(W8] &k - R

OE
ON R
v =63 K, T
D +0.3 4-M1
Lo (BAFR)
|
17 B! -
@ g </ RR1
i &ﬂ
f:@
‘1 I .J}'!J’ $DD \
@l | 1@ =
%1 BAT mm
Fa1-7 bD
Z=-2 E N M1 R K T DI | RRT | Y — —
7 | RBAZE |EHBRAE
$40 | 55 | 42 M6 1 a5 |18 |, [ 18 | 11 | 30 | 10 *+0-058 | 4g 28549
50 | 65 | 49 18 18 | 13 | 355 12 -
L2 M8 x 1 807 | a8 28639
963 | 75 | 59 45 | 24 | 15 | 25 | 175]| 50 | 16
980 | 100 | 76 | . . | 55|30 | 18 |315]| 22 | 63 | 20
100| 116 | 90 ' 60 | 33 +0.084 | 4g 20088
¢ 20 | 355|275 71 | 25 | © 0.098
$125| 143 | 115 ?16 65 | 37
$140| 160 | 125 40
»18 80 25 | 40 | 35 | 80 | 315
$160| 176 | 142 45
$180| 198 | 155 -0.080
$22 100 | 50 | 31 50 | 44 | 100 | 40 | *§'  |dslaite
$200| 220 | 180
$220| 242 | 190 $30
125 | 65 | 41 | 63 | 55 | 125 | 50
$250| 270 | 215 $26

w1 Yy Vs €y (RS d9) O .

167



168

“UoR LA - ZiEEE

CBKG# (zwuorez) ——

Double clevis /keeper plate /joint pin /grease nipple

(W8] sk - R

4-M
(ERfF7Y)

ee
(FVR=yTI)

BT D mm
Fa-7 DD
Za=Zl E N M1 R K T | b1 | RR1 | Y — — e
# NERAE |EHBRE
$40 | 55 | 42 M6 X 1 a5 |15 | 4, |18 | 11 | %0 | 10 +0.058 | 4g-5-849
$50 | 65 | 49 e X1 18 18 | 18 [355| 12 | 1007 | o 0050 [AMTEX1
63| 75 | 59 45 | 24 | 15 | 25 | 175 50 | 16 | © -o.077
»80 | 100 | 76 55 | 30 | 18 | 315 22 | 63 | 20
100 | 116 | 90 M1z 1.5 60 | 33 +0.084 | 4g-0.068
20 | 355|275 | 71 | 25 | © -0.098
$125| 143 | 115 $16 65 | 37 A-R1/8
$140| 160 | 125 40
$18 80 25 | 40 | 35 | 80 | 315
$160| 176 | 142 45
180 198 | 155 -
4 $22 100 | 50 | 31 | 50 | 44 | 100 | 40 | *Q' |d8z89%%
$200| 220 | 180 -
$220| 242 | 190 $30
125 | 65 | 41 | 63 | 55 | 125 | 50
$250| 270 | 215 $26




Ak il

CBS# Clorexr) — s

Double clevis /CARBON STEEL

OE
ON R
v =83 K, T
01183 _AM
= (BRf$77)
| |
Vet 1=
! RR1

J ¢ DDH10
1 1
361 BT D am
I=-3 E N M1 R K T [ bt [RR1| Y DD
940 | 55 | 42 M6 X 1 15 15 | 11 | 30 10 *3:0%8
35 12 +0.07
950 | 65 | 49 18 18 | 13 | 355 1279
M8 X1 +0.07
063 | 75 | 59 45 | 24 | 15 | 25 [ 175 | s0 1679
$80 | 100 | 76 55 | 30 | 18 | 315 | 22 | 63 20 084
100| 116 | 90 M12 1.5 60 33
¢ 20 | 355 | 27.5 | 71 25+8084
¢125| 143 | 115 $16 65 | 37
140| 160 | 125 40
¢ ®18 80 25 | 40 | 35 | 80 315*3!
$160| 176 | 142 45
$180| 198 | 155 <01
022 100 | 50 | 31 | 50 | 44 | 100 40§
$200| 220 | 180
220 242 | 190 30
¢ ¢ 125 | 65 | 41 | 63 | 55 | 125 508
$250 | 270 | 215 $26

¥ 1 BEEY V7 €Y (A d9) Ot

169



170

U sR AR - ZiFE8
TCS w2 (F5=7#Y) — REsnsy

Trunnion /CARBON STEEL

L1 P2 L1 G
ON Lh,
M
0’\
[=2)
i 2l - @ -
©
T
I
|
]
B4 2 mm
%" &| N M P G h r P2 | L1 | XX X
40 | 42 M6 X 1 58 | 24 | 12 65
¢ 15 18 | 26 16-8:389
#50 | 49 70 80 :
M8 X 1 30 | 15 565
#63 | 59 84 2 | 100 | 22 | 30 202-3:9%5
-0.065
80 | 76 104 | 34 | 17 112 | 28 | 35 25z
;100 90 MIZX5 s a0 | 20 136 44 -
335 3153989
#125| 115 | M14x15 | 160 | 42 | 21 | 25 | 170 50 :
$140| 125 180 180
M16x1.5 48 | 24 375 | 60 35523989
$160 | 142 200 200 :
$180| 155 220 224 _
M20% 1.5 52 | 26 50 | 60 4523939
$200| 180 240 5 |20
220| 190 | M27x15 | 270 290
¢ 72 | 36 60 | 80 5623199
$250| 215 | M24x1.5 | 300 315 :




e A o el =

TFS 2 gt - S=F4y) — R

Trunnion /female screw /CARBON STEEL

G
h
|
il

B
5*74 N M P G PP | P3 X QQ q #1
940 | 42 M6 X 1 58 | 24 | 12 | 8O | 62 | M10X 1 12
$50 | 49 70 100 | 76 M12x1.5 16
M8x 1 30 | 15
$63 | 59 84 125 | 94 | M16x 1.5 18
$80 | 76 104 | 34 | 17 | 140 | 106 M20x 1.5 22
M12x 1.5
$100| 90 124 | 40 | 20 | 180 | 130
50 M24x 1.5 30
$125| 115 | M14x1.5 | 160 | 42 | 21 | 212 | 165
$140| 125 180 236 | 175
M16x1.5 48 | 24 60 M30x 1.5 35
$160 | 142 200 250 | 195
$180| 155 220 280 | 215
M20% 1.5 52 | 26 70 M36x 1.5 40
$200| 180 240 315 | 245
$220| 190 | M27x1.5 | 270 355 | 280
72 | 36 80 M42x 1.5 50
$250| 215 | M24x1.5 | 300 375 | 300

1 QQEBORULARRESH q2BRLEY ) VT T 2= TDPERMEHAROERE 2 ) T OT, RUAADERSIILT qUTE LTS,

17



. Rod end joint

N A ]

T O Y - IOy REBEGSERU Y LE A XHL B4 BA LEATE 2
inE BHSEERAG L. BEADOY S HOMA . BEIRSTT, 0 CHE S

It makes easier to install cylinder to machinery by combining rod end fittings and clevis mounting.

IEER(DVUYFRD+ YRR + EREY YREER(DVUYFAD)+ IER + BREY

Rod end eye + Rod end clevis + Joint pin Rod end clevis + Rod end eye + Joint pin

— MM (54 L) MM ($%#ita L)

e

IEER+ZIMIVER + EiEY YHERE+—IIILVER + EREY

Rod end eye + Double clevis mounting + Joint pin Rod end clevis + Single clevis mounting + Joint pin

e

172



INDEX

Yﬁg ‘O R&Eix£ B Rod end clevis

WEATH Rod end clevis /basic

WETS2EAZAML T ——— Rod end clevis /rolled bushing
PXx—/N—7L—F-EfFT ——— Rod end clevis /keeper plate /joint pin
Px—NN—T7L—FE - FUZX=y T IV} Rod end clevis /keeper plate /joint pin /grease nipple
PENESH T T IV ———— Rod end clevis /detent angle

WixFRRH Rod end clevis /CARBON STEEL

I -0 Koimrg B Rodendeye

BEXR Rod end eye /basic

WET2EAZM4T —— Rod end eye /rolled bushing
W CAC #8HFs 7> 2 EAZ 17— Rod end eye /lubricant bushing CAC
WAV RT Y 2aEAZAT

Rod end eye /Oilless bushing

BELRE S Jointpin meecececccaccccaccaacccasccaccessseammemmmemm——————-

P77
P.183
P.184
P.185

P.186




e
£
-
©
=
(]
©
O
'

*FoimES
B SEinERARFaS—ER

—2 RV AKNA SEsD & 10|0O[0]|O|0]|O|x|O|0]O|0O]0O|O[O|O|O]x |x|x |O]O|O[O|O[O|O[O]O|x | x| x|x|x|x]|x|x
) O<OEENN A N et oo pou| 2| O[O |00 |0 0|00 |0|0|0|0]0|0|0]0|0] X | X [0]o|o|0|o]o]o|o|0|0o] X | x| X | x | x | x|
—E A wmﬂ__%wm%ucmuom QIOI0|O|x [ x| x| x|OlO]O|O[O|O| x| x| x| X|x|[X[O|O]O|O|O|O]| X [ X | X |X|X|X|[X|x|X]|x|X
> mUAYS . WIO|O| x| x| x|x|x|O|O|O|0|O] x| x|x|x|x|x|x|x|O|O|O|O|x|x|x|x|x|x|x|x|x|x|x|x
> IIKEER RS NOHYO 120|000 x| x| x|0]|o|o|o|o|o[O]x | x|x|x|x|O|O|O|O[O]O]O]x| x| x| x| x|x|x|x|x]|x
PN o|ddiu asealb; s|bue =
BE| >R 4-C-N-£: )R axIhaE werp udwoard | B10|0O|0[0]0|0|0[0]0|0[0]0]0|0[0]0]0|x | x|x|O[0]O|O|O[O]0|O|O] x| x| x x| x|x|x
0 Jadoayy/ siAe|o pus poY | >
a|bue jusiep/
>R #-X-Na-£. ) -BHSRNNE udwolerdisdesy |2 O] 0|0 |O|0|0|0|0|0|0]0|0|o|o|o]o]o]x |x|x|o]|o|o|olo]o]o|o|o] x| x| x|x | x|x|x
/ SIA8|0 pud poy >
> EHRADE A meppuepo| = |O|O|0]0|0|0]0|0|0]0|0|0]0|0|0]0|0| x| X | X |0|o|0|o|o|0]o]|o|0] x| X | X | x| x | x|
o|ddiu asea.b;
> #-X-NA—£. ) daKIPhAE  udwolerdssdesy | €[OO 0 |O|0|0|0|0|0|0]0|0|0|0|0]o]0]x |x|0]o|o]|o|o|o]o]o|o|o] x| x| x|x | x|x|x
/ SIAS]D pus poy >
> H—Z-NA—<c.uNg  EMEREdeRel 2 oo lo|olo]olololololololololololo]x | x|o|olo|olo|olo|o]o]o] x| x| x| x| x|x|x
>R o oo reo pus poy | 2 O[O0 0| x | x | x |O|o|0]0]0]0]0] x| x| x| x| x|0O|O|o|o|o[0[0] % | x| x| x| x| x|x|x|x|x
—~2 UNE ud ol afe pus port | < | O| O [O]O[O|O|O]O|O|0]0]0|0[0]0]|O|0]0]0|0|0O]0|0|0]O]|O|O|O]O] x| x | x| x| x |x|x
— ofe pue poy ~|olo|ololo|o|ololo|o|o|o]o]|o|olo]o]|o|o]o]o|0|O]0]|O|0[O]O]O|x x| x| x| x| x| x
D >R UNE-FUNE wﬁn%%wumwﬂ_u_m_ QlO|O|x|x|x|x|x|O|O|O[O|O|x x| x|x|x|x|[x[O[O[O[O[O]x x| x| x|x|x|x|x|x]|x]|x]|x
*
-2 uNg Mooy | <|O|0|0]0]0O|0|0|0]0]0|0|0lo]0o]o]|o|ololo|o]olojolo|o]o|o|o]o] x| x| x| x| x|x|x
> sinap pus poy >|olo|ololo|o|ololo|o|ololo|o|olo]o]|o|o]o]o|o|o]O]|O|O]O]O]O|x x| x| x| x| x| x
<
Bl 4 orseg 2/0|0|0[0]0]0|0|0]0]|0|0|0|0|0]0]0|0|0|O[O|O[O[O]O]O|O|OOOx |x |x|x x| x| x
(@) o|o|O o o o o
M VIS8 2IB L5111 LIBIB8[F]B] Ll lI88|2]2]3]L|8]8|29]%|3
®s |e|8 SNE 2|8|2|2|e|9|8 2|8
»‘d ..A
<8 230 & |glele - BEEE = =
o % © gz o 5 5|55 5 5
S © © S |&55|6 S S

174



. Buiysng ssa|1
=R VYA \o&wuﬂoun_u_.% £10|0
. Buiysn
= O<COSEERN A mm%ﬁ:_.\:gm pus poy| 2| OO
; Buysng
—E A paj|0l/ 9As pus poy 2/0|0
— ud yds w
>R mUNHL / SIASJO pUS POy =00
> MR fsepppoy | 2|00
2N 9|ddiu asealb; s|bue =
BE| >R #-2-NA-L U\ RADR - D2KI[PN3E ueepy ud ol eleid | S| x | x
8 Jadaayy/ sinajo pus poy | X
=~ obue Juelep/ s
S H—Z-NA—£ YN - EYRADIE  udjuol ered sedesy | S | x | x
/ SIA8]D pus poy >
. o|bue
>R EH{RADE 1US)8p/ SIASJO PUS POy W x| X
9|ddiu asealb; o
> A=T-NA-L£ YN AIKIANRE  uduiol sped ladesy | x| O | O
/ SIABJO pud POy >
o 3 uid juioly eyed Jedes;
> A —CX-NA-—L - U\E \.m_\mm_.o.“ucw __uom ’ /0|0
; Buiysng [a)
>R Pajjo./ SIABI0 pus poy | > o]0
- VN\E uid juioly 8ke pus poy | L 1O |O
N afkoe pua poy —1O|O
B J uid ydsy uid juiof
D >R VNE - RUNE \m_>m_._o\_ocm poy £lol0
® d juiof
B uld juiof
W o> uag / SIAS[D pU POy nfelle)
> SIABIO puUd POy >10O|10
=<
B HmE 0 D oiseg m_wu OO0
g| 8
g = w_
<H ¢
= b o
HE || ¢
A =
y [I1[T=4 ~—
: g
O o
(&)

SU{ERTEE Available

BUEART] Not available

O

X

Y FET, DO YEILERTE T A,
ey sry bAFELE T,

l

<
&

1.Split pin is standard for cylinders for bore size ¢ 300 and over.

i
Sdd oL

¢ 300 LLEZT ) ¥ kot

2. CP61DR O¥5

) 1.

Therefore, YE type is not available.
2.Lock nut is attached for CP61DR with rod end fitting.

175



BR ﬁ/
wusn BEY . seimen

B Ov o7y MIDESOStinE BEYT75%

Q@ IEEICLY., Y - IEEREEICOy 7+ v b ) BN LET,
TISIEDRRIZ ﬁ;ﬁuaku v 7% v Mﬁfl L & TEHALIEE N,
HRZIBROLWEEEAIE, gy 7+ y MIFBWLFEA)

@V I HHEHRSEL LOBETOLITREICLY, uvy s Fy b G 2wzl ET,
TISIEDR ﬁﬁuaku/ﬁf/ M#IZT TR 728 v,
ERIFBRO WA, gy 79y MIftEW 2 LT AL)

@)y hefELE, Y| - IREREEOFIIINS ) ) Y yofmhlis (A 13
FHEL ) Y F DR T3, (TR A" e TS W)

Qv 7y MIOWE, Y - I HEHREE TG OEmIIO "S” SHENTEY M Lo TS,

QU v )y MIOEIE, FEREOIbvQ LBzl T A

SeSmER TR

S S

YROBE TN IS0 N ]

—
=

.T.ﬁfi% BT mm

Fa1—TARE A S N

¢ 40 32 50+ 3 8

¢ 50 40 67 £ 3 11

¢ 63 40 72+ 3 11

¢ 80 54 87 3 16

¢ 100 - 125 54 92 +3 16

¢ 140 - 160 70 127 £ 3 21
¢ 180 - 200 85 158 £ 3 27
¢ 220 - 250 105 200+ 3 34

¢ 300 118 217t 4 38
¢ 350 130 251 £ 4 42
¢ 400 146 267 + 4 48
¢ 450 162 283 + 4 54
¢ 500 178 334t 4 60

176



B
Ryl

Ov RoimEE

=i

Y 2

$DDH10
T
]
HG
]
RR
L
Al X
T
— I
st TS : 33553
-l . FF
2]_ P IS
T
MS — 1
REIEHRC)

<Fa1—-TAE: 940 ~ 250 >
Rod end clevis [f1E] #H#k

<Fa1—THNE: $300 ~ 500 >

I

Rod end eye

<Fa1—-TAR: 940~ 250 >

(+1H]

MS

(RAFLEHRAL) |

RR1

T
MM

$DDH10

D1-81

<Fa1—THNE: $300 ~ 500 >

X1 LY Yy ¥y (MEA d9) OB LT,
Standard Joint pin (‘d9’ shaft tolerance) is available.

(#1E] &k (#1E] &=
DDH10 | DDH10
| . |
L
] RR AR
L 1
MS X
FUED) | MS AL X
)T l COE) !
s 250 SXCT T o
2 T i g7 w2
: —e= [ L L
31 BT D mm
F2—7A%| DD | Y | RR [RR1 | X | X1 | A1 L | D1 R T B | BB MM MS
¢ 40 10 | 30 | 10 | 11 | 14 23 | 45 | 15 | 13 | 24 | — | — |[M14x15| M6X5
¢ 50 12 [355| 12 | 13 | 16 29 | 50 | 18 | 15 | 30 | — | -
¢ 63 16 | 50 | 16 | 175| 20 29 | 55 | 25 | 19 | a5 | — | — |18 18| Mex8
® 80 20 | 63 | 20 | 22 | 25 36 | 65 |315| 24 | 45 | — | — M8 x 8
® 100 25 | 71 | 275|275 315 36 | 70 |355] 30 | 85 | — | — [M26X15|
¢ 125 25 | 71 |275|275(315| | 36 | 70 |355| 30 [ 55 [ — | —
$140 |315| 80 | 35 | 35 | 40 52 | 100 | 40 | 38 | 75 | = | = | oo ol o x 15
$160 [315| 80 | 35 | 35 | 40 52 [100| 40 | 38 | 75 | — | —
¢ 180 40 | 100 | 44 | 44 | 50 62 |125| 50 | 48 | 90 | — | —
M45 x 1.5 | M16 X 25
¢ 200 40 | 100 | 44 | 44 | 50 62 |125 | 50 | 48 | 90 | — | —
¢ 220 50 [ 125 | 55 | 55 | 63 72 | 160 | 63 | 63 | 110 | — | — | o | e o
¢ 250 50 | 125 | 55 | 55 | 63 72 160 | 63 | 63 [ 110 | — | —
¢ 300 56 | 142 | 63 80 | 70 | 82 | 175 | 71 126 | 100 | M65 x 2 | $10 x 200
¢ 350 63 | 160 | 71 90 | 85 | 92 | 205 | 80 142 | 110 | M72 x 2
¢ 400 71 | 180 | 80 | — [100 | 90 | 102 [215| 90 | — | — | 160 | 120 | M82 x 2 013 X 250
¢ 450 80 | 200 | 90 120 | 95 | 112 | 225 | 100 180 | 130 | M90 x 2
¢ 500 90 | 220 | 100 125 | 110 | 132 | 270 | 110 200 | 150 | M100 x 2

177



o B | g
SR R STimE S

YD# — #7yaFEAYAT

Rod end clevis /rolled bushing

(#1E] &k
<Fa—TNE: ¢40 ~ 250 >
Ja #DD
- -
i |
I RR
L
Al X
ST
B %
RN

us [

(RftikHR L)

<Fa1—TALR: 300~ 350 >

L
X
iy -
%
oy >
T T
MS MM
(7UEY)
w2 w2 %3 K12 B
7272 L X MM Al | D1 Y | RR MS DD
40 | 45 | 14 |M14x15| 23 | 15 | 30 | 10 | M6X5 10+5.068
$50 | 50 | 16 18 | 855 | 12 12+9.068
M18x1.5 | 29 0088
963 | 55 | 20 25 | 50 | 16 | M8x8 1645
¢80 | 65 | 25 315 | 63 | 20 20 +8.081
100 M26%1.5 | 36
4 70 | 315 355 | 71 | 275 25*9.081
$125
0 M12x15
¢ 100 | 40 |M36x15| 52 | 40 | 80 | 35 32+9:085
$160
180
4 125 | 50 |M45x1.5| 62 | 50 | 100 | 44 40+3:085
$200
250 M16x25
4 160 | 63 |M56x15| 72 | 63 | 125 | 55 50*g110
$250
$300| 175 | 80 | M65 %2 71 | 142 | 63 |$10 X200 55%8110
$350| 205 | 90 | M72 X2 80 | 160 | 71 |¢13x250 6513089

¥ 1. Fa—TWE 140, ¢ 160, ¢ 300, ¢ 350 ® DD il fEMEG R L 8 ) £97, (DD= ¢ 315, ¢ 56, ¢ 63 IFEAFV72 L FHAL)
¢ 140 - 160 DMEHE#EL Y 7 ¥ 2 (EAHE d9) DA Tk,
¥ 2. DD OEFHEAHEIEY A AL BHEGR LR ) 5,
¥3 MM BBy 79y P &RUHT 2581, MSEHOIEOAL - 7)) Er e ffEvizLEtA,
1.DD dimennsion is different from standard type when the bore size is ¢ 140,160,300 and ¢ 350.
(DD = ¢ 31.5, 56 and 63 are not available)
Standard Join pin (‘d9’ shaft tolerance) is available except the bore size ¢ 140 and ¢ 160.
2.Dimensional tolerance of DD is different from standard type in all bore sizes.
3.If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

178



BEH
JRY;lig

Ov REoimEE

YK —— —)—TL—h. BV

Rod end clevis /keeper plate /joint pin

(#4E] 8K - SRl
<Fa—-JAEFE: ¢40 ~ 250 >

RR

—+

|
f ¢DDd8

L
Al X
0
| !
i | 5[s8
-'_ al >
|
MS MM

(Rffik®RL)

<Fa—THE: $300~ 500 >

X
v ! |
- %[5
oy >
1]
MS MM
(70E>)
*1 BAT mm
Z==Z] L X MM Al | D1 Y | RR MS DD #f%
®40 | 45 | 14 |M1ax15| 23 | 15 | 30 | 10 | M6x5 | 10-9949
#50 | 50 | 16 18 | 355 | 12 1223829
M18X%X 1.5 29 0-050
963 | 55 | 20 25 | 50 | 16 | wmsxs | 16-9959
¢80 | 65 25 315 | 63 20 2023883
100 M26x 15| 36 -
2 70 | 315 385 | 71 | 275 25-9:952
$125
= M12x15
¢ 100 | 40 |M36x15| 52 | 40 | 80 | 35 31.5-39%9
$160 )
180
2 125 | 50 |M45x1.5| 62 | 50 | 100 | 44 4029983
$200 ]
— M16%25
¢ 160 | 63 |Ms6x1.5| 72 | 63 | 125 | 55 5023989
$250
$300| 175 | 80 | m65 x2 71 | 142 | 63 |¢10x200| 56-8199
$350| 205 | 90 | m72x2 80 | 160 | 71 6379192
$400| 215 | 100 | ms2x2 | — | 90 | 180 | 80 13 X250 7123198
$450 | 225 | 120 | M90 x2 100 | 200 | 90 8023192
$500| 270 | 125 | M100 x2 110 | 220 | 100 9023129

¥ 1 MM EBIZT Y 79 2B 25E81E, MS#oiko R LE Bz L ¢ A,
If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

179



180

oo B s
LDLSR R - TTimiE S

YKGr - —)v—TFL—h. EV. JUR=vTF)Ad

Rod end clevis /keeper plate /joint pin /grease nipple

(#1EE] 85 - Rl
<Fa1—-TAEFE: 40~ 250 >

RR

I ¢ DDd8

A1 X ee

“{ (FUZR=y7I)

Bl
i ___1_

MS [ MM

(RffiEHRL)

+0.3

D1+0:1

<Fa1—TALF: $300 ~ 500 >

’ ! |

1

1

[

1

y

1

[

1

|
01383
Y8

MS —T

Tues) M
#1 BT mm
73| L X MM Al | D1 | Y | RR MS DD #iif2 ee
$40 | 45 | 14 |[M14x15| 23 | 15 | 30 | 10 | M6x5 | 1028343
950 | 50 | 16 18 | 3855 | 12 1228829 | A-MTEX 1
M18x 15| 29 207t
$63 | 55 | 20 25 | 50 | 16 | m8x8 | 1628339
#80 | 65 | 25 315 | 63 | 20 20239828
100 M26x15| 36
¢ 70 | 315 385 | 71 | 275 2523952
$125 A-R1/8
M12x 15
Biee -0.080
100 | 40 |M36x15| 52 | 40 | 80 | 35 31.5-89%3
$160 )
180
zzoo 125 | 50 |M45x15| 62 | 50 | 100 | 44 40 23993
250 M16x25 A-R1/4
¢ 160 | 63 |M56x15| 72 | 63 | 125 | 55 50 29989
$250 )
#300| 175 | 80 | M65 x2 71 | 142 | 63 |¢10x200| 5625198
$350| 205 | 90 | M72x2 80 | 160 | 71 6329192
$400| 215 | 100 | M82x2 | — | 90 | 180 | 80 13 x250 |7 23192 | A-R1/4
$450 | 225 | 120 | M9O x2 100 | 200 | 90 8025192
#500| 270 | 125 | M100 x2 110 | 220 | 100 90-5:129

1 MMERCT Y 7 )y RN 25813 MSEHOILoR CE Bz L A
If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.




B
Ryl

Ov REinEE

YM#: Clwuover) ——— @7 o)uid

Rod end clevis /detent angle

(#2E] 8K - SRR
<Fa—-JAEFE: ¢40 ~ 250 >

MM

EZI\“/D»‘/FE\

BJ

\

]
-

1 Ly Sy ¥y (BIRAE ) O ITHE,
This rod end fitting is not available for CP691 series.
Standard Joint pin (‘d9’ shaft tolerance) is available.

A
| SS+2
Fa1—TAE: 100N EIFRR—Y—7L
i B-B'
TN 2 |=m
M -
<Fa1—THE: ¢300 ~ 500 >
m1 L
MM XX
X
ExbkrOy R B"I
K HRNE
BN 1 o Y I = =
ay >
B B ! i |
A
SS+4
i B-B'
o]
1 BT mm
Z== MM DD | Y RR X | At L DI | 8S | A | XX | mi H Q
$40 M14 X 1.5 10 30 10 14 23 45 15 58 32 15 8 24 13
¢50 12 355 12 16 50 18 66 19
M18x1.5 29 40 11 29 17
¢63 16 50 16 20 55 25 71 37
¢80 20 63 20 25 36 65 31.5 86 54 45 16 39 24
¢$100| M26X1.5 24
25 71 275 | 315 36 70 355 91 54 51 16 43
¢125 30
¢ 140
5160 M36 X 1.5 315 80 35 40 52 100 40 126 70 70 21 53 32
$180
M45x 1.5 40 100 44 50 62 125 50 157 85 89 27 65 |
$200
$220
M56 X 1.5 50 125 55 63 72 160 63 199 | 105 113 34 80 50
$250
$300 M65 X 2 56 142 63 80 175 71 217 | 118 130 38 92 63
$350 M72 x 2 63 160 71 90 205 80 251 130 157 42 97 7
$400 M82 x 2 ! 180 80 100 - 215 90 267 | 146 158 48 120 77
$450 M90 X 2 80 200 90 120 225 | 100 | 283 | 162 | 1695 | 54 133 85
¢500| M100 x2 90 220 | 100 | 125 270 | 110 | 334 | 178 | 1815 | 60 143 95
A)CPEIL 1) — XICEHHT s EE AN TS A%

181



oy BT | g
SR R STimiE S

YSr — m=Es

Rod end clevis /CARBON STEEL

<Fa—TH=F: ¢40 ~ 250 >

| ¢ DDH10
p
| !
T T \&R
L
X1
BN _
BN
MS MM
(RftiEsHR L)
<Fa1—TAR: 300~ 350 >
$DDH10

L
X1
AN
1 ol =)
——/¢--—__ S| 99
a) >
[ T
_wms_/ [um
(FVEY)
1 2 BT D mm
7 73 L MM DI | Y | RR MS ) X1
%40 | 45 | M14x15 | 15 30 10 M6 x5 10+9058 23
¢50 | 50 18 | 355 | 12 12+8-070 24
M18x 1.5 S
$63 | 55 25 | 50 | 16 | M8x8 16%9
+0.084 29
#80 | 65 315 | 63 | 20 209
100 M26x 1.5
¢ 70 355 | 71 | 275 25+0-084 34
$125
G M12x15
2 100 | M36X15 | 40 | 80 | 35 31573100 | 48
$160
180
¢ 125 | M45x15 | 50 | 100 | 44 40%3-100 63
$200
220 M16%25
160 | M56x1.5 | 63 | 125 | 55 50+9-100 S8
$250
$300| 175 | M65x2 | 71 | 142 | 63 |¢10x200| 565120 80
$350| 205 | M72x2 | 80 | 160 | 71 |¢13x250| 63*9120 90

1L MMERCE Y 79y AT 254813, MSHOIEHAL - 7)) ¥y aftEnwzLEEA.
%2, fEfEy vy ¥y (WRAZE A9) O S Tk,

If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

Standard Joint pin (‘d9’ shaft tolerance) is available.

182



may O REinRE

IDrz — #IvaEA90T

Rod end eye /rolled bushing

(#2E] PR
<Fa—-JAEFE: ¢40 ~ 250 >

MS Jva
—_ DD
(RAIEBRC) .
i ) 1
&
L RR1
A1 X
o9
o
<Fa—TANEFEF: 300 ~ 350 >
T a ¢ DD
l l
1 :IZ(
I
T
T |/§
L
Al X
|
[a) *i °$
) T J
///'u =
MS / [ MM
(7UEY)
%2 %3 1,2 BT om
=2 L X MM Al | D1 | RR [RR1 | R T MS DD
40 | 45 | 14 | Mi4x15 | 23 | 15 11 13 | 24 M6X5 1073068
50 | 50 | 16 18 13 | 15 | 30 1278068
Mi18x15 | 29 oS
963 | 55 | 20 25 175 | 19 | 35 M8x8 1679
80 | 65 | 25 315 22 | 24 | 45 20+9081
$100 M26x15 | 36
70 | 315 355 275 | 30 | 55 25+9.081
$125
- M12x15
$140 +0.085
100 | 40 | M36x15 | 52 | 40 35 | 38 | 75 32*%
$160
$180
125 | 50 | M45x15 | 62 | 50 44 | 48 | 90 4015085
$200
2220 M16X25
160 | 63 | Ms56x15 | 72 | 63 55 | 63 | 110 50*g-110
$250
$300| 175 | 80 M65 x 2 82 | 71 | 63 | — — — | ¢10x200 55+9-110

¥ 1 Fa—T7WNEG 140, ¢ 160, ¢ 300 ® DD PR E L 23D £F. (DD= ¢ 315, ¢ 56 13HfFV7z L R A.)
¢ 140 - 160 LMY 'y Uy (BifEAZE d9) O b T hE,
%2, DI BLU DD OFFEAEILEY A AL QERGR R ) $3,
¥ 3 MM#ICHE Yy 74 v MEIUHT 2561E, MSEHOIEOAL - 7)) ¥V aftlEn/zLEEA,
1.DD dimennsion is different from standard type when the bore size is ¢ 140,160,300.
(DD = ¢ 31.5, 56 are not available)
Standard Join pin (‘d9’ shaft tolerance) is available except the bore size ¢ 140 and ¢ 160.
2.Dimensional tolerance of DD and D1 are different from standard type in all bore sizes.
3.If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

183



184

oy m BT
YUZTR S © TCUME

IB#

Rod end eye /lubricant bushing CAC

—  CACHaH. Y aEAY (T

(+18] KRR

<Fa—TH=F: ¢40 ~ 250 >

MS

(Rffik®Rl)

Tva

¢T

¢ DD

“ (N
T
L
Al X
|
ol [1 TS
1
*| A T
MS /MM
(DUEY)
1 #2 B imm
Z==Z|Pr X MM A1 D1 RR | RR1 R T MS DD
40 | 45 14 M14x1.5 23 15 11 13 24 M6 X5 10 *3-058
$50 | 50 16 18 13 15 | 30 12+0.070
M18x1.5 29
$63 | 55 | 20 25 175 | 19 | 35 M8x8 16 *3:070
¢80 | 65 25 315 22 24 45 20 *9-084
100 M26% 1.5 36
° 70 | 315 355 275 | 30 | 55 25 +3.084
$125
- M12x15
$140
100 | 40 M36 X 1.5 52 40 35 38 75 31.5%5100
$160
180
° 125 | 50 M45x 1.5 62 | 50 44 | 48 | 90 40 *3-100
$200
220 M16x25
4 160 | 63 M56% 1.5 72 | 63 55 | 63 | 110 50 *3-100
$250
$300| 175 | 80 M65 X 2 82 | 71 | 63 ® 10 X200 56 9120
$350| 205 | 90 M72 X2 92 | 80 | 71 6319120
$400| 215 | 100 M82 x 2 102 | 90 | 80 - - - 71 +9.120
¢ 13 X250 +0.120
$450| 225 | 120 M90 X 2 112 | 100 | 90 80 *9:
$500| 270 | 125 | M100x2 | 132 | 110 | 100 90 *9-140

¥ 1 MMERCTy 79y bERUFT 2881, MSHOIEdAL - 7)) KRRV L EEA,
¥2. PRy vy €Y (BEAZE d9) O

If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

Standard Joint pin (‘d9’ shaft tolerance) is available.




may O REinRE

1P

Rod end eye /Qilless bushing

—— FAVRTVaEATALT

(#1E] R
<Fa—TAR: ¢40 ~ 250 >

(RfFIEHRL)

MS

a
<Fa—TAE: $300 ~ 450 >
Jia »DD
| |
| |
|
o - _[_ -
T T RR
L
Al X
0 i i Ss
b -ttt
® 0
VA I
MS  / /MM
COI%)
%2 ¥1 BGL i mm
== L X MM Al | D1 | RR | RR1 | R T MS DD
040 | 45 | 14 | Miax15 | 23 | 15 11 | 13 | 24 M6 X5 1019:958
$50 | 50 | 16 18 13 | 15 | 30 1279883
M18x15 | 29 +0.034
$63 | 55 | 20 25 175 | 19 | 35 M8x8 1679:934
80 | 65 | 25 315 22 | 24 | 45 2029974
100 M26x1.5 | 36
¢125 70 | 315 355 275 | 30 | 55 2519828
¢ - M12x15
$140 +0.062
100 | 40 | M36x15 | 52 | 40 35 | 38 | 75 31.5%3883
$160 _
180
¢ 125 | 50 | M45x15 | 62 | 50 44 | 48 | 90 4033:419
$200 )
2220 M16x25
160 | 63 | Ms56x15 | 72 | 63 55 | 63 | 110 5013093
$250 )
$300| 175 | 80 M65 X 2 82 | 71 | 63 $10 X200 56 +3:120
$350| 205 | 90 M72 X2 92 | 80 | 71 6373:859
$400| 215 | 100 | M82x2 | 102 | 90 | 80 #13 X250 70+3:985
$450| 225 | 120 | M90Ox2 | 112 | 100 | 90 80*9-889

¥ 1. DD OFFEAEREY 4 XL ERER L RA) 5,
ity s ¥y (WA d9) OER b WhE.

¥ 2. MMEICE Y 75y MEARUHT 2861E, MSEHOIESAL - 7 EraftBnL A,

1.Dimensional tolerance of DD is different from standard type in all bore sizes.

Standard Join pin (‘d9’ shaft tolerance) is available.

2.If lock nut is attached to cylinder rod (MM) , set screw and split pin is not supplied.

185



186

oy m BT
YUZTR S © TCUmE

EiReE>

Joint pin

<Fa1—THNE: 40 ~ 500 >
[(#1E] K=

o

(CHEIAT-HAX)

YCREY (BlEVfT)

<Fa1—-TRE: 40~ 250 >
€7=) Wi

‘,;!
i

e

OEmE Y - PR

B mm
F 21— TR A B © D
¢ 40 38 30 #F 10 X 1.0 10
6 50 435 355 #A 12 X 1.0 12
¢ 63 58 50 #FI 16 X 1.0 16
¢ 80 73 63 #0120 X 1.2 20
$ 100 - 125 81 71 #F 25 x 1.2 25
6 140 - 160 22 80 A31 X 15 315
® 180 - 200 114 100 STW-40 x 1.75 40
6 220 - 250 141 125 #F 50 x 2.0 50
¢ 300 162 142 STW-56 X 2.0 56
¢ 350 180 160 STW-63 X 2.0 63
¢ 400 200 180 STW-72 X 2.5 71
¢ 450 220 200 M80 x 2.5 80
¢ 500 240 220 M90 x 3.0 90
Okl - FiEAX 6 m
e TN fTEm (BEL2)
i Rl T ° 2 (5PCC) | 1€ (SWAN)
® 40 P-10 | 44 36 | ¢10d9 3942 10 $2%18
¢ 50 P-12 | 51 43 | ¢12d9 3933 12 $2%18
¢ 63 P-16 | 71 59 | ¢16d9 -8:389 16 ¢ 25 % 25
¢ 80 P-20 | 84 73 | ¢20d9 -59%2 20 ¢ 32 %28
$100-125 | P-25 | 97 83 | ¢25d9 -99%° 18 ¢ 4 %36
$140-160 |P-315| 110 94 | ¢31.5d9-3983 | 1-1/4° | 5% 40
$180-200 | P-40 | 141 119 | ¢40d9 -5:989 39 ¢ 6.3 X 50
$220-250 | P-50 | 169 | 149 | ¢50d9 -9:959 48 ¢ 8 X 63




B &2RDFREEICDNT

1. {REEHAA
FA% 1258, LIEUA%R 185 BZEBAEVERE UE T,

2. (RAIAE
HEFeld. ReOHYELD ZRETNERBELE I,

3. (REAIREFE

OEATTE - BRI AN OISR D SRR MR ENNTER
TBHIEICKDEUTAEE,

@K S IE EHHDEITER UIEVKFIC LD E UTIES,

@ TDMESESEDEFELHFSNIEN T LITIER T DHIENRUIEE.

OMNARBOHE - RESICKDFERSINIES.




» - ® s
PAEMBMXER  — o
HEEE 71080014 703-3454-1711 \m / km’ﬁm_svs_

HREEEBRXZ4-7-8 ZT7HYVEIL RvA C024
KREE  T530-0012 206-6373-6701

KRR ZHI-1-4 RE@Z—IFIVEIL mleE®m  8022-215-1195
mElZE  T732-0052 2082-568-0071 TZEEXP  B043-305-1401

NE N N tiEEEHRT  ©011-792-7451
EBHERAA-12-20 64 ULBRATE )y LEELRM 70117927451

E B & T663-8133 0798-48-5931 4 iR&==rE  ©076-233-1411
m=m L HRET4-97 EIAEEFR  B087-835-0411 _ i 2017.04

FES®FE  ®082-568-0071 CONYOJBFEBUICHEIT BT ENBDFTOTTTRIREE,

\ URL=https://www.konan-em.com/ \ EAMEEF B093-541-0281 2023.03-34R% (D4)-J




	001
	002
	003
	004_
	015_
	019_
	037_
	057_
	111_
	115_
	131_
	158_
	998
	999

